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❝♦✉rs ❞❡ ❧❛ q✉❡❧❧❡ ❥✬❛✐ ❝r♦✐sé ❧❛ r♦✉t❡ ❞❡ ♥♦♠❜r❡✉s❡s ♣❡rs♦♥♥❡s✳ ❏❡ r❡❝♦♥♥❛✐s q✉❡ ❝❤❛❝✉♥❡ ❛
❛♣♣♦rté ✉♥❡ ❝♦♥tr✐❜✉t✐♦♥ ♣♦s✐t✐✈❡ à ♠❛ ✈✐❡ ♣❡rs♦♥♥❡❧❧❡ ❡t ♣r♦❢❡ss✐♦♥♥❡❧❧❡✳ ❯♥ ❣r❛♥❞ ♠❡r❝✐
❛✉ Pr♦❢❡ss❡✉r ❍❡r✈é ♣♦✉r s♦♥ sé♠✐♥❛✐r❡ ❞❡ ♣s②❝❤♦❧♦❣✐❡✱ à ❖tt♦✱ à ❉❡♠❞❛❤✱ à ▼♦✉ss❛✱ ❛✉①
❞❡✉① ❘✐❝❤❛r❞✱ à ▼❛t❤✐❡✉✱ à ●❛❜r✐❡❧ ❡t à ❈❤r✐st♦♣❤❡ ♣♦✉r ❧❡ ♣❛rt❛❣❡ ❞✬✉♥ t❤é ❛✉ ✻✹✸✳

❏❡ r❡♠❡r❝✐❡ ❛✉ss✐ t♦✉s ❧❡s ❝❤❡r❝❤❡✉rs ❞✉ sé♠✐♥❛✐r❡ ❞❡ ❝r②♣t♦❣r❛♣❤✐❡✱ t♦✉t ❧❡ ♣❡rs♦♥♥❡❧
❞✉ ❞é♣❛rt❡♠❡♥t ❞❡ ♠❛t❤s✲✐♥❢♦ ❞❡ ❧❛ ❢❛❝✉❧té ❞❡s s❝✐❡♥❝❡s ❡t t❡❝❤♥✐q✉❡s ❞❡ ❧✬✉♥✐✈❡rs✐té ❞❡
❉❛❦❛r✱ t♦✉t ❧❡ ♣❡rs♦♥♥❡❧ ❡t é❧è✈❡s ❞❡s ❝♦❧❧è❣❡s P❛✉❧ ❋é✈❛❧✱ ▼♦♥t❜❛rr♦t ❡t ▼❛❧✐❢❡✉ ❡t à t♦✉t❡s
❧❡s ♣❡rs♦♥♥❡s q✉❡ ❥❡ ♥✬❛✐ ♣❛s ❝✐té❡s ❡t q✉✐ s❡ r❡❝♦♥♥❛îtr♦♥t ❞❛♥s ❝❡s q✉❡❧q✉❡s ❧✐❣♥❡s✳

❏❡ ♥❡ s❛✉r❛✐ t❡r♠✐♥❡r s❛♥s r❡♠❡r❝✐❡r ♠❡s ❛♠✐s✱ ♠❡s ❝❛♠❛r❛❞❡s ❞❡s ❛ss♦❝✐❛t✐♦♥s ❡t
s✉rt♦✉t à t♦✉t❡ ♠❛ ❢❛♠✐❧❧❡ ♣♦✉r ❧❡✉r ✐rr❡♠♣❧❛ç❛❜❧❡ ❡t ✐♥❝♦♥❞✐t✐♦♥♥❡❧ ❛✐❞❡ ❡t s♦✉t✐❡♥ s❛♥s
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■♥tr♦❞✉❝t✐♦♥

❋♦♥❞❡♠❡♥ts ❞❡ ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ ♠♦❞❡r♥❡✳ ▲❛ ❝r②♣t♦❣r❛♣❤✐❡ ♠♦❞❡r♥❡ s❡ ♣❛rt❛❣❡
❡♥tr❡ ❞✬✉♥❡ ♣❛rt ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ s②♠étr✐q✉❡ ❡t ❞✬❛✉tr❡ ♣❛rt ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ ❛s②♠étr✐q✉❡✳
❉❛♥s ❧❡ ❝❛s ❞❡ ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ s②♠étr✐q✉❡ ❧❡s s❡❝r❡ts q✉✐ ♣❡r♠❡tt❡♥t ❞❡ ❝❤✐✛r❡r ❡st ❞❡
❞é❝❤✐✛r❡r s♦♥t ❧❡s ♠ê♠❡s✳ ❊♥ ❝r②♣t♦❣r❛♣❤✐❡ ❛s②♠étr✐q✉❡ ♦✉ à ❝❧❡❢ ♣✉❜❧✐q✉❡ ❛✉ ❝♦♥tr❛✐r❡✱ ❧❛
❝❧❡❢ s❡ ❝♦♠♣♦s❡ ❞✬✉♥❡ ♣❛rt✐❡ ♣✉❜❧✐q✉❡ q✉✐ ♣❡r♠❡t ♣❛r ❡①❡♠♣❧❡ ❞❡ ❝❤✐✛r❡r ♦✉ ❞❡ ✈ér✐✜❡r ✉♥❡
s✐❣♥❛t✉r❡ ❡t ❞✬✉♥❡ ♣❛rt✐❡ ♣r✐✈é❡ q✉✐ ❞♦✐t r❡st❡r s❡❝rèt❡✳ ❉❡ ❢❛✐t✱ ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ ❛s②♠étr✐q✉❡
❜✐❡♥ q✉❡ ❧❡♥t❡ ❡st ❜✐❡♥ ❛❞❛♣té❡ à ✉♥ ✉s❛❣❡ s✉r ✉♥ rés❡❛✉ ❝♦♠♣♦rt❛♥t ✉♥ ❣r❛♥❞ ♥♦♠❜r❡
❞✬❛❝t❡✉rs ❝❛r ❡❧❧❡ ♣❡r♠❡t ❡♥tr❡ ❛✉tr❡ ✉♥ ❞é♣❧♦✐❡♠❡♥t ❡t ✉♥❡ ❣❡st✐♦♥ s✐♠♣❧✐✜é❡ ❞❡s s❡❝r❡ts✳ ❯♥
❡①❡♠♣❧❡ ❞✬❛❧❣♦r✐t❤♠❡ à ❝❧é s❡❝rèt❡ ❜✐❡♥ ❝♦♥♥✉ ❡st ❧✬❆❊❙ ✭❆❞✈❛♥❝❡❞ ❊♥❝r②♣t✐♦♥ ❙t❛♥❞❛r❞✮
❞❡ ❘✐❥♠❡♥ ❡t ❉❛❡♠❡♥ ❬❘❉✵✷❪ ❡t ❧✬❛❧❣♦r✐t❤♠❡ à ❝❧é ♣✉❜❧✐q✉❡ ❧❡ ♣❧✉s ✉t✐❧✐sé ❛❝t✉❡❧❧❡♠❡♥t ❡st
❧❡ ❘❙❆ ✭❘✐✈❡st ❙❤❛♠✐r ❆❞❧❡♠❛♥✮ ❬❘❙❆✼✽❪ ❞✉ ♥♦♠ ❞❡ s❡s ❛✉t❡✉rs✳ ▲✬♦❜❥❡t ♣r✐♥❝✐♣❛❧ ❞❡ ❝❡
♠é♠♦✐r❡ ❡st ❧✬ét✉❞❡ ❞❡ ❜r✐q✉❡s ❛❧❣♦r✐t❤♠✐q✉❡s ✉t✐❧❡s à ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ ❛s②♠étr✐q✉❡✳ ▲❛
sé❝✉r✐té ❞❡s ❛❧❣♦r✐t❤♠❡s ❛s②♠étr✐q✉❡s r❡♣♦s❡ s✉r ❧❛ ♥♦t✐♦♥ ❞❡ ❢♦♥❝t✐♦♥s à s❡♥s ✉♥✐q✉❡✱ ✐✳❡✳
❞❡s ❢♦♥❝t✐♦♥s ✑✐♥❥❡❝t✐✈❡s✑ q✉✐ s♦♥t ❢❛❝✐❧❡s à ❝❛❧❝✉❧❡r✱ ♠❛✐s ❞✐✣❝✐❧❡s à ✐♥✈❡rs❡r ♣♦✉r ❜❡❛✉❝♦✉♣
❞❡ ✈❛❧❡✉rs ❞❡ ❧✬❡♥s❡♠❜❧❡ ❞✬❛rr✐✈é❡✳ ▲❛ sé❝✉r✐té ❞❡s ❛❧❣♦r✐t❤♠❡s à ❝❧és ♣✉❜❧✐q✉❡s ❡st ❞♦♥❝ ❧✐é❡
à ❧❛ ❞✐✣❝✉❧té ❝❛❧❝✉❧❛t♦✐r❡ ❞❡ ❝❡rt❛✐♥s ♣r♦❜❧è♠❡s ♠❛t❤é♠❛t✐q✉❡s✳ ❆✐♥s✐ ❧❡ ❘❙❆ r❡♣♦s❡ s✉r ❧❛
❞✐✣❝✉❧té à ❢❛❝t♦r✐s❡r ✉♥ ❡♥t✐❡r N ❢♦r♠é ❞✉ ♣r♦❞✉✐t ❞❡ ❞❡✉① ❣r❛♥❞s ♥♦♠❜r❡s ♣r❡♠✐❡rs p, q✱
❡t ❧❛ ❢♦♥❝t✐♦♥ à s❡♥s ✉♥✐q✉❡ ✉t✐❧✐sé❡ ❡st ✉♥❡ ❢♦♥❝t✐♦♥ ♣✉✐ss❛♥❝❡ ❞❛♥s ❧❡ ❣r♦✉♣❡ ♠✉❧t✐♣❧✐❝❛t✐❢
❞❡ Z/NZ✳ ❉❡ ♠❛♥✐èr❡ ♣❧✉s ♣ré❝✐s❡✱ ♦♥ ♣❡✉t ✈♦✐r q✉❡ s✐ ♦♥ s❛✐t ❢❛❝t♦r✐s❡r r❛♣✐❞❡♠❡♥t✱ ❛❧♦rs ✐❧
❡st ❢❛❝✐❧❡ ❞✬✐♥✈❡rs❡r t♦✉t❡ ❢♦♥❝t✐♦♥ ♣✉✐ss❛♥❝❡ ❞❛♥s Z/NZ ❡t ♦♥ ❡s♣èr❡ q✉❡ ré❝✐♣r♦q✉❡♠❡♥t✱
s✐ ❧✬♦♥ s❛✐t ✐♥✈❡rs❡r ✉♥❡ ❢♦♥❝t✐♦♥ ♣✉✐ss❛♥❝❡ ❛❧♦rs ♦♥ ♣❡✉t r❡tr♦✉✈❡r ❢❛❝✐❧❡♠❡♥t ❧❛ ❢❛❝t♦r✐s❛t✐♦♥
❞❡ ❧✬❡♥t✐❡r N ✳

❯♥❡ ❢♦✐s ❧✬❤②♣♦t❤ès❡ ❝❛❧❝✉❧❛t♦✐r❡ ♣♦sé❡✱ ❧❛ sé❝✉r✐té ❞❡ ❘❙❆ ❡st ❢♦♥❝t✐♦♥ ❞❡ ❧❛ t❛✐❧❧❡
❞❡s ❝❧és ✉t✐❧✐sé❡s✳ ❈❡tt❡ t❛✐❧❧❡ ❞♦✐t êtr❡ ré❣✉❧✐èr❡♠❡♥t r❡✈✉❡ à ❧❛ ❤❛✉ss❡ ♣♦✉r ♣♦✉✈♦✐r s✉✐✈r❡
❧✬❛❝❝r♦✐ss❡♠❡♥t ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ ❞❡s ♦r❞✐♥❛t❡✉rs✱ ❡t ❛❝t✉❡❧❧❡♠❡♥t ❡❧❧❡ ❡st ✉s✉❡❧❧❡♠❡♥t ❞❡ 2048
❡t ✈♦✐r ♠ê♠❡ 4096 ❜✐ts✳ ❈❡s t❛✐❧❧❡s ❞❡ ❝❧és ♥❡ s♦♥t ♣❛s ♥é❣❧✐❣❡❛❜❧❡s ♣♦✉r ❧❡s éq✉✐♣❡♠❡♥ts
❞✐s♣♦s❛♥t ❞❡ ♣❡✉ ❞❡ r❡ss♦✉r❝❡ ❝♦♠♠❡ ❞❡s ❝❛rt❡s à ♣✉❝❡s ♦✉ ❞❡s té❧é♣❤♦♥❡s ♣♦rt❛❜❧❡s✳ ❉ès
❧♦rs✱ ✐❧ s✬❛✈èr❡ ♥é❝❡ss❛✐r❡ ❞❡ tr♦✉✈❡r ❞✬❛✉tr❡s ❛❧❣♦r✐t❤♠❡s ❞❡ ❝❧és ♣✉❜❧✐q✉❡s q✉✐ ♣❡r♠❡tt❡♥t
♣♦✉r ✉♥ ♠ê♠❡ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té ❞❡ ♠❛♥✐♣✉❧❡r ❞❡s ♦❜❥❡ts ♣❧✉s ❝♦♠♣❛❝ts✳

❉✐s❝r❡t❡ ▲♦❣❛r✐t❤♠ Pr♦❜❧❡♠ ✭❉▲P✮✳ ❊♥ ✶✾✼✻✱ ❉✐✣❡ ❡t ❍❡❧❧♠❛♥ ❬❉❍✼✻❪ ♣r♦♣♦s❡♥t
✉♥❡ ✐♥❢r❛str✉❝t✉r❡ ❣é♥ér❛❧❡ ♣❡r♠❡tt❛♥t ❞❡ ❝♦♥str✉✐r❡ ❞❡s ❝❛♥❞✐❞❛ts ❞❡ ❢♦♥❝t✐♦♥s à s❡♥s
✉♥✐q✉❡ à ♣❛rt✐r ❞✉ ♣r♦❜❧è♠❡ ❞✉ ❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t ✭❉▲P✮✳ ❊t❛♥t ❞♦♥♥é ✉♥ ❣r♦✉♣❡
(G, .) ❡t ❞❡✉① é❧é♠❡♥ts g, h ∈ G t❡❧s q✉❡ h = gk ❛✈❡❝ k ∈ Z✱ ❧❡ ♣r♦❜❧è♠❡ ❞✉ ❧♦❣❛r✐t❤♠❡ ❞✐s✲
❝r❡t s✉r G✱ ❝♦♥s✐st❡ à tr♦✉✈❡r ❧✬❡♥t✐❡r k ❝♦♥♥❛✐ss❛♥t g ❡t h✳ ◆♦t♦♥s q✉❡ ❧❡ ❉▲P ❡st ❢❛❝✐❧❡ ❞❛♥s
❧❡s Z✲♠♦❞✉❧❡s ❛❞❞✐t✐❢s ❞✉ ❢❛✐t ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❊✉❝❧✐❞❡ ét❡♥❞✉✳ ❆✜♥ ❞✬✉t✐❧✐s❡r ❧❡ ❉▲P✱ ✐❧ ❡st
♥é❝❡ss❛✐r❡ ❞❡ ♣♦✉✈♦✐r ❢❛❜r✐q✉❡r ❞❡s ❢❛♠✐❧❧❡s ❞❡ ❣r♦✉♣❡s ❞❡ t❛✐❧❧❡ ❛r❜✐tr❛✐r❡♠❡♥t ❣r❛♥❞❡ ❞❛♥s
❧❛q✉❡❧❧❡ ❧❡ ♣r♦❜❧è♠❡ ❉▲P ❡st ré♣✉té ❞✐✣❝✐❧é✳ ❊♥ ✶✾✽✼ ❡t ✶✾✽✾✱ ❑♦❜❧✐t③ ❬❑♦❜✽✼✱ ❑♦❜✽✾❪ ♣r♦✲
♣♦s❛ ❧✬✉t✐❧✐s❛t✐♦♥ ❞❡s ❣r♦✉♣❡s ❞❡ ♣♦✐♥ts r❛t✐♦♥♥❡❧s ❞❡ ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❡t ❞❡s ❥❛❝♦❜✐❡♥♥❡s

✶



❚❛❜❧❡ ❞❡s ♠❛t✐èr❡s

❞❡ ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ✜♥✐✳ ❊♥ ❢❛✐t✱ ❧❡s ♠❡✐❧❧❡✉rs ❛❧❣♦r✐t❤♠❡s
❝♦♥♥✉s à ❝❡ ❥♦✉r ❝❛♣❛❜❧❡s ❞❡ ❝❛❧❝✉❧❡r ❡♥ ❣é♥ér❛❧ ❧❡ ❉▲P s✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s♦♥t ❧❡
✑♣❛s ❞❡ ❣é❛♥t✲♣❛s ❞❡ ❜é❜é✑ ❬❙❤❛✼✶❪✱ ❧❡ P♦❧❧❛r❞ ρ ❬P♦❧✼✽❪ ❡t ❧❡ P♦❤❧✐❣✲❍❡❧❧♠❛♥ ❬P❍✼✽❪ ❡t ❝❡s
❛❧❣♦r✐t❤♠❡s s♦♥t t♦✉s ❞❡ ❝♦♠♣❧❡①✐té ❡①♣♦♥❡♥t✐❡❧❧❡ ❡♥ ❧❛ t❛✐❧❧❡ ❞✉ ❣r♦✉♣❡✳ ❈❡s ❛❧❣♦r✐t❤♠❡s
s♦♥t ❛♣♣❡❧és ❛❧❣♦r✐t❤♠❡s ❣é♥ér✐q✉❡s ❝❛r ✐❧s ♥✬✉t✐❧✐s❡♥t ❛✉❝✉♥❡ ❛✉tr❡ ✐♥❢♦r♠❛t✐♦♥ q✉❡ ❝❡❧❧❡
❞♦♥♥é❡ ♣❛r ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ ♣♦✉r ♦♣ér❡r✳

❆✜♥ ❞✬ét✉❞✐❡r ❧❡ ♣r♦❜❧è♠❡ ❞✉ ❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t s✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s✱ ✐❧
❡st ✐♠♣♦rt❛♥t ❞❡ ❝♦♥❝❡✈♦✐r ❞❡s ♠♦❞è❧❡s ❞❡ ❝♦✉r❜❡s ❛✈❡❝ ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ♣❛rt✐❝✉❧✐èr❡♠❡♥t
❡✣❝❛❝❡ ♦✉ ❛②❛♥t ❞❡s ♣r♦♣r✐étés ❞❡ sé❝✉r✐té ♣r♦✉✈é❡s ♣♦✉r ❧❡s ❛♣♣❧✐❝❛t✐♦♥s ❝r②♣t♦❣r❛♣❤✐q✉❡s✳
■❧ ❡st ❛✉ss✐ ♥é❝❡ss❛✐r❡ ❞✬ét✉❞✐❡r ❧❡s str✉❝t✉r❡s s✉♣♣❧é♠❡♥t❛✐r❡s s✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ✭❞❛♥s
✉♥ s❡♥s ❝❛❧❝✉❧❛t♦✐r❡✮ q✉❡ ❧✬♦♥ ♥❡ r❡tr♦✉✈❡ ♣❛s ❞❛♥s ❧❡s ❣r♦✉♣❡s ❣é♥ér✐q✉❡s✳ ❯♥ ❡①❡♠♣❧❡
♣❛rt❝✉❧✐èr❡♠❡♥t ✐♠♣♦rt❛♥t ❞❡ str✉❝t✉r❡ s✉♣♣❧é♠❡♥t❛✐r❡ ❡st ❧❡ ❝♦✉♣❧❛❣❡ q✉✐ ❞♦♥♥❡ ❧✐❡✉ à
❞❡s ❛♣♣❧✐❝❛t✐♦♥s ✓ ❝♦♥str✉❝t✐✈❡s ✔ ❡t ✓ ❞❡str✉❝t✐✈❡s ✔ ❡♥ ❝r②♣t♦❣r❛♣❤✐❡✳

Pr♦t♦❝♦❧❡s ❜❛sés s✉r ❧❡ ❝♦✉♣❧❛❣❡✳ P♦✉r ❞❡s ❝♦✉r❜❡s ♣❛rt✐❝✉❧✐èr❡s✱ ✐❧ ❡①✐st❡ ❞❡s ❛❧❣♦✲
r✐t❤♠❡s ♣❧✉s r❛♣✐❞❡s q✉❡ ❧❡s ❛❧❣♦r✐t❤♠❡s ❣é♥ér✐q✉❡s ♣♦✉r rés♦✉❞r❡ ❧❡ ❉▲P✳ ❈❡s ❛❧❣♦r✐t❤♠❡s
✉t✐❧✐s❡♥t ❞♦♥❝ ❞❡s str✉❝t✉r❡s s♣é❝✐✜q✉❡s ✭✐✳❡✳ ❞❡s str✉❝t✉r❡s q✉✐ ♥✬❡①✐st❡♥t ♣❛s ❞❛♥s ✉♥
❣r♦✉♣❡ ❣é♥ér✐q✉❡✮ ❛✉① ❣r♦✉♣❡s ❞❡s ♣♦✐♥ts r❛t✐♦♥♥❡❧s ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ P❛r ❡①❡♠♣❧❡✱
❧✬❡①✐st❡♥❝❡ ❞❡ ❝♦✉♣❧❛❣❡s ✭❢♦r♠❡s ❜✐❧✐♥é❛✐r❡s ♥♦♥ ❞é❣é♥éré❡s✮ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❝❛❧✲
❝✉❧❛❜❧❡s ❡♥ t❡♠♣s ♣♦❧②♥♦♠✐❛❧ ❛ été ♠✐s à ♣r♦✜t ♣♦✉r ❝♦♥str✉✐r❡ ❞❡s ❛tt❛q✉❡s ♣❛r tr❛♥s❢❡rt
❞✉ ♣r♦❜❧è♠❡ ❞❡ ❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t ✿ ❧✬✐❞é❡ ❡st ❞❡ s❡ s❡r✈✐r ❞❡s ❝♦✉♣❧❛❣❡s ♣♦✉r tr❛♥s♣♦rt❡r
❧❡ ❉▲P ❞❡♣✉✐s ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r ❧❡ ❣r♦✉♣❡ ♠✉❧t✐♣❧✐❝❛t✐❢ ❞✬✉♥ ❝♦r♣s ✜♥✐ ♣♦✉r ❧❡q✉❡❧
✐❧ ❡①✐st❡ ❞❡s ❛❧❣♦r✐t❤♠❡s ❞❡ ❝♦♠♣❧❡①✐té s♦✉s✲❡①♣♦♥❡♥t✐❡❧❧❡ ♣♦✉r rés♦✉❞r❡ ❧❡ ❉▲P✳ ❈✬❡st ❧❡
♣r✐♥❝✐♣❡ ❞❡s ❛tt❛q✉❡s ♣rés❡♥té❡s ❞✬✉♥❡ ♣❛rt ♣❛r ▼❡♥❡③❡s✱ ❖❦❛♠♦t♦ ❡t ❱❛♥st♦♥❡ ❡t ❞✬❛✉tr❡
♣❛rt ♣❛r ❋r❡② ❡t ❘û❝❦ ✭▼❖❱ ❬▼❖❱✾✸❪ ❡♥ ✶✾✾✸ ❡t ❋❘ ❬❋❘✾✹❪ ❡♥ ✶✾✾✹✮✳

■❧ ❡①✐st❡ ❛✉ss✐ ❞❡s ❛♣♣❧✐❝❛t✐♦♥s ✓ ❝♦♥str✉❝t✐✈❡s ✔ ❞❡s ❝♦✉♣❧❛❣❡s s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳
▲❛ str✉❝t✉r❡ s✉♣♣❧é♠❡♥t❛✐r❡ ♣rés❡♥t❡ s✉r ❧❡ ❣r♦✉♣❡ ❞❡s ♣♦✐♥ts r❛t✐♦♥♥❡❧s ❞✬✉♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡ ❡st ✉t✐❧✐sé❡ ♣♦✉r ❝♦♥str✉✐r❡ ❞❡s ♣r♦t♦❝♦❧❡s ❛②❛♥t ❞❡s ♣r♦♣r✐étés ♣❛rt✐❝✉❧✐èr❡♠❡♥t
✐♥tér❡ss❛♥t❡s✳ ❖♥ ♣❡✉t ❝✐t❡r ♣❛r ❡①❡♠♣❧❡ ✿

✕ ❧❡ ♣r♦t♦❝♦❧❡ ❉✐✣❡✲❍❡❧❧♠❛♥ tr✐♣❛rt✐t❡ ❞❡ ❏♦✉① ❬❏♦✉✵✹❪ ❡♥ ✷✵✵✵ ❡t ✷✵✵✹✱
✕ ❧❡ s❝❤é♠❛ ❞❡ s✐❣♥❛t✉r❡ ❞❡ ❙❛❦❛✐✱ ❖❤❣✐s❤✐ ❡t ❑❛s❛❤❛r❛ ❬❙❖❑✵✵❪ ❡♥ ✷✵✵✵✱
✕ ❧❡ s②stè♠❡ ❊❧✲●❛♠❛❧ ❞❡ ❱❡r❤❡✉❧ ❬❱❡r✵✶❪ ❡♥ ✷✵✵✶✱
✕ ❧❡ s❝❤é♠❛ ❞❡ s✐❣♥❛t✉r❡ ❞❡ ❇♦♥❡❤✱ ▲②♥♥ ❡t ❙❤❛❝❤❛♠ ❬❇▲❙✵✶❪ ❡♥ ✷✵✵✶✱
✕ ❧❡ s❝❤é♠❛ ❞✬é❝❤❛♥❣❡ ❞❡ ❝❧é ❞❡ ❙♠❛rt ❬❙♠❛✵✶❜❪ ❡♥ ✷✵✵✶✱
✕ ❧❡ s❝❤é♠❛ ❞❡ s✐❣♥❛t✉r❡ ❞❡ P❛t❡rs♦♥ ❬P❛t✵✷❪ ❡♥ ✷✵✵✷✱
✕ ❧❡ s❝❤é♠❛ ❞❡ ❝❤✐✛r❡♠❡♥t ❞❡ ❇♦♥❡❤ ❡t ❋r❛♥❦❧✐♥ ❬❇❋✵✸❪ ❡♥ ✷✵✵✸✱

❈❡tt❡ ❧✐st❡ ♥✬❡st ♣❛s ❡①❤❛✉st✐✈❡✳ ◆♦✉s ✈♦②♦♥s ❞♦♥❝ q✉❡ ❧❡ ❝❤❛♠♣ ❞✬❛♣♣❧✐❝❛t✐♦♥ ❞❡ ❧✬ét✉❞❡ ❞❡
❝♦✉♣❧❛❣❡s s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❡t ❤②♣❡r❡❧❧✐♣t✐q✉❡s ♣♦✉r ❧❛ ❝r②♣t♦❣r❛♣❤✐❡ ❡st très ❣r❛♥❞✳
❊❧❧❡ ♣❡r♠❡t ❞❡ ❝♦♥❝❡✈♦✐r ❞❡s ❛tt❛q✉❡s ♥♦✉✈❡❧❧❡s✱ ♠❛✐s ❛✉ss✐ ❞❡ ❝♦♥str✉✐r❡ ❞❡s ♣r♦t♦❝♦❧❡s très
r❛♣✐❞❡s ❞♦♥t ❧❛ sé❝✉r✐té r❡♣♦s❡ s✉r ✉♥ ♣r♦❜❧è♠❡ ré♣✉té ❞✐✣❝✐❧❡ ❛✈❡❝ ❞❡s t❛✐❧❧❡s ❞❡ ❝❧és ❞❡ ✹ à
✷✵ ❢♦✐s ♣❧✉s ♣❡t✐t❡s q✉❡ ❝❡❧❧❡s ❞✉ ❘❙❆ ✭✈♦✐r ❬●P❙✵✻❛✱ ❈❇▲▼✵✾❪ ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s s✉r ❧❛
❝♦♠♣❛r❛✐s♦♥ ❡♥tr❡ ❘❙❆ ❡t ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✮✳ ❉❡ ♥♦s ❥♦✉rs✱ ❧❡s ❝r②♣t♦s②stè♠❡s ❜❛sés
s✉r ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s s♦♥t st❛♥❞❛r❞✐sés ♣❛r ❜❡❛✉❝♦✉♣ ❞✬♦r❣❛♥✐s♠❡s ❝♦♠♠❡ ❧✬■❊❊❊
❬■❊❊✵✵❪✱ ❧❡ ◆■❙❚ ❬◆■❙✵✷❪✱ ❧❡ ❙❊❈✱ ❧✬❆◆❙■✱ ❡t❝✳

◆♦t♦♥s q✉❡ ❧❛ ❝♦♥str✉❝t✐♦♥ ❞❡ ♣r♦t♦❝♦❧❡s ❛✈❡❝ ❞❡s ❝♦✉♣❧❛❣❡s ❞é♣❡♥❞ ❢♦rt❡♠❡♥t ❞✉ ❝❤♦✐①
❞❡ ❧❛ ❝♦✉r❜❡✳ ❊♥ ❡✛❡t✱ ❧❡s ❛tt❛q✉❡s ▼❖❱ ❡t ❋❘ s♦♥t ♣♦ss✐❜❧❡s s✉r ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s
♣❛rt✐❝✉❧✐èr❡s ✿ ❝❡❧❧❡s ❞♦♥t ❧❡ ❝❛r❞✐♥❛❧ ❞❡s ♣♦✐♥ts r❛t✐♦♥♥❡❧s ❡st ❞é❝♦♠♣♦s❛❜❧❡ ❡♥ ❞❡ ♣❡t✐ts
♥♦♠❜r❡s ♣r❡♠✐❡rs ♦✉ ❜✐❡♥ ❝❡rt❛✐♥❡s ❝♦✉r❜❡s s✉♣❡rs✐♥❣✉❧✐èr❡s ❞❡ ♣❡t✐t ❝❛r❞✐♥❛❧✳ ❈❡ q✉✐ s✉❣✲
❣èr❡ ❧✬❡①✐st❡♥❝❡ ❞❡ ❝♦✉r❜❡s ✐❞é❛❧❡s ♣♦✉r ❧❡ ❝♦✉♣❧❛❣❡✱ ❝❡s ❝♦✉r❜❡s s♦♥t ❛♣♣❡❧é❡s ✓ ❝♦✉r❜❡s

✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❚❛❜❧❡ ❞❡s ♠❛t✐èr❡s

♣❛✐r✐♥❣✲❢r✐❡♥❞❧② ✔✳

❆r✐t❤♠ét✐q✉❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✳ ▲❛ ❝♦♥str✉❝t✐♦♥ ❞❡ ♣r♦t♦❝♦❧❡s ❜❛sés s✉r ❧❡s ❝♦✉r❜❡s
❞é♣❡♥❞ ❢♦rt❡♠❡♥t ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡s ❝♦✉r❜❡s✳ P♦✉r ❝❡❧❛✱ ✐❧
❢❛✉t ♥♦♥ s❡✉❧❡♠❡♥t ❛❝❝é❧ér❡r ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ♠❛✐s ❛✉ss✐ ❢❛✐r❡ ✉♥ ❝❤♦✐①
❛❞éq✉❛t ❞❡s ❝♦r♣s ✜♥✐s✳ P♦✉r ❧❡s ❝♦r♣s ✜♥✐s ✉t✐❧✐sés✱ s❡❧♦♥ ❧❡ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té✱ ♦♥ ♣r❡♥❞
s♦✐t ❞❡s ❣r❛♥❞❡s ❡①t❡♥s✐♦♥s ❞❡ ❝♦r♣s ✜♥✐s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ 2✱ s♦✐t ❞❡ ❣r❛♥❞s ❝♦r♣s ♣r❡♠✐❡rs✳
P❛r ❡①❡♠♣❧❡✱ ♣♦✉r ✉♥ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té é❣❛❧ à ✽✵ ❜✐ts✱ ♦♥ ✉t✐❧✐s❡ s♦✐t ❧❡ ❝♦r♣s ✜♥✐ F2m

❛✈❡❝ m ≈ ✶✻✵✱ s♦✐t ❧❡ ❝♦r♣s ♣r❡♠✐❡r Fp ❛✈❡❝ p ♣r❡♠✐❡r ❡t p ≈ 2160✳ P♦✉r ❛♠é❧✐♦r❡r ❧❡s
✐♠♣❧é♠❡♥t❛t✐♦♥s s✉r ❧❡s ❝♦r♣s ✜♥✐s✱ ❧❡ ♣♦❧②♥ô♠❡ ❞❡ ❞é✜♥✐t✐♦♥ ❞❡ F2m ❡t ❧❡ ♥♦♠❜r❡ ♣r❡♠✐❡r
p ❞♦✐✈❡♥t êtr❡ ❞❡ ♣♦✐❞s ❞❡ ❍❛♠♠✐♥❣ ♠✐♥✐♠❛❧✳

P❛r ❛✐❧❧❡✉rs✱ ❧✬❡✣❝❛❝✐té ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞é♣❡♥❞ ❞✉ ❝❛r❞✐♥❛❧ ❞❡ ❧❛ ❏❛❝♦❜✐❡♥♥❡ ❞❡ ❧❛
❝♦✉r❜❡✳ ▲❡ t❤é♦rè♠❡ ❞❡ ❍❛ss❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✱ ❣é♥ér❛❧✐sé ♣❛r ❲❡✐❧ s✉r ❧❡s ✈❛r✐étés
❛❜é❧✐❡♥♥❡s✱ ❞♦♥♥❡ ✉♥❡ ❜♦r♥❡ ❞✉ ❝❛r❞✐♥❛❧ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡
❡♥tr❡ (

√
q − 1)2g ❡t (

√
q + 1)2g✳ ▲❡ ❝❛r❞✐♥❛❧ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❡st ❛❧♦rs ❞❡ ❧✬♦r❞r❡ ❞❡ qg ❡t

❧❛ sé❝✉r✐té s✉r ❧❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❡st ❞❡ ❧✬♦r❞r❡ ❞❡ qg/2✳ ❈❡tt❡ r❡♠❛rq✉❡ ❛ ✉♥❡
❝♦♥séq✉❡♥❝❡ s✉r ❧✬ét✉❞❡ ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❞❡ ❣❡♥r❡ s✉♣ér✐❡✉r✳ ❊♥ ❡✛❡t✱ ♣♦✉r ❧❡
❣❡♥r❡ ✷ ♦♥ ♣❡✉t ❝❤♦✐s✐r ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s s✉r ❞❡s ❝♦r♣s ♣❧✉s ♣❡t✐ts q✉❡ ❝❡✉①
♥é❝❡ss❛✐r❡s ♣♦✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳ P❛r ❡①❡♠♣❧❡✱ à ✉♥ ♠ê♠❡ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té✱ ✉♥❡
❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞❡ t❛✐❧❧❡ ≈ 2360 ❝♦rr❡s♣♦♥❞ à ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ✷ ❞♦♥t ❧❛
t❛✐❧❧❡ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ≈ 2180✳ ❈❡♣❡♥❞❛♥t✱ ❧❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❞❡ ❣❡♥r❡ g ≥ 4 s♦♥t
♠♦✐♥s sûr❡s q✉❡ ❧❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ≤ 3✳ ❊♥ ❡✛❡t✱ ❆❞❧❡♠❛♥✱ ❉❡▼❛r❛✐s ❡t ❍✉❛♥❣ ❞✬✉♥❡
♣❛rt ❬❆❉❍✾✹❪ ❡t ●❛✉❞r② ❬●❛✉✵✵❪ ❞✬❛✉tr❡ ♣❛rt ♦♥t ❡①❤✐❜é ✉♥❡ ❛tt❛q✉❡ s♦✉s✲❡①♣♦♥❡♥t✐❡❧❧❡
❧♦rsq✉❡ ❧❡ ❣❡♥r❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❡st ❣r❛♥❞✳

▲❡s ❝♦♥s✐❞ér❛t✐♦♥s ♣ré❝é❞❡♥t❡s ♦♥t ♠♦t✐✈é ❞✬✐♠♣♦rt❛♥ts tr❛✈❛✉① ❞❡ r❡❝❤❡r❝❤❡ ❞❡st✐♥és
à r❡♥❞r❡ ♣❧✉s ❡✣❝❛❝❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❡t ❞❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s
❤②♣❡r❡❧❧✐♣t✐q✉❡s✳ ▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ❬❈❛♥✽✼❪ ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ s✉r
❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s✳ ▲❛♥❣❡ ❬▲❛♥✵✶✱ ▲❛♥✵✷❛❪ ❞♦♥♥❡ ✉♥❡ ✈❡rs✐♦♥
❡✣❝❛❝❡ ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ❡♥ ❣❡♥r❡s ✷ ❡t ✸✳ P♦✉r ❛♠é❧✐♦r❡r ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s
❝♦✉r❜❡s✱ ♦♥ ♣❡✉t ❝❤❛♥❣❡r ❧❡ s②stè♠❡ ❞❡ r❡♣rés❡♥t❛t✐♦♥s ❞❡s ❞✐✈✐s❡✉rs✱ ♦✉ ❜✐❡♥ ❝❤❛♥❣❡r ❧❡
♠♦❞è❧❡ ❞❡ ❧❛ ❝♦✉r❜❡✳ ❈❡❝✐ s✉❣❣èr❡ ❞✬✉♥❡ ♣❛rt ❧✬✉t✐❧✐s❛t✐♦♥ ❞❡s ❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝t✐✈❡s ♦✉
❞❡s ❝♦♦r❞♦♥♥é❡s ❥❛❝♦❜✐❡♥♥❡s ♣♦✉r ❧❛ r❡♣rés❡♥t❛t✐♦♥ ❞❡s ❞✐✈✐s❡✉rs ❞❡s ❝♦✉r❜❡s ❡t ❞✬❛✉tr❡
♣❛rt ❧✬✉t✐❧✐s❛t✐♦♥ ❞❡s ♠♦❞è❧❡s ❞✬❊❞✇❛r❞s ❬❊❞✇✵✼❪✱ ❞❡ ❏❛❝♦❜✐ ♦✉ ❞❡ ❍❡ss✐❛♥ ❡♥ ❣❡♥r❡ 1 ♦✉
❞✉ ♠♦❞è❧❡ ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♦✉ à ❜❛s❡ ❞❡ ❢♦♥❝t✐♦♥s t❤êt❛ ❡♥ ❣❡♥r❡ 2✳

❘é❝❡♠♠❡♥t s♦♥t ❛♣♣❛r✉❡s ❞❡s ❛tt❛q✉❡s ❞✐t❡s à ❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s ❬❆❈❉+✵✻✱ ❝❤❛♣✳ ✷✾❪
q✉✐ ❡①♣❧♦✐t❡♥t ❧❡ ❢❛✐t q✉❡ ❧❡s ❝♦ûts ❞❡ ❧✬❛❞❞✐t✐♦♥ ❡t ❞❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥ s♦♥t ❞✐✛ér❡♥ts ♣♦✉r
r❡tr♦✉✈❡r ❞❡s ✐♥❢♦r♠❛t✐♦♥s s✉r ❧❛ ❝❧é ♣r✐✈é❡✳ P♦✉r ✐♠♣❧é♠❡♥t❡r ❝❡s ❛tt❛q✉❡s✱ ♦♥ ♠❡s✉r❡
❧❡ t❡♠♣s ❞✬❡①é❝✉t✐♦♥ ♦✉ ❧❡ r❛②♦♥♥❡♠❡♥t é❧❡❝tr♦♠❛❣♥ét✐q✉❡ ♣r♦❞✉✐t ♣❛r ❧❡ ♠❛tér✐❡❧ ❧♦rs
❞❡ s♦♥ ✉t✐❧✐s❛t✐♦♥ ♣♦✉r ❝❛❧❝✉❧❡r ❧✬❡①♣♦♥❡♥t❛t✐♦♥✳ ❙✐ ♦♥ ♣❡✉t ❞✐st✐♥❣✉❡r ❧❛ ❝♦♠♣❧❡①✐té ❞❡
❧✬❛❞❞✐t✐♦♥ ❡t ❞❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥✱ ❛❧♦rs ✐❧ ❡st ❢❛❝✐❧❡ ❞❡ r❡tr♦✉✈❡r ❧❛ ❝❧é s❡❝rèt❡ ✉t✐❧✐sé❡ ❧♦rs ❞❡
❧✬❡①♣♦♥❡♥t❛t✐♦♥✳ P♦✉r ❝♦♥tr❡❝❛r❡r ❝❡s ❛tt❛q✉❡s✱ ✐❧ ♣❡✉t êtr❡ ✐♥tér❡ss❛♥t ❞❡ ❝♦♥s✐❞ér❡r ❞❡s
❧♦✐s ❞❡ ❣r♦✉♣❡s ❞✐t❡s ✉♥✐❢♦r♠❡s ❝❡ q✉✐ s✐❣♥✐✜❡ q✉❡ ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❡t ❞❡ ❞✉♣❧✐❝❛t✐♦♥
❬❇❉❏✵✹✱ ❇❏✵✷❪ s♦♥t ✐❞❡♥t✐q✉❡s✳ ❊♥ ❣❡♥r❡ ✷✱ ▲❛♥❣❡ ❡t ▼✐s❤r❛ ❬▲▼✵✺❪ ♣r♦♣♦s❡♥t ❞❡s ❢♦r♠✉❧❡s
♣♦✉r ✉♥✐❢♦r♠✐s❡r ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡✳ ❯♥❡ ❛✉tr❡ ♠ét❤♦❞❡ ♣♦✉r ♣❛r❡r ❛✉① ❛tt❛q✉❡s à ❝❛♥❛✉①
❛✉①✐❧✐❛✐r❡s ❡st ❧✬✉t✐❧✐s❛t✐♦♥ ❞✬❛❧❣♦r✐t❤♠❡s ❞❡ t②♣❡ ▼♦♥t❣♦♠❡r② ❬❉✉q✵✹❪ q✉✐ ❝❛❧❝✉❧❡♥t ✉♥❡
❡①♣♦♥❡♥t❛t✐♦♥ ❡♥ ❢❛✐s❛♥t à ❝❤❛q✉❡ ét❛♣❡ ✉♥❡ ❛❞❞✐t✐♦♥ ❡t ✉♥❡ ❞✉♣❧✐❝❛t✐♦♥ q✉❡❧❧❡ q✉❡ s♦✐t
❧❛ ✈❛❧❡✉r ❞✉ ❜✐t ❞✬❡①♣♦s❛♥t✳ ❊♥ ✷✵✵✼✱ ●❛✉❞r② ❬●❛✉✵✼❪ ❞é❝r✐t ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡
s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r q✉✐ ✉t✐❧✐s❡ ❧❛ t❤é♦r✐❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❡t r❡♣♦s❡ s✉r ✉♥
❛❧❣♦r✐t❤♠❡ ❞❡ t②♣❡ ▼♦♥t❣♦♠❡r②✳ ❊♥ ✷✵✵✽✱ ●❛✉❞r② ❡t ▲✉❜✐❝③ ❬●▲✵✽❪ rés♦❧✈❡♥t ❧❡ ❝❛s ❞❡s

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✸✴✾✶



❚❛❜❧❡ ❞❡s ♠❛t✐èr❡s

❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ♦r❞✐♥❛✐r❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ 2✳ ▼❛✐s ❧❡✉rs
❢♦r♠✉❧❡s ♥❡ s♦♥t ♣❛s ✈❛❧❛❜❧❡s ♣♦✉r ❞❡s ❝♦✉r❜❡s ♥♦♥✲♦r❞✐♥❛✐r❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ✜♥✐ ❞❡
❝❛r❛❝tér✐st✐q✉❡ 2✳ ❉❛♥s ❝❡ ♠é♠♦✐r❡✱ ♥♦✉s ét✉❞✐❡r♦♥s ❝❡s ❝♦✉r❜❡s ♥♦♥✲♦r❞✐♥❛✐r❡s ❞é✜♥✐❡s s✉r
❞❡s ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ 2✳

❖r❣❛♥✐s❛✐t✐♦♥ ❞✉ ♠❛♥✉s❝r✐t✳ ❈❡ ♠❛♥✉s❝r✐t ❡st ❞✐✈✐sé ❡♥ ✸ ♣❛rt✐❡s ❡t ✾ ❝❤❛♣✐tr❡s ✭✸
❝❤❛♣✐tr❡s ♣❛r ♣❛rt✐❡✮ ✿

■✳ ❘❛♣♣❡❧ s✉r ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s✳

■■✳ ■♠♣❧é♠❡♥t❛t✐♦♥ ❡✣❝❛❝❡ ❞❡s ❝♦✉♣❧❛❣❡s ❡♥ ❣❡♥r❡ ✷✳

■■■✳ ▼♦❞è❧❡ ❡✣❝❛❝❡ à ❜❛s❡ ❞❡ ❢♦♥❝t✐♦♥s ❞❡ t❤êt❛✳

▲❛ ♣r❡♠✐èr❡ ♣❛rt✐❡ ❡st ❝♦♥s❛❝ré❡ ❛✉① r❛♣♣❡❧s s✉r ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❝♦✉r❜❡s ❤②♣❡r✲
❡❧❧✐♣t✐q✉❡s✳ ❊❧❧❡ ♣❡r♠❡t ❞❡ ❝♦♠♣r❡♥❞r❡ ❧❛ s✉✐t❡ ❞✉ ♣rés❡♥t ♠❛♥✉s❝r✐t ❡t ♥❡ ❝♦♠♣♦rt❡ ❛✉❝✉♥❡
❞é♠♦♥str❛t✐♦♥✳ ❉❛♥s ❧❡ ♣r❡♠✐❡r ❝❤❛♣✐tr❡✱ ♥♦✉s r❛♣♣❡❧♦♥s ❧❡s ❣é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉r❜❡s ❤②✲
♣❡r❡❧❧✐♣t✐q✉❡s✳ ❉❛♥s ❧❡ ❞❡✉①✐è♠❡ ❝❤❛♣✐tr❡ ♥♦✉s ♥♦✉s ✐♥tér❡ss❡r♦♥s ❛✉① ❥❛❝♦❜✐❡♥♥❡s ❡t ❞❛♥s
❧❡ tr♦✐s✐è♠❡ ❝❤❛♣✐tr❡ à ❧❡✉r ❛r✐t❤♠ét✐q✉❡✳

▲❡s ❞❡✉① ❞❡r♥✐èr❡s ♣❛rt✐❡s ❝♦♥st✐t✉❡♥t ❧❛ ♣❛rt✐❡ ❝❡♥tr❛❧❡ ❞✉ ♣rés❡♥t ♠❛♥✉s❝r✐t✳ ▲❛
❞❡✉①✐è♠❡ ♣❛rt✐❡ ❡st ❡♥t✐èr❡♠❡♥t ❝♦♥s❛❝ré❡ à ❧❛ t❤é♦r✐❡ ❞❡s ❝♦✉♣❧❛❣❡s ❡♥ ♣❡t✐t ❣❡♥r❡ t❛♥❞✐s
q✉❡ ❧❛ tr♦✐s✐è♠❡ ❡st ❝♦♥s❛❝ré❡ à ❧✬❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡s 1 ❡t 2✳ ❉❛♥s ❧❛ ❞❡✉①✐è♠❡
♣❛rt✐❡✱ ♥♦✉s ❝♦♠♠❡♥❝❡r♦♥s ♣❛r r❛♣♣❡❧❡r ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r q✉✐ ♠❛♥✐♣✉❧❡ ❞❡s ❢♦♥❝t✐♦♥s
❞✐t❡s ❞❡ ▼✐❧❧❡r✳ ▲❡ tr❛✈❛✐❧ ❡✛❡❝t✉é ❞❛♥s ❝❡tt❡ ♣❛rt✐❡ ❡st ❛✈❛♥t t♦✉t ❡①♣ér✐♠❡♥t❛❧✳ ◆♦✉s ❛✈♦♥s
✐♠♣❧é♠❡♥té ❡♥ ▼❛❣♠❛ ❞❡✉① ❣é♥ér❛❧✐s❛t✐♦♥s ❞❡s ❝♦✉♣❧❛❣❡s✱ ❞✬✉♥❡ ♣❛rt ❧❡ ❝♦✉♣❧❛❣❡ ♦♣t✐♠❛❧
❞❡ ❬❱❡r✵✽❪ ♣♦✉r ❧❡ ❝❛s ❡❧❧✐♣t✐q✉❡ ❡t ❞✬❛✉tr❡ ♣❛rt ❧❡ ❝♦✉♣❧❛❣❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❬●❍❱✵✼❪✳
◆♦✉s ❞♦♥♥♦♥s ✉♥❡ ❝♦♥❞✐t✐♦♥ ♥é❝❡ss❛✐r❡ ❡t s✉✣s❛♥t❡ ♣♦✉r q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❆t❡ s♦✐t ♣❧✉s
r❛♣✐❞❡ q✉❡ ❝❡❧✉✐ ❞❡ ❚❛t❡✳ ◆♦✉s ❛✈♦♥s ✐♠♣❧é♠❡♥té t♦✉s ❧❡s ❛❧❣♦r✐t❤♠❡s ❡t ♥♦✉s ❢❛✐s♦♥s ✉♥❡
❝♦♠♣❛r❛✐s♦♥ ❞❡s ♣❡r❢♦r♠❛♥❝❡s ♣♦✉r ✉♥ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té ❞♦♥♥é ❡♥tr❡ ❧❡s ❣❡♥r❡s 1 ❡t 2✳

▲❛ tr♦✐s✐è♠❡ ♣❛rt✐❡ ❞❡ ❝❡ ♠❛♥✉s❝r✐t ❝♦♥st✐t✉❡ ❧❛ ♣❛rt✐❡ ❧❛ ♣❧✉s ♦r✐❣✐♥❛❧❡ ❞❡ ❝❡ ♠é♠♦✐r❡✳
❊♥ ❡✛❡t✱ ❞❛♥s ❝❡tt❡ ♣❛rt✐❡ ♥♦✉s ✉t✐❧✐s♦♥s ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ♣♦✉r ♦❜t❡♥✐r
❞❡s ♠♦❞è❧❡s ❡✣❝❛❝❡s ♣♦✉r ❞❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❞✐♠❡♥s✐♦♥ 1 ❡t 2✳ ❊♥ ❣❡♥r❡ ✶✱ ♥♦✉s ré✐♥t❡r✲
♣r❡t♦♥s ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉r ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✳ ●râ❝❡ ❛✉ ♠♦❞è❧❡
❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ♥♦✉s ❛❧❧♦♥s ❞é❞✉✐r❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡✳ ❈❡
❧✐❡♥ ❥✉st✐✜❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❡t ❝❡❧❛ ❡st ❝r✉❝✐❛❧ ❞✬❛✉t❛♥t ♣❧✉s q✉❡ ♥♦✉s ♠♦♥tr♦♥s
q✉❡ ♥♦tr❡ ♠♦❞è❧❡ ❡st ✉♥❡ s♦✉s✲❢❛♠✐❧❧❡ ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❞❡ ❬❇▲❋✵✽❪✳

◆♦✉s r❛♣♣❡❧♦♥s ❞✬❛❜♦r❞ ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛✳ P✉✐s ♥♦✉s ❞♦♥♥♦♥s ❞❡s
❢♦r♠✉❧❡s ❡✣❝❛❝❡s ♦❜t❡♥✉❡s ♣♦✉r ❧✬❛r✐t❤♠ét✐q✉❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡
2✳ ❉❡ ♠ê♠❡✱ ♥♦✉s ✉t✐❧✐s♦♥s ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ♣♦✉r ❧✬ét✉❞❡ ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥♦♥✲
♦r❞✐♥❛✐r❡s s✉r ❞❡s ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①✳ ▲❡s ❝❛s ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡
❡t ❞❡s ❝♦✉r❜❡s ♦r❞✐♥❛✐r❡s s♦♥t ❜✐❡♥ ❝♦♥♥✉s✳ P♦✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡s
❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷✱ ♥♦✉s ✉t✐❧✐s♦♥s ❡♥ ♣❧✉s ✉♥❡ t❡❝❤♥✐q✉❡ ❞❡ ▲❛s③❧♦✱ P❛✉❧② ❡t ❉✉❝r♦❝❤❡t
❬▲P✵✷✱ ▲P✵✹✱ ❉✉❝✵✽❪✳

◆♦t❛t✐♦♥s✳ ❙❛✉❢ ♠❡♥t✐♦♥ ❡①♣r❡ss ❞✉ ❝♦♥tr❛✐r❡✱ ♥♦✉s ✉t✐❧✐s❡r♦♥s ❧❡s ♥♦t❛t✐♦♥s s✉✐✈❛♥t❡s ✿
✕ aλ ✿ ❝♦✉♣❧❛❣❡ ❆t❡ ■ ❞❡ ♣❛r❛♠ètr❡ λ ❀
✕ a[c0,...cℓ] ✿ ❝♦✉♣❧❛❣❡ ❆t❡ ■■ ❞❡ ♣❛r❛♠ètr❡s c0, ..., cℓ ❀
✕ An ✿ ❡s♣❛❝❡ ❛✣♥❡ ❞❡ ❞✐♠❡♥s✐♦♥ n ❀
✕ C/k ✿ ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g ❞é✜♥✐❡ s✉r ❧❡ ❝♦r♣s k ❀
✕ C ✿ ❝♦r♣s ❞❡s ♥♦♠❜r❡s ❝♦♠♣❧❡①❡s ❀
✕ χC ✿ ❧❡ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ❀
✕ ηn ✿ ❝♦✉♣❧❛❣❡ ❊t❛ ❞❡ ♣❛r❛♠ètr❡ n ∈ N ❀

✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❚❛❜❧❡ ❞❡s ♠❛t✐èr❡s

✕ Fp ✿ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❞✐♥❛❧ ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p ❀
✕ Φn(x) ∈ Z [x] ✿ ♣♦❧②♥ô♠❡ ❝②❝❧♦t♦♠✐q✉❡ ❀
✕ Hn ✿ ❞❡♠✐✲❡s♣❛❝❡ ❞❡ ❙✐❡❣❡❧ ❞❡ ❞✐♠❡♥s✐♦♥ n ❀
✕ JC ✿ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ C ❀
✕ JC [r] ✿ ❧❡s ♣♦✐♥ts ❞❡ r−t♦rs✐♦♥ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞❡ C ❀
✕ JC(K) ✿ ❧❡s ♣♦✐♥ts ❞❡ JC q✉✐ s♦♥t r❛t✐♦♥♥❡❧s s✉r ❧❡ ❝♦r♣s K ❀
✕ k := Fq ✿ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p ❡t ❞❡ ❝❛r❞✐♥❛❧ q ❀
✕ KA ✿ ✈❛r✐été ❞❡ ❑✉♠♠❡r ❞❡ A ✭q✉✐ ❡st s♦✐t ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡✱ s♦✐t ✉♥❡ ❝♦✉r❜❡✮ ❀
✕ Mn ✿ ❛♥♥❡❛✉ ❞❡s ♠❛tr✐❝❡s ❝❛rré❡s ❞✬♦r❞r❡ n ❀
✕ N ✿ ❧❡s ❡♥t✐❡rs ♥❛t✉r❡❧s ❀
✕ p ✿ ♥♦♠❜r❡ ♣r❡♠✐❡r ✜①é ❀
✕ Pn ✿ ❡s♣❛❝❡ ♣r♦❥❡❝t✐❢ ❞❡ ❞✐♠❡♥s✐♦♥ n ❀
✕ πq ♦✉ π ✿ ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ❀
✕ ϕ(n) ✿ ❢♦♥❝t✐♦♥ ✐♥❞✐❝❛tr✐❝❡ ❞✬❊✉❧❡r ❀
✕ q ✿ ✉♥❡ ♣✉✐ss❛♥❝❡ ❞✬✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r ❀
✕ Q ✿ ❧❡s ♥♦♠❜r❡s r❛t✐♦♥♥❡❧s ❀
✕ Qp ✿ ❧❡s ♥♦♠❜r❡s p−❛❞✐q✉❡s ❀
✕ R ✿ ❧❡s ♥♦♠❜r❡s ré❡❧s ❀
✕ Tn ✿ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❞❡ ♣❛r❛♠ètr❡ n ∈ N ❀
✕ θ(·, ·) ✿ ❢♦♥❝t✐♦♥s t❤êt❛ ❞❡ ❘✐❡♠❛♥♥ ❀
✕ θ [ab ] (·, ·) ✿ ❢♦♥❝t✐♦♥s t❤êt❛ ❞❡ ❘✐❡♠❛♥♥ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡ a, b ∈ Q ❀
✕ vp(·) ✿ ✈❛❧✉❛t✐♦♥ ❞✐s❝rèt❡ ❀
✕ Wn ✿ ❝♦✉♣❧❛❣❡ ❞❡ ❲❡✐❧ ❞❡ ♣❛r❛♠ètr❡ n ∈ N ❀
✕ Z ✿ ❧❡s ❡♥t✐❡rs r❡❧❛t✐❢s ❀
✕ Zp ✿ ❧❡s ❡♥t✐❡rs p−❛❞✐q✉❡s ❀

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✺✴✾✶
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✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



Pr❡♠✐èr❡ ♣❛rt✐❡

❘❛♣♣❡❧ s✉r ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s

❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s

✼





❈❤❛♣✐tr❡ ✶

●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉r❜❡s

❤②♣❡r❡❧❧✐♣t✐q✉❡s

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ❞♦♥♥♦♥s ❞❡s é❧é♠❡♥ts ❡ss❡♥t✐❡❧s ♣♦✉r ❧❛ ❝♦♠♣ré❤❡♥s✐♦♥ ❞✉ ♣ré✲
s❡♥t ❞♦❝✉♠❡♥t✳ ◆♦✉s r❛♣♣❡❧♦♥s ❧❛ ❞é✜♥✐t✐♦♥ ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s q✉✐ s♦♥t ❝❧❛ss✐✜é❡s
♣❛r ❧❡✉r ❣❡♥r❡✱ ♣✉✐s ♥♦✉s ❞♦♥♥♦♥s ❞❡s éq✉❛t✐♦♥s ♣♦✉r ❞❡s ♠♦❞è❧❡s ♣❧❛♥ ❛✣♥❡ ❡♥ ❞✐st✐♥✲
❣✉❛♥t ❞✐✈❡rs ❝❛s ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❝♦r♣s ❞❡ ❜❛s❡✳ ❉ès q✉❡ ❧❡ ❣❡♥r❡ ❡st
♣❧✉s ❣r❛♥❞ q✉❡ 2✱ ❡♥ ❣é♥ér❛❧✱ ♦♥ ♥❡ ♣❡✉t ♣❛s ♠✉♥✐r ❧❛ ❝♦✉r❜❡ ❞✬✉♥❡ str✉❝t✉r❡ ❞❡ ❣r♦✉♣❡
❛❧❣é❜r✐q✉❡✳ P❛r ❝♦♥tr❡✱ ♦♥ ♣❡✉t t♦✉❥♦✉rs ❛ss♦❝✐❡r à ✉♥❡ ❝♦✉r❜❡✱ s❛ ❥❛❝♦❜✐❡♥♥❡ q✉✐ ❡st ✉♥
❣r♦✉♣❡ ❛❧❣é❜r✐q✉❡✳ ❆✜♥ ❞❡ ♣♦✉✈♦✐r ❝♦♥str✉✐r❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡✱ ♥♦✉s r❛♣♣❡❧♦♥s
❞❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ❧❡ ❝♦r♣s ❞❡ ❢♦♥❝t✐♦♥ ❛ss♦❝✐é à ✉♥❡ ❝♦✉r❜❡✱ ❧❡ ❣r♦✉♣❡ ❞❡s ❞✐✈✐s❡✉rs ❛✐♥s✐
q✉❡ ❧❡ ❣r♦✉♣❡ ❞❡ P✐❝❛r❞✳

✶✳✶ ❈♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s

❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ❞♦♥♥♦♥s ❧❛ ❞é✜♥✐t✐♦♥ ❢♦r♠❡❧❧❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✳
◆♦✉s r❡♠❛rq✉♦♥s q✉❡ ♥♦tr❡ ❞é✜♥✐t✐♦♥ ❡♥❣❧♦❜❡ ❧❡ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳

❉é✜♥✐t✐♦♥ ✶✳✶ ❙♦✐t k ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p✳ ❖♥ ❛♣♣❡❧❧❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡
❞é✜♥✐❡ s✉r k ✉♥❡ ❝♦✉r❜❡ ♣r♦❥❡❝t✐✈❡ ❧✐ss❡ ❞♦♥t ✉♥ ♠♦❞è❧❡ ♣❧❛♥ ❛✣♥❡ ❡st ❞♦♥♥é ♣❛r ✉♥❡
éq✉❛t✐♦♥ ❞❡ ❧❛ ❢♦r♠❡ ✿

C : y2 + h(x)y − f(x) = 0, ✭✶✳✶✮

♦ù ✿
✕ f ∈ k [x] ❡st ✉♥✐t❛✐r❡ ❡t ❞❡ ❞❡❣ré 2g + 1✱ ❛✈❡❝ g ✉♥ ❡♥t✐❡r ♣♦s✐t✐❢ q✉✐ ❡st ❧❡ ❣❡♥r❡ ❞❡
❧❛ ❝♦✉r❜❡✱

✕ h ∈ k [x] ❡st ❞❡ ❞❡❣ré ✐♥❢ér✐❡✉r ♦✉ é❣❛❧ à g✱
✕ ❧❛ ❧✐ss✐té ❞❡ C s✐❣♥✐✜❡ q✉✬✐❧ ♥✬❡①✐st❡ ♣❛s ❞❡ ♣♦✐♥t P = (a, b) ❞❡ C ❞❛♥s ❧❛ ❝❧ôt✉r❡
❛❧❣é❜r✐q✉❡ k ❞❡ k t❡❧ q✉❡ ✿ 2b+ h(a) = 0, ❡t f ′(a)− h′(a)b = 0.

▲❡ ♣♦✐♥t à ❧✬✐♥✜♥✐ s❡r❛ ♥♦té ♣❛r P∞ ✭♦✉ ❜✐❡♥ ♣❛r❢♦✐s ♣❛r O ♣♦✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✮✳
▲✬❛♣♣❧✐❝❛t✐♦♥ ι : C → C, (x, y) 7→ ι(x, y) = (x,−y − h(x)) ❡st ❛♣♣❡❧é❡ ❧✬✐♥✈♦❧✉t✐♦♥ ❤②♣❡r❡❧✲
❧✐♣t✐q✉❡ ❞❡ C✳ ▲❡s ♣♦✐♥ts ❞❡ ❲❡✐❡rstr❛β ❞❡ C s♦♥t ❧❡s ♣♦✐♥ts ✐♥✈❛r✐❛♥ts ♣❛r ι✱ ✐✳❡✳ ❧❡s ♣♦✐♥ts
(x, y) ✈ér✐✜❛♥t y2 + yh(x) = f(x) ❡t h(x)2 + 4f(x) = 0✳

❊①❡♠♣❧❡ ✶✳✷ P♦s♦♥s p = 2003✱ ❛❧♦rs s✉r ❧❡ ❝♦r♣s Fp✱ ❧✬éq✉❛t✐♦♥ y2 = x5+1184x2+956x+
560 ❞é✜♥✐t ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g = 2✳

✾
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❙♦✐❡♥t C/k ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❡t K/k ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❞❡ k✱ ❛❧♦rs ✉♥
♣♦✐♥t P ❞❡ ❧❛ ❝♦✉r❜❡ C ❡st ❞✐t K✲r❛t✐♦♥♥❡❧ ✭♦✉ ❜✐❡♥ r❛t✐♦♥♥❡❧ s✉r K✮ s✐ s❡s ❝♦♦r❞♦♥♥é❡s
s♦♥t ❞❛♥s K✳ ❙✐ K ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❞❡ k ✭❝❡ q✉✐ ❡st t♦✉❥♦✉rs ❧❡ ❝❛s ét❛♥t ❞♦♥♥é
q✉❡ ❧✬♦♥ ❛ s✉♣♣♦sé q✉❡ k ét❛✐t ✉♥ ❝♦r♣s ✜♥✐✮✱ ♦♥ ♣❡✉t ❞✐r❡ q✉❡ P ❡st K✲r❛t✐♦♥♥❡❧ s✐ P ❡st
✐♥✈❛r✐❛♥t ♣❛r ❧✬❛❝t✐♦♥ ❞✉ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s ●❛❧(k/K) s✉r s❡s ❝♦♦r❞♦♥♥é❡s✳ ▲✬❡♥s❡♠❜❧❡ ❞❡s
♣♦✐♥ts K✲r❛t✐♦♥♥❡❧s ❞❡ C ❡st ♥♦té ♣❛r C(K) ❡t ❧❡s ♣♦✐♥ts k−r❛t✐♦♥♥❡❧s s♦♥t ❛♣♣❡❧és ❧❡s
♣♦✐♥ts r❛t✐♦♥♥❡❧s ❞❡ C✳ ❙♦✐t π : C → C ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ❞é✜♥✐ s✉r ❧❡s ♣♦✐♥ts ❞❡
C ♣❛r π(x, y) := (xq, yq)✳ ❆❧♦rs ✐❧ ❡st ❢❛❝✐❧❡ ❞❡ ✈♦✐r q✉❡✱ ♣♦✉r t♦✉t❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ K/k ❞❡
❞❡❣ré d✱ ✉♥ ♣♦✐♥t P = (x, y) ❡st K✲r❛t✐♦♥♥❡❧ s✐ ❡t s❡✉❧❡♠❡♥t s✐

πd(P ) = π ◦ . . . ◦ π
︸ ︷︷ ︸

d ❢♦✐s

(P ) = P.

❊♥ ❣é♥ér❛❧✱ ❧✬❡♥s❡♠❜❧❡ C(K) ♥✬❛ ♣❛s ✉♥❡ str✉❝t✉r❡ ❞❡ ❣r♦✉♣❡✱ s❛✉❢ ♣♦✉r g = 1 ♦ù C
❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ q✉❡ ❧✬♦♥ ❝♦♥❢♦♥❞ ❛✈❡❝ s❛ ❥❛❝♦❜✐❡♥♥❡ ❬❙✐❧✽✻✱ ♣✳ ✻✻❪✳

✶✳✷ ❈❧❛ss✐✜❝❛t✐♦♥ ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♥♦✉s ❝❧❛ss✐✜♦♥s ❧❡s ♠♦❞è❧❡s ♣❧❛♥s ♣♦ss✐❜❧❡s ♣♦✉r ✉♥❡ ❝♦✉r❜❡ ❤②✲
♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g ≤ 2 ❡♥ ❢♦♥❝t✐♦♥ ❞✉ ❝♦r♣s ❞❡ ❜❛s❡✳ ▲❡s s✐t✉❛t✐♦♥s s✉r ✉♥ ❝♦r♣s
✜♥✐ k ♦✉ s✉r ❧❛ ❝❧ôt✉r❡ ❛❧❣é❜r✐q✉❡ k ❞❡ k s♦♥t ❞✐✛ér❡♥t❡s✳ ❙✉r k✱ ❧❡s ❝❧❛ss✐✜❝❛t✐♦♥s ❞❡
❬❊▼▼✵✷✱ ❈❏✵✷✱ ❈❏✵✸✱ ❉▲✵✻✱ ❇❉✵✹✱ ●❊▼✵✻❪ s♦♥t ❜❛sé❡s s✉r ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ❝♦♦r❞♦♥✲
♥é❡s ❧♦❝❛❧❡s ❞❡ ▲♦❝❦❤❛rt ❬▲♦❝✾✹❪✳ ❚❛♥❞✐s q✉❡ s✉r k✱ ❧❡s ❛✉t❡✉rs ❞❡ ❬❆♥❝✹✸✱ ▲❛♥✼✺✱ ❇❤♦✾✵❪
s❡ ❢♦♥❞❡♥t s✉r ❧❡s s♦❧✉t✐♦♥s ❞✉ ♣♦❧②♥ô♠❡ h(x)✳

✶✳✷✳✶ ❙✉r ✉♥ ❝♦r♣s ✜♥✐

❊♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ❡♥ ❢❛✐s❛♥t ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡✱ x = x′ ❡t y =
y′ − h(x)/2✱ ♥♦✉s ✈♦②♦♥s q✉❡ ♥♦✉s ♣♦✉✈♦♥s s✉♣♣♦s❡r q✉❡ h(x) = 0 ❞❛♥s ❧✬éq✉❛t✐♦♥ ✭✶✳✶✮✳
◆♦✉s ♣♦✉✈♦♥s ❞♦♥❝ é❝r✐r❡ ❧✬éq✉❛t✐♦♥ ✭✶✳✶✮ s♦✉s ❧❛ ❢♦r♠❡ ✿

C : y2 = x2g+1 +

2g
∑

i=0

fix
i ❛✈❡❝ fi ∈ k. ✭✶✳✷✮

❊♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①✱ ♥♦✉s ♥❡ ♣♦✉✈♦♥s ♣❧✉s ♥♦✉s r❛♠❡♥❡r à ✉♥ ♠♦❞è❧❡ ♦ù h(x) = 0✳
◆♦✉s ♥♦✉s ❝♦♥t❡♥t♦♥s ❞❡ ❞♦♥♥❡r ❧❡s ♠♦❞è❧❡s ♣❧❛♥s ♣♦ss✐❜❧❡s ❡♥ ❣❡♥r❡ 2✳ ▲❛ ❢♦r♠❡ ❣é♥ér❛❧❡
❞✬✉♥ ♠♦❞è❧❡ ♣❧❛♥ ❡st ❛❧♦rs

C : y2 + (h2x
2 + h1x+ h0)y = x5 + f4x

4 + f3x
3 + f2x

2 + f1x+ f0

q✉❡ ♥♦✉s ♣♦✉✈♦♥s ❝❧❛ss❡r ❡♥ 3 ❝❛té❣♦r✐❡s ✿

✶✳ C : y2 + (x2 + h1x+ h0)y = x5 + f1x+ f0 ✭❝♦✉r❜❡ ♦r❞✐♥❛✐r❡✮✱

✷✳ C : y2 + h1xy = x5 + f3x
3 + f2x

2 + f0✱ ✭❝♦✉r❜❡ ❞❡ p−r❛♥❣ 1✮✱

✸✳ C : y2 + y = x5 + f3x
3 + f1x+ f0 ✭❝♦✉r❜❡ s✉♣❡rs✐♥❣✉❧✐èr❡✮✳

❱♦✐r ❧❛ s❡❝t✐♦♥ ✷✳✷ ♣♦✉r ❧❡s ❞é✜♥✐t✐♦♥s ❞❡ ❝♦✉r❜❡ ♦r❞✐♥❛✐r❡✱ ❝♦✉r❜❡ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡t ❞❡
p✲r❛♥❣✳

✶✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✶✳✸✳ ❈♦r♣s ❞❡ ❢♦♥❝t✐♦♥ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

✶✳✷✳✷ ❙✉r ✉♥ ❝♦r♣s ❛❧❣é❜r✐q✉❡♠❡♥t ❝❧♦s

◆♦✉s ♥❡ ❞♦♥♥♦♥s q✉❡ ❧❡s ♠♦❞è❧❡s ♣♦✉r ❧❡s ❝♦r♣s ❛❧❣é❜r✐q✉❡♠❡♥t ❝❧♦s ❞❡ ❝❛r❛❝tér✐st✐q✉❡
2 ❡♥ ❣❡♥r❡ 2✱ ét❛♥t ❞♦♥♥é q✉❡ ❝✬❡st ❧❡ s❡✉❧ rés✉❧t❛t q✉❡ ❧✬♦♥ ✉t✐❧✐s❡r❛ ♣❛r ❧❛ s✉✐t❡✳ ❉❛♥s ❝❡
❝❛s✱ ❞✬❛♣rès ❬▲❛♥✼✺❪✱ ♦♥ s❡ r❛♠❡♥❡r ❛✉① ♠♦❞è❧❡s s✉✐✈❛♥ts ❛♣rès ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡
r❛t✐♦♥♥❡❧ ✿

✶✳ C : y2 + (x2 + x)y = f5x
5 + f3x

3 + f1x ✭❝♦✉r❜❡ ♦r❞✐♥❛✐r❡✮✱

✷✳ C : y2 + xy = f5x
5 + f3x

3 + x ✭❝♦✉r❜❡ ❞❡ p✲r❛♥❣ 1✮✱

✸✳ C : y2 + y = x5 + f3x
3 ✭❝♦✉r❜❡ s✉♣❡rs✐♥❣✉❧✐èr❡✮✳

✶✳✸ ❈♦r♣s ❞❡ ❢♦♥❝t✐♦♥ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s r❛♣♣❡❧♦♥s ❜r✐è✈❡♠❡♥t ❝♦♠♠❡♥t ♦♥ ♣❡✉t ❛ss♦❝✐❡r à ✉♥❡ ❝♦✉r❜❡
❤②♣❡r❡❧❧✐♣t✐q✉❡ ✉♥ ❝♦r♣s ❞✐t ❝♦r♣s ❞❡ ❢♦♥❝t✐♦♥s q✉✐ ❝❛r❛❝tér✐s❡ ❧❛ ❝♦✉r❜❡ à ♠♦r♣❤✐s♠❡
❜✐r❛t✐♦♥♥❡❧ ♣rès✳

❉é✜♥✐t✐♦♥ ✶✳✸ ❙♦✐t C : y2 +h(x)y = f(x) ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s
✜♥✐ k✱ ♦♥ ❛♣♣❡❧❧❡ ❛♥♥❡❛✉ ❞❡s ❝♦♦r❞♦♥♥é❡s ❛✣♥❡s ❞❡ C✱ ❧✬❛♥♥❡❛✉ q✉♦t✐❡♥t

k [C] :=
k [x, y]

(y2 + h(x)y − f(x))
.

▲✬❛♥♥❡❛✉ k [C] ❡st ✉♥ ❛♥♥❡❛✉ ✐♥tè❣r❡ ❡t ✐❧ ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❢r❛❝t✐♦♥s r❛t✐♦♥♥❡❧❧❡s✱ ♥♦té
k(C)✱ ❛♣♣❡❧é ❝♦r♣s ❞❡s ❢♦♥❝t✐♦♥s r❛t✐♦♥♥❡❧❧❡s ❞❡ C s✉r k✳ ❉❡ ❧❛ ♠ê♠❡ ♠❛♥✐èr❡✱ ♦♥ ❞é✜♥✐t
K [C] ❡t K(C) ♣♦✉r t♦✉t❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ K/k✱ ❡♥ r❡♠♣❧❛ç❛♥t k ♣❛r K ❞❛♥s ❧❛
♣ré❝é❞❡♥t❡ ❞é✜♥✐t✐♦♥✳

❙♦✐t P ✉♥ ♣♦✐♥t K✲r❛t✐♦♥♥❡❧ ❞❡ C✱ ❛❧♦rs ❧✬❡♥s❡♠❜❧❡ ❞❡s ❢♦♥❝t✐♦♥s ψ ∈ k [C] t❡❧❧❡s q✉❡
ψ(P ) = 0 ❢♦r♠❡ ✉♥ ✐❞é❛❧ ♠❛①✐♠❛❧ ❞❡ k [C]✱ ♥♦té MP ✳

❉é✜♥✐t✐♦♥ ✶✳✹ ❙♦✐❡♥t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k ❡t P ✉♥ ♣♦✐♥t K✲
r❛t✐♦♥♥❡❧✳ ▲✬❛♥♥❡❛✉ ❧♦❝❛❧ ❞❡ C ❡♥ P ✱ ♥♦té k [C]P ✱ ❡st ❧❡ ❧♦❝❛❧✐sé ❞❡ k [C] ❡♥ MP ✳ ❊♥
❞✬❛✉tr❡s t❡r♠❡s✱

k [C]P :=

{
ψ

φ
∈ k(C) : φ(P ) 6= 0

}

.

Pr♦♣♦s✐t✐♦♥ ✶✳✺ ▲✬❛♥♥❡❛✉ k [C]P ❡st ✉♥ ❛♥♥❡❛✉ ❞❡ ✈❛❧✉❛t✐♦♥ ❞✐s❝rèt❡ ♦ù ❧❛ ✈❛❧✉❛t✐♦♥ ❡st
❞♦♥♥é❡ ♣❛r ❧✬❛♣♣❧✐❝❛t✐♦♥

vP : k [C]P → N ∪ {∞}, vP (ψ) = max{d ∈ N : ψ ∈Md
P }.

❘❡♠❛rq✉❡ ✶✳✻ ❖♥ ♣❡✉t ét❡♥❞r❡ ❧✬❛♣♣❧✐❝❛t✐♦♥ vP ❛✉ ❝♦r♣s ❞❡s ❢♦♥❝t✐♦♥s r❛t✐♦♥♥❡❧❧❡s k(C)
❞❡ C ❡♥ ♣♦s❛♥t vp(ψ/φ) = vP (ψ)− vP (φ)✳

❉é✜♥✐t✐♦♥ ✶✳✼ ❖♥ ❞✐t q✉✬✉♥❡ ❢♦♥❝t✐♦♥ ψ ∈ K(C) ❡st ✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ ♣♦✉r C ❡♥ P s✐
vP (ψ) = 1 ✭❛❧♦rs ψ ❡st ✉♥ ❣é♥ér❛t❡✉r ❞❡ ❧✬✐❞é❛❧ ♠❛①✐♠❛❧ MP ✮✳

❙♦✐t ✉♥❡ ❢♦♥❝t✐♦♥ ψ ∈ K(C)✱ ❛❧♦rs ♣♦✉r t♦✉t ♣♦✐♥t K✲r❛t✐♦♥♥❡❧ P ❞❡ C✱ ❧✬❡♥t✐❡r vP (ψ)
❡st ❛♣♣❡❧é ❧✬♦r❞r❡ ❞❡ ❧❛ ❢♦♥❝t✐♦♥ ψ ❡♥ P ✳ ❙✐ vP (ψ) > 0✱ ❛❧♦rs ♦♥ ❞✐t q✉❡ ❧❛ ❢♦♥❝t✐♦♥ ψ ❛ ✉♥
③ér♦ ❡♥ P ✱ ❡t s✐ vP (ψ) < 0✱ ♦♥ ❞✐t q✉❡ ❧❛ ❢♦♥❝t✐♦♥ ψ ❛ ✉♥ ♣ô❧❡ ❡♥ P ✳

❙✐ vP (ψ) ≥ 0✱ ❛❧♦rs ♦♥ ❞✐t q✉❡ ❧❛ ❢♦♥❝t✐♦♥ ψ ❡st ré❣✉❧✐èr❡ ✭♦✉ ❞é✜♥✐❡✮ ❡♥ P ❡t ♦♥
♣❡✉t ❛❧♦rs ❝❛❧❝✉❧❡r ψ(P ) ❝♦♠♠❡ ❧✬✐♠❛❣❡ ❞❡ ψ ❞❛♥s k [C] /MP ♣❛r ❧❛ ♣r♦❥❡❝t✐♦♥ ❝❛♥♦♥✐q✉❡
k [C] → k [C] /MP ✱ s✐♥♦♥ ❧❛ ❢♦♥❝t✐♦♥ ψ ❛ ✉♥ ♣ô❧❡ ❡♥ P ❡t ♦♥ ♣♦s❡ ❛❧♦rs ψ(P ) = ∞✳ ◆♦✉s
❛✉r♦♥s ❜❡s♦✐♥ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✶✶✴✾✶



❈❤❛♣✐tr❡ ✶✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s

Pr♦♣♦s✐t✐♦♥ ✶✳✽ ❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k ❡t ψ ∈ k(C)✳ ❆❧♦rs ψ
❛❞♠❡t ✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡ ③ér♦s ❡t ❞❡ ♣ô❧❡s✳

Pr❡✉✈❡ ✿ ✈♦✐r ❬❙✐❧✽✻✱ ♣✳ ✷✷❪✳ 2

✶✳✹ ❉✐✈✐s❡✉rs ❞✬✉♥❡ ❝♦✉r❜❡

❖♥ s❛✐t q✉❡ ♣♦✉r ✉♥❡ ❝♦✉r❜❡ C ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k✱ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦✐♥ts k✲
r❛t✐♦♥♥❡❧s ♥❡ ♣❡✉t ♣❛s êtr❡ ❡♥ ❣é♥ér❛❧ ♠✉♥✐ ❞✬✉♥❡ str✉❝t✉r❡ ❞❡ ❣r♦✉♣❡✳ P❛r ❝♦♥tr❡✱ ♦♥ ♣❡✉t
❢♦r♠❡r ♥❛t✉r❡❧❧❡♠❡♥t ❧❡ ❣r♦✉♣❡ ❝♦♠♠✉t❛t✐❢ ❧✐❜r❡ s✉r ❧❡s ♣♦✐♥ts ❞❡ ❧❛ ❝♦✉r❜❡ à s❛✈♦✐r ❧❡
❣r♦✉♣❡ ❞❡s ❞✐✈✐s❡✉rs✳ ❈❡ ❣r♦✉♣❡ ❡st ✐♠♣♦rt❛♥t ❝❛r ✐❧ ♣❡r♠❡t ❞❡ ❞é✜♥✐r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡
❝♦✉r❜❡ q✉✐ ❡st ✉♥ ❣r♦✉♣❡ q✉❡ ❧✬♦♥ ♣❡✉t ♠✉♥✐r ❞✬✉♥❡ str✉❝t✉r❡ ❞❡ ✈❛r✐été ❛❧❣é❜r✐q✉❡✳

❉é✜♥✐t✐♦♥s ✶✳✾ ❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k✳ ▲❡ ❣r♦✉♣❡ ❧✐❜r❡ ❡♥❣❡♥❞ré
♣❛r ❧❡s ♣♦✐♥ts ❞❡ C(k) ❡st ❛♣♣❡❧é ❧❡ ❣r♦✉♣❡ ❞❡ ❞✐✈✐s❡✉rs ❞❡ C✱ ❡t ♦♥ ❧❡ ♥♦t❡ ♣❛r DivC(k)
♦✉ s✐♠♣❧❡♠❡♥t ♣❛r DivC ✳ ❯♥ ❞✐✈✐s❡✉r D ∈ DivC ❡st ✉♥❡ s♦♠♠❡ ❢♦r♠❡❧❧❡ ❞❡ ❧❛ ❢♦r♠❡

D =
∑

P∈C(k)

nP .(P ), ❛✈❡❝ nP ∈ Z ❡t nP = 0 s❛✉❢ ♣♦✉r ✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡ ♣♦✐♥ts.

❙♦✐❡♥t D =
∑
nP .(P ) ❡t D′ =

∑
n′P .(P ) ❞❡s é❧é♠❡♥ts ❞❡ DivC ✳ ▲❛ s♦♠♠❡ ❞❡ D ❡t D′ ❡st

❞♦♥♥é❡ ♣❛r ❧❛ ❢♦r♠✉❧❡ s✉✐✈❛♥t❡ ✿

D +D′ =
∑

P∈C(k)

(nP + n′P ).(P ).

❖♥ ❛♣♣❡❧❧❡ ❧❡ s✉♣♣♦rt ❞✬✉♥ ❞✐✈✐s❡✉r D✱ ❧✬❡♥s❡♠❜❧❡ ♥♦té s✉♣♣(D) := {P ∈ C, nP 6= 0}.

P♦✉r ✉♥ ❞✐✈✐s❡✉r D =
∑
nP .(P ) ❞❡ DivC ✱ ♦♥ ❛♣♣❡❧❧❡ ❧❡ ❞❡❣ré ❞❡ D✱ ❧✬❡♥t✐❡r ♥❛t✉r❡❧

❞♦♥♥é ♣❛r

❞❡❣(D) =
∑

P∈C(k)

nP .

▲✬❡♥s❡♠❜❧❡ ❞❡s ❞✐✈✐s❡✉rs ❞❡ ❞❡❣ré ③ér♦ ❢♦r♠❡ ✉♥ s♦✉s✲❣r♦✉♣❡ ❞❡ DivC ✱ ♥♦té Div0
C ✳ ❯♥

❞✐✈✐s❡✉r D =
∑

P∈C nP (P ) ❡st ❞✐t ❡✛❡❝t✐❢ s✐ nP ≥ 0 ♣♦✉r t♦✉t ♣♦✐♥t P ❞❡ C(k)✳ ❖♥ ❞✐t
q✉✬✉♥ ❞✐✈✐s❡✉r D1 ❡st s✉♣ér✐❡✉r à ✉♥ ❞✐✈✐s❡✉r D2✱ ❡t ♦♥ ♥♦t❡ D1 ≥ D2 s✐ D1 −D2 ❡st ✉♥
❞✐✈✐s❡✉r ❡✛❡❝t✐❢✳

❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❞❡ k✱ ❛❧♦rs ❧❡ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s ●❛❧(k/K) ❛❣✐t s✉r ❧❡
❣r♦✉♣❡ DivC ❞❡ ❧❛ ♠❛♥✐èr❡ s✉✐✈❛♥t❡ ✿

∀σ ∈ ●❛❧(k/K), ❡t ∀D =
∑

P∈C

np.(P ), ♦♥ ❛ σ(D) =
∑

P∈C

nP .(σ(P )).

❖♥ ❞✐t q✉❡ ❧❡ ❞✐✈✐s❡✉r D =
∑

P∈C nP (P ) ❡st r❛t✐♦♥♥❡❧ ♦✉ ❞é✜♥✐ s✉r K s✐ σ(D) = D ♣♦✉r
t♦✉t σ ∈ ●❛❧(k/K). ❈♦♥s✐❞ér♦♥s ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s s✉r C✱ π : (x, y) 7→ (xq, yq),
❛❧♦rs ♦♥ ♣❡✉t ❢❛✐r❡ ❛❣✐r π s✉r ❧✬❡♥s❡♠❜❧❡ ❞❡s ❞✐✈✐s❡✉rs✳ P♦✉r ❝❡❧❛✱ à t♦✉t ❞✐✈✐s❡✉r D =
∑

P∈C(k) nP .(P )✱ ❞é✜♥✐ss♦♥s ❧✬❛❝t✐♦♥ ❞❡ π s✉r D ♣❛r

π(D) =
∑

P∈C(k)

nP .(π(P )).

✶✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✶✳✹✳ ❉✐✈✐s❡✉rs ❞✬✉♥❡ ❝♦✉r❜❡

❙♦✐t K/k ✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ k ❞❡ ❞❡❣ré d✱ ❛❧♦rs D ❡st K✲r❛t✐♦♥♥❡❧ s✐ ❡t s❡✉❧❡♠❡♥t s✐

πd(D) = D.

❆tt❡♥t✐♦♥ ✿ P♦✉r D = n1(P1) + ...+ nt(Pt) ♦ù t♦✉s ❧❡s ni s♦♥t ♥♦♥ ♥✉❧s✱ ❛❧♦rs ❞✐r❡ q✉❡ ❧❡
❞✐✈✐s❡✉r D ❡st ❞é✜♥✐ s✉r K ♥❡ s✐❣♥✐✜❡ ♣❛s q✉❡ t♦✉s ❧❡s Pi s♦♥t K−r❛t✐♦♥♥❡❧s✳

▲✬❡♥s❡♠❜❧❡ ❞❡s ❞✐✈✐s❡✉rs K✲r❛t✐♦♥♥❡❧s ✭♥♦té DivC(K)✮ ❡t ❞❡s ❞✐✈✐s❡✉rs K✲r❛t✐♦♥♥❡❧s ❞❡
❞❡❣ré ③ér♦ ✭♥♦té Div0

C(K)✮ ❢♦r♠❡♥t ✉♥ s♦✉s✲❣r♦✉♣❡ ❞❡ DivC ✳
❙♦✐t ✉♥❡ ❢♦♥❝t✐♦♥ ψ ∈ k(C)✱ ❛❧♦rs ♦♥ ♣❡✉t ❞é✜♥✐r ❧❡ ❞✐✈✐s❡✉r ❞❡ ψ ♥♦té ❞✐✈(ψ) ✭♦✉ ♣❛r❢♦✐s
♣❛r (ψ)✮ ♣❛r ✿

❞✐✈(ψ) =
∑

P∈C(k)

vP (ψ).(P ).

P♦✉r t♦✉t❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ K ❞❡ k✱ s✐ ✉♥❡ ❢♦♥❝t✐♦♥ ψ ∈ K(C)✱ ❛❧♦rs ❞✐✈(ψ) ∈
DivC(K)✳ ❖♥ ❞✐t q✉✬✉♥ ❞✐✈✐s❡✉rD ∈ DivC ❡st ♣r✐♥❝✐♣❛❧ s✐D ❡st ✉♥ ❞✐✈✐s❡✉r ❞✬✉♥❡ ❢♦♥❝t✐♦♥✳
❖♥ ❞✐t q✉❡ ❞❡✉① ❞✐✈✐s❡✉rs D1 ❡t D2 s♦♥t ❧✐♥é❛✐r❡♠❡♥t éq✉✐✈❛❧❡♥ts✱ ❡t ♦♥ ♥♦t❡ D1 ∼ D2✱ s✐
D1 −D2 ❡st ✉♥ ❞✐✈✐s❡✉r ♣r✐♥❝✐♣❛❧✳ ▲✬❡♥s❡♠❜❧❡ ❞❡s ❞✐✈✐s❡✉rs ♣r✐♥❝✐♣❛✉① ❞❡ C✱ ♥♦té Pr✐♥C ✱
❢♦r♠❡ ✉♥ s♦✉s✲❣r♦✉♣❡ ❞❡ DivC ✳

Pr♦♣♦s✐t✐♦♥ ✶✳✶✵ ❙♦✐❡♥t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k ❡t ✉♥❡ ❢♦♥❝t✐♦♥ ♥♦♥
♥✉❧❧❡ ψ ∈ k(C)✳ ❆❧♦rs ✿

✭❛✮ ❞❡❣(❞✐✈(ψ)) = 0✱ ❞♦♥❝ Pr✐♥C ❡st ✉♥ s♦✉s✲❣r♦✉♣❡ ❞❡ Div0
C ✳

✭❜✮ ❞✐✈(ψ) = 0 s✐ ❡t s❡✉❧❡♠❡♥t s✐ ❧❛ ❢♦♥❝t✐♦♥ ψ ❡st ✉♥❡ ❝♦♥st❛♥t❡ ❞❡ k
∗

Pr❡✉✈❡ ✿ ✈♦✐r ❬❙✐❧✽✻✱ ♣✳ ✸✷❪ ♦✉ ❜✐❡♥ ❬❍❛r✼✼✱ ♣✳ ✶✸✽❪✳ 2

❘❡♠❛rq✉❡ ✶✳✶✶ ❙♦✐t D ∈ Div0
C ✱ ❛❧♦rs ✐❧ ❡①✐st❡ ❞❡✉① ❞✐✈✐s❡✉rs ❡✛❡❝t✐❢s D0 ❡t D∞✱ ❞❡

♠ê♠❡ ❞❡❣ré t❡❧s q✉❡ D = D0 −D∞✳ ▲❡ ❞❡❣ré ❞❡ D0 ❡st ❛♣♣❡❧é ❧❡ ♣♦✐❞s ❞✉ ❞✐✈✐s❡✉r D✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✶✸✴✾✶



❈❤❛♣✐tr❡ ✶✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s

✶✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❈❤❛♣✐tr❡ ✷

❏❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡

❤②♣❡r❡❧❧✐♣t✐q✉❡

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ❛❜♦r❞♦♥s ❧❡s ♥♦t✐♦♥s ❞❡ ❥❛❝♦❜✐❡♥♥❡✱ ❞✉ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡
❞✉ ❋r♦❜❡♥✐✉s ❡t ❞❡s ❝♦✉r❜❡s ✓ ❢r✐❡♥❞❧②✲♣❛✐r✐♥❣ ✔✳ ◆♦✉s r❛♣♣❡❧♦♥s q✉❡ k ❞és✐❣♥❡ ✉♥ ❝♦r♣s
✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p ❡t ❞❡ ❝❛r❞✐♥❛❧ q ❡t q✉❡ C/k ❡st ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡
❣❡♥r❡ g✳

✷✳✶ ●é♥ér❛❧✐tés

❉é✜♥✐t✐♦♥ ✷✳✶ ❖♥ ❛♣♣❡❧❧❡ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❞❡ ❞✐✈✐s❡✉rs ❡t ❧✬♦♥ ♥♦t❡ PicC ✱ ❧❡ ❣r♦✉♣❡
q✉♦t✐❡♥t ❞❡ Div0

C ♣❛r ❧❡ s♦✉s✲❣r♦✉♣❡ ❞❡s ❞✐✈✐s❡✉rs ♣r✐♥❝✐♣❛✉① Pr✐♥C ✳ P♦✉r t♦✉t❡ ❡①t❡♥s✐♦♥
✜♥✐❡ K ❞❡ k✱ ❧❡ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❞❡ ❞✐✈✐s❡✉rs q✉✐ s♦♥t K✲r❛t✐♦♥♥❡❧s ❡st ♣❛r ❞é✜♥✐t✐♦♥ ❧❡
s♦✉s✲❣r♦✉♣❡ PicC(K) ❞❡ PicC ✐♥✈❛r✐❛♥t ♣❛r ❧✬❛❝t✐♦♥ ❞❡ ●❛❧(k/K)✳ ◆♦t♦♥s q✉❡ ❧✬♦♥ ❛ ♣❛r
❞é✜♥✐t✐♦♥ PicC = PicC(k)✳

P♦s♦♥s G = ●❛❧(k/K)✳ ❉✬❛♣rès ❧❛ ♣ré❝é❞❡♥t❡ ❞é✜♥✐t✐♦♥✱ ♥♦✉s ❛✈♦♥s ❧❛ s✉✐t❡ ❡①❛❝t❡
s✉✐✈❛♥t❡ ❞❡ G✲♠♦❞✉❧❡s ✿

0→ PrinC → Div0
C → PicC → 0.

❉❡ ❧❛ s✉✐t❡ ❡①❛❝t❡ ❧♦♥❣✉❡ ❞❡ ❝♦❤♦♠♦❧♦❣✐❡ ❛ss♦❝✐é❡ à ❧❛ ♣ré❝é❞❡♥t❡ s✉✐t❡ ❡①❛❝t❡✱ ♦♥
❞é❞✉✐t ✿

PrinC(K)→ Div0
C(K)→ PicC(K)→ H1(G,PrinC(K)).

❖♥ ♣❡✉t ♠♦♥tr❡r q✉❡ s✐ C ❡st ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ❛❧♦rs H1(G,PrinC(K)) = 0 ❡t
♦♥ ❛ ❞♦♥❝ ✿

PicC(K) =
Div0

C(K)

PrinC(K)
.

❉é✜♥✐t✐♦♥ ✷✳✷ ❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞❡ C ❡st ❧❛ ✈❛r✐été ♣r♦✲
❥❡❝t✐✈❡ ❧✐ss❡ JC q✉✐ ❡st ❝❛r❛❝tér✐sé❡ ✭à ✐s♦♠♦r♣❤✐s♠❡ ♣rès✮ ♣❛r ❧❛ ♣r♦♣r✐été s✉✐✈❛♥t❡ ✿ ♣♦✉r
t♦✉t ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ K ❞❡ k ✐❧ ❡①✐st❡ ✉♥❡ ❜✐❥❡❝t✐♦♥ φK : PicC(K)→ JC(K) ❡t ❧❡s φK

s♦♥t ❝♦♠♣❛t✐❜❧❡s ❛✈❡❝ ❧❡s ✐♥❥❡❝t✐♦♥s ♥❛t✉r❡❧❧❡s JC(K)→ JC(K ′) ❡t PicC(K)→ PicC(K ′)
s✐ K ′ ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❞❡ K✳

❊♥ ❢❛✐t ❞❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ♥✬❛✉r♦♥s ❥❛♠❛✐s ❜❡s♦✐♥ ❞❡ ❝♦♥s✐❞ér❡r ❧❛ str✉❝t✉r❡ ❞❡
✈❛r✐été ❛❧❣é❜r✐q✉❡ s✉r JC ❡t ❞♦♥❝ ♥♦✉s ♠❛♥✐♣✉❧❡r♦♥s ❧❡s ♣♦✐♥ts ❞❡ JC ❝♦♠♠❡ ❞❡s é❧é♠❡♥ts
❞❡ PicC ✳

✶✺



❈❤❛♣✐tr❡ ✷✳ ❏❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❘❡♠❛rq✉❡ ✷✳✸ ❚♦✉t❡ ❝❧❛ss❡ ❞❡ ❞✐✈✐s❡✉r D ∈ PicC ♣❡✉t êtr❡ r❡♣rés❡♥té❡ ♣❛r ✉♥ ❞✐✈✐s❡✉r
s❡♠✐✲ré❞✉✐t✱ ✐✳❡✳ ✉♥ ❞✐✈✐s❡✉r ❞❡ ❧❛ ❢♦r♠❡

m∑

i=1

(Pi)−m(P∞), ❛✈❡❝ Pi ∈ C(k), Pi 6= P∞ ❡t Pi 6= ι(Pj) ♣♦✉r i 6= j.

▲✬❡♥t✐❡rm ❡st ❧❡ ♣♦✐❞s ❞✉ ❞✐✈✐s❡✉r D✱ ❡t D ❡st ❞✐t ré❞✉✐t s✐m ≤ g✳ ❚♦✉t ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t
♣❡✉t êtr❡ r❡♣rés❡♥té s♦✉s ❧❛ ❢♦r♠❡ ✉♥✐q✉❡ ❞✬✉♥ ❞✐✈✐s❡✉r ré❞✉✐t ✭✈♦✐r ❬▼✉♠✽✹✱ ♣✳ ✶✽❪✮✳

◆♦✉s ✈❡rr♦♥s ❝♦♠♠❡♥t ré❞✉✐r❡ ✉♥❡ ❝❧❛ss❡ ❞❡ ❞✐✈✐s❡✉r ❣râ❝❡ à ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ré❞✉❝t✐♦♥
❞❡ ❈❛♥t♦r✳ ❈❡t ❛❧❣♦r✐t❤♠❡ r❡♣♦s❡ s✉r ✉♥❡ r❡♣rés❡♥t❛t✐♦♥ ❛❣ré❛❜❧❡ ❞❡s ❞✐✈✐s❡✉rs ré❞✉✐ts
❛♣♣❡❧é❡ r❡♣rés❡♥t❛t✐♦♥ ❞❡ ▼✉♠❢♦r❞✳

❚❤é♦rè♠❡ ✷✳✹ ✭r❡♣rés❡♥t❛t✐♦♥ ❞❡ ▼✉♠❢♦r❞✮ ❙♦✐t C : y2 + h(x)y = f(x) ✉♥❡ ❝♦✉r❜❡
❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ❞❡ ❣❡♥r❡ g✱ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k✳ ❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡
❞❡ k✱ ❛❧♦rs t♦✉t é❧é♠❡♥t D ❞❡ JC ♣❡✉t êtr❡ r❡♣rés❡♥té ❞❡ ❢❛ç♦♥ ✉♥✐q✉❡ ♣❛r ✉♥ ❝♦✉♣❧❡
(u(x), v(x)) ∈ K[x]2 t❡❧ q✉❡ ✿

✭✐✮ u ❡st ✉♥ ♣♦❧②♥ô♠❡ ✉♥✐t❛✐r❡✱ ❛✈❡❝ ❞❡❣(u) ≤ g✱
✭✐✐✮ ❞❡❣(v) < ❞❡❣(u)✱ ❡t

✭✐✐✐✮ u(x) ❞✐✈✐s❡ v(x)2 + v(x)h(x)− f(x)✳

Pr❡✉✈❡ ✿ ❬❆❈❉+✵✻❪✳

❘❡♠❛rq✉❡ ✷✳✺ P♦✉r ♣❛ss❡r ❞❡ ❧❛ r❡♣rés❡♥t❛t✐♦♥ ❞❡ ▼✉♠❢♦r❞ ❞✬✉♥ ❞✐✈✐s❡✉rD = (u(x), v(x))
à ❧❛ r❡♣rés❡♥t❛t✐♦♥ ♥❛t✉r❡❧❧❡ D =

∑m
i=1(Pi)−m(P∞)✱ ♦♥ ❝❛❧❝✉❧❡ ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡s ♣♦✐♥ts

Pi = (xi, v(xi)) ❛✈❡❝ xi ✉♥❡ r❛❝✐♥❡ ❞❡ u(x)✳ P♦✉r ❝❡❧❛✱ ♦♥ tr♦✉✈❡ ❧❡s r❛❝✐♥❡s xi ❞❡ u(x)✱ ❝❡s
r❛❝✐♥❡s s♦♥t ❧❡s ❛❜s❝✐ss❡s ❞❡s ♣♦✐♥ts Pi ❞♦♥t ❧❡s ♦r❞♦♥♥é❡s s♦♥t ❧❡s v(xi)✳

▲❡ t❤é♦rè♠❡ ✷✳✹ ❡t ❧❛ r❡♠❛rq✉❡ ♣ré❝é❞❡♥t❡ ♣❡r♠❡tt❡♥t ❞❡ r❡♣rés❡♥t❡r ❞❡s é❧é♠❡♥ts ❞❡
❧❛ ❥❛❝♦❜✐❡♥♥❡✳ ❊♥ ❣❡♥r❡ ✷✱ ❧❛ r❡♣rés❡♥t❛t✐♦♥ ❞❡ ▼✉♠❢♦r❞ ❞✉ ❞✐✈✐s❡✉r ❞❡ ❞❡❣ré 0 ❞♦♥t ❧❛
♣❛rt✐❡ ❡✛❡❝t✐✈❡ ❡st ❧❛ s♦♠♠❡ ❞❡s ♣♦✐♥ts P1 = (x1, y1) ❡t P2 = (x2, y2) s✬♦❜t✐❡♥t ❡♥ ✉♥❡
♠✉❧t✐♣❧✐❝❛t✐♦♥ ❡t ✉♥❡ ❞✐✈✐s✐♦♥ ♣❛r ✿

u(x) = x2 − (x1 + x2)x+ x1x2 ❡t v(x) =
y1 − y2

x1 − x2
(x− x1) + y1.

✷✳✷ P♦✐♥ts ❞❡ t♦rs✐♦♥

❙♦✐❡♥t n ✉♥ ❡♥t✐❡r r❡❧❛t✐❢ ❡t D ✉♥ é❧é♠❡♥t ❞❡ JC ✱ ♦♥ ❞é✜♥✐t ✿

[n]D = D +D + ....+D
︸ ︷︷ ︸

n ❢♦✐s

s✐ n > 0,

[n]D = −([−n]D) s✐ n < 0,

[0]D = P∞.

❖♥ ❞✐t q✉❡D ∈ JC ❡st ✉♥ ❞✐✈✐s❡✉r ❞❡ n−t♦rs✐♦♥ s✐ [n]D = P∞✳ ▲✬❡♥s❡♠❜❧❡ ❞❡s ❞✐✈✐s❡✉rs
❞❡ n−t♦rs✐♦♥ ❡st ♥♦té ♣❛r JC [n] ❡t s✐ K ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❞❡ k✱ ❧✬❡♥s❡♠❜❧❡ ❞❡s
❞✐✈✐s❡✉rs ❞❡ n−t♦rs✐♦♥ q✉✐ s♦♥t r❛t✐♦♥♥❡❧s s✉r ❧❡ ❝♦r♣s K ❡st ♥♦té ♣❛r JC [n] (K)✳

Pr♦♣♦s✐t✐♦♥ ✷✳✻ ❙♦✐t p ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❝♦r♣s ✜♥✐ k✱ ❛❧♦rs ✿

✶✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✷✳✸✳ P♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❋r♦❜❡♥✐✉s

✶✳ ❙✐ n ❡st ♣r❡♠✐❡r ❛✈❡❝ p✱ ❛❧♦rs JC [n] = (Z/nZ)2g✳

✷✳ ❙✐ n = pm✱ ❛❧♦rs JC [n] = (Z/nZ)t ❛✈❡❝ t ∈ N ❡t 0 ≤ t ≤ g✳

Pr❡✉✈❡ ✿ ✈♦✐r ❬▼✉♠✼✹✱ ♣✳ ✻✹❪✳ 2

▲✬❡♥t✐❡r t ❞✉ ❞❡✉①✐è♠❡ ❝❛s ❡st ❛♣♣❡❧é ❧❡ p−r❛♥❣ ❞❡ ❧❛ ❏❛❝♦❜✐❡♥♥❡ ♦✉ ❞❡ ❧❛ ❝♦✉r❜❡✳

❉é✜♥✐t✐♦♥ ✷✳✼

✶✳ ❯♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❡st ❞✐t❡ ♦r❞✐♥❛✐r❡ s✐ s♦♥ p−r❛♥❣ ❡st é❣❛❧ à g✳

✷✳ ❯♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡st ❞✐t❡ s✉♣❡rs✐♥❣✉❧✐èr❡ s✐ s♦♥ p−r❛♥❣ ❡st ✵✳

✸✳ ❯♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❡st ❞✐t❡ s✉♣❡rs✐♥❣✉❧✐èr❡ s✐ s❛ ❥❛❝♦❜✐❡♥♥❡ ❡st ✐s♦❣è♥❡ à
✉♥ ♣r♦❞✉✐t ❞❡ g ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s s✉♣❡rs✐♥❣✉❧✐èr❡s✳

❘❡♠❛rq✉❡ ✷✳✽ ❬❆❈❉+✵✻✱ ♣✳ ✻✶❪ ❯♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ≤ 2 ❡st s✉♣❡rs✐♥❣✉✲
❧✐èr❡ s✐ ❡t s❡✉❧❡♠❡♥t s✐ s♦♥ p−r❛♥❣ ❡st ♥✉❧✳ ▼❛✐s ❝❡❧❛ ❡st ❢❛✉① ❡♥ ❣❡♥r❡ s✉♣ér✐❡✉r✳

✷✳✸ P♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❋r♦❜❡♥✐✉s

▲❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✱ ❝♦♠♠❡ ♥♦✉s ❛❧❧♦♥s ❧❡ ✈♦✐r✱ ❥♦✉❡ ✉♥ rô❧❡ ❝❛♣✐t❛❧ ❞❛♥s ❧✬ét✉❞❡
❞❡s ❝♦✉r❜❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ✜♥✐✳ ■❧ ♣❡r♠❡t ❡♥tr❡ ❛✉tr❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡ ❝❛r❞✐♥❛❧ ❞❡ ❧❛
❥❛❝♦❜✐❡♥♥❡ ❞❡ ❧❛ ❝♦✉r❜❡✳ ❆✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✱ ♥♦✉s ❛❧❧♦♥s ❛ss♦❝✐❡r s♦♥ ♣♦❧②♥ô♠❡
❝❛r❛❝tér✐st✐q✉❡ q✉✐ ❡st ✉♥ ✐♥✈❛r✐❛♥t ❞❡ ❧❛ ❝❧❛ss❡ ❞✬✐s♦❣é♥✐❡ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❧❛ ❝♦✉r❜❡✳ ❙✉r
❧❡ ♣❧❛♥ ♣r❛t✐q✉❡✱ ✐❧ ❡st ❝❧❛ss✐q✉❡ ❞✬✉t✐❧✐s❡r ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ❝♦♠♠❡ ❞✬✉♥ ♠♦②❡♥
♣♦✉r ❛❝❝é❧ér❡r ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s✳ ❆✐♥s✐✱ ♥♦✉s ✈❡rr♦♥s ❞❛♥s ❧❛
♣❛rt✐❡ ■■ ❝♦♠♠❡♥t ✉t✐❧✐s❡r ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ♣♦✉r ❝❛❧❝✉❧❡r r❛♣✐❞❡♠❡♥t ❧❡s ❝♦✉✲
♣❧❛❣❡s✳ ◆♦✉s ✐♥tr♦❞✉✐s♦♥s ✐❝✐ ❧❡ ♠❛tér✐❡❧ ♥é❝❡ss❛✐r❡ ♣♦✉r ❧❛ ❝♦♠♣ré❤❡♥s✐♦♥ ❞❡s ❛❧❣♦r✐t❤♠❡s
❞❡ ❧❛ ♣❛rt✐❡ ■■✳

❉é✜♥✐t✐♦♥ ✷✳✾ ❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❞é✜♥✐❡ s✉r k ❞❡ ❥❛❝♦❜✐❡♥♥❡ JC = JC(k)✳ ▲❡ ♠♦r♣❤✐s♠❡
❞❡ ❋r♦❜❡♥✐✉s ❡st ❧✬❛♣♣❧✐❝❛t✐♦♥

πq : JC → JC , D :=
∑

P∈C

nP (P ) 7→ πq(D) =
∑

P∈C

nP (πq(P )),

❛✈❡❝ πq(P ) = πq(x, y) = (xq, yq)✳ ❙✐ ❛✉❝✉♥❡ ❛♠❜✐❣✉ïté ♥✬❡st à ❝r❛✐♥❞r❡✱ ♦♥ ♣❡✉t ❥✉st❡ é❝r✐r❡
π ❛✉ ❧✐❡✉ ❞❡ πq✳

Pr♦♣♦s✐t✐♦♥ ✷✳✶✵ ✭Pr♦♣r✐étés ❞✉ ♠♦r♣❤✐s♠❡ ❋r♦❜❡♥✐✉s✮

✶✳ π ❡st ✉♥❡ ✐s♦❣é♥✐❡ ♣✉r❡♠❡♥t ✐♥sé♣❛r❛❜❧❡ ❞❡ ❞❡❣ré qg s✉r ❧❛ ✈❛r✐été JC ✱

✷✳ P♦✉r t♦✉t ❡♥t✐❡r ♣♦s✐t✐❢ d✱ ♦♥ ❛ πd
q = πqd ✱

✸✳ JC(k) = {D ∈ PicC , π(D) = D} = ker(π − [1])✱

✸✬✳ D ∈ JC(Fqd)⇔ πqd(D) = D✳

❈❡s ♣r♦♣r✐étés s✐♠♣❧❡s à ❞é♠♦♥tr❡r ♠♦♥tr❡♥t q✉❡ ❧✬♦♥ ♣❡✉t ❝♦♥s✐❞ér❡r ❧✬❡♥s❡♠❜❧❡ ❞❡s
♣♦✐♥ts ❞❡ JC r❛t✐♦♥♥❡❧s s✉r ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ k ❝♦♠♠❡ ❧❡s ♣♦✐♥ts ✜①❡s ❞❡ JC(k) ♣❛r
❧✬❛❝t✐♦♥ ❞✬✉♥❡ ♣✉✐ss❛♥❝❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✳ ❯♥❡ ❛✉tr❡ r❡♠❛rq✉❡ ✐♠♣♦rt❛♥t❡ ❡st
q✉❡ ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ét❛♥t ✉♥❡ ✐s♦❣é♥✐❡ ❡st ✉♥ ❛✉t♦♠♦r♣❤✐s♠❡ ❧✐♥é❛✐r❡ ❞❡ JC [n]
♣♦✉r n ∈ N∗✳ ❈❡s ❢❛✐ts s♦♥t à ❧❛ ❜❛s❡ ❞✬✉♥ ❡♥s❡♠❜❧❡ ❞❡ rés✉❧t❛ts q✉✐ r❡❧✐❡♥t✱ ♣❛r❢♦✐s ❞❡
♠❛♥✐èr❡ ❡✛❡❝t✐✈❡✱ ❧❡ ❝❛r❞✐♥❛❧ ❞❡ JC(K) ♣♦✉r ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ K ❞❡ k ❡t ❧❡ ♣♦❧②♥ô♠❡
❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❋r♦❜❡♥✐✉s ❛❣✐ss❛♥t s✉r ❧❡s é❧é♠❡♥ts ❞❡ JC [n]✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✶✼✴✾✶



❈❤❛♣✐tr❡ ✷✳ ❏❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❉é✜♥✐t✐♦♥ ✷✳✶✶ ▲❡ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s π ❡st ❧❡ ♣♦❧②✲
♥ô♠❡

χ(π)C(T ) := T 2g + a1T
2g−1 + ...+ agT

g + ag−1qT
g−1 + ...+ a1q

g−1T + qg,

❛✈❡❝ ai ∈ Z, 1 ≤ i ≤ g t❡❧ q✉❡ ♣♦✉r t♦✉t é❧é♠❡♥t D ∈ JC(k)✱ ♦♥ ❛✐t ✿

π2g(D) + [a1]π
2g−1(D) + ...+ [ag]π

g(D) + ...+ [qg] (D) = (P∞).

Pr♦♣♦s✐t✐♦♥ ✷✳✶✷ ▲❡ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ✈ér✐✜❡ ❧❡s ♣r♦✲
♣r✐étés s✉✐✈❛♥t❡s ✿

✶✳ ❝❤❛q✉❡ ❝♦❡✣❝✐❡♥t ai ✈ér✐✜❡ |ai| ≤
(

2g

i

)

qi/2✱

✷✳ ❧❛ tr❛❝❡ ❞❡ χ(π)C ❡st ❧❛ tr❛❝❡ ❞❡ ❧❛ ❝♦✉r❜❡ C✱

✸✳ ♣♦✉r t♦✉t ❡♥t✐❡r r ♣r❡♠✐❡r ❛✈❡❝ q✱ ❧❛ r❡str✐❝t✐♦♥ ❞❡ π à JC [r] ❛ ♣♦✉r ♣♦❧②♥ô♠❡
❝❛r❛❝tér✐st✐q✉❡ χ(π)C (mod r)✱

✹✳ #JC(k) = χ(π)C(1)✱

♦ù

(
n

p

)

=
n!

p!(n− p)! r❡♣rés❡♥t❡ ❧❡s ❝♦❡✣❝✐❡♥ts ❜✐♥♦♠✐❛✉①✳

❊①❡♠♣❧❡ ✷✳✶✸ ❙♦✐t E ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k✱ ❛❧♦rs χ(π)E(T ) = T 2 −
tT + q✱ ❛✈❡❝ t ❧❛ tr❛❝❡ ❞❡ χ(π)E ✳

❘❡♠❛rq✉❡ ✷✳✶✹ ❙♦✐t C/k ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k ❞❡ ❣❡♥r❡
g ❡t ❞❡ ❥❛❝♦❜✐❡♥♥❡ JC ❡t s♦✐t E/k ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ❞❡ ❍❛ss❡✲❲❡✐❧✱
♦♥ ♣❡✉t ❜♦r♥❡r ❧❡ ❝❛r❞✐♥❛❧ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ♣❛r ✿

(
√
q − 1)g ≤ #(JC(k)) ≤ (

√
q + 1)g.

❘❛♣♣❡❧♦♥s q✉❡ ❧❡s s❡✉❧❡s ❛tt❛q✉❡s ❝♦♥♥✉❡s ♣♦✉r rés♦✉❞r❡ ❧❡ ❉▲P s✉r ❧❡s ❝♦✉r❜❡s ❤②♣❡r❡❧✲
❧✐♣t✐q✉❡s s♦♥t ❧❡s ❛❧❣♦r✐t❤♠❡s ❣é♥ér✐q✉❡s ❞❡ ❝♦ût O(qg/2)✳ ▲❛ ❝♦♥str✉❝t✐♦♥ ❞❡s ❝♦✉r❜❡s ❡♥
❣❡♥r❡ s✉♣ér✐❡✉r ♥é❝❡ss✐t❡ ❛❧♦rs ❞❡s ❝♦r♣s ♣❧✉s ♣❡t✐ts q✉❡ ❝❡✉① q✉❡ ❧✬♦♥ ❛ ❜❡s♦✐♥ ♣♦✉r ❧❡s
❝♦✉r❜❡s ❡♥ ❣❡♥r❡ ✶✳ P❛r ❡①❡♠♣❧❡✱ ♣♦✉r ✉♥ ♠ê♠❡ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té✱ ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡
❞❡ t❛✐❧❧❡ #(E(k)) ≈ 2360 ❝♦rr❡s♣♦♥❞ à ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ✷ ❞❡ t❛✐❧❧❡
#(JC(k)) ≈ 2180 ♦✉ à ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ✸ ❞❡ t❛✐❧❧❡ #(JC(k)) ≈ 2120✳
❈❤♦✐s✐r ❞✬✐♠♣❧é♠❡♥t❡r ❧❡s ❝♦✉r❜❡s s✉r ❞❡s ❝♦r♣s ♣❡t✐ts ❡st ❞ét❡r♠✐♥❛♥t ♣♦✉r ❝❡rt❛✐♥s ❛♣♣❛✲
r❡✐❧s q✉✐ ❞✐s♣♦s❡♥t ❞❡ ♣❡✉ ❞❡ r❡ss♦✉r❝❡s✳

▲❡ 2g r❛❝✐♥❡s ❞✉ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ✈ér✐✜❡♥t ❧❡s
♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✶✺ ❙✐ ♦♥ ♥♦t❡ ♣❛r λ1, ..., λ2g ❧❡s r❛❝✐♥❡s ❞❡ χ(π)C ✱ ❛❧♦rs ✿

✹✳ ❈❤❛q✉❡ λi ❡st ✉♥ ♥♦♠❜r❡ ❛❧❣é❜r✐q✉❡ ❞❡ ❞❡❣ré ≤ 2g✱

✺✳ ❧❡ ♣r♦❞✉✐t ❞❡s λi ❞♦♥♥❡
∏
λi = qg✱

✻✳ ♦♥ ♣❡✉t ré♦r❣❛♥✐s❡r ❧❡s r❛❝✐♥❡s λi ♣♦✉r 1 ≤ i ≤ g ❞❡ ❢❛ç♦♥ à ❛✈♦✐r λiλi+g = q✳

✼✳ ❙✐ ♦♥ ❝♦♥s✐❞èr❡ ❧❡s λi ❝♦♠♠❡ ❞❡s ♥♦♠❜r❡s ❝♦♠♣❧❡①❡s✱ ❛❧♦rs ❧❡✉r ✈❛❧❡✉r ❛❜s♦❧✉❡ ❡st
|λi| =

√
q✳

✶✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✷✳✹✳ ❈♦✉r❜❡s ✓ ♣❛✐r✐♥❣✲❢r✐❡♥❞❧② ✔

Pr❡✉✈❡ ✿ ✈♦✐r ❧❡ ❬❆❈❉+✵✻✱ t❤é♦rè♠❡ ✺✳✼✻❪✳ 2

P♦✉r ❝❛❧❝✉❧❡r ❧❡ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✱ ♦♥ ♣❡✉t ❝❛❧❝✉❧❡r
❧❡s ❝♦❡✣❝✐❡♥ts ai ♣♦✉r 1 ≤ i ≤ g ❡♥ ✉t✐❧✐s❛♥t ❧❡ ♣r♦❝é❞é ❞é❝r✐t ♣❛r ❬❆❈❉+✵✻✱ t❤é♦rè♠❡
✶✹✳✶✼❪✳ ❈❡♣❡♥❞❛♥t✱ ❧❡ ❝❛❧❝✉❧ ❡✣❝❛❝❡ ❞✉ ♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❋r♦❜❡♥✐✉s ♣♦✉r ❞❡s
t❛✐❧❧❡s ❝r②♣t♦❣r❛♣❤✐q✉❡s ❡st ✉♥❡ q✉❡st✐♦♥ ❞✐✣❝✐❧❡ ❡♥ ❣❡♥r❡ ✷ ❡t ✸✳

▲❛ ♣r♦♣♦s✐t✐♦♥ s✉✐✈❛♥t❡ s❡r❛ ❜✐❡♥ ✉t✐❧❡ ♣♦✉r ❧❛ ❞é✜♥✐t✐♦♥ ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❆t❡ ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✶✻ ❙♦✐❡♥t C/k ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g ❡t ❞❡ ❥❛❝♦❜✐❡♥♥❡ JC ✳
❙♦✐t r ✉♥ ❡♥t✐❡r ♣r❡♠✐❡r q✉✐ ❞✐✈✐s❡ #JC(k)✱ ❛❧♦rs 1 mod r ❡t q mod r s♦♥t ❞❡s ✈❛❧❡✉rs
♣r♦♣r❡s ❞❡ π|JC [r]✱ ❛✉tr❡♠❡♥t ❞✐t✱ ❞❡s r❛❝✐♥❡s ❞❡ χ(π) (mod r)✳

Pr❡✉✈❡ ✿ ■❧ ❡st ❝❧❛✐r q✉❡ 1 mod r ❡st ✉♥❡ ✈❛❧❡✉r ♣r♦♣r❡ ❞❡ χ(π) (mod r) ❝❛r ❝♦♠♠❡ r
❞✐✈✐s❡ ♯JC(k)✱ ✐❧ ❡①✐st❡ ❛✉ ♠♦✐♥s ✉♥ é❧é♠❡♥t D ∈ JC(k) ❡t ♣❛r ❞é✜♥✐t✐♦♥ ♦♥ ❛ π(D) = D✳
❊t ❞✬❛♣rès ❧❛ ♣r♦♣♦s✐t✐♦♥ ✷✳✶✺✱ q mod r ❡st ❛✉ss✐ ✉♥❡ ✈❛❧❡✉r ♣r♦♣r❡ ❞❡ χ(φ) (mod r)✳ 2

❘❡♠❛rq✉❡ ✷✳✶✼ ▲❛ ♣r♦♣♦s✐t✐♦♥ ♣ré❝é❞❡♥t❡ s♣é❝✐❛❧✐sé❡ ❛✉ ❝❛s ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞é✲
✜♥✐❡ s✉r k ❞♦♥♥❡ q✉❡ ♣♦✉r t♦✉t ❡♥t✐❡r r ♣r❡♠✐❡r ❛✈❡❝ q ❡t q✉✐ ❞✐✈✐s❡ #E(k)✱ ✐❧ ❡①✐st❡ ❞❡✉①
♣♦✐♥ts P,Q ∈ E [r] t❡❧s q✉❡ π(P ) = P ❡t π(Q) = [q]Q✳

✷✳✹ ❈♦✉r❜❡s ✓ ♣❛✐r✐♥❣✲❢r✐❡♥❞❧② ✔

▲❡s ❝♦✉r❜❡s ✓ ❢r✐❡♥❞❧②✲♣❛✐r✐♥❣ ✔ ✭✐✳❡✳ ❞❡s ❝♦✉r❜❡s ✐❞é❛❧❡s ♣♦✉r ❧❡ ❝♦✉♣❧❛❣❡✮ s♦♥t ❞❡s
❝♦✉r❜❡s ❞♦♥t ❧❡ ❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t ❡st ❞✐✣❝✐❧❡✱ ♠❛✐s ❞♦♥t ❧❡ ❝♦✉♣❧❛❣❡ r❡st❡ ❢❛❝✐❧❡✳ ❊♥ ❡✛❡t✱
❧❡s ♣r♦t♦❝♦❧❡s q✉❡ ♥♦✉s ❛❧❧♦♥s ❝♦♥str✉✐r❡ ❛✈❡❝ ❧❡s ❝♦✉♣❧❛❣❡s ❞♦✐✈❡♥t rés✐st❡r ❛✉① ❛tt❛q✉❡s
▼❖❱ ❬▼❖❱✾✸❪ ❡t ❋❘ ❬❋❘✾✹❪✳ ◆♦✉s ❛❧❧♦♥s ♥♦✉s r❡str❡✐♥❞r❡ ❛✉① ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s
❞❡ ❣❡♥r❡ 2✳

❉é✜♥✐t✐♦♥s ✷✳✶✽ ❖♥ ❞✐t q✉❡ C/k ❡st ✉♥❡ ❝♦✉r❜❡ ✓ ❢r✐❡♥❞❧②✲♣❛✐r✐♥❣ ✔ s✐ ✿

✕ #JC(k) ❡st s✉✣s❛♠♠❡♥t ❣r❛♥❞✱

✕ #JC(k) ❡st ❞✐✈✐s✐❜❧❡ ♣❛r ✉♥ ❣r❛♥❞ ❡♥t✐❡r r ♣r❡♠✐❡r ❛✈❡❝ q ✭r ≈ #JC(k)✮✱

✕ ❧❡ ❞❡❣ré ❞❡ ♣❧♦♥❣❡♠❡♥t d r❡❧❛t✐✈❡♠❡♥t à r ❞♦✐t êtr❡ ♣❡t✐t✳

❙♦✐t r ✉♥ ❡♥t✐❡r ♣r❡♠✐❡r ❛✈❡❝ q = #k ❡t q✉✐ ❞✐✈✐s❡ #JC(k)✳ ❖♥ ❛♣♣❡❧❧❡ ❧❛ ρ✲✈❛❧❡✉r ❞❡ C
✭r❡❧❛t✐✈❡♠❡♥t à r✮ ❧❡ ré❡❧ ❞♦♥♥é ♣❛r

ρ(C) = g
log(q)

log(r)
.

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✶✾✴✾✶



❈❤❛♣✐tr❡ ✷✳ ❏❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

✷✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❈❤❛♣✐tr❡ ✸

❆r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡

❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ❢❛✐s♦♥s q✉❡❧q✉❡s r❛♣♣❡❧s s✉r ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❤②♣❡r✲
❡❧❧✐♣t✐q✉❡s✳ ◆♦✉s ❝♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s ♣❛rt✐❝✉❧✐❡r ❜✐❡♥ ❝♦♥♥✉ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳

✸✳✶ ❆r✐t❤♠ét✐q✉❡ s✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡

❋✐❣✳ ✸✳✶ ✕ ❆❞❞✐t✐♦♥♥❡r ❞❡✉① ♣♦✐♥ts ✲ ❉♦✉❜❧❡r ✉♥ ♣♦✐♥t

❈❡tt❡ ♣❛rt✐❡ ❡st ❝♦♥s❛❝ré❡ ❛✉① r❛♣♣❡❧s ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s E/k✳
❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❞❡ k✱ ❛❧♦rs E(K) ❡st ✉♥ ❣r♦✉♣❡ ❛❜é❧✐❡♥ ❞♦♥t ❧❛ ❧♦✐ ❞✬❛❞✲
❞✐t✐♦♥ ❡st ❞♦♥♥é❡ ♣❛r ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✸✳✶ ❬❙✐❧✽✻✱ ■■■✳✷❪ ❖♥ ♣❡✉t ❞é✜♥✐r ✉♥❡ ❧♦✐ ❞❡ ❝♦♠♣♦s✐t✐♦♥ + s✉r E(K) ❞❡ ❧❛
♠❛♥✐èr❡ s✉✐✈❛♥t❡✳ ❙♦✐t P,Q ∈ E✱ ❧❛ ❞r♦✐t❡ ℓPQ ♣❛ss❛♥t ♣❛r P ❡t Q ✭q✉✐ ❡st ❧❛ t❛♥❣❡♥t❡ à ❧❛
❝♦✉r❜❡ s✐ P = Q✮ r❡♥❝♦♥tr❡ ❧❛ ❝♦✉r❜❡ E ❡♥ ✉♥ tr♦✐s✐è♠❡ ♣♦✐♥t R✳ ▲❛ ❞r♦✐t❡ ℓRP∞ ♣❛ss❛♥t
♣❛r R ❡t ❧❡ ♣♦✐♥t à ❧✬✐♥✜♥✐ P∞ ❝♦✉♣❡ ❧❛ ❝♦✉r❜❡ E ❡♥ ✉♥ tr♦✐s✐è♠❡ ♣♦✐♥t R′ ✭q✉✐ ❡st ❧✬♦♣♣♦sé
❞❡ R✮ ❡t ♦♥ ♣♦s❡ P +Q = R′✳

▲✬❡♥s❡♠❜❧❡ E(K) ♠✉♥✐ ❞❡ ❧❛ ❧♦✐ ❞❡ ❝♦♠♣♦s✐t✐♦♥ + ❡st ✉♥ ❣r♦✉♣❡✳

❈❡tt❡ ❧♦✐ ♣❡✉t êtr❡ ❞é❝r✐t❡ ❣r❛♣❤✐q✉❡♠❡♥t ❝♦♠♠❡ ❞❛♥s ❧❛ ✜❣✉r❡ ✸✳✶ ✭❛✈❡❝ E : y2 = x3−x
❞é✜♥✐❡ s✉r R✮✳ ▲❛ ❧♦✐ ♣ré❝é❞❡♥t❡ s✬❡①♣r✐♠❡ ❞❛♥s ❧❡s ❝♦♦r❞♦♥♥é❡s ❞✉ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β
❞❡ ❧❛ ❝♦✉r❜❡ ❛✈❡❝ ❞❡s ❢♦r♠✉❧❡s ♦♣t✐♠✐sé❡s q✉✐ ❞é♣❡♥❞❡♥t ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ❞❡ k✳

✷✶



❈❤❛♣✐tr❡ ✸✳ ❆r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❈❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡ ✿ s♦✐❡♥t k ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p✱ ❡t ✉♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡ ❞♦♥♥é❡ ♣❛r s♦♥ éq✉❛t✐♦♥ ❞❡ ❲❡✐❡rstr❛β ré❞✉✐t❡ E : y2 = x3 +ax+b ❛✈❡❝ a, b ∈ k✳

❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ k✱ ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❞❡ E(K) ❡st ❞♦♥♥é ♣❛r ✿ ✭✈♦✐r ❬❙✐❧✽✻✱
♣✳ ✺✽❪✮ ✿

✶✳ −(x, y) = (x,−y) ❀
✷✳ (x1, y1) + (x2, y2) = (x3, y3) ❛✈❡❝ x3 = λ2 − x1 − x2, y3 = λ(x1 − x3)− y1, ❡t

❛✳ λ = (y1 − y2)/(x1 − x2) s✐ (x1, y1) 6= ±(x2, y2)✱

❜✳ λ = (3x2
1 + a)/(2y1) s✐ (x1, y1) = (x2, y2)✳

▲✬❛❞❞✐t✐♦♥ ♥é❝❡ss✐t❡ ✷ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✱ ✶ ❝❛rré ❡t ✉♥❡ ✐♥✈❡rs✐♦♥ ❞❛♥s K ❡t ❧❛ ❞✉♣❧✐❝❛t✐♦♥
✷ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✱ ✷ ❝❛rrés ❡t ✉♥❡ ✐♥✈❡rs✐♦♥✳ ▲❡s ❛tt❛q✉❡s ❞✐t❡s ❛tt❛q✉❡s à ❝❛♥❛✉① ❝❛❝❤és
❡①♣❧♦✐t❡♥t ❝❡tt❡ ❞✐✛ér❡♥❝❡ ❞❡ ❝♦ût ❞❡ ❝❛❧❝✉❧ ❡♥tr❡ ❧✬❛❞❞✐t✐♦♥ ❡t ❧❛ ❞✉♣❧✐❝❛t✐♦♥✳ ❉❡s ❝♦♥tr❡♠❡✲
s✉r❡s ❡①✐st❡♥t ✭❡♥ ❣❡♥r❡ 1✱ ✈♦✐r ❬❇❏✵✷✱ ❇❉❏✵✹❪ ♦✉ ❬❇❙❙✵✺✱ ❝❤❛♣✳ ✺❪✮✱ ♠❛✐s ❞❛♥s ❝❡ ♠é♠♦✐r❡
♥♦✉s ♥♦✉s ✐♥tér❡ss❡r♦♥s ♣r✐♥❝✐♣❛❧❡♠❡♥t ❛✉① t❡❝❤♥✐q✉❡s✱ ❡♥ ❣❡♥r❡ ✷✱ q✉✐ ♣❡r♠❡tt❡♥t ❞✬❛✈♦✐r
✉♥❡ ❧♦✐ ❞❡ ❣r♦✉♣❡ ✉♥✐✜é❡✳

❈❛r❛❝tér✐st✐q✉❡ ♣❛✐r❡✱ ♥♦✉s ❛✈♦♥s ❞❡✉① ♣♦ss✐❜✐❧✐tés ♣♦✉r ❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡ s❡❧♦♥
q✉✬❡❧❧❡ s♦✐t ♦✉ ♥♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ✿

E1 : y2 + xy = x3 + a2x
2 + a6 ♦✉ ❜✐❡♥ E2 : y2 + a3y = x3 + a4x+ a6.

❈❛s ✶ ✿ ❛✈❡❝ ❧❛ ❝♦✉r❜❡ E1 : y2 + xy = x3 + a2x
2 + a6✱ ♦♥ ❛ ✿

a1. −(x, y) = (x, x+ y) ∀ (x, y) ∈ E1 ❀

b1. ♣♦✉r t♦✉t (x1, y1), (x2, x2) ❞❡ E1✱ s✐ (x3, y3) = (x1, y1) + (x2, y2) ❛❧♦rs
x3 = λ2 + λ+ x1 + x2 + a2, y3 = λ(x1 + x3) + x3 + y1 ❡t λ = (y1 + y2)/(x1 + x2) ❀

c1. ♣♦✉r t♦✉t (x1, y1) ❞❡ E1✱ s✐ (x3, y3) = [2] (x1, y1) ❛❧♦rs
x3 = λ2 + λ+ a2, y3 = λ(x1 + x3) + x3 + y1 ❡t λ = x1 + (y1/x1)✳

❈❛s ✷ ✿ ❛✈❡❝ ❧❛ ❝♦✉r❜❡ E2 : y2 + a3y = x3 + a4x+ a6✱ ♦♥ ❛ ✿

a2. −(x, y) = (x, y + a3) ∀ (x, y) ∈ E2 ❀

b2. ♣♦✉r t♦✉t (x1, y1), (x2, x2) ❞❡ E2✱ s✐ (x3, y3) = (x1, y1) + (x2, y2) ❛❧♦rs
x3 = λ2 + x1 + x2, y3 = λ(x1 + x3) + y1 + a3 ❡t λ = (y1 + y2)/(x1 + x2) ❀

c2. ♣♦✉r t♦✉t (x1, y1) ❞❡ E2✱ s✐ (x3, y3) = [2] (x1, y1) ❛❧♦rs
x3 = λ2, y3 = λ(x1 + x3) + y1 + a3 ❡t λ = (x2

1 + a4)/a3✳

◆♦✉s ✈❡rr♦♥s ❞❛♥s ❧❛ ♣❛rt✐❡ ✉♥❡ r❡♣rés❡♥t❛t✐♦♥ ♦♣t✐♠✐sé❡ ♣♦✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ♦r❞✐✲
♥❛✐r❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①✳

✸✳✷ ❆❞❞✐t✐♦♥ ❡t ré❞✉❝t✐♦♥ ❞❡ ❈❛♥t♦r

❙♦✐t C : y2 + h(x)y = f(x) ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k✱ ❞❡
❣❡♥r❡ g ❡t ❞❡ ❥❛❝♦❜✐❡♥♥❡ JC ✳ ❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ❛❧❧♦♥s ❝❛❧❝✉❧❡r ❧❛ s♦♠♠❡ ❞❡ ❞❡✉① é❧é✲
♠❡♥ts ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡ r❡♣rés❡♥tés ♣❛r ❧❡✉r ❞✐✈✐s❡✉rs ré❞✉✐ts D1 ❡t D2 ❣râ❝❡ à ❧✬❛❧❣♦r✐t❤♠❡
❞❡ ❈❛♥t♦r ❬❈❛♥✽✼❪ ♣✉❜❧✐é ❡♥ ✶✾✽✼ ♣♦✉r ❧❡s ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ❡t ❣é♥ér❛❧✐sé
♣❛r ❑♦❜❧✐t③ ❬❑♦❜✽✾❪ ❡♥ ✶✾✽✾✳

▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ♣r❡♥❞ ❡♥ ❡♥tré❡ ❞❡✉① ❞✐✈✐s❡✉rs ré❞✉✐ts D1 ❡t D2 ❝♦rr❡s♣♦♥❞❛♥ts
à ❞❡s é❧é♠❡♥ts ❞❡ JC(k) ❡t s❡ ❝♦♠♣♦s❡ ❞❡ ❞❡✉① ♣❛rt✐❡s ✿

✕ ✉♥❡ ♣❛rt✐❡ ❛❞❞✐t✐♦♥ q✉✐ ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ✉♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t Ds ❞❡ ♣♦✐❞s ✐♥❢é✲
r✐❡✉r à 2g ❞❛♥s ❧❛ ❝❧❛ss❡ ❞❡ D1 +D2 ❀

✷✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✸✳✷✳ ❆❞❞✐t✐♦♥ ❡t ré❞✉❝t✐♦♥ ❞❡ ❈❛♥t♦r

✕ ✉♥❡ ♣❛rt✐❡ ❞❡ ré❞✉❝t✐♦♥ q✉✐ ❝♦♥s✐st❡ à ❝❛❧❝✉❧❡r ❧✬✉♥✐q✉❡ ❞✐✈✐s❡✉r ré❞✉✐t éq✉✐✈❛❧❡♥t ❛✉
❞✐✈✐s❡✉r s❡♠✐ré❞✉✐t Ds✳

▲✬✉♥✐❝✐té ❞❡ ❧❛ r❡♣rés❡♥t❛t✐♦♥ ❞❡ ❝❤❛q✉❡ é❧é♠❡♥t ❞❡ JC(k) s♦✉s ❧❛ ❢♦r♠❡ ❞✬✉♥ ❞✐✈✐s❡✉r
ré❞✉✐t ❛ss✉r❡ ❛❧♦rs q✉❡ ❧✬♦♥ ♣❡✉t ♣❛r ❡①❡♠♣❧❡ t❡st❡r ❧✬é❣❛❧✐té ❞❡ ❞❡✉① é❧é♠❡♥ts ❞❡ JC(k) ❡t
q✉❡ ❧✬♦♥ ❛ ❞♦♥❝ ❜✐❡♥ ❞é✜♥✐ ✉♥❡ ❛r✐t❤♠ét✐q✉❡ s✉r JC(k)✳

✸✳✷✳✶ ❆❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r

❈❛♥t♦r ❞♦♥♥❡ ❞❡s ❢♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s ♣♦✉r ❝❛❧❝✉❧❡r ❧❡ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t ❝♦rr❡s♣♦♥❞❛♥t
à ❧❛ s♦♠♠❡ ❞❡ ❞❡✉① ❞✐✈✐s❡✉rs ré❞✉✐ts r❛t✐♦♥♥❡❧s s✉r ✉♥❡ ❡①t❡♥s✐♦♥ K ❞❡ k✳

❈♦♥s✐❞ér♦♥s ❞❡✉① ❞✐✈✐s❡✉rs D1 ❡t D2 ❞❡ JC r❛t✐♦♥♥❡❧s s✉r K✳ ▲❛ s♦♠♠❡ ❞❡ D1 ❡t
D2 s❡ ❢❛✐t ❣râ❝❡ à ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❛❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r ✸✳✷✳✶ q✉✐ ✉t✐❧✐s❡ ❧❛ r❡♣rés❡♥t❛t✐♦♥ ❞❡
▼✉♠❢♦r❞ Di = (ui(x), vi(x)) ♣♦✉r i = 1, 2✱ t❡❧s q✉❡ ui(x), vi(x) ∈ K [x] ✿

❆❧❣♦r✐t❤♠ ✸✳✷✳✶ ❆❧❣♦r✐t❤♠❡ ❞✬❛❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r
❊♥tré❡ ✿ ❉❡✉① ❞✐✈✐s❡✉rs ré❞✉✐ts D1 = (u1, v1) ❡t D2 = (u2, v2) ∈ JC(K)
❙♦rt✐❡ ✿ ❯♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t Ds = D1 +D2 ∈ JC(K)

✶✿ ❝❛❧❝✉❧❡r d1 ← gcd(u1, u2) := e1u1 + e2u2

✷✿ ❝❛❧❝✉❧❡r d← gcd(d1, v1 + v2 + h) := c1d1 + c2(v1 + v2 + h)
✸✿ ❝❛❧❝✉❧❡r s1 ← c1e1, s2 ← c1e2 ❡t ♣r❡♥❞r❡ s3 ← c2
✹✿ ❝❛❧❝✉❧❡r u← u1u2

d2 ❡t v ← s1u1v2+s2u2v1+s3(v1v2+f)
d mod u

✺✿ r❡t♦✉r♥❡r Ds = (u, v)

❉❛♥s ❧❡ ❝❛s ♦ù d1 = gcd(u1, u2) = 1 ❝✬❡st✲à✲❞✐r❡ q✉❛♥❞ ❧❡s s✉♣♣♦rts ❞❡s ❞✐✈✐s❡✉rs D1 ❡t
D2 s♦♥t ❞✐s❥♦✐♥ts✱ ❧✬❛❧❣♦r✐t❤♠❡ ♣ré❝é❞❡♥t s✬❡①♣❧✐q✉❡ très s✐♠♣❧❡♠❡♥t ✿

✕ ♦♥ ❛ u = u1u2 ❝❛r ♦♥ s♦✉❤❛✐t❡ q✉❡ ❧❡ s✉♣♣♦rt ❞❡ D s♦✐t ❧❛ s♦♠♠❡ ❞❡s s✉♣♣♦rts ❞❡
D1 ❡t D2 ❀

✕ ✐❧ ❡st ❢❛❝✐❧❡ ❞❡ ✈♦✐r q✉❡ v ❡st ❛❧♦rs ❧❡ ♣♦❧②♥ô♠❡ q✉✐ ✐♥t❡r♣♦❧❡ ❧❡s ✈❛❧❡✉rs ❞❡ v1 ❡t ❞❡
v2 ❛✉① r❛❝✐♥❡s ❞❡ u1u2✳

❉❛♥s ❧❡ ❝❛s✱ ♦ù ❧❡ s✉♣♣♦rt ❞❡ D1 ❡t ❞❡ D2 ♥❡ s♦♥t ♣❛s ❞✐s❥♦✐♥ts✱ ✐❧ ❢❛✉t ❛❥♦✉t❡r ❧❡ ❞✐✈✐s❡✉r
❞✬✉♥❡ ❢♦♥❝t✐♦♥ ❞❡ ♠❛♥✐èr❡ à r❡♥❞r❡ ❧❡ ❞✐✈✐s❡✉r ❝❛❧❝✉❧é s❡♠✐✲ré❞✉✐t✳

❘❡♠❛rq✉❡ ✸✳✷ ▲❡ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t Ds ✈ér✐✜❡ ❧❛ r❡❧❛t✐♦♥ s✉✐✈❛♥t❡ ✿

Ds = D1 +D2 − ❞✐✈(d(x)).

▲❡ ❞✐✈✐s❡✉r ❞✐✈(d(x)) ❥♦✉❡ ✉♥ rô❧❡ ❢♦♥❞❛♠❡♥t❛❧ ❞❛♥s ❧❡ ❝❛❧❝✉❧ ❞❡s ❝♦✉♣❧❛❣❡s✱ ❝❛r ✐❧ ♣❡r♠❡t
❞❡ ❝❛❧❝✉❧❡r ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ❲❡✐❧✲▼✐❧❧❡r ✭✈♦✐r s❡❝t✐♦♥ ✹✳✷✳✶ ❡t s❡❝t✐♦♥ ✹✳✷✳✷✮✳

❈♦♠♣❧❡①✐té ❞❡ ❧✬❛❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r✳ ▲✬❛❧❣♦r✐t❤♠❡ ❞✬❛❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r ♥é❝❡ss✐t❡ ✷
♣❣❝❞✱ ✾ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✱ ✉♥ ❝❛rré ❡t ✷ ❞✐✈✐s✐♦♥s ❞❡ ♣♦❧②♥ô♠❡s ❞❡ K [x] ❞❡ ❞❡❣ré ✐♥❢ér✐❡✉r ♦✉
é❣❛❧ à 2g✳ ▲❡ ❝❛❧❝✉❧ r❛♣✐❞❡ ❞✉ ♣❣❝❞ ❞❡ ❞❡✉① ♣♦❧②♥ô♠❡s ♣❡✉t s✬❡✛❡❝t✉❡r ❡♥ O(M(g) log g)
♦♣ér❛t✐♦♥s ❞❛♥s K ❬●●✾✾✱ ♣✳ ✸✵✶❪ ♦ù M(g) ❡st ❧❡ t❡♠♣s ❞❡ ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❞❡ ❞❡✉①
♣♦❧②♥ô♠❡s ❞❡ ❞❡❣rés g✳ ▲❛ ❢♦♥❝t✐♦♥ M(g) ❞é♣❡♥❞ ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❝❤♦✐s✐ ✿ ❑❛r❛ts✉❜❛ ❝♦ût❡
❛✉ ♣❧✉s g1.59 ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❞❛♥s K✱ ❡t ❧❡s ♠ét❤♦❞❡s r❛♣✐❞❡s à ❜❛s❡ ❞❡ tr❛♥s❢♦r♠❛t✐♦♥s
❞❡ ❋♦✉r✐❡r r❛♣✐❞❡ ✭❋❋❚✮ ❞❡s❝❡♥❞❡♥t ❥✉sq✉✬à O(g log g log log g)✳ ❋✐♥❛❧❡♠❡♥t ❧✬❛❧❣♦r✐t❤♠❡
❞✬❛❞❞✐t✐♦♥ ❞❡ ❈❛♥t♦r ♥é❝❡ss✐t❡ O(g(log g)2 log log g) ♦♣ér❛t✐♦♥s ❞❛♥s K✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✷✸✴✾✶



❈❤❛♣✐tr❡ ✸✳ ❆r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❆❧❣♦r✐t❤♠ ✸✳✷✳✷ ❆❧❣♦r✐t❤♠❡ ❞❡ ré❞✉❝t✐♦♥ ❞❡ ❈❛♥t♦r
❊♥tré❡ ✿ ❯♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t Ds = (u, v)✱ ❛✈❡❝ ❞❡❣(u) > g✳
❙♦rt✐❡ ✿ ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t D = (U, V )

✶✿ t❛♥t q✉❡ ❞❡❣(u) > g ❢❛✐r❡
✷✿ ❝❛❧❝✉❧❡r U ← (f − vh− v2)/u
✸✿ ❝❛❧❝✉❧❡r V ← −(v + h) mod U
✹✿ ♣r❡♥❞r❡ u← U ❡t v ← V
✺✿ ✜♥ t❛♥t q✉❡

✻✿ r❡♥❞r❡ u ✉♥✐t❛✐r❡
✼✿ r❡t♦✉r♥❡r D := (U, V )

✸✳✷✳✷ ❘é❞✉❝t✐♦♥ ❞❡ ❈❛♥t♦r

▲✬❛❧❣♦r✐t❤♠❡ ✸✳✷✳✶ ❞♦♥♥❡ ✉♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐tDs = (u(x), v(x)) ❛✈❡❝ ❞❡❣(u) > g✳ ❖♥
♣❡✉t ré❞✉✐r❡ Ds ❣râ❝❡ à ❧✬❛❧❣♦r✐t❤♠❡ ✸✳✷✳✷ q✉✐ ❢❛✐t ❜❛✐ss❡r ❧❡ ❞❡❣ré ❞❡ ❧❛ ♣❛rt✐❡ ❡✛❡❝t✐✈❡ ✭❧❡
♣♦✐❞s✮ ❞✉ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t Ds ❡♥ ❛❥♦✉t❛♥t ❞❡s ❞✐✈✐s❡✉rs ♣r✐♥❝✐♣❛✉①✳ ❈❤❛q✉❡ ✐tér❛t✐♦♥
❢❛✐t ❜❛✐ss❡r ❝❡ ♣♦✐❞s ❞❡ 2 ✭s❛✉❢ ❧❛ ❞❡r♥✐èr❡ q✉✐ ♥❡ ❧❡ ❢❛✐t ❜❛✐ss❡r q✉❡ ❞❡ 1✮✳ ❈♦♠♠❡✱ ♦♥ ♣❛rt
❞✬✉♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t ❞❡ ♣♦✐❞s ❛✉ ♣❧✉s 2g✱ ♦♥ ✈♦✐t q✉✬✐❧ ② ❛ ❛✉ ♣❧✉s ⌈g/2⌉ ✐tér❛t✐♦♥s ❞❡
❧❛ ❜♦✉❝❧❡ 1 − 5 ❞❡ ❧✬❛❧❣♦r✐t❤♠❡✳ ◆♦✉s r❡♥✈♦②♦♥s ❧❡ ❧❡❝t❡✉r à ❬❈❛♥✽✼❪ ♣♦✉r ✉♥❡ ♣r❡✉✈❡ ❞❡
❧✬❛❧❣♦r✐t❤♠❡✳ ❈♦♠♠❡ ♥♦✉s tr❛✈❛✐❧❧♦♥s ❣é♥ér❛❧❡♠❡♥t ❡♥ ❣❡♥r❡ ♣❡t✐t✱ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r
❡st r❛♣✐❞❡✱ ❡t ♥♦✉s ❛❧❧♦♥s ❧❡ r❡♥❞r❡ ♣❧✉s ❡①♣❧✐❝✐t❡ ❡♥ ❣❡♥r❡ 2 ❞❛♥s ❧❛ s❡❝t✐♦♥ s✉✐✈❛♥t❡✳

❘❡♠❛rq✉❡ ✸✳✸ D = Ds − ❞✐✈
(y−v(x)

u′(x)

)
. ❊♥ ❝♦♠❜✐♥❛♥t ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❛❞❞✐t✐♦♥ ❡t ❧✬❛❧❣♦✲

r✐t❤♠❡ ❞❡ ré❞✉❝t✐♦♥✱ ♦♥ ♦❜t✐❡♥t ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ❡t ❛✉ss✐ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ▼✐❧❧❡r ✭✈♦✐r
❧❡s s❡❝t✐♦♥s ✹✳✷✳✶ ❡t ✹✳✷✳✷✮✳

❈♦♠♣❧❡①✐té ❞❡ ❧❛ ré❞✉❝t✐♦♥ ❞❡ ❈❛♥t♦r✳ ◆♦✉s ❛✈♦♥s ❜❡s♦✐♥ ❞❡ O(g/2) ✐tér❛t✐♦♥s ♦ù
❝❤❛q✉❡ ✐tér❛t✐♦♥ ♥é❝❡ss✐t❡ O(M(2g)) ❬●●✾✾✱ ➓✾✳✶❪ ♦♣ér❛t✐♦♥s ❞❛♥s K ❧❡ ❝♦r♣s ❞❡ ❞é✜♥✐t✐♦♥
❞✉ ❞✐✈✐s❡✉r D✳

✸✳✸ ❋♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s ❡♥ ❣❡♥r❡ ✷

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♥♦✉s ❞♦♥♥♦♥s ❞❡s ❢♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ❡♥
❣❡♥r❡ 2 ❡♥ s❡ ❜❛s❛♥t s✉r ❧❡s ❢♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s ❞❡ ▲❛♥❣❡ ❬▲❛♥✵✶✱ ▲❛♥✵✷❛❪✳ ▲✬✐❞é❡ ❡st ❞❡
❞ér♦✉❧❡r ❧❛ ❜♦✉❝❧❡ ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ❡t ❞❡ r❡❣r♦✉♣❡r ❧❡s ♦♣ér❛t✐♦♥s ❞❡ ♠❛♥✐èr❡ à
♦♣t✐♠✐s❡r ❧✬❛❧❣♦r✐t❤♠❡ rés✉❧t❛♥t✳ ◆♦✉s ❛❥♦✉t♦♥s ✉♥❡ ♣❡t✐t❡ ♦r✐❣✐♥❛❧✐té à ♥♦tr❡ ♣rés❡♥t❛t✐♦♥
❡♥ ♠♦❞✐✜❛♥t ✉♥ ♣❡✉ ❧✬❛❧❣♦r✐t❤♠❡ ♦❜t❡♥✉ ❞❡ ♠❛♥✐èr❡ à ❧❡ r❡♥❞r❡ rés✐st❛♥t ❛✉① ❛tt❛q✉❡s ♣❛r
❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s ❧❡s ♣❧✉s s✐♠♣❧❡s✳

❖♥ r❡♣rés❡♥t❡ ❧❡s ❞✐✈✐s❡✉rs ré❞✉✐ts Di ♣♦✉r i = 1, 2 s♦✉s ❧❛ ❢♦r♠❡ ❞❡ ▼✉♠❢♦r❞ Di =
(ui, vi)✳ P♦✉r ♦❜t❡♥✐r ✉♥ ❞✐✈✐s❡✉r s❡♠✐✲ré❞✉✐t ❧✐♥é❛✐r❡♠❡♥t éq✉✐✈❛❧❡♥t à Ds := D1 +D2✱ ♦♥
❝❛❧❝✉❧❡ ❧❡ ♣♦❧②♥ô♠❡ u = u1u2 ❡t ❧❡ ♣♦❧②♥ô♠❡ v ❞❡ ❞❡❣ré ✐♥❢ér✐❡✉r str✐❝t❡♠❡♥t ❛✉ ❞❡❣ré ❞❡
u t❡❧ q✉❡

v ≡ vi (mod ui), ♣♦✉r i = 1, 2.

P♦✉r ❝❛❧❝✉❧❡r ❧❡ ♣♦❧②♥ô♠❡ v✱ ♥♦✉s ❞✐st✐♥❣✉♦♥s ❞❡✉① ❝❛s q✉✐ ❝♦rr❡s♣♦♥❞❡♥t ❛✉① ❝❛s ❧❡s ♣❧✉s
❢réq✉❡♥ts r❡♥❝♦♥trés ❞❛♥s ✉♥❡ ❡①♣♦♥❡♥t✐❛t✐♦♥ ✿

✶✮ ❧❡s ♣♦❧②♥ô♠❡s u1 ❡t u2 s♦♥t ♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✳

✷✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✸✳✸✳ ❋♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s ❡♥ ❣❡♥r❡ ✷

✷✮ ❧❡s ♣♦❧②♥ô♠❡s u1 ❡t u2 s♦♥t é❣❛✉① ✭❝✬❡st ❧❡ ❝❛s q✉❛♥❞ ♦♥ ❢❛✐t ✉♥❡ ❞✉♣❧✐❝❛t✐♦♥✮✳

▲❡s ❝❛s rés✐❞✉❡❧s ét❛♥t très r❛r❡s✱ ♦♥ ♣❡✉t s❡ ❝♦♥t❡♥t❡r ❞✬✉t✐❧✐s❡r ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r
st❛♥❞❛r❞ s❛♥s q✉❡ ❝❡❧❛ ♠♦❞✐✜❡ ✈r❛✐♠❡♥t ❧❛ ❝♦♠♣❧❡①✐té ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ rés✉❧t❛♥t ♦✉ s❛
q✉❛❧✐té ❞❡ rés✐st❡r à ❞❡s ❛tt❛q✉❡s ♣❛r ❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s✳

❆❞❞✐t✐♦♥ ✿ ❝♦♠♠❡ ♦♥ s♦✉❤❛✐t❡ q✉❡ v s♦✐t t❡❧ q✉❡ v ≡ v1 mod u1✱ ❛❧♦rs ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡
♣♦❧②♥ô♠❡ s1 t❡❧ q✉❡ v = s1u1 + v1✱ ❛✈❡❝ ❞❡❣(s1) = ❞❡❣(v) − ❞❡❣(u1)✳ ❉♦♥❝ ❡♥ ❝❛❧❝✉❧❛♥t
♠♦❞✉❧♦ u2✱ ♦♥ ❛ ✿

(v2 mod u2 ≡ v) ⇐⇒ (v2 mod u2 ≡ s1u1 mod u2 + v1 mod u2),

⇐⇒ s1u1 mod u2 ≡ (v2 − v1) mod u2.

❈♦♠♠❡ u1 ❡t u2 s♦♥t ♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✱ ♦♥ ♦❜t✐❡♥t ❞❛♥s ❝❡ ❝❛s

v = s1u1 + v1 ❛✈❡❝ s1 =
v2 − v1
u1

mod u2.

❉✉♣❧✐❝❛t✐♦♥ ✿ ❧❡s ♣♦❧②♥ô♠❡s u1 ❡t u2 s♦♥t é❣❛✉① ❡t ❞❡ ♠ê♠❡ v1 = v2✳ ❆❧♦rs ❧❡s ♣♦❧②♥ô♠❡s
u, v, u1 ❡t v1 ✈ér✐✜❡♥t ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿

u = u2
1,

v ≡ v1 mod u1 ⇐⇒ (v1 = v − s1u1),

u | f − vh− v2,

u1 | f − v1h− v2
1 ⇐⇒ (u1t = f2 − v1h− v2

1).

❊♥ r❡♠♣❧❛ç❛♥t ❧✬❡①♣r❡ss✐♦♥ ❞❡ v1 ❞❡ ❧❛ ❞❡✉①✐è♠❡ éq✉❛t✐♦♥ ❞❛♥s ❧❛ q✉❛tr✐è♠❡ éq✉❛t✐♦♥ ❡t
❡♥ ❞✐✈✐s❛♥t ♣❛r u1✱ ♦♥ ♦❜t✐❡♥t

t =
f − vh− v2

u1
+ s1(h+ 2v − s1u1).

▲❛ ❢r❛❝t✐♦♥ (f − vh− v2)/u1 ❡st ❡①❛❝t❡ ❡t ❡st ♠ê♠❡ ❡♥❝♦r❡ ❞✐✈✐s✐❜❧❡ ♣❛r u1✱ ❞♦♥❝ q✉❛♥❞
♦♥ ré❞✉✐t ♠♦❞✉❧♦ u1✱ ♦♥ ♦❜t✐❡♥t

t ≡ s1(h+ 2v1) mod u1 ⇐⇒ s1 =
t

h+ 2v1
mod u1.

❘é❞✉❝t✐♦♥ ✿ ❛♣rès ❧✬❛❞❞✐t✐♦♥ ❡t ❧❛ ❞✉♣❧✐❝❛t✐♦♥✱ ♥♦✉s ❞❡✈♦♥s ré❞✉✐r❡ ❧❡s ♣♦❧②♥ô♠❡s u ❡t v
s✉r ❧❡ ❝♦r♣s k(C)✳ ❙✉✐✈❛♥t ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r✱ ❧❛ ♣r♦♣r✐été q✉❡ ♥♦✉s ✉t✐❧✐s♦♥s ❡st q✉❡
❧❡ ♣♦❧②♥ô♠❡ u ❞✐✈✐s❡ f − vh− v2✳ ❈♦♠♠❡ v = s1u1 + v1✱ ❛❧♦rs

f − vh− v2

u1
=
f − v1h− v2

1

u1
− s1(h+ s1u1 + 2v1).

❖♥ ❝♦♥♥❛ît ❧❛ ❢r❛❝t✐♦♥ ❡①❛❝t❡ t = (f − v1h− v2
1)/u1 ❡t ♣♦✉r ❛✈♦✐r ❧❛ ré❞✉❝t✐♦♥ ❞✉ ♣♦❧②♥ô♠❡

u ♦♥ ❞✐✈✐s❡ s✐♠♣❧❡♠❡♥t ♣❛r u2✱ ❝❡ q✉✐ ♥♦✉s ❞♦♥♥❡ ❧❛ ❢r❛❝t✐♦♥ ❡①❛❝t❡ s✉✐✈❛♥t❡ ✿

u′ =
f − vh− v2

u
=
t− s1(h+ s1u1 + 2v1)

u2
.

■❧ ♥❡ r❡st❡ q✉✬à r❡♥❞r❡ u′ ✉♥✐t❛✐r❡ ❡t à ❝❛❧❝✉❧❡r v′ = −(h + su1 + v1) mod u′ ♣♦✉r ❛✈♦✐r ❧❡
rés✉❧t❛t D = [u′, v′] = D1 +D2✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✷✺✴✾✶



❈❤❛♣✐tr❡ ✸✳ ❆r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

❆❧❣♦r✐t❤♠❡✳ ◆♦✉s ♣rés❡♥t♦♥s ✐❝✐ ✉♥ ❛❧❣♦r✐t❤♠❡✱ ❡♥ ❣❡♥r❡ 2✱ rés✉❧t❛♥t ❞❡s ❝♦♥s✐❞ér❛t✐♦♥s
♣ré❝é❞❡♥t❡s q✉❡ ♥♦✉s ♠♦❞✐✜♦♥s ❧é❣èr❡♠❡♥t ❛✜♥ q✉✬✐❧ rés✐st❡ ❛✉① ❛tt❛q✉❡s ♣❛r ❝❛♥❛✉① ❛✉①✐✲
❧✐❛✐r❡s✳ ▲✬✐❞é❡ ❡st ❞✬♦❜t❡♥✐r ✉♥❡ ❢♦r♠✉❧❡ ✉♥✐✜é❡ ♣♦✉r ❧✬❛❞❞✐t✐♦♥ ❡t ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❛✜♥ ❞❡
❧❡s r❡♥❞r❡ ✐♥❞✐st✐♥❣✉❛❜❧❡s ♣♦✉r ✉♥ ♦❜s❡r✈❛t❡✉r ❛②❛♥t ♣❛r ❡①❡♠♣❧❡ ❛❝❝ès à ❞❡s tr❛❝❡s ❞❡
❝♦♥s♦♠♠❛t✐♦♥ ❞❡ ❝♦✉r❛♥t ❞✉ ♣r♦❝❡ss❡✉r✳ ◆♦t♦♥s q✉❡ ▲❛♥❣❡ ❡t ▼✐s❤r❛ ❬▲▼✵✺❪✱ ❡♥ s✉♣♣♦✲
s❛♥t q✉❡ ❧❡ ❝♦ût ❞✬✉♥❡ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❡t ❞✬✉♥ ❝❛rré s✉r ❧❡ ❝♦r♣s ✜♥✐ k s♦♥t ❧❡s ♠ê♠❡s✱ ♦♥t
❞é❥à ♣r♦♣♦sé ❞❡s ❢♦r♠✉❧❡s ✉♥✐✜é❡s✳ ◆♦tr❡ ❛❧❣♦r✐t❤♠❡ ♥❡ ♣rét❡♥❞ ♣❛s êtr❡ ❧❡ ♣❧✉s ❡✣❝❛❝❡ ♥✐
❧❡ ♣❧✉s rés✐st❛♥t ❛✉① ❛tt❛q✉❡s ♣❛r ❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s✱ ♠❛✐s ✐❧ ✐❧❧✉str❡ ✉♥❡ t❡❝❤♥✐q✉❡ ❝❧❛ss✐q✉❡
❞❡ ♣r♦t❡❝t✐♦♥ ❡t ❧❡ ❣❡♥r❡ ❞✬✐❞é❡ q✉❡ ❞♦✐t ❛✈♦✐r ❡♥ têt❡ ✉♥ ✐♥❣é♥✐❡✉r q✉✐ s♦✉❤❛✐t❡ ✐♠♣❧é♠❡♥t❡r
s♦✐❣♥❡✉s❡♠❡♥t ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ✉t✐❧✐s❛❜❧❡ ♣♦✉r ❢❛✐r❡ ❞❡ ❧❛ ❝r②♣t♦❣r❛♣❤✐❡✳

❆❧❣♦r✐t❤♠ ✸✳✸✳✶ ❆r✐t❤♠ét✐q✉❡ ❡♥ ❣❡♥r❡ ✷
❊♥tré❡ ✿ ▲❡s ❞✐✈✐s❡✉rs D1 = (u1, v1) ❡t D2 = (u2, v2)
❙♦rt✐❡ ✿ ▲❡ ❞✐✈✐s❡✉r D = D1 +D2 = (u′, v′)

✶✿ t1 ← (f − v1h− v2
1)/u1 ❡t t2 ← t1 mod u2

✷✿ s✐ D1 = D2 ❛❧♦rs s1 ← t2/(h+ 2v2) mod u2

✸✿ s✐♥♦♥ s1 ← (v2 − v1)/u1 mod u2 ✜♥ s✐

✹✿ u′ ← [t1 − s1(h+ s1u1 + 2v1)]/(u2)
✺✿ v′ ← −(h+ s1u1 + v1) mod u′

✻✿ r❡t♦✉r♥❡r D = (u′, v′)

❉❛♥s ❧✬❛❧❣♦r✐t❤♠❡ ✸✳✸✳✶✱ ❧❡ ❝❛❧❝✉❧ ❞❡ t2 à ❧❛ ♣r❡♠✐èr❡ ❧✐❣♥❡ ❡st ✐♥❞✐s♣❡♥s❛❜❧❡ ♣♦✉r q✉❡
❧✬❛❞❞✐t✐♦♥ ❡t ❧❛ ❞✉♣❧✐❝❛t✐♦♥ s♦✐❡♥t ✐♥❞✐st✐♥❣✉❛❜❧❡s✳ ❉❛♥s ❝❡ ❝❛s✱ ❧❡s ❝❛❧❝✉❧s ❡✛❡❝t✉és ❛♣rès
s✐ ❡t s✐♥♦♥ ♦♥t ❧❡ ♠ê♠❡ ❝♦ût✳ ◆♦t♦♥s ♣❛r MK,SK ❡t IK ❧❡s ❝♦♠♣❧❡①✐tés r❡s♣❡❝t✐✈❡s ♣♦✉r
❝❛❧❝✉❧❡r ✉♥❡ ♠✉❧t✐♣❧✐❝❛t✐♦♥✱ ✉♥ ❝❛rré ❡t ✉♥❡ ✐♥✈❡rs✐♦♥ ❞❛♥s ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ K/k ❞❡ k✳
◆♦✉s ❡①♣❧✐❝✐t♦♥s ❧✬❛❧❣♦r✐t❤♠❡ ✸✳✸✳✶ ♣♦✉r ❞❡s ❞✐✈✐s❡✉rs ❞é✜♥✐s ❞❛♥s K✳

❊♥tré❡ ✿ ❉❡✉① ❞✐✈✐s❡✉rs D1 = (u1, v2), D2 = (u2, v2) ❛✈❡❝ deg(u1) = deg(u2) = 2

❙♦rt✐❡ ✿ ▲❡ ❞✐✈✐s❡✉r s♦♠♠❡ D = (u′, v′) = D1 +D2

✶✳ ❈❛❧❝✉❧❡r t1 := (f − v1h− v
2
1
)/u1 := x

3 + t12x
2 + t11x + t10 [3MK + 1SK]

t12 ← f4 − u11; w1 ← u11t21 + h2v11; t11 ← f3 − u10 − w1;

t10 ← u11(u10 − t11)− f4u10 − v11(h1 + v11)− h2v10 + f2;

✷✳ ❈❛❧❝✉❧❡r t2 := t1 mod u2 := t21x + t20 [2MK]

t21 ← u21(u21 − t12) + t11 − u20;

t20 ← u20(u21 − t12) + t10;

s✐ D1 = D2 ❛❧♦rs

F11 ← t21;F10 ← t20;F21 ← (h1 − h2u21 + 2v21);F20 ← (h0 − h2u20 + 2v20);

s✐♥♦♥ F11 ← v21 − v11;F10 ← v20 − v10;F21 ← u11 − u21;F20 ← u10 − u20;

✜♥ s✐

✸✳ ❈❛❧❝✉❧❡r s2 := ▼♦♥✐❝(F1/F2 mod u2) := x + x20 [12MK + 4SK + 1IK]

w1 ← F20 − u21F21; r ← F20w1 + u20F
2
21;

s10 ← F10w1 + u20F11F21; s11 ← F11F20 − F21F10;

w1 ← 1/(rs11); w2 ← r2w1; w3 ← w1s
2
11; w4 ← w2

2; s20 ← s10w2

✷✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✸✳✹✳ ◗✉❡❧q✉❡s r❡♠❛rq✉❡s ♣♦✉r ✜♥✐r

✹✳ ❈❛❧❝✉❧❡r ℓ := s2u1 := x
3 + ℓ2x

2 + ℓ1x + ℓ0 [2MK]

ℓ2 ← u11 + s20; ℓ1 ← u10 + u11s20; ℓ0 ← u10s20;

✺✳ ❈❛❧❝✉❧❡r u
′ := (t1 − s1(h + v + v1))/u2 := x

2 + u
′
1x + u

′
0; [3MK]

z1 ← u11 − u21; u′1 ← 2s20 + z1 + h2w2 − w4;

u′0 ← (s20 − u21)(s20 + z1 + h2w2)− u20 + ℓ1;

u′0 ← u′0 + (h1 + 2v11)w2 + (2u11 − z1 − f4)w4;

✻✳ ❈❛❧❝✉❧❡r v
′ := −(h + ℓ+ v) mod u

′ := v
′
1x + v

′
0 [4MK]

w1 ← ℓ2 − u′1; w2 ← u′1w1 + u′0 − ℓ1;
v′1 ← w2w3 − v11 − h1 + h2u

′
1; w2 ← u′0w1 − ℓ0;

v′0 ← w2w3 − v10 − h0 + h2u
′
0;

✼✳ r❡t♦✉r♥❡r D = [u′,v′] [Total : 26MK + 5SK + 1IK]

❇✐❡♥ q✉❡ ♥♦s ❢♦r♠✉❧❡s s♦✐❡♥t ✈❛❧❛❜❧❡s ❡♥ t♦✉t❡ ❝❛r❛❝tér✐st✐q✉❡✱ ♥♦✉s ❛✈♦♥s ✐♥❞✐q✉é s❡✉❧❡♠❡♥t
❧❛ ❝♦♠♣❧❡①✐té ♣♦✉r ❧❡ ❝❛s ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡ ♦ù h(x) = 0✳

✸✳✹ ◗✉❡❧q✉❡s r❡♠❛rq✉❡s ♣♦✉r ✜♥✐r

❈♦♠♠❡ ❞❛♥s ❧❡ ❝❛s ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✱ ♥♦t♦♥s q✉✬✐❧ ❡①✐st❡ ❞❡s ❢♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s
♣♦✉r ❞✬❛✉tr❡s s②stè♠❡s ❞❡ ❝♦♦r❞♦♥♥é❡s q✉❡ ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ ▼✉♠❢♦r❞✱ ♥♦t❛♠♠❡♥t ❧❡s
❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝t✐✈❡s ✭✈♦✐r ❬▼❉▼+✵✷✱ ▲❛♥✵✷❜❪ ♦✉ ❬❆❈❉+✵✻✱ s❡❝t✐♦♥ ✶✹✳✹✳✶❪✮ ❡t ❧❡s ❝♦✲
♦r❞♦♥♥é❡s ❏❛❝♦❜✐❡♥♥❡s ✭✈♦✐r ❬▲❛♥✵✷❝❪ ♦✉ ❬❆❈❉+✵✻✱ s❡❝t✐♦♥ ✶✹✳✹✳✷❪✮✳ ❈❡s s②stè♠❡s ❞❡ ❝♦♦r✲
❞♦♥♥é❡s ♣❡r♠❡tt❡♥t ❞✬é❧✐♠✐♥❡r ❧❡s ❝❛❧❝✉❧s ❞✬✐♥✈❡rs✐♦♥ ♣rés❡♥ts ❞❛♥s ❧❡ ❝❛s ❛✣♥❡✳

❊♥ ❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝t✐✈❡s✱ ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t D = (u, v) ❞✬✉♥❡ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❣❡♥r❡
2 ❡st r❡♣rés❡♥té ♣❛r ✉♥ 5✲✉♣❧❡t ❞❡ ❧❛ ❢♦r♠❡ (U1, U0, V1, V0, Z1) t❡❧ q✉❡

u = x2 +
U1

Z1
x+

U0

Z1
❡t v =

V1

Z1
x+

V0

Z1
.

❊♥ ❝♦♦r❞♦♥♥é❡s ❏❛❝♦❜✐❡♥♥❡s✱ ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t D = (u, v) ❞✬✉♥❡ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❣❡♥r❡
2 ❡st r❡♣rés❡♥té ♣❛r ✉♥ 6✲✉♣❧❡t ❞❡ ❧❛ ❢♦r♠❡ (U1, U0, V1, V0, Z1, Z2) t❡❧ q✉❡

u = x2 +
U1

Z2
1

x+
U0

Z2
1

❡t v =
V1

Z3
1Z2

x+
V0

Z3
1Z2

.

■❧ ❡①✐st❡ ❞❡s ❛❞❛♣t❛t✐♦♥s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r ♣♦✉r ❝❛❧❝✉❧❡r ❛✈❡❝ ❧❡s ♣ré❝é❞❡♥ts
s②stè♠❡s ❞❡ ❝♦♦r❞♦♥♥é❡s✳

❈❤❛♥❣❡♠❡♥t ❞❡ ♠♦❞è❧❡✳ ❉✬❛✉tr❡s t❡❝❤♥✐q✉❡s ♣♦✉r r❡♥❞r❡ ❡✣❝❛❝❡ ❧✬❛r✐t❤♠ét✐q✉❡ s✉r
✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐t✐q✉❡ ❞❡ ❣❡♥r❡ ≤ ✷ ✉t✐❧✐s❡♥t ✉♥ ❝❤❛♥❣❡♠❡♥t ❥✉❞✐❝✐❡✉① ❞❡ ♠♦❞è❧❡ ❞❡
❧❛ ❝♦✉r❜❡✳ P♦✉r ❧❡ ❝❛s ❡❧❧✐♣t✐q✉❡✱ ♥♦✉s ❛✈♦♥s ❧❡s ♠♦❞è❧❡s ❞✬❊❞✇❛r❞s ❬❊❞✇✵✼❪✱ ❞❡ ❏❛❝♦❜✐
❬❇❏✵✸✱ ❋◆❲✵✾❪✱ ❍❡ss✐❡♥ ❬❙♠❛✵✶❛❪ ✭♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s ✈♦✐r ❬❍❲❈❉✵✼❪✮✳ ❈❡s ❞✐✛ér❡♥ts
♠♦❞è❧❡s s♦♥t ❞❡s ❝❛s ♣❛rt✐❝✉❧✐❡rs✱ ❢réq✉❡♠♠❡♥t r❡♥❝♦♥trés✱ ❞✉ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β✳ ❊♥
❡✛❡t✱ ♣♦✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ E ❞é✜♥✐❡ s✉r k✱ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉♣♣♦s❡ q✉❡ E(k)
❛❞♠❡t ✉♥ ♣♦✐♥t ❞❡ ✹ t♦rs✐♦♥ r❛t✐♦♥♥❡❧✱ ❧❡ ♠♦❞è❧❡ ❞❡ ❏❛❝♦❜✐ s✉♣♣♦s❡ q✉❡ E(k) ❛❞♠❡t ✉♥
♣♦✐♥t ❞❡ ✷ t♦rs✐♦♥ r❛t✐♦♥♥❡❧ ❡t ❧❡ ♠♦❞è❧❡ ❞❡ ❍❡ss✐❛♥ s✉♣♣♦s❡ q✉❡ E(k) ❛❞♠❡t ✉♥ ♣♦✐♥t ❞❡ ✸
t♦rs✐♦♥ r❛t✐♦♥♥❡❧✳ P♦✉r ❧❡ ❝❛s ❞✉ ❣❡♥r❡ 2✱ ✐❧ ❡①✐st❡ ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s s✉r❢❛❝❡s
❞❡ ❑✉♠♠❡r ❬❉✉q✵✼✱ ❉✉q✵✽❜✱ ●❛✉✵✼✱ ●▲✵✽❪ q✉✐ ét❡♥❞ ❞❛♥s ❧❡ ❝❛s ❞✉ ❣❡♥r❡ 2 ❧❡ ❝❧❛ss✐q✉❡
❛❧❣♦r✐t❤♠❡ ❞❡ ▼♦♥t❣♦♠❡r②✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✷✼✴✾✶



❈❤❛♣✐tr❡ ✸✳ ❆r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡

✷✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❉❡✉①✐è♠❡ ♣❛rt✐❡

■♠♣❧é♠❡♥t❛t✐♦♥ ❡✣❝❛❝❡ ❞❡s

❝♦✉♣❧❛❣❡s ❡♥ ❣❡♥r❡ ✷

✷✾





❈❤❛♣✐tr❡ ✹

●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉♣❧❛❣❡s

❯♥ ❝♦✉♣❧❛❣❡ ❡st ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ c : G1×G2 → GT ❞❡ ❞❡✉① ❣r♦✉♣❡s ✭♥♦tés ❛❞❞✐t✐✈❡♠❡♥t✮
G1,G2 ✈❡rs ✉♥ ❣r♦✉♣❡ ✭♥♦té ♠✉❧t✐♣❧✐❝❛t✐✈❡♠❡♥t✮ GT q✉✐ ❡st ❜✐❧✐♥é❛✐r❡ ❡t ♥♦♥ ❞é❣é♥éré❡ ✿

❛✮ ❜✐❧✐♥é❛✐r❡

{
c(P1 + P2, Q) = c(P1, Q)c(P2, Q),
c(P,Q1 +Q2) = c(P,Q1)c(P,Q2),

❜✮ ♥♦♥ ❞é❣é♥éré❡

{
∀P ∈ G1,∃Y ∈ G2, c(P, Y ) 6= 1,
∀Q ∈ G2,∃X ∈ G1, c(X,Q) 6= 1.

P❛r ❧❛ s✉✐t❡✱ ❧❡s ❣r♦✉♣❡s G1 ❡t G2 s❡r♦♥t ❞❡s s♦✉s✲❣r♦✉♣❡s ❝②❝❧✐q✉❡s ❞❡ ♣♦✐♥ts r❛t✐♦♥♥❡❧s
❞✬✉♥❡ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r ❧❡ ❝♦r♣s k ❞❡ ❣❡♥r❡ g ≤ 2 t❡❧s q✉❡
G1 ∩G2 = {0} ♦ù 0 ❡st ❧✬é❧é♠❡♥t ♥❡✉tr❡ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡✳

◆♦✉s ♥❡ ❝♦♥s✐❞ér♦♥s q✉❡ ❧❡s ❝♦✉♣❧❛❣❡s ❞❡ ❚❛t❡✱ ❞❡ ❲❡✐❧ ❡t ❧❡✉rs ❛♠é❧✐♦r❛t✐♦♥s ❝r②♣✲
t♦❣r❛♣❤✐q✉❡s✱ ♥♦t❛♠♠❡♥t ❧❡s ❝♦✉♣❧❛❣❡s ❊t❛ ❡t ❆t❡✳ ▲✬♦❜❥❡❝t✐❢ ♣r✐♥❝✐♣❛❧ ❞❡ ❝❡tt❡ ♣❛rt✐❡
❡st ❞❡ ❞é❝r✐r❡ ❡t ❞❡ ❝♦♠♣❛r❡r ❞✐✈❡rs❡s ✐♠♣❧é♠❡♥t❛t✐♦♥s ❞❡ ❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡s✳ P♦✉r ❝❡s
✐♠♣❧é♠❡♥t❛t✐♦♥s✱ ♥♦✉s ✉t✐❧✐s♦♥s ❧❡ ❧♦❣✐❝✐❡❧ ❞❡ ❝❛❧❝✉❧ ❛❧❣é❜r✐q✉❡ ▼❛❣♠❛ ❬❇❈P✾✼❪✳

✹✳✶ ❉é✜♥✐t✐♦♥ ❞❡s ❝♦✉♣❧❛❣❡s ❞❡ ❲❡✐❧ ❡t ❞❡ ❚❛t❡

❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g ❞é✜♥✐❡ s✉r k ❡t s♦✐t JC s❛ ❥❛❝♦❜✐❡♥♥❡✳
❙♦✐t r ✉♥ ❡♥t✐❡r str✐❝t❡♠❡♥t ♣♦s✐t✐❢✳ ❙✐ D ❡st ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t ❞❡ C q✉✐ r❡♣rés❡♥t❡ ✉♥
é❧é♠❡♥t ❞❡ JC [r] ❛❧♦rs ♦♥ ♥♦t❡ fD ❧❛ ❢♦♥❝t✐♦♥ ❞❡ C ❞é✜♥✐❡ à ✉♥ ❢❛❝t❡✉r ♠✉❧t✐♣❧✐❝❛t✐❢ ♣rès
♣❛r rD = (fD)✳ ❖♥ ♥♦t❡ µr ❧❡ s♦✉s✲❣r♦✉♣❡ ❞❡ k

∗
❞❡s r❛❝✐♥❡s r✐è♠❡s ❞❡ ❧✬✉♥✐té ❡t ♣♦✉r

s✐♠♣❧✐✜❡r✱ ♥♦✉s s✉♣♣♦s♦♥s q✉❡ µr ❡st ✐♥❝❧✉s ❞❛♥s ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ K ❞❡ k✳ ❖♥ ❛ ❛❧♦rs ❧❛
❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✹✳✶ ❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ♣ré❝é❞❡♥t❡s✱ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❲❡✐❧ ❡st ❧✬❛♣♣❧✐❝❛t✐♦♥ ✿

Wr : JC [r]× JC [r] → µr ⊂ K∗

(D1, D2) 7→ Wr(D1, D2) :=
fD1(D2)

fD2(D1)
,

♦ù D1 ❡t D2 s♦♥t ❞❡s ❞✐✈✐s❡✉rs ré❞✉✐ts ❞❡ s✉♣♣♦rts ❞✐s❥♦✐♥ts✳

❖♥ ♣❡✉t ♠♦♥tr❡r q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❲❡✐❧ ❡st ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ ❜✐❧✐♥é❛✐r❡ ♥♦♥ ❞é❣é♥éré❡✳
▲❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❢✉t ✐♥tr♦❞✉✐t ♣❛r ❚❛t❡ ❬❚❛t✾✺❪ s✉r ❧❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s✱ ♣✉✐s

▲✐❝❤t❡♥❜❛✉♠ ❬▲✐❝✻✾❪ ❧✬❛♣♣❧✐q✉❡ ♣♦✉r ❞❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s s✉r C ❡t
❋r❡② ❡t ❘ü❝❦ ❬❋❘✾✹❪ ❧❡ ❞é✜♥✐ss❡♥t s✉r ❧❡s ❝♦r♣s ✜♥✐s✳

✸✶



❈❤❛♣✐tr❡ ✹✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉♣❧❛❣❡s

❉é✜♥✐t✐♦♥ ✹✳✷ ❊♥ ❝♦♥s❡r✈❛♥t ❧❡s ♥♦t❛t✐♦♥s ♣ré❝é❞❡♥t❡s✱ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❡st ❞♦♥♥é
♣❛r ❧✬❛♣♣❧✐❝❛t✐♦♥ s✉✐✈❛♥t❡ ✿

Tr : JC(k) [r]× JC(K)

rJC(K)
→ K∗

K∗r

(D1, D2) 7→ Tr(D1, D2) := fD1(D2),

♦ù D1 ❡t D2 s♦♥t ❞❡s ❞✐✈✐s❡✉rs ré❞✉✐ts ❞❡ s✉♣♣♦rts ❞✐s❥♦✐♥ts✳

▲à ❡♥❝♦r❡✱ ♦♥ ♣❡✉t ♠♦♥tr❡r q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❡st ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ ❜✐❧✐♥é❛✐r❡ ❡t q✉✬❡❧❧❡
❡st ♥♦♥ ❞é❣é♥éré❡ s✐ JC(K) ♥❡ ❝♦♥t✐❡♥t ♣❛s ✉♥ ♣♦✐♥t ❞❡ r2✲t♦rs✐♦♥✳

❚♦✉s ❧❡s ❛❧❣♦r✐t❤♠❡s ❞❡ ❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡ ❝♦♥♥✉s r❡♣♦s❡♥t s✉r ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r
❬▼✐❧✽✻✱ ▼✐❧✵✹❪ q✉✐ ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ❧❡s ❢♦♥❝t✐♦♥s fD ♣ré❝é❞❡♥t❡s q✉✐ ❛♣♣❛r❛✐ss❡♥t ❞❛♥s
❧❛ ❞é✜♥✐t✐♦♥ ❞❡s ❝♦✉♣❧❛❣❡s ❞❡ ❲❡✐❧ ❡t ❚❛t❡ ❡t ❞❡ ❧❡s é✈❛❧✉❡r ❡♥ ✉♥ ❞✐✈✐s❡✉r D′✳

✹✳✷ ▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♥♦✉s ❞é❝r✐✈♦♥s ❧❡s ❜r✐q✉❡s ❛❧❣♦r✐t❤♠✐q✉❡s é❧é♠❡♥t❛✐r❡s s♦✉s✲❥❛❝❡♥t❡s
à t♦✉s ❧❡s ❛❧❣♦r✐t❤♠❡s ❞❡ ❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡✳ ▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r r❡♣♦s❡ s✉r ❧❡ ♣r✐♥❝✐♣❡
❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❡①♣♦♥❡♥t✐❛t✐♦♥ r❛♣✐❞❡ ❛♣♣❧✐q✉é à ❞❡s ❢♦♥❝t✐♦♥s ❞✐t❡s ❞❡ ❲❡✐❧ ✭✈♦✐r ❧❛
s❡❝t✐♦♥ ✹✳✷✳✷✮✳

✹✳✷✳✶ ❋♦♥❝t✐♦♥ ❞❡ ▼✐❧❧❡r

❉❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s✱ ♥♦✉s ♥♦✉s ✐♥tér❡ss♦♥s ❛✉ ♣r♦❜❧è♠❡ ❛❧❣♦r✐t❤♠✐q✉❡ s✉✐✈❛♥t ✿
ét❛♥t ❞♦♥♥é ❞❡✉① ❞✐✈✐s❡✉rs ré❞✉✐ts D1 ❡t D2 r❡♣rés❡♥t❛♥t ❞❡s ♣♦✐♥ts ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡
JC ✱ ♣❡✉t✲♦♥ ❡✣❝❛❝❡♠❡♥t ❝❛❧❝✉❧❡r ✉♥❡ ❢♦♥❝t✐♦♥ hD1,D2 ✭❞é♣❡♥❞❛♥t ❞❡ D1 ❡t D2✮ t❡❧❧❡ q✉❡
❞✐✈(hD1,D2) = D1 + D2 − ρ(Ds)✱ ❛✈❡❝ ρ(Ds) ❧✬✉♥✐q✉❡ ❞✐✈✐s❡✉r ré❞✉✐t éq✉✐✈❛❧❡♥t à Ds :=
D1 +D2 ❄ ▲❛ ❢♦♥❝t✐♦♥ hD1,D2 ✱ ❞ét❡r♠✐♥é❡ à ✉♥❡ ❝♦♥st❛♥t❡ ♠✉❧t✐♣❧✐❝❛t✐✈❡ ♣rés✱ ❡st ❛♣♣❡❧é❡
❢♦♥❝t✐♦♥ ❞❡ ▼✐❧❧❡r ❛ss♦❝✐é❡ à D1 ❡t D2✳

❘❡♠❛rq✉❡ ✹✳✸ P♦✉r ❧❡ ❝❛s ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ E/k✱ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ▼✐❧❧❡r ❡st ❢❛❝✐❧❡
à ♦❜t❡♥✐r ✿ s♦✐❡♥t P1 ❡t P2 ❞❡✉① ♣♦✐♥ts ❞❡ E✱ ♦♥ s❛✐t q✉❡ (P1) + (P2) + (h) = (P1 + P2)

♦ù hP1,P2 =
ℓP1,P2
vP1,P2

❡st ❧❡ r❛♣♣♦rt ❞❡s ❢♦♥❝t✐♦♥s q✉✐ s✬❛♥♥✉❧❡♥t r❡s♣❡❝t✐✈❡♠❡♥t s✉r ❧❛ ❞r♦✐t❡

ℓP1,P2 ♣❛ss❛♥t ♣❛r P1 ❡t P2 ❡t ❧❛ ❞r♦✐t❡ ✈❡rt✐❝❛❧❡ vP1,P2 ♣❛ss❛♥t ♣❛r P1 + P2✳

❉❛♥s ❧❡ ❝❛s ❞❡s ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❞❡ ❣❡♥r❡ ♣❧✉s ❣r❛♥❞ q✉❡ 1✱ ♥♦✉s ❛❧❧♦♥s ✈♦✐r
q✉❡ ❧❛ ❢♦♥❝t✐♦♥ hD1,D2 ♣❡✉t s❡ ❞ét❡r♠✐♥❡r ❣râ❝❡ à ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ❈❛♥t♦r✳

✹✳✷✳✷ ❋♦♥❝t✐♦♥ ❞❡ ❲❡✐❧

P♦✉r t♦✉t ❞✐✈✐s❡✉r D ∈ Div0
C ✱ ♥♦t♦♥s t♦✉❥♦✉rs ♣❛r ρ(D) ❧✬✉♥✐q✉❡ ❞✐✈✐s❡✉r ré❞✉✐t éq✉✐✲

✈❛❧❡♥t à D✳

❉é✜♥✐t✐♦♥ ✹✳✹ ❙♦✐❡♥t n ∈ Z ❡t D ∈ Div0
C ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t r❡♣rés❡♥t❛♥t ✉♥ é❧é♠❡♥t ❞❡

JC(k)✳ ❖♥ ❛♣♣❡❧❧❡ ❢♦♥❝t✐♦♥ ❞❡ ❲❡✐❧✱ t♦✉t❡ ❢♦♥❝t✐♦♥ f ∈ k(C) ❞♦♥t ❧❡ ❞✐✈✐s❡✉r ✈ér✐✜❡

(f) = [n]D − ρ([n]D),

♦ù ρ([n]D) ❡st ❧✬✉♥✐q✉❡ ❞✐✈✐s❡✉r ré❞✉✐t ❞❡ [n]D✳ ❈❡tt❡ ❢♦♥❝t✐♦♥ ❞é♣❡♥❞❛♥t ❞❡ n ❡t ❞❡ D
s❡r❛ ♥♦té❡ fn,D✳ ❉❛♥s ❧❡ ❝❛s ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✱ ♦♥ é❝r✐t ❧❛ ❢♦♥❝t✐♦♥ fn,P ♣♦✉r ✉♥ ♣♦✐♥t
P ❞❡ ❧❛ ❝♦✉r❜❡ ❡t ♦♥ ❛ ✿ (fn,P ) = n(P )− ([n]P )− (n− 1)(O)✳

✸✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✹✳✷✳ ▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r

◆♦t♦♥s q✉❡ ❧❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ s♦♥t ❞ét❡r♠✐♥é❡s à ✉♥❡ ❝♦♥st❛♥t❡ ♣rès✳ ▲❡ ❧✐❡♥ ❡♥tr❡
❧❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ ❡t ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❲❡✐❧ ❡st ❧❡ s✉✐✈❛♥t ✿ s✐ D r❡♣rés❡♥t❡ ✉♥ é❧é♠❡♥t
❞❡ JC [n] ❛❧♦rs fn,D ♥✬❡st ❛✉tr❡ q✉❡ ❧❛ ❢♦♥❝t✐♦♥ fD q✉✐ ❡st ✉t✐❧✐sé❡ ❞❛♥s ❧❡s ❞é✜♥✐t✐♦♥s ❞❡s
❝♦✉♣❧❛❣❡s ❞❡ ❲❡✐❧ ❞é✜♥✐t✐♦♥ ✹✳✶ ❡t ❞❡ ❚❛t❡ ❞é✜♥✐t✐♦♥ ✹✳✷✳

▲❡ t❤é♦rè♠❡ s✉✐✈❛♥t rés✉♠❡ ❧❡s ♣r✐♥❝✐♣❛❧❡s ♣r♦♣r✐étés ❞❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧✳ ❖♥ ♥♦t❡r❛
❡♥ ♣❛rt✐❝✉❧✐❡r ❧❛ ♣r❡♠✐èr❡ éq✉❛t✐♦♥ ❞✬♦ù ❞é❝♦✉❧❡ ✐♠♠é❞✐❛t❡♠❡♥t ✉♥ ❛❧❣♦r✐t❤♠❡ ❞❡ t②♣❡
❡①♣♦♥❡♥t✐❛t✐♦♥ r❛♣✐❞❡ ♣♦✉r ❝❛❧❝✉❧❡r ❧❡s ❝♦✉♣❧❛❣❡s✳

❚❤é♦rè♠❡ ✹✳✺ ❙♦✐❡♥t ❞❡s ❡♥t✐❡rs n, m ∈ Z ❡t ✉♥ ❞✐✈✐s❡✉r ré❞✉✐t D ∈ Div0
C ✱ ❛❧♦rs✱ à ✉♥

❝♦❡✣❝✐❡♥t ♠✉❧t✐♣❧✐❝❛t✐❢ ♣rès✱ ♦♥ ❛ ✿

fn+m,D = fn,D.fm,D.hρ([n]D),ρ([m]D), ✭✹✳✶✮

fmn,D = fn
m,D.fn,ρ([m]D) = fm

n,D.fm,ρ([n]D), ✭✹✳✷✮

f−n,D =
1

fn,Dhρ([n]D),ρ([−n]D)
. ✭✹✳✸✮

Pr❡✉✈❡ ✿ P♦✉r ❧❛ ♣r❡♠✐èr❡ ❢♦r♠✉❧❡ ✭✹✳✶✮ ✭❢♦r♠✉❧❡ ❞❡ ❧✬❛❞❞✐t✐♦♥✮✱ ♦♥ ❛ ✿

❞✐✈(fn,D.fm,D.hρ([n]D),ρ([m]D)) = ❞✐✈(fn,D) + ❞✐✈(fm,D) + ❞✐✈(hρ([n]D),ρ([m]D))

= [n]D − ρ([n]D) + [m]D − ρ([m]D) + ρ([n]D)

+ρ([m]D)− ρ([n+m]D)

= [n+m]D − ρ([n+m]D)

= ❞✐✈(fm+n,D).

P♦✉r ❧❛ s❡❝♦♥❞❡ ❢♦r♠✉❧❡ ✭✹✳✷✮ ✭❢♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t✮✱ ♦♥ ❛ ✿

❞✐✈(fn
m,D.fn,ρ([m]D)) = n.❞✐✈(fm,D) + ❞✐✈(fn,ρ([m]D))

= n ([m]D − ρ([m]D)) + n(ρ([m]D))− ρ(n [m]D)

= [nm]D − ρ([nm]D)

= ❞✐✈(fmn,D).

P♦✉r ❧❛ ❞❡r♥✐èr❡ ❢♦r♠✉❧❡ ✭✹✳✸✮ ✭❢♦r♠✉❧❡ ❞❡ ❧✬♦♣♣♦sé❡✮✱ ♦♥ ❛ ✿

❞✐✈(fn,D.h[n]D,[−n]D) = ❞✐✈(fn,D) + ❞✐✈(hρ([n]D),ρ(−[n]D))

= [n]D − ρ([n]D) + ρ([n]D) + ρ([−n]D)

= [n]D + ρ(− [n]D)

= − ([−n]D − ρ([−n]D))

= −❞✐✈(f−n,D).

2

❊♥ ♣r❡♥❛♥t ❞❡s ✈❛❧❡✉rs ♣❛rt✐❝✉❧✐èr❡s ♣♦✉r m ❡t n ❞❛♥s ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❡t ❞❡
♣r♦❞✉✐t✱ ♥♦✉s ❛✈♦♥s ❧❡ ❝♦r♦❧❧❛✐r❡ s✉✐✈❛♥t ✿

❈♦r♦❧❧❛✐r❡ ✹✳✻ P♦✉r t♦✉t ❡♥t✐❡r n ∈ Z ❡t t♦✉t ❞✐✈✐s❡✉r D ∈ JC ✱ ♦♥ ❛ ✿

fn+1,D = fn,D.hρ([n]D),D, ✭✹✳✹✮

fn2,D = fn
n,D.fn,ρ([n]D). ✭✹✳✺✮

❘❡♠❛rq✉❡ ✹✳✼ ■❧ ❡st ❢❛❝✐❧❡ ❞❡ ✈♦✐r q✉❡ f0,D = f1,D = 1 ♣♦✉r t♦✉t ❞✐✈✐s❡✉r D ❡t ♥♦✉s
❛❧❧♦♥s s✉♣♣♦s❡r q✉❡ fn,0 = 1 ♣♦✉r t♦✉t ❡♥t✐❡r n ♦ù 0 ❡st ❧❡ ❞✐✈✐s❡✉r ♥✉❧✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✸✸✴✾✶



❈❤❛♣✐tr❡ ✹✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉♣❧❛❣❡s

❖♥ ♣❡✉t ❣é♥ér❛❧✐s❡r ❧❡ ❝♦r♦❧❧❛✐r❡ ♣ré❝é❞❡♥t ❛✈❡❝ ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿

❈♦r♦❧❧❛✐r❡ ✹✳✽ P♦✉r t♦✉s ❡♥t✐❡rs n ∈ Z, ℓ ∈ N✱ t♦✉t❡ ❢❛♠✐❧❧❡ ❞✬❡♥t✐❡r (ni)0≤i≤ℓ ❡t ♣♦✉r
t♦✉t ❞✐✈✐s❡✉r ré❞✉✐t D ∈ Div0

C ✱ ♦♥ ❛ ✿

fnℓ,D =
ℓ−1∏

i=0

fnℓ−1−i

n,ρ([ni]D), ✭✹✳✻✮

fPℓ
i=0 ni,D

=
ℓ∏

i=0

fni,D

ℓ−1∏

i=0

hρ(
Pi

j=0[nj ]D),ρ([ni+1]D), ✭✹✳✼✮

ℓ−1∏

i=0

hρ(
Pi

j=0[nj ]D),ρ([ni+1]D) =

ℓ−1∏

i=0

hρ(
Pℓ

j=i+1[nj ]D),ρ([ni]D). ✭✹✳✽✮

Pr❡✉✈❡ ✿ ❚♦✉t❡s ❧❡s ❢♦r♠✉❧❡s s❡ ♣r♦✉✈❡♥t ♣❛r ré❝✉rr❡♥❝❡ s✉✐✈❛♥t ❧✬❡♥t✐❡r ℓ✳ P♦✉r ❧❛ ❢♦r♠✉❧❡
❞❡ ❧❛ ♣✉✐ss❛♥❝❡ ✭✹✳✻✮✱ ♦♥ ✈ér✐✜❡ q✉✬❡❧❧❡ ❡st ✈r❛✐❡ ♣♦✉r ℓ = 1✳ ❙✉♣♣♦s♦♥s q✉✬❡❧❧❡ s♦✐t ✈r❛✐❡
❥✉sq✉✬à ℓ✱ ét❛❜❧✐ss♦♥s ❛❧♦rs q✉✬❡❧❧❡ ❡st ✈r❛✐❡ ❥✉sq✉✬à ℓ+ 1✳ ❖♥ ❛ ✿

fnℓ+1,D = fnℓ.n,D

= fn
nℓ,D.fn,ρ([nℓ]D)

=

(
ℓ−1∏

i=0

fnℓ−1−i

n,ρ([ni]D)

)n

.fn,ρ([nℓ]D)

=

(
ℓ−1∏

i=0

fnℓ−i

n,ρ([ni]D)

)

.fn,ρ([nℓ]D)

=
ℓ∏

i=0

fnℓ−i

n,ρ([ni]D).

P♦✉r ❧❛ r❡❧❛t✐♦♥ ✭✹✳✼✮✱ ♦♥ ✈♦✐t q✉✬❡❧❧❡ ❡st ✈❛❧❛❜❧❡ ♣♦✉r ℓ = 1, 2✱ ❡♥ ❡✛❡t✱ ♣♦✉r ℓ = 1✱
♦♥ ❛ ❧❛ ❢♦r♠✉❧❡ s✉✐✈❛♥t❡ ✿

fn.+n1,D =
1∏

i=0

fni,D

0∏

i=0

hρ([n0]D),ρ([n1]D).

❙✉♣♣♦s♦♥s q✉❡ ❧❛ ❢♦r♠✉❧❡ ✭✹✳✼✮ s♦✐t ✈r❛✐❡ ❥✉sq✉✬à ℓ✳ P♦✉r ℓ+ 1✱ ♦♥ ❛ ✿

fPℓ+1
i=0 ni,D

= fPℓ
i=0 ni+nℓ+1,D

= fPℓ
i=0 ni,D

.fnℓ+1,D.hρ(
Pℓ

i=0[ni]D),ρ([nℓ+1]D)

=

(
ℓ∏

i=0

fni,D

ℓ−1∏

i=0

hρ(
Pi

j=0 njD),ρ([ni+1]D)

)

.fnℓ+1,D.hρ(
Pl

i=0[ni]D),ρ([nℓ+1]D)

=
ℓ+1∏

i=0

fni,D.

(
ℓ−1∏

i=0

hρ(
Pi

j=0[nj ]D),ρ([ni+1]D)

)

.hρ(
Pℓ

i=0[ni]D),ρ([nℓ+1]D)

=
ℓ+1∏

i=0

fni,D

ℓ∏

i=0

hρ(
Pi

j=0[nj ]D),ρ([ni+1]D).

P♦✉r ❧❛ ❞❡r♥✐èr❡ ❢♦r♠✉❧❡ ✭✹✳✽✮✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r ♣❛r ré❝✉rr❡♥❝❡ q✉❡

fPℓ
i=0 ni,D

=

ℓ∏

i=0

fni,D

ℓ−1∏

i=0

hρ(
Pℓ

j=i+1[nj ]D),ρ([ni]D), ✭✹✳✾✮

✸✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✹✳✷✳ ▲✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r

❡t ❞❡ ❝♦♥❝❧✉r❡ ❛✈❡❝ ❧❛ ❢♦r♠✉❧❡ ✭✹✳✼✮✳ ❊♥ ❢❛✐t✱ ♦♥ ✈ér✐✜❡ q✉❡ ❧❛ r❡❧❛t✐♦♥ ✭✹✳✾✮ ❡st ✈r❛✐ ♣♦✉r
ℓ = 0, 1 ❡t 2✳ ❙✉♣♣♦s♦♥s q✉❡ ❧❛ r❡❧❛t✐♦♥ ✭✹✳✾✮ s♦✐t ✈r❛✐❡ ❥✉sq✉✬à ℓ ❡t ♠♦♥tr♦♥s q✉✬❡❧❧❡ ❡st
✈r❛✐❡ ♣♦✉r ℓ+ 1✳ ❖♥ ❛ ✿

fPℓ+1
i=0 ni,D

= fn0+
Pℓ+1

i=1 ni,D

= fn0,D.fPℓ+1
i=1 ni,D

.hρ(
Pℓ+1

i=1 [ni]D),ρ([n0]D)

= fn0,D.hρ(
Pℓ+1

i=1 [ni]D),ρ([n0]D).

(
ℓ+1∏

i=1

fni,D

ℓ∏

i=1

hρ(
Pℓ+1

j=i+1 njD),ρ([ni]D)

)

=

ℓ+1∏

i=0

fni,D.

(
ℓ−1∏

i=0

hρ(
Pℓ+1

j=i+1[nj ]D),ρ([ni]D)

)

.hρ(
Pℓ+1

i=1 [ni]D),ρ([n0]D)

=
ℓ+1∏

i=0

fni,D

ℓ∏

i=0

hρ(
Pℓ+1

j=i+1[nj ]D),ρ([ni]D).

❊♥ é❝r✐✈❛♥t ❧✬é❣❛❧✐té ❡♥tr❡ ❧❡s ❢♦r♠✉❧❡s ✭✹✳✼✮ ❡t ✭✹✳✾✮✱ ♦♥ ♣r♦✉✈❡ ❧❛ r❡❧❛t✐♦♥ ✭✹✳✽✮✳ ❖♥ ♣❡✉t
❛✉ss✐ ♣r♦✉✈❡r ✭✹✳✽✮ ❞✐r❡❝t❡♠❡♥t ❡♥ ✉t✐❧✐s❛♥t ❧❡s ❞✐✈✐s❡✉rs ❞❡s ❢♦♥❝t✐♦♥s✳ 2

❘❡♠❛rq✉❡ ✹✳✾ ❉❛♥s ❬❱❡r✵✽❪ ❱❡r❝❛✉t❡r❡♥ ✉t✐❧✐s❡ ❧❛ ❢♦r♠✉❧❡ ✭✹✳✾✮ ♣♦✉r s♦♥ ❝♦✉♣❧❛❣❡ ♦♣✲
t✐♠❛❧ ❞❛♥s ❧❡ ❝❛s ❡❧❧✐♣t✐q✉❡✳

✹✳✷✳✸ ❊✈❛❧✉❛t✐♦♥ ❞✬✉♥❡ ❢♦♥❝t✐♦♥ ❡♥ ✉♥ ❞✐✈✐s❡✉r

❉❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ s❡❝t✐♦♥ ♣ré❝é❞❡♥t❡✱ ♥♦✉s ❞é❞✉✐s♦♥s ✐♠♠é❞✐❛t❡♠❡♥t ✉♥ ❛❧❣♦r✐t❤♠❡
♣❡r♠❡tt❛♥t ❞❡ ❝❛❧❝✉❧❡r ❧❡s ❢♦♥❝t✐♦♥s q✉✐ ❛♣♣❛r❛✐ss❡♥t ❞❛♥s ❧❛ ❞é✜♥✐t✐♦♥ ❞❡s ❝♦✉♣❧❛❣❡s✳ ❊♥
❢❛✐t✱ ♣♦✉r ❝❛❧❝✉❧❡r ❧❡s ❝♦✉♣❧❛❣❡s✱ ✐❧ ❢❛✉t s❛✈♦✐r é✈❛❧✉❡r ❡✣❝❛❝❡♠❡♥t ❧❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ ❡♥
✉♥ ❞✐✈✐s❡✉r ❝❡ q✉✐ ❡st ❧✬♦❜❥❡t ❞❡ ❝❡tt❡ s❡❝t✐♦♥✳

❈❛s ❞✉ ❣❡♥r❡ q✉❡❧❝♦♥q✉❡ ✿

❉é✜♥✐t✐♦♥ ✹✳✶✵ ❙♦✐❡♥t f ∈ k(C) ✉♥❡ ❢♦♥❝t✐♦♥ ❡t D =
∑

P∈C nP (P ) ∈ DivC ✉♥ ❞✐✈✐s❡✉r
t❡❧s q✉❡ s✉♣♣(D) ∩ s✉♣♣(❞✐✈(f)) = ∅✳ ❖♥ ❛ ♣❛r ❞é✜♥✐t✐♦♥ ✿

f(D) :=
∏

P∈C

f(P )nP . ✭✹✳✶✵✮

❘❡♠❛rq✉♦♥s q✉❡ s✐ ❧❡ ❞✐✈✐s❡✉r D ❡st ❞❡ ❞❡❣ré ③ér♦✱ ❛❧♦rs f(D) ❞é♣❡♥❞ s❡✉❧❡♠❡♥t ❞❡
❞✐✈(f) ❡t ♥♦♥ ❞❡ f ✳ ❊♥ ❡✛❡t✱ s✐ f1 = λf2 ❛✈❡❝ λ ✉♥❡ ❝♦♥st❛♥t❡✱ ❛❧♦rs ♣♦✉r t♦✉t ❞✐✈✐s❡✉r
D =

∑

i ni(Pi) ❞❡ ❞❡❣ré ③ér♦✱ ♦♥ ❛ ✿

f1(D) :=
∏

i

fni
1 (Pi) =

∏

i

(λf2)
ni(Pi) =

∏

i

λnifni
2 (Pi) =

∏

i

fni
2 (Pi) = f2(D).

▲❛ ❢♦r♠✉❧❡ ✭✹✳✶✵✮ ❞❡ ❝❛❧❝✉❧ ❞❡ ❧✬é✈❛❧✉❛t✐♦♥ ❞❡ ❧❛ ❢♦♥❝t✐♦♥ f ❛✉ ❞✐✈✐s❡✉r D ♥❡ ❞♦♥♥❡ ♣❛s
✉♥ ❛❧❣♦r✐t❤♠❡ ♦♣t✐♠❛❧✳ P♦✉r ❧✬♦♣t✐♠✐s❡r✱ ♦♥ ♣❡✉t ✉t✐❧✐s❡r ❧❡ ❧❡♠♠❡ s✉✐✈❛♥t ✿

▲❡♠♠❡ ✹✳✶✶ ❙♦✐t f(x, y) ∈ k [x, y] ✉♥ ♣♦❧②♥ô♠❡✱ ❛❧♦rs ♣♦✉r D = (u, v) ∈ Div0
C ✱ ♦♥ ❛ ✿

f(D) = ❘és✉❧t❛♥t
(

u(x), f(x, v(x))
)

= ❘és✉❧t❛♥t
(

u(x), f(x, v(x)) mod u(x)
)

.

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✸✺✴✾✶



❈❤❛♣✐tr❡ ✹✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉♣❧❛❣❡s

Pr❡✉✈❡ ✿ ❈❡ rés✉❧t❛t ❡st ✐♠♠é❞✐❛t ❛✈❡❝ ❬❈♦s✵✾✱ t❤é♦rè♠❡ ✺❪✳ 2

❆❧♦rs ♣♦✉r ❝❛❧❝✉❧❡r ❧✬é✈❛❧✉❛t✐♦♥ ❞❡ f = f1/f2 ∈ K(C) ❡♥ D = (u, v) ∈ Div0
C ✱ ♦♥ ♣❡✉t

✉t✐❧✐s❡r ❧❛ ❢♦r♠✉❧❡ ✿

f(D) =
❘és✉❧t❛♥t(u(x), f1(x))

❘és✉❧t❛♥t(u(x), f2(x))
,

❛✈❡❝ ♣♦✉r i = 1, 2 f i(x) = fi(x, v(x)) mod u(x)✳ P♦✉r ♥♦r♠❛❧✐s❡r✱ ♦♥ ❞✐✈✐s❡ ♣❛r λ❞❡❣(u)✱
♦ù λ ❡st ❧❡ ❝♦❡✣❝✐❡♥t ❞♦♠✐♥❛♥t ❞❡ f ✳

❈❛s ❞✉ ❣❡♥r❡ g ≤ 2

❉❛♥s ❧❡ ❝❛s ❞✉ ❣❡♥r❡ 1✱ ❧❡s ♣♦❧②♥ô♠❡s fi(x, v(x)) ✐♥t❡r✈❡♥❛♥t ❞❛♥s ❧❡s ❢♦♥❝t✐♦♥s ❞❡
▼✐❧❧❡r s♦♥t ❞❡ ❞❡❣ré 1✱ ❞❡ ♠ê♠❡ q✉❡ ❧❡ ♣♦❧②♥ô♠❡ u ❡t ❧✬é✈❛❧✉❛t✐♦♥ ♥❡ ♣♦s❡ ❛✉❝✉♥ ♣r♦❜❧è♠❡
♣❛rt✐❝✉❧✐❡r✳ ▲❡ ❣❡♥r❡ 2 ❡st ♣❧✉s ✐♥tér❡ss❛♥t✳ ❉❛♥s ❝❡ ❝❛s✱ ❧❡s ♣♦❧②♥ô♠❡s fi(x, v(x)) ❞é❞✉✐ts
❞❡s ❢♦♥❝t✐♦♥s ❞❡ ▼✐❧❧❡r s♦♥t ❞❡ ❞❡❣ré ✸ ❡t ❧❡ ♣♦❧②♥ô♠❡ ✉♥✐t❛✐r❡ u ❡st ❞❡ ❞❡❣ré ✷✳ ❆❧♦rs✱
✐❧ ♥♦✉s s✉✣t ❞❡ ❞♦♥♥❡r ❧❡ rés✉❧t❛♥t ❞❡ u = x2 + µ1x + µ0 ∈ K [x] ❡t ❞✬✉♥ ♣♦❧②♥ô♠❡
H = α3x

3 + α2x
2 + α1x+ α0 ∈ K [x]✳ ▲❡ ❝❛❧❝✉❧ ❞❡ H mod u ❡st ❞♦♥♥é ♣❛r ✿

α3x
3 + α2x

2 + α1x+ α0 ≡ β1x+ β0

[
mod x2 + µ1x+ µ0

]
,

❛✈❡❝ β1 = α1 + µ1α3 + ❝µ0 − (µ1 + µ0)(α3 + ❝), β0 = α0 − ❝µ0✱ ❡t ❝ := α2 − µ1α3✳ P❛r
s✉✐t❡✱ ♦♥ ❝❛❧❝✉❧❡ ❧❡ rés✉❧t❛♥t ❞❡ u ❡t H ❛✈❡❝ ❧❛ ❢♦r♠✉❧❡ ✿

❘és✉❧t❛♥t(u,H) = β0(β0 − µ1β1) + µ0β
2
1 .

❆✉ t♦t❛❧✱ ❝❡ ❝❛❧❝✉❧ ♥é❝❡ss✐t❡ ✻ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✶ ❝❛rré ❞❛♥s K✳

✹✳✷✳✹ ❊✈❛❧✉❛t✐♦♥ ❡①♣❧✐❝✐t❡ ❞❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ❲❡✐❧✲▼✐❧❧❡r

❙♦✐t C/k ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ✷ ❡t s♦✐❡♥t K ❡t L ❞❡✉① ❡①t❡♥s✐♦♥s
✜♥✐❡s ❞❡ k ✭♣♦✉r ❝❛❧❝✉❧❡r ❧❡ ❝♦✉♣❧❛❣❡ ❧✬✉♥ ❞❡s ❝♦r♣s K ❡t L ❡st é❣❛❧ à k✮✳ ◆♦t♦♥s ♣❛r
MK , SK , IK r❡s♣❡❝t✐✈❡♠❡♥t ❧❡ ❝♦ût ❞❡ ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥✱ ❞✉ ❝❛rré ❡t ❞❡ ❧✬✐♥✈❡rs✐♦♥ ❞❛♥s
K ❡t ♣❛r ML, SL, IL ❧❡s ❝♦ûts ❝♦rr❡s♣♦♥❞❛♥ts ♣♦✉r ❧❡ ❝♦r♣s L✳ ❙♦✐❡♥t D1 = (u1, v1) ❡t
D2 = (u2, v2) ❞❡✉① ❞✐✈✐s❡✉rs r❛t✐♦♥♥❡❧s s✉r K ❡t D = (uD, vD) ✉♥ ❞✐✈✐s❡✉r r❛t✐♦♥♥❡❧ s✉r L
t❡❧s q✉❡ deg(u1) = deg(u2) = deg(uD) = 2 ❡t s♦✐t u1 = u2 ♦✉ ❜✐❡♥ s♦✐t gcd(u1, u2) = 1✳

▲✬❛❧❣♦r✐t❤♠❡ s✉✐✈❛♥t ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ❧❡ ❞✐✈✐s❡✉r ré❞✉✐t D′ = D1 +D2 ❡t ❧✬é✈❛❧✉❛t✐♦♥
❞❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ❲❡✐❧✲▼✐❧❧❡r hD1,D2 ❡♥ D✳

✶✳ ❈❛❧❝✉❧❡r t1 := (f − v1h− v
2
1
)/u1 := x

3 + t12x
2 + t11x + t10 [3MK + 1SK]

t12 ← f4 − u11; w1 ← u11t21 + h2v11; t11 ← f3 − u10 − w1;

t10 ← u11(u10 − t11)− f4u10 − v11(h1 + v11)− h2v10 + f2;

✷✳ ❈❛❧❝✉❧❡r t2 := t1 mod u2 := t21x + t20 [2MK]

t21 ← u21(u21 − t12) + t11 − u20; t20 ← u20(u21 − t12) + t10;

s✐ D1 = D2 ❛❧♦rs

F11 ← t21;F10 ← t20;F21 ← (h1 − h2u21 + 2v21);F20 ← (h0 − h2u20 + 2v20);

s✐♥♦♥ F11 ← v21 − v11;F10 ← v20 − v10;F21 ← u11 − u21;F20 ← u10 − u20;

✸✳ ❈❛❧❝✉❧❡r s2 := ▼♦♥✐❝(F1/F2 mod u2) := x + s20 [12MK + 4SK + 1IK]

w1 ← F20 − u21F21; r ← F20w1 + u20F
2
21;

✸✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✹✳✸✳ ❆♣♣❧✐❝❛t✐♦♥ ❛✉ ❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡s

s10 ← F10w1 + u20F11F21; s11 ← F11F20 − F21F10;

w1 ← 1/(rs11); w2 ← r2w1; w3 ← w1s
2
11; w4 ← w2

2; s20 ← s10w2

✹✳ ❈❛❧❝✉❧❡r ℓ := s2u1 := x
3 + ℓ2x

2 + ℓ1x + ℓ0 [2MK]

ℓ2 ← u11 + s20; ℓ1 ← u10 + u11s20; ℓ0 ← u10s20;

✺✳ ❈❛❧❝✉❧❡r u
′ := (t1 − s1(h + v + v1))/u2 := x

2 + u
′
1x + u

′
0; [3MK]

z1 ← u11 − u21; u
′
1 ← 2s20 + z1 + h2w2 − w4;

u′0 ← (s20 − u21)(s20 + z1 + h2w2)− u20 + ℓ1;

u′0 ← u′0 + (h1 + 2v11)w2 + (2u11 − z1 − f4)w4;

✻✳ ❈❛❧❝✉❧❡r H1 := ❘❡s✉❧t❛♥t(uD, (vD − v) mod uD) [3MK + 6ML + 1SL]

z0 ← vD0 − w3ℓ0 − v10; z1 ← vD1 − w3ℓ1 − v11; z2 ← −w3ℓ2; z4 ← z2 + w3uD1;

α0 ← z0 − z4uD0; α1 ← z1 − w3uD1 + z4uD0 − (uD1 + uD0)(z4 − w3)

H1 ← α0(α0 − α1uD1) + α2
1uD0

✼✳ ❈❛❧❝✉❧❡r H2 ← ❘❡s✉❧t❛♥t(uD,u
′ mod uD) [3ML + 1SL]

β0 ← u′0 − uD0; β1 ← u′1 − uD1; β2 ← β0 − β1uD1; H2 ← β0β2 + β2
1uD0;

✽✳ ❈❛❧❝✉❧❡r v
′ := −(h + v) mod u

′ := v
′
1x + v

′
0 [4MK]

w1 ← ℓ2 − u′1; w2 ← u′1w1 + u′0 − ℓ1; v′1 ← w2w3 − v11 − h1 + h2u
′
1;

w2 ← u′0w1 − ℓ0; v′0 ← w2w3 − v10 − h0 + h2u
′
0;

✾✳ r❡t♦✉r♥❡r D
′ = [u′,v′] ❡t (H1,H2,w3)

[Total : 29MK + 5SK + 1IK + 9ML + 2SL]

✹✳✸ ❆♣♣❧✐❝❛t✐♦♥ ❛✉ ❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡s

◆♦✉s r❡♣r❡♥♦♥s t♦✉s ❧❡s rés✉❧t❛ts ❞❡s ♣ré❝é❞❡♥t❡s s❡❝t✐♦♥s ♣♦✉r ❞♦♥♥❡r ❧✬❛❧❣♦r✐t❤♠❡ ❞❡
▼✐❧❧❡r ❞❛♥s ❧❡ ❝❛s ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✳ ❈♦♥s✐❞ér♦♥s ❧❡ ❝♦✉♣❧❛❣❡ s✉r ✉♥❡ ❝♦✉r❜❡
❤②♣❡r❡❧❧✐♣t✐q✉❡ c : G1 × G2 → GT ❛✈❡❝ G1 ❡t G2 ❞❡s ❣r♦✉♣❡s ❝②❝❧✐q✉❡s ❞❡ ♠ê♠❡ ♦r❞r❡ r✳
❙♦✐t D1 ✉♥ ❣é♥ér❛t❡✉r ❞❡ G1 ❡t D2 ✉♥ é❧é♠❡♥t ❞❡ G2✱ ❛❧♦rs ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ❡st t♦✉t
s✐♠♣❧❡♠❡♥t ✉♥ ❛❧❣♦r✐t❤♠❡ ❞❡ ✑sq✉❛r❡✲❛♥❞✲♠✉❧t✐♣❧✐❡❞✑ ✭♦✉ ❞❡ ✑❞♦✉❜❧❡ ❛♥❞ ❛❞❞✑✮ ❞❡ ❧❛ ❧♦✐ ❞❡
❣r♦✉♣❡ s✉✐✈❛♥t❡ ✿

(

G1 × k(C)
)

×
(

G1 × k(C)
)

→
(

G1 × k(C)
)

(

([m]D1, fm,D1), ([n]D1, fn,D1)
)

7→
(

[m+ n]D1, fm+n,D1

)

,

♦ù fn,D1 ❞és✐❣♥❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ❲❡✐❧✳ ▲❡ ❝♦✉♣❧❛❣❡ ❝♦rr❡s♣♦♥❞ à ❝❛❧❝✉❧❡r fr,D1(D2)✳ ▲✬❛❧❣♦✲
r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ♣♦✉r ❧❡ ❝❛s ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❡st ❛❧♦rs ✿

❊♥tré❡ ✿ ❉❡✉① ❞✐✈✐s❡✉rs D1 = (u1, v1) ❡t D2 = (u2, v2) ❡t ✉♥ ❡♥t✐❡r n

❙♦rt✐❡ ✿ fn,D1(D2)

✶✳ D ← D1, f ← 1, f1 ← 1, f2 ← 1 ❡t f3 ← 1

✷✳ n =
∑ℓ

i=0 ni2
i = (nℓ, ..., n0)2 ❡♥ ❜❛s❡ 2✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✸✼✴✾✶



❈❤❛♣✐tr❡ ✹✳ ●é♥ér❛❧✐tés s✉r ❧❡s ❝♦✉♣❧❛❣❡s

✸✳ ♣♦✉r i = ℓ− 1 à 0 ❢❛✐r❡

✹✳ f1 ← f2
1 mod u2, f2 ← f2

2 mod u2 ❡t f3 ← f2
3

✺✳ D, (h1, h2, h3)← [2]D

✻✳ f1 ← f1h1 mod u2, f2 ← f2h2 mod u2 ❡t f3 ← f3h3

✼✳ s✐ ni = 1 ❛❧♦rs

✽✳ D, (h1, h2, h3)← D +D1

✾✳ f1 ← f1h1 mod u2, f2 ← f2h2 mod u2 ❡t f3 ← f3h3

✶✵✳ ✜♥ s✐

✶✶✳ ✜♥ ♣♦✉r

✶✷✳ r❡t♦✉r♥❡r f =
❘és✉❧t❛♥t(u2, f1)

f
❞❡❣(u2)
3 ❘és✉❧t❛♥t(u2, f2)

.

✸✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❈❤❛♣✐tr❡ ✺

◗✉❡❧q✉❡s ❛♠é❧✐♦r❛t✐♦♥s

❛❧❣♦r✐t❤♠✐q✉❡s

▲✬✐♠♣❧é♠❡♥t❛t✐♦♥ ❡✣❝❛❝❡ ❞❡s ❝♦✉♣❧❛❣❡s ❡♥ ❣❡♥r❡ ✶ ❡t ✷ ❛ s✉s❝✐té ✉♥ ❣r❛♥❞ ✐♥têr❡t ❛✉
s❡✐♥ ❞❡ ❧❛ ❝♦♠♠✉♥❛✉té s❝✐❡♥t✐✜q✉❡✳ ❊♥ té♠♦✐❣♥❡✱ ❧❡ ♥♦♠❜r❡ ❛❜♦♥❞❛♥t ❞❡ ♣✉❜❧✐❝❛t✐♦♥s ❞♦♥t
♦♥ ♣❡✉t ❝✐t❡r ❧❡s tr❛✈❛✉① ❞❡ ❬❇❑▲❙✵✷✱ ❱❡r✵✽✱ ▼✐❧✵✹✱ ❍❙❱✵✻✱ ❍❡s✵✽✱ ●❍❖+✵✼❪✳ ■❧s r❡♣♦s❡♥t
♣r✐♥❝✐♣❛❧❡♠❡♥t s✉r ❞❡✉① ✐❞é❡s ✿

✕ ✉t✐❧✐s❡r ✉♥❡ r❡♣rés❡♥t❛t✐♦♥ ♣❡r♠❡tt❛♥t ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ♣❛rt✐❝✉❧✐èr❡♠❡♥t ❡✣❝❛❝❡ ❞❡
❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❬❈▼❖✾✽❪ ❀

✕ ré❞✉✐r❡ ❧❡ ♥♦♠❜r❡ ❞✬✐tér❛t✐♦♥s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ❬❍❙❱✵✻❪✳
◆♦✉s ❛✈♦♥s ❞é❥à ❞✐s❝✉té ❛✉ ♣ré❝é❞❡♥t ❝❤❛♣✐tr❡ ❞❡s ❞✐✛ér❡♥t❡s r❡♣rés❡♥t❛t✐♦♥s ♣♦ss✐❜❧❡s ❞❡s
é❧é♠❡♥ts ❞✬✉♥❡ ❥❛❝♦❜✐❡♥♥❡ ❞❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✳ ◆♦✉s r❡✈✐❡♥❞r♦♥s ❞✬❛✉tr❡ ♣❛rt s✉r
❧✬❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ ❞❡s ❥❛❝♦❜✐❡♥♥❡s ❞❛♥s ❧❛ tr♦✐s✐è♠❡ ♣❛rt✐❡ ❞❡ ❝❡ ♠é♠♦✐r❡✳

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ❛❧❧♦♥s ❛✈❛♥t t♦✉t ♥♦✉s ❝♦♥❝❡♥tr❡r s✉r ❧❡s t❡❝❤♥✐q✉❡s ♣❡r♠❡tt❛♥t
❞❡ ré❞✉✐r❡ ❧❡ ♥♦♠❜r❡ ❞✬✐tér❛t✐♦♥s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r✳ ▲❡s ❝♦✉♣❧❛❣❡s ❞❡ ❆t❡ ■ ❡t ■■
✭✈♦✐r ❬❏❊✵✽✱ ❝❤❛♣✳ ✷❪ ♣♦✉r ❧❡ ❝❛s ❡❧❧✐♣t✐q✉❡✮ s♦♥t ❞❡s ✈❡rs✐♦♥s ♠♦❞✐✜é❡s ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡
♣❡r♠❡tt❛♥t ❞❡ ré❞✉✐r❡ ❧❡ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ✳ P♦✉r ❧❡ ❝♦✉♣❧❛❣❡ ❞❡
❆t❡ ■✱ ❧❛ ré❞✉❝t✐♦♥ s✬♦❜t✐❡♥t ❣râ❝❡ à ❧✬✉t✐❧✐s❛t✐♦♥ ❞❡ ❧✬❡♥❞♦♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✳ P♦✉r ❆t❡
■■✱ ♦♥ ✉t✐❧✐s❡ ❧❛ ♠✐♥✐♠✐s❛t✐♦♥ ❞❡s ❝♦❡✣❝✐❡♥ts ❞❡ ❧❛ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ❜❛s❡ q ❞✉ ♥♦♠❜r❡ ❞❡
❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ❞❛♥s ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡ ■✳ ▲❡ ❝♦✉♣❧❛❣❡ ❆t❡ ■■ ❡st ❝♦♥❥❡❝t✉ré
♦♣t✐♠❛❧ ❡♥ t❡r♠❡ ❞❡ ❝♦♠♣❧❡①✐té ❞❛♥s ❧❡ ❝❛s ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❬❱❡r✵✽❪✳

❈♦♥✈❡♥t✐♦♥s ❡t ♥♦t❛t✐♦♥s✳ ◆♦✉s ❛✉r♦♥s ❜❡s♦✐♥ ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✺✳✶ ✭❉❡❣ré ❞❡ ♣❧♦♥❣❡♠❡♥t✮ ❙♦✐t k ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p ❡t ❞❡
❝❛r❞✐♥❛❧ q ❡t s♦✐t r ✉♥ ❡♥t✐❡r ♣r❡♠✐❡r ❛✈❡❝ q✳ ❖♥ ❞✐t q✉✬✉♥ ❡♥t✐❡r d ❡st ❧❡ ❞❡❣ré ❞❡ ♣❧♦♥❣❡♠❡♥t
❞❡ C r❡❧❛t✐✈❡♠❡♥t à r s✐ ❧❡s ❞❡✉① ❝♦♥❞✐t✐♦♥s s✉✐✈❛♥t❡s s♦♥t ré❛❧✐sé❡s ✿

✐✮ JC ♣♦ssè❞❡ ✉♥ ♣♦✐♥t k✲r❛t✐♦♥♥❡❧ ❞✬♦r❞r❡ r✱

✐✐✮ ❧✬❡♥t✐❡r d ❡st ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r t❡❧ q✉❡ µr ⊂ K ❛✈❡❝ K/k ❧✬❡①t❡♥s✐♦♥ ❞❡ ❞❡❣ré d
✭♥♦✉s r❛♣♣❡❧♦♥s q✉❡ ♥♦✉s ❛✈♦♥s s✉♣♣♦sé q✉❡ k ❡st ✜♥✐✮✱

♦ù µr ❞és✐❣♥❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s r❛❝✐♥❡s r✐è♠❡s ❞❡ ❧✬✉♥✐té✳

▲❛ ❞❡✉①✐è♠❡ ❝♦♥❞✐t✐♦♥ ♥✬✐♠♣❧✐q✉❡ ♣❛s q✉❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦✐♥ts ❞❡ r✲t♦rs✐♦♥s s♦✐t r❛✲
t✐♦♥♥❡❧ s✉r K ✭✐✳❡✳ ♦♥ ♥✬❛ ♣❛s ❢♦r❝é♠❡♥t JC [r] ⊆ JC(K)✮ s❛✉❢ ♣♦✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳
❈❡❝✐ ♥❡ s❡r❛ ♣❛s ✉♥ ♣r♦❜❧è♠❡ ✈✉ q✉❡ ❧✬✐♥t❡rs❡❝t✐♦♥ ❞❡s ❣r♦✉♣❡s G1 ❡t G2 q✉❡ ❧✬♦♥ ✈❛
❝♦♥str✉✐r❡ s❡ ré❞✉✐t à ❧✬é❧é♠❡♥t ♥❡✉tr❡ ❞❡ ❧❛ ❥❛❝♦❜✐❡♥♥❡✳

✸✾



❈❤❛♣✐tr❡ ✺✳ ◗✉❡❧q✉❡s ❛♠é❧✐♦r❛t✐♦♥s ❛❧❣♦r✐t❤♠✐q✉❡s

◆♦t❛t✐♦♥s✳ ❉❛♥s t♦✉t❡ ❧❛ s✉✐t❡ ❞✉ ❝❤❛♣✐tr❡✱

✕ r ❞és✐❣♥❡ ❡st ✉♥ ❡♥t✐❡r ♣r❡♠✐❡r ❛✈❡❝ q✱

✕ d ❞és✐❣♥❡ ❧❡ ❞❡❣ré ❞❡ ♣❧♦♥❣❡♠❡♥t r❡❧❛t✐✈❡♠❡♥t à r✱

✕ K ❞és✐❣♥❡ ❧❛ ♣❧✉s ♣❡t✐t❡ ❡①t❡♥s✐♦♥ ❞❡ k ❝♦♥t❡♥❛♥t µr✳

✺✳✶ ❈♦✉♣❧❛❣❡s ❞❡ ❚❛t❡ ❡t ❊t❛

▲❡ ❝♦✉♣❧❛❣❡ ❊t❛ ❡st ✉♥ ❞ér✐✈é ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ q✉❡ ❧✬♦♥ ✉t✐❧✐s❡ ❞❛♥s ❧❡s ❛♣♣❧✐❝❛t✐♦♥s
❡♥ ❝r②♣t♦❣r❛♣❤✐❡✳ ◆♦t♦♥s ❡♥ ❡✛❡t q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ Tr ❡st à ✈❛❧❡✉rs ❞❛♥s ❧✬❡s♣❛❝❡
q✉♦t✐❡♥t K∗/K∗r✳ ▲❡ ❢❛✐t q✉❡ ❧✬❡♥s❡♠❜❧❡ ❞✬❛rr✐✈é❡ s♦✐t ✉♥ q✉♦t✐❡♥t ♥✬❡st ♣❛s ♣r❛t✐q✉❡ ♣❛r
❡①❡♠♣❧❡ s✐ ❧✬♦♥ s♦✉❤❛✐t❡ t❡st❡r ❧✬é❣❛❧✐té ❡♥tr❡ ❞❡✉① ✈❛❧❡✉rs✳ P♦✉r ❛✈♦✐r ✉♥❡ r❡♣rés❡♥t❛t✐♦♥
✉♥✐q✉❡ ❞❛♥s K∗✱ ♦♥ ♣❡✉t é❧❡✈❡r ❧❡ rés✉❧t❛t ❞❡ Tr à ❧❛ ♣✉✐ss❛♥❝❡ (qd−1)/r✳ ❖♥ ♦❜t✐❡♥t ❛✐♥s✐
❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ré❞✉✐t ❬❇●❤❙✵✼❪✱ ❛✉ss✐ ❛♣♣❡❧é ❝♦✉♣❧❛❣❡ ❊t❛✳ ❖♥ ❛ ❧❛ ❢♦r♠✉❧❡ ✿

ηr(D1, D2) := Tr(D1, D2)
qd−1

r = fr,D1(D2)
qd−1

r .

❘❡♠❛rq✉❡ ✺✳✷ ❙✐ ♦♥ é❝r✐t Di =
∑mi

j=1 Pj −miP∞ ❛✈❡❝ mi ≤ g ♣♦✉r i = 1, 2✱ ❛❧♦rs

Tr(D1, D2) = fr,D1(D2) =

∏m2
j=1 fr,D1(Pj)

fr,D1(P∞)m2
.

❉♦♥❝ ✐❧ s❡r❛ ❞♦♥❝ ❥✉❞✐❝✐❡✉① ❞❡ ♥♦r♠❛❧✐s❡r ❧❡s ❢♦♥❝t✐♦♥s fr,D1 ❡♥ ♣♦s❛♥t fr,D1(P∞) = 1

▲❛ ♣r♦♣r✐été ❢♦♥❞❛♠❡♥t❛❧❡ ❞✉ ❝♦✉♣❧❛❣❡ ❊t❛✳ P♦✉r t♦✉t ♠✉❧t✐♣❧❡ N ❞❡ r q✉✐ ❞✐✈✐s❡

qd − 1✱ ❡t ♣♦✉r t♦✉t D1 ∈ JC(k) [r] ❡t D2 ∈
JC(K)

rJC(K)
✱ ♦♥ ❛ ✿

ηr(D1, D2) = ηN (D1, D2) = fD1(D2)
qd−1

N .

✺✳✷ ❈♦✉♣❧❛❣❡s ❆t❡ ■ ❡t ■■

■❧ s✬❛❣✐t ❞❡ ❞❡✉① ❛♠é❧✐♦r❛t✐♦♥s ❛❧❣♦r✐t❤♠✐q✉❡s ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ q✉✐ ♣❡r♠❡tt❡♥t
❞❡ ré❞✉✐r❡ ❧❡ ♥♦♠❜r❡ ❞✬✐tér❛t✐♦♥s ❞❛♥s ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r✳ ▲✬✐❞é❡✱ ❛ss❡③ ❝❧❛ss✐q✉❡ ❞❛♥s
❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s✱ ❡st ❞✬✉t✐❧✐s❡r ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ ❡♥❞♦♠♦r♣❤✐s♠❡ ♥♦♥ tr✐✈✐❛❧ à s❛✈♦✐r
❧❡ ❋r♦❜❡♥✐✉s ♣♦✉r ❛❝❝é❧ér❡r ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❡①♣♦♥❡♥t✐❛t✐♦♥✳ ❉❛♥s ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡✱ ❧❡s
❞❡✉① ❣r♦✉♣❡s G1 ❡t G2 ♥❡ ❥♦✉❡♥t ♣❛s ❧❡ ♠ê♠❡ rô❧❡ ❞✬✉♥ ♣♦✐♥t ❞❡ ✈✉❡ ❛❧❣♦r✐t❤♠✐q✉❡✳ ❊♥
❡✛❡t✱ ❧❡ ❣r♦✉♣❡ G1 ❡st ❞é✜♥✐ ❞❛♥s ❧❡ ♣❡t✐t ❝♦r♣s k t❛♥❞✐s q✉❡ ❧❡ ❣r♦✉♣❡ G2 ❡st ❞é✜♥✐ ❞❛♥s
❧✬❡①t❡♥s✐♦♥ K ❡t ♦♥ ❝❤♦✐s✐t ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ♠❛♥✐èr❡ ❛ ♠✐♥✐♠✐s❡r ❧❡ ♥♦♠❜r❡ ❞✬♦♣ér❛t✐♦♥s
❞❛♥s ❧❡ ❣r♦s ❝♦r♣s K ❝❛r ❡❧❧❡s s♦♥t ♣❧✉s ❝♦ût❡✉s❡s✳ P♦✉r ♣♦✉✈♦✐r ✉t✐❧✐s❡r ❧✬❛❝❝é❧ér❛t✐♦♥
❧✐é❡ à ❧❛ str✉❝t✉r❡ ❞✬❡①t❡♥s✐♦♥ ❞❡ K✱ ♥♦✉s ❛❧❧♦♥s ✈♦✐r q✉❡ ❧✬♦♥ ❞♦✐t ♣❡r♠✉t❡r ❧❡ rô❧❡ ❞❡
G1 ❡t ❞❡ G2✳ ❉❡ ❝❡ ❢❛✐t✱ ❞❛♥s ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡✱ ❧❛ ❞✐♠✐♥✉t✐♦♥ ❞✉ ♥♦♠❜r❡ ❞✬✐tér❛t✐♦♥s ❞❡
▼✐❧❧❡r ❡st ❝♦♥tr❡❝❛rré❡ ♣❛r ❧❡ ❢❛✐t q✉❡ ❧✬♦♥ ❢❛✐t ♣❧✉s ❞✬♦♣ér❛t✐♦♥s s✉r ❧❡ ❣r❛♥❞ ❝♦r♣s✳ ❆✐♥s✐✱ ❧❡s
❝♦✉♣❧❛❣❡s ❆t❡ ♣❡✉✈❡♥t êtr❡ ♣❧✉s ❧❡♥ts q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❊t❛✳ ◆♦t♦♥s ♣❛r CMiller ❧❛ ❝♦♠♣❧❡①✐té
❞✬✉♥❡ ❜♦✉❝❧❡ ❞❡ ▼✐❧❧❡r✱ ♣❛r ℓη ❡t ℓa ❧❡ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ♣♦✉r
r❡s♣❡❝t✐✈❡♠❡♥t ❧❡s ❝♦✉♣❧❛❣❡s ❊t❛ ❡t ❆t❡ ■✱ ❛❧♦rs ✉♥❡ ❝♦♥❞✐t✐♦♥ ♥é❝❡ss❛✐r❡ ❡t s✉✣s❛♥t❡ ♣♦✉r
q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡ ■ s♦✐t ♣❧✉s r❛♣✐❞❡ q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❊t❛ ❡st q✉❡ ✿

ℓa
ℓη
≤ CMiller(❊t❛)
CMiller(❆t❡)

.

✹✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✺✳✷✳ ❈♦✉♣❧❛❣❡s ❆t❡ ■ ❡t ■■

◆♦✉s ❛❧❧♦♥s ❡①♣❧✐❝✐t❡r ❝❡tt❡ ❢♦r♠✉❧❡ ❞❛♥s ❧❡ ❝❛s ❞❡ ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ 2 ✭✈♦✐r ❢♦r♠✉❧❡ ✭✺✳✶✮✮✳
❉❛♥s ❧❡s ❞❡✉① s❡❝t✐♦♥s s✉✐✈❛♥t❡s✱ ♥♦✉s ❛❜♦r❞♦♥s r❡s♣❡❝t✐✈❡♠❡♥t ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡ ■ ❡t ❧❡

❝♦✉♣❧❛❣❡ ❆t❡ ■■ ❡♥ ❣❡♥r❡ ✷✳ ◆♦✉s r❡♥✈♦②♦♥s ❧❡ ❧❡❝t❡✉r ✈❡rs ❬❍❙❱✵✻✱ ❱❡r✵✽✱ ▼❑❍❖✵✼❪ ♣♦✉r
❧❡ ❝❛s ❜✐❡♥ ❝♦♥♥✉ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳

✺✳✷✳✶ ❈♦✉♣❧❛❣❡ ❆t❡ ■

■♥tr♦❞✉✐t ♣❛r ❍❡ss✱ ❙♠❛rt ❡t ❱❡r❝❛✉t❡r❡♥ ❞❛♥s ❬❍❙❱✵✻❪ ❡♥ ✷✵✵✻ ♣♦✉r ❧❡ ❝❛s ❡❧❧✐♣t✐q✉❡✱
❝❡ ❝♦✉♣❧❛❣❡ r❡♣♦s❡ s✉r ❧❡ ❧❡♠♠❡ s✉✐✈❛♥t ✿

▲❡♠♠❡ ✺✳✸ ❙♦✐t λ ✉♥ ♠✉❧t✐♣❧❡ ❞❡ ❧✬❡♥t✐❡r r✱ ❧✬❛♣♣❧✐❝❛t✐♦♥ aλ s✉✐✈❛♥t❡ ❡st ❜✐❧✐♥é❛✐r❡

aλ : G2 ×G1 → µr ⊂ K∗

(D2, D1) 7→ aλ(D2, D1) := fλ,D2(D1)
qd−1

r ,

♦ù fλ,D2 ❡st ♥♦r♠❛❧✐sé❡✳ ❉❡ ♣❧✉s✱ ❡❧❧❡ ❡st ♥♦♥ ❞é❣é♥éré❡ s✐ JC(K) ♥❡ ❝♦♥t✐❡♥t ♣❛s ❞❡ ♣♦✐♥t
❞❡ r2✲t♦rs✐♦♥ ❡t s✐ gcd(r, λ/r) = 1✳

Pr❡✉✈❡ ✿ P♦s♦♥s λ = cr✱ ❛❧♦rs ❧❡ t❤é♦rè♠❡ ✹✳✺ ❞♦♥♥❡ ✿

fλ,D2 = fcr,D2 = f c
r,D2

.fs,[r]D2
= f c

r,D2
.

❈❡ q✉✐ ♣❡r♠❡t ❞✬é❝r✐r❡ ✿

aλ(D2, D1) = fλ,D2(D1)
qd−1

r = fr,D2(D1)
c qd−1

r = ηr(D2, D1)
c,

❝❡ q✉✐ ♣r♦✉✈❡ ❧❛ ❜✐❧✐♥é❛r✐té ❞❡ aλ✳ ❉❡ ♣❧✉s✱ s✐ JC(K) ♥❡ ❝♦♥t✐❡♥t ♣❛s ❞❡ ♣♦✐♥t ❞❡ r2✲t♦rs✐♦♥✱
❛❧♦rs ❧❡ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❡st ♥♦♥ ❞é❣é♥éré ❡t ✐❧ ❡♥ ❡st é✈✐❞❡♠♠❡♥t ❞❡ ♠ê♠❡ ♣♦✉r ❧❡ ❝♦✉♣❧❛❣❡
❆t❡ s✐ gcd(c, r) = 1✳ 2

❉é✜♥✐t✐♦♥ ✺✳✹ ❙♦✐❡♥t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ s✉r k ❡t P ∈ C(k)✳ ❖♥ ❞✐t q✉✬✉♥❡
❢♦♥❝t✐♦♥ f ∈ Fq(C) ❡st ♥♦r♠❛❧✐sé❡ ❡♥ P s✐ (un

P f)(P ) = 1 ♣♦✉r ✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ uP ❡♥ P
❡t ✉♥ ❡♥t✐❡r n✳

❆ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ ♥♦✉s s✉♣♣♦s♦♥s q✉❡ G1 = JC [r] ∩ (ker(π) − [1]) ❡t G2 =
JC [r] ∩ (ker(π) − [q]) ♦ù π ❡st ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s ✜①❛♥t k✳ ❖♥ s✉♣♣♦s❡ ❞✬❛✉tr❡
♣❛rt✱ q✉❡ JC(k) ♥❡ ❝♦♥t✐❡♥t ♣❛s ❞❡ ♣♦✐♥t ❞❡ r2✲t♦rs✐♦♥✳ ▲❛ ❞é✜♥✐t✐♦♥ ❝❧❛ss✐q✉❡ ❞✉ ❝♦✉♣❧❛❣❡
❞❡ ❆t❡ ❡❧❧✐♣t✐q✉❡ ❞❡ ❬❍❙❱✵✻❪ ❞♦♥♥❡ ❞❛♥s ❧❡ ❝❛s ❞✬✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❬●❍❱✵✼❪ ✿

❚❤é♦rè♠❡ ✺✳✺ ✭❈♦✉♣❧❛❣❡ ❆t❡ ■✮ ❙♦✐t S ✉♥ ❡♥t✐❡r t❡❧ q✉❡ S ≡ q (mod r) ❡t ♣♦s♦♥s λ =
Sd − 1 ❡t c = λ/r✳ ❆❧♦rs ❧✬❛♣♣❧✐❝❛t✐♦♥

aS : G2 ×G1 → µr ⊂ K∗, (D2, D1) 7→ aS(D2, D1) = fS,D2(D1)
qd−1

r ,

❛✈❡❝ fS,D2 ♥♦r♠❛❧✐sé❡✱ ❡st ❜✐❧✐♥é❛✐r❡✳ ❉❡ ♣❧✉s ❡❧❧❡ ❡st ♥♦♥ ❞é❣é♥éré❡ s✐ gcd(c, r) = 1✳

Pr❡✉✈❡ ✿ ❉✬❛♣rès ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ s❡❝t✐♦♥ ✹✳✷✳✷✱ ♦♥ ❛ ✿

fλ,D2 = fSd−1,D2
= fSd,D2

.f−1,D2 .h[Sd]D2,[−1]D2
.

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✹✶✴✾✶



❈❤❛♣✐tr❡ ✺✳ ◗✉❡❧q✉❡s ❛♠é❧✐♦r❛t✐♦♥s ❛❧❣♦r✐t❤♠✐q✉❡s

❖r f−1,D2 = (f1,D2hD2,−D2)
−1✱ ❡t f1,D2 = 1✱ ❝♦♠♠❡ Sd ≡ 1 mod r✱ D1 ❡t D2 s♦♥t ❞✬♦r❞r❡

r✱ ❡t ❞♦♥❝ h[Sd]D2,[−1]D2
= hD2,−D2 ✳ P❛r s✉✐t❡✱ ♦♥ ❛ ✿

f−1,D2h[Sd]D2,[−1]D2
= 1 ❝❡ q✉✐ ♣❡r♠❡t ❞✬é❝r✐r❡ fλ,D2 = fSd−1,D2

=
d−1∏

i=0

fSd−1−i

S,[Si]D2
.

❈♦♠♠❡ S ≡ q ( mod r) ❡t D2 ∈ G2 ❞♦♥❝
[
Si
]
D2 =

[
qi
]
D2 = πi(D2) ✭❛✈❡❝ π ❧❡ ❋r♦❜❡♥✐✉s✮✳

P❛r s✉✐t❡

fS,[Si]D2
= fS,πi(D2) ⇔ fS,[Si]D2

◦ πi = f qi

S,D2
⇔ fS,[Si]D2

(D1) = f qi

S,D2
(D1),

❝❛r π(D1) = D1✳ ❈❡ q✉✐ ♣❡r♠❡t ❞✬é❝r✐r❡

fλ,D2(D1) =

d−1∏

i=0

fSd−1−i

S,[Si]D2
(D1) =

d−1∏

i=0

f qi.Sd−1−i

S,D2
(D1) = fS,D2(D1)

Pd−1
i=0 qi.Sd−1−i

.

▲❡s é❣❛❧✐tés ♣ré❝é❞❡♥t❡s ♠♦♥tr❡♥t ❧❛ ❜✐❧✐♥é❛r✐té ❞❡ aS(D2, D1)✳ ■❧ ❡st ❝❧❛✐r q✉❡ aS(D2, D1)
❡st ♥♦♥ ❞é❣é♥éré❡ ❛✈❡❝ ❧❡s ❤②♣♦t❤ès❡s ❞✉ t❤é♦rè♠❡✳ 2

❘❡♠❛rq✉❡ ✺✳✻ ❖♥ ♣❡✉t ❢❛✐r❡ ✉♥ ❝❤♦✐① ❥✉❞✐❝✐❡✉① ❞❡s ♣❛r❛♠ètr❡s ♣♦✉r ❛✈♦✐r ✉♥❡ ❡①♣♦♥❡♥✲
t✐❡❧❧❡ ✜♥❛❧❡ ❛❞éq✉❛t❡✳ P❛r ❡①❡♠♣❧❡ N = gcd(qd − 1, λ) ❡t c = λ/N ❛❧♦rs

fλ,D2 = f
cS

qd−1
N

S,D2
❛✈❡❝ cS = gcd(N,

d−1∑

i=0

qi.Sd−1−i)

❞é✜♥✐t ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ ❜✐❧✐♥é❛✐r❡ ❡t q✉✐ ❡st ♥♦♥✲❞é❣é♥éré❡ s✐ gcd(c, r) = 1✳

❘❡♠❛rq✉❡ ✺✳✼ P♦✉r t♦✉t ❡♥t✐❡r ♣♦s✐t✐❢ i✱ ♦♥ ♥♦t❡ q✉❡ r ❞✐✈✐s❡ (qi)d − 1✳ ❆❧♦rs✱ ♦♥ ♣❡✉t
ét❡♥❞r❡ ❧❡ t❤é♦rè♠❡ ✺✳✺ ♣♦✉r t♦✉t ❡♥t✐❡r S ≡ qi (mod r)✳

❖♥ ✈♦✐t q✉❡ ❧✬❛✈❛♥t❛❣❡ ❞✉ ❝♦✉♣❧❛❣❡ ❆t❡ ❡st q✉❡ ❧✬❡♥t✐❡r S ❞é✜♥✐ss❛♥t ❧❡ ♥♦♠❜r❡ ❞❡ t♦✉rs
❞❛♥s ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ❡st ♣❧✉s ♣❡t✐t q✉❡ ❧✬❡♥t✐❡r r q✉✐ ✐♥t❡r✈✐❡♥t ❞❛♥s ❧❡ ♥♦♠❜r❡ ❞❡
t♦✉rs ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡✳

✺✳✷✳✷ ❈♦✉♣❧❛❣❡ ❆t❡ ■■

❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ s❡❝t✐♦♥ ♣ré❝é❞❡♥t❡ s✉r ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡ ■✱ ♥♦✉s ♣♦✉✈♦♥s é❝r✐r❡
❧✬❡♥t✐❡r λ ❡♥ ❜❛s❡ q✱ ✐✳❡ λ =

∑ℓ
i=0 ciq

i✳ ❆❧♦rs ❧❡ ❝♦✉♣❧❛❣❡ aλ ❞✉ ❧❡♠♠❡ ✺✳✸ ♣❡✉t s✬é❝r✐r❡

aλ(D2, D1) = fλ,D2(D1)
(qd−1)/r = fPℓ

i=0 ciqi,D2
(D1)

(qd−1)/r.

❉✬❛♣rès ❧❡s ♣r♦♣r✐étés s✉r ❧❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ ✭✈♦✐r ❧❡ ❝♦r♦❧❧❛✐r❡ ✹✳✽✮✱ ♦♥ ❛ ✿

fPℓ
i=0 ciqi,D2

=
ℓ∏

i=0

fciqi,D2

ℓ−1∏

i=0

hPi
j=0[cjqj ]D2,[ci+1qi+1]D2

.

❖r ❧❛ ❢♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t ❞❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ ❞♦♥♥❡ ✿

fciqi,D2
(D1) = f ci

qi,D2
(D1)fci,[qi]D2

(D1) = f ci

qi,D2
(D1)f

qi

ci,D2
(D1).

✹✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✺✳✷✳ ❈♦✉♣❧❛❣❡s ❆t❡ ■ ❡t ■■

❊t ❧❛ ❢♦r♠✉❧❡ ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ ❞❡s ❢♦♥❝t✐♦♥s ❞❡ ❲❡✐❧ ❞♦♥♥❡ ✿

fqi,D2
(D1) =

i−1∏

j=0

f qi−j−1

q,[qj ]D2
(D1) =

i−1∏

j=0

f qi−1

q,D2
(D1) = f iqi−1

q,D2
(D1).

❈❡ q✉✐ ♣❡r♠❡t ❞✬é❝r✐r❡

fciqi,D2
(D1) = f iciq

i−1

q,D2
(D1)f

qi

ci,D2
(D1).

❋✐♥❛❧❡♠❡♥t

aλ(D2, D1) =

(

f
Pℓ

i=0 iciq
i−1

q,D2
(D1)

) qd−1
r

(
ℓ∏

i=0

f qi

ci,D2
(D1)

) qd−1
r

×
(

ℓ−1∏

i=0

hPi
j=0[cjqj ]D2,[ci+1qi+1]D2

(D1)

) qd−1
r

.

P♦s♦♥s aq(D2, D1) = (fq,D2(D1))
qd−1

r ✳ ❆❧♦rs aq ❞é✜♥✐t ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ ❜✐❧✐♥é❛✐r❡ ❞✬❛♣rès ❧❡
t❤é♦rè♠❡ ✺✳✺✳ ❖♥ ♦❜t✐❡♥t ✿

aλ(D2, D1) =
(

aq(D2, D1)
Pℓ

i=0 iciq
i−1
)
(

ℓ∏

i=0

f qi

ci,D2
(D1)

) qd−1
r

×
(

ℓ−1∏

i=0

hPi
j=0[cjqj ]D2,[ci+1qi+1]D2

(D1)

) qd−1
r

.

P♦s♦♥s

a[c0,cℓ](D2, D1) =

(
ℓ∏

i=0

f qi

ci,D2
(D1)

) qd−1
r
(

ℓ−1∏

i=0

hPi
j=0[cjqj ]D2,[ci+1qi+1]D2

(D1)

) qd−1
r

,

❛❧♦rs a[c0,cℓ](D2, D1) 6= 1 s✐ ❡t s❡✉❧❡♠❡♥t s✐ aλ(D1, D2) 6= aq (D2, D1)
Pℓ

i=0 iciq
i−1

. ➱❝r✐✈♦♥s
aλ(D1, D2) ❡♥ ❢♦♥❝t✐♦♥ ❞❡ aq✳ ❖♥ ❛ ✿

aλ(D1, D2) = fcr,D2(D1)
(qd−1)/r = fr,D2(D1)

c(qd−1)/r = fqd−1,D2
(D1)

c( qd−1
r

)−1 mod r.

▲❛ ❞❡r♥✐èr❡ é❣❛❧✐té ✈✐❡♥t ❞✐r❡❝t❡♠❡♥t ❞❡ ❧❛ ♣r♦♣r✐été ❢♦♥❞❛♠❡♥t❛❧❡ ❞✉ ❝♦✉♣❧❛❣❡ ❊t❛✳ ❊♥
✉t✐❧✐s❛♥t ❧❡s ♠ê♠❡s ❛r❣✉♠❡♥ts q✉❡ ❝❡✉① ❞❡ ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡ ✺✳✺✱ ♦♥ ❛ ✿

aλ(D2, D1) =
(
fqd,D2

(D1)
)c( qd−1

r
)−1 mod r

=

(
d−1∏

i=0

f qd−1−i

q,[qi]D2

)c( qd−1
r

)−1 mod r

=

(
d−1∏

i=0

f qd−1

q,D2

)c( qd−1
r

)−1 mod r

.

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✹✸✴✾✶



❈❤❛♣✐tr❡ ✺✳ ◗✉❡❧q✉❡s ❛♠é❧✐♦r❛t✐♦♥s ❛❧❣♦r✐t❤♠✐q✉❡s

❉♦♥❝✱

aλ(D2, D1) =
(

fdqd−1

q,D2
(D1)

)c( qd−1
r

)−1 mod r

= aq(D2, D1)
cdqd−1( qd−1

r
)−1 mod r.

P❛r s✉✐t❡✱

aλ(D1, D2) 6=
(

aq(D2, D1)
Pℓ

i=0 iciq
i−1
)

⇔ cdqd−1(
qd − 1

r
)−1 6=

ℓ∑

i=0

iciq
i−1 mod r.

◆♦✉s ✈❡♥♦♥s ❞❡ ❞é♠♦♥tr❡r ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✺✳✽ ✭❈♦✉♣❧❛❣❡ ❆t❡ ■■✮ ❙♦✐t λ = cr ❛✈❡❝ gcd(r, c) = 1 ❡t é❝r✐✈♦♥s λ =
∑ℓ

i=0 ciq
i ❛❧♦rs ❧✬❛♣♣❧✐❝❛t✐♦♥

a[c0,cℓ] : G2 ×G1 → µr ⊂ F∗
qd

(D2, D1) 7→
(
∏ℓ

i=0 f
qi

ci,D2
(D1)

) qd−1
r
(
∏ℓ−1

i=0 h
Pi

j=0[cjqj ]D2,[ci+1qi+1]D2
(D1)

) qd−1
r

❡st ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ ❜✐❧✐♥é❛✐r❡✳ ❊❧❧❡ ❡st ♥♦♥✲❞é❣é♥éré❡ s✐ ❡t s❡✉❧❡♠❡♥t s✐

cdqd−1 6= (
qd − 1

r
)

ℓ∑

i=0

iciq
i−1 mod r.

❊♥ ❣❡♥r❡ ✶ ♦ù D1 := (P )− (P∞) ❡t D2 := (Q)− (P∞) ❡t ❧❛ r❡♠❛rq✉❡ ✹✳✸ ❞♦♥♥❡

hPi
j=0[cjqj ]Q,[ci+1qi+1]Q :=

ℓPi
j=0[cjqj ]Q,[ci+1qi+1]Q

vPi
j=0[cjqj ]Q,[ci+1qi+1]Q

,

♦ù ♣♦✉r t♦✉t ♣♦✐♥t Q1 ❡t Q2✱ ❧❛ ♥♦t❛t✐♦♥ ℓQ1,Q2 ❞és✐❣♥❡ ❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ ❞r♦✐t❡ ♣❛ss❛♥t ♣❛r
Q1 ❡t Q2 ❡t ❧❛ ♥♦t❛t✐♦♥ vQ1,Q2 ❞és✐❣♥❡ ❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ ❞r♦✐t❡ ✈❡rt✐❝❛❧❡ ♣❛ss❛♥t ♣❛r Q1+Q2✳
❈❡ q✉✐ ♣❡r♠❡t ❞❡ ✈♦✐r q✉❡ ❧❡ t❤é♦rè♠❡ ✶ ❞❡ ❬❱❡r✵✽❪ ❡st ✉♥ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞✉ t❤é♦rè♠❡ ✺✳✽✳

❘❡♠❛rq✉❡ ✺✳✾ ❊♥ ♣r❛t✐q✉❡✱ ♣♦✉r ✉t✐❧✐s❡r ❧❡ t❤é♦rè♠❡ ✺✳✽✱ ♥♦✉s ❛✈♦♥s ❜❡s♦✐♥ ❞❡ tr♦✉✈❡r
❞❡s ❝♦❡✣❝✐❡♥ts ci ♣❡t✐ts ❞❛♥s ❧❛ ❜❛s❡ q ♣♦✉r ❧✬❡♥t✐❡r λ✳ P♦✉r ❝❡❧❛✱ ✐❧ s✉✣t ❞❡ ❝♦♥s✐❞ér❡r
❧❡s ♣✉✐ss❛♥❝❡s qi ♣♦✉r 1 ≤ i ≤ ϕ(d) − 1 ❡t ❞❡ ❝❤❡r❝❤❡r ❣râ❝❡ à ▲▲▲ ❬▲▲▲✽✷❪ ❧❡ ♣❧✉s ♣❡t✐t
✈❡❝t❡✉r ❞❡ ❧❛ ♠❛tr✐❝❡ s✉✐✈❛♥t❡ ✿

M :=










r 0 0 ... 0
−q 1 0 ... 0
−q2 0 1 ... 0
✳✳✳

✳✳✳
✳ ✳ ✳

−qϕ(d)−1 0 ... 0 1










.

✺✳✸ ❈♦♠♣❛r❛✐s♦♥ ❞❡s ❞✐✛ér❡♥ts ❝♦✉♣❧❛❣❡s

◆♦✉s ♥✬❛❧❧♦♥s ❝♦♠♣❛r❡r q✉❡ ❧❡s ❝♦♠♣❧❡①✐tés ❞❡s ❝♦✉♣❧❛❣❡s ❞❡ ❚❛t❡ ✭♦✉ ♣❧✉s ♣ré❝✐sé♠❡♥t
❊t❛ q✉✐ ❡st ❧❡ ♣❧✉s ✉t✐❧❡ ♣♦✉r ❧❡s ❛♣♣❧✐❝❛t✐♦♥s ❝r②♣t♦❣r❛♣❤✐q✉❡s✮ ❡t ❆t❡ ■✳ ▲❡ ❝❛❧❝✉❧ ❞❡ ❝❡s
❞✐✛ér❡♥ts ❝♦✉♣❧❛❣❡s ❢❛✐t ✐♥t❡r✈❡♥✐r ❞❡✉① ❣r♦✉♣❡s G1 ❡t G2 ❞❡ ♠ê♠❡ ♦r❞r❡ r✱ ♠❛✐s ❞♦♥t ❧❡s

✹✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✺✳✹✳ ❊❧❧✐♣t✐q✉❡ ✈s ❤②♣❡r❡❧❧✐♣t✐q✉❡

é❧é♠❡♥ts s♦♥t ❞é✜♥✐s s✉r ❧❡s ❝♦r♣s k ❡t K ♦ù K ❡st ❧✬❡①t❡♥s✐♦♥ ❞❡ ❞❡❣ré d ✭❧❡ ❞❡❣ré ❞❡
♣❧♦♥❣❡♠❡♥t r❡❧❛t✐✈❡♠❡♥t à r✮ ❞❡ k✳

P♦✉r s✐♠♣❧✐✜❡r✱ é❝r✐✈♦♥s ✉♥ ❝♦✉♣❧❛❣❡ q✉❡❧❝♦♥q✉❡ s♦✉s ❧❛ ❢♦r♠❡ ❞❡ c : G1 × G2 → GT

❛✈❡❝ |G1| = |G2| = |GT | = r✳ ❆❧♦rs ❧❡ ❝♦✉♣❧❛❣❡ ❊t❛ ❡t ❆t❡ ■ s✬é❝r✐✈❡♥t r❡s♣❡❝t✐✈❡♠❡♥t
ηn(D1, D2) = c(D1, D2) ❡t an(D2, D1) = c(D1, D2)✳ ❙♦✐t e = 1 ♦✉ e = d ❡t ♥♦t♦♥s ♣❛r
Mqe , Sqe ❡t Iqe ❧❛ ❝♦♠♣❧❡①✐té ❞❡ ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥✱ ❞✉ ❝❛rré ❡t ❞❡ ❧✬✐♥✈❡rs✐♦♥ ❞❛♥s ❧❡ ❝♦r♣s
✜♥✐ Fqe ✳

P♦✉r ❝❛❧❝✉❧❡r ✉♥ ❝♦✉♣❧❛❣❡✱ ♦♥ ❡✛❡❝t✉❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❛♥s G1 ❡t ♦♥ é✈❛❧✉❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡
▼✐❧❧❡r ❡♥ ✉♥ é❧é♠❡♥t ❞❡ G2✳ ▲❡ t❛❜❧❡❛✉ ✺✳✶ ❞♦♥♥❡ ❧❡s ❞✐✛ér❡♥t❡s ❝♦♠♣❧❡①✐tés ❞❡s ❝♦✉♣❧❛❣❡s
❊t❛ ❡t ❆t❡ ♦ù ❧❡s ❡♥t✐❡rs ℓη ❡t ℓa r❡♣rés❡♥t❡♥t ❧❡ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡
▼✐❧❧❡r ❛✈❡❝ ℓa ≤ ℓη = log2 r✳

❈♦✉♣❧❛❣❡ ❈♦ût
❊t❛

(
30Mq + 6Sq + Iq + 11Mqd + 4Sqd

)
ℓη + 1Iqd

❆t❡ ■
(
30Mqd + 6Sqd + Iqd + 11Mqd + 4Sqd

)
ℓa + 1Iqd

❚❛❜✳ ✺✳✶ ✕ ❈♦ût ❞✉ ❝♦✉♣❧❛❣❡ ❞❡ ❊t❛ ❡t ❞❡ ❆t❡ ■

❖♥ ❞é❞✉✐t ❞✉ t❛❜❧❡❛✉ ✺✳✶ ✉♥❡ ❝♦♥❞✐t✐♦♥ ♥é❝❡ss❛✐r❡ ❡t s✉✣s❛♥t❡ ♣♦✉r q✉❡ ❧❡ ❝♦✉♣❧❛❣❡
❆t❡ s♦✐t ♣❧✉s ❡✣❝❛❝❡ q✉❡ ❧❛ ❝♦✉♣❧❛❣❡ ❊t❛ ✿

ℓa ≤
30Mq + 6Sq + Iq + 11Mqd + 4Sqd

30Mqd + 6Sqd + Iqd + 11Mqd + 4Sqd

ℓη. ✭✺✳✶✮

✺✳✹ ❊❧❧✐♣t✐q✉❡ ✈s ❤②♣❡r❡❧❧✐♣t✐q✉❡

❙♦✐❡♥t k ❡t k′ ❞❡✉① ❝♦r♣s ✜♥✐s✱ E/k ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t C/k′ ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r✲
❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ ✷✳ ❙♦✐❡♥t r ❡t r′ ❞❡✉① ♥♦♠❜r❡s ♣r❡♠✐❡rs ❞✐✈✐s❛♥t r❡s♣❡❝t✐✈❡♠❡♥t |E(k)|
❡t |JC(k′)|✳ ❙♦✐❡♥t d ❡t d′ ❧❡s ❞❡❣rés ❞❡ ♣❧♦♥❣❡♠❡♥t r❡❧❛t✐✈❡♠❡♥t à r ❡t r′ r❡s♣❡❝t✐✈❡♠❡♥t
❡t ♥♦t♦♥s ♣❛r L/k ❡t L′/k′ ❧❡s ❡①t❡♥s✐♦♥s ❞❡ ❞❡❣rés d ❡t d′✳

P♦✉r t♦✉t ❝♦r♣s K ∈ {k,k′, L, L′}✱ ♥♦t♦♥s ♣❛r MK ❡t IK = αMK ❧❡s ❝♦ûts ❞✬✉♥❡ ♠✉❧✲
t✐♣❧✐❝❛t✐♦♥ ❡t ❞✬✉♥❡ ✐♥✈❡rs✐♦♥ ❞❛♥s ❧❡ ❝♦r♣s K✱ 1ML = βMk ❡t 1ML′ = βMk′ ✳ ❆❧♦rs✱ ❡♥
❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ❧❡s ❝♦♠♣❧❡①✐tés ❞❡s ❝♦✉♣❧❛❣❡s ✭s❛♥s t❡♥✐r ❝♦♠♣t❡ ❞❡ ❧✬❡①♣♦♥❡♥t✐❛✲
t✐♦♥ ✜♥❛❧❡✮ s♦♥t ❞♦♥♥és ❞❛♥s ❧❡ t❛❜❧❡❛✉ ✺✳✷

❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡
(
(3 + α+ 3β)Mk

)
log2 r

❝♦✉r❜❡ ❞❡ ❣❡♥r❡ ✷
(
(30 + α+ 11β)Mk′

)
log2 r

′ + αβMk′

❚❛❜✳ ✺✳✷ ✕ ❈♦ût ❞❡s ❝♦✉♣❧❛❣❡s ❡❧❧✐♣t✐q✉❡s ❡t ❤②♣❡r❡❧❧✐♣t✐q✉❡s

P♦✉r ♣♦✉✈♦✐r ❝♦♠♣❛r❡r ❧❡s ❝♦✉r❜❡s E/k ❡t C/k′✱ ✐❧ ❢❛✉t ❡t ✐❧ s✉✣t q✉✬❡❧❧❡s ❛✐❡♥t ❧❡
♠ê♠❡ ♥✐✈❡❛✉ ❞❡ sé❝✉r✐té✳ ❯♥❡ ❝♦♥❞✐t✐♦♥ ✈ér✐✜é❡ ❛s②♠♣t♦t✐q✉❡♠❡♥t ♣♦✉r ❝❡❧❛ ❡st ✿

2
d′

d

log2 q
′

log2 q
=

log2 r
′

log2 r
, ❛✈❡❝ q = #k ❡t q′ = #k′. ✭✺✳✷✮

▲✬é❣❛❧✐té ✭✺✳✷✮ s✐❣♥✐✜❡ q✉❡ ❧❡s ρ✲✈❛❧✉❡s ❞❡s ❝♦✉r❜❡s E/L ❡t C/L′✱ ❞é✜♥✐❡s s✉r ❧❡s ❡①t❡♥✲
s✐♦♥s✱ s♦♥t é❣❛✉①✳ ❈❧❛✐r❡♠❡♥t✱ ❞❛♥s ❧❡ ❝♦✉♣❧❛❣❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ❝❡ q✉✐ ❝♦ût❡ ❧❡ ♣❧✉s ❡st
❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❛ ❝♦✉r❜❡ ❡t ❧✬é✈❛❧✉❛t✐♦♥ ❞❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ ▼✐❧❧❡r✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✹✺✴✾✶
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✺✳✺ ■♠♣❧é♠❡♥t❛t✐♦♥ ❝r②♣t♦❣r❛♣❤✐q✉❡

❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ❞♦♥♥♦♥s q✉❡❧q✉❡s ❞ét❛✐❧s ❞✬✐♠♣❧é♠❡♥t❛t✐♦♥ ❞❡s ❛❧❣♦r✐t❤♠❡s ❞❡
❝❛❧❝✉❧ ❞❡ ❝♦✉♣❧❛❣❡ s✉r ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s✳ ◆♦✉s ❛✈♦♥s ❢❛✐t ❧❡s ✐♠♣❧é♠❡♥t❛t✐♦♥s ❛✈❡❝
❧❡ ❧♦❣✐❝✐❡❧ ▼❆●▼❆ ❡①é❝✉té s♦✉s ✉♥ s②stè♠❡ ▲✐♥✉① ▼❛♥❞r✐✈❛ s✉r ✉♥ P❈ ✸✷ ❜✐ts à ✶✳✽✸
●❍❩ ❡t ❛✈❡❝ ✶ ●♦ ❞❡ ❘❆▼ ❡t ♥♦✉s ❞♦♥♥♦♥s q✉❡❧q✉❡s t❡♠♣s ❞❡ ❝❛❧❝✉❧ ❛✜♥ ❞❡ ♣♦✉✈♦✐r ❢❛✐r❡
❞❡s ❝♦♠♣❛r❛✐s♦♥s✳

❉❛♥s t♦✉t❡s ❧❡s ✐♠♣❧é♠❡♥t❛t✐♦♥s✱ ♥♦✉s ♣r❡♥♦♥s ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ C ❞é✜♥✐❡
s✉r ✉♥ ❝♦r♣s k✱ ✉♥ ❡♥t✐❡r r q✉✐ ❞✐✈✐s❡ #JC(k)✱ ✉♥ ❡♥t✐❡r d q✉✐ ❡st ❧❡ ❞❡❣ré ❞❡ ♣❧♦♥❣❡♠❡♥t
r❡❧❛t✐✈❡♠❡♥t à r✳ ❉❡✉① ❣r♦✉♣❡s G1 = JC [r] ∩ ker(π − [1]) ❡t G2 = JC [r] ∩ ker(π − [q])
❡♥❣❡♥❞rés ♣❛r ❞❡✉① ❞✐✈✐s❡✉rs ré❞✉✐ts D1 ∈ JC(k) [r] ❡t D2 ∈ JC(K) [r]✳ ◆♦✉s ♣r❡♥♦♥s ❧❡s
❡①❡♠♣❧❡s ❞❡ ❝♦✉r❜❡s ❝♦♥str✉✐t❡s ♣❛r ❑❛✇❛③♦❡ ❡t ❚❛❦❛❤❛s❤✐ ❬❑❚✵✽❪✱ ♣❛r ❋r❡❡♠❛♥ ❬❋r❡✵✼❪
❡t ♣❛r ●❛❧❜r❛✐t❤✱ ❍❡ss ❡t ❱❡r❝❛✉t❡r❡♥ ❬●❍❱✵✼❪✳

✺✳✺✳✶ ❈♦♥str✉❝t✐♦♥ ❞❡ ❞✐✈✐s❡✉rs

❈♦♥tr❛✐r❡♠❡♥t ❛✉ ❝❛s ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✱ ✐❧ ❡st ♣❛r❢♦✐s ❞✐✣❝✐❧❡ ❞❡ tr♦✉✈❡r ❞❡s é❧é✲
♠❡♥ts ❞❡ G1 ❡t G2✳ P♦✉r rés♦✉❞r❡ ❝❡❧❛✱ ♦♥ ♣r❡♥❞ ❞❡✉① ♣♦✐♥ts q✉❡❧❝♦♥q✉❡s P1 ❡t P2 ❞é✜♥✐s
s✉r C(K) ♣♦✉r ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ K ′ ❞❡ k ✭♣❛r ❧❛ s✉✐t❡ ♦♥ ♣r❡♥❞r❛ K ′ = K ♦✉ K ′ = k✮✱
♣✉✐s ♦♥ ❝♦♥str✉✐t ❧❡ ❞✐✈✐s❡✉r D = (P1)+(P2)−2(P∞)✳ ▼❛✐s ❝❡ ❞✐✈✐s❡✉r ♥✬❡st ♣❛s ❢♦r❝é♠❡♥t
❞❛♥s G1 ♦✉ ❞❛♥s G2✳

P♦✉r tr♦✉✈❡r ✉♥ ❞✐✈✐s❡✉r ❞❛♥s G1✱ ♦♥ ❝❤❡r❝❤❡ ❞✬❛❜♦r❞ ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r e ≥ 1 t❡❧ q✉❡
re ❞✐✈✐s❡ #JC(K ′) ✭♣♦✉r K ′ = k✱ ❛❧♦rs ❧✬❡♥t✐❡r e = 1✮✳ P❛r s✉✐t❡ ❧❡ ❞✐✈✐s❡✉r

D′ =

[
#JC(K ′)

re

]

D

❡st ❞❛♥s JC(K ′) [r] ❞♦♥❝ ♣♦✉r K ′ := k✱ ❧❡ ❞✐✈✐s❡✉r D′ ❡st ❞❛♥s ❜✐❡♥ ❞❛♥s G1✳ ▼❛✐♥t❡♥❛♥t
s✐ K ′ = K✱ ♦♥ ❞♦✐t tr♦✉✈❡r à ♣❛rt✐r ❞❡ D′ ✉♥ é❧é♠❡♥t ❞❡ G2✳ P♦✉r ❝❡ ❢❛✐r❡✱ ♦♥ ❞✐✈✐s❡ ❧❡
♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✉ ❋r♦❜❡♥✐✉s χ(π)(T ) mod r ♣❛r (T − q) mod r ❡t ♦♥ ✉t✐❧✐s❡ ❧❛
❢♦r♠✉❧❡ s✉✐✈❛♥t❡ ✈ér✐✜é❡ ♣❛r ❧❡ ❋r♦❜❡♥✐✉s π ✿

π4(D) + [a1]π
3(D) + [a2]π

2(D) + [a1q]π(D) +
[
q2
]
D = (P∞).

✺✳✺✳✷ ❊①♣♦♥❡♥t✐❛t✐♦♥ ✜♥❛❧❡

P♦✉r ❝❛❧❝✉❧❡r ❧❡s ❝♦✉♣❧❛❣❡s ❛✈❡❝ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r ✱ ♥♦✉s ❡✛❡❝t✉♦♥s ✉♥❡ ❡①♣♦♥❡♥✲
t✐❛t✐♦♥ ✜♥❛❧❡ ❞✬✉♥ é❧é♠❡♥t α ∈ K = Fqd à ❧❛ ♣✉✐ss❛♥❝❡ m = (qd − 1)/r✳ ❖r

qd − 1 =
∏

n|d
Φn(q),

❛✈❡❝ Φn(x) ∈ Z [x] ❧❡ n−✐è♠❡ ♣♦❧②♥ô♠❡ ❝②❝❧♦t♦♠✐q✉❡ ❬●●✾✾✱ ♣✳ ✸✽✽❪✳ ❉♦♥❝

m =
qd − 1

r
=
Φd(q)

r
.
∏

n|d
n6=d

Φn(q) := m1m2.

▲❡s ♣♦❧②♥ô♠❡s Φn(x) q✉❡ ♥♦✉s ✉t✐❧✐s❡r♦♥s ♦♥t ❞❡s ❝♦❡✣❝✐❡♥ts é❣❛✉① à −1 ♦✉ 1✳ ❉♦♥❝ ❧❡
♣r♦❞✉✐t m2 ♣❡✉t s✬é❝r✐r❡ ❢❛❝✐❧❡♠❡♥t ❡♥ ❜❛s❡ q ❛✈❡❝ ❞❡s ❝♦❡✣❝✐❡♥ts é❣❛✉① à −1 ♦✉ 1✱ ✐✳❡✳

✹✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷
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m2 = bd−ϕ(d)q
d−ϕ(d) + ...+ b1q+ b0✱ ❛✈❡❝ bi ∈ {−1, 0, 1} ♦ù ϕ(d) ❡st ❧❛ ❢♦♥❝t✐♦♥ ✐♥❞✐❝❛tr✐❝❡

❞✬❊✉❧❡r✳ ❉❡ ♠ê♠❡✱ ♦♥ ❛ m1 := Φd(q)/r = aϕ(d)−1q
ϕ(d)−1 + ...+ a1q + c0✳ ❉♦♥❝

αm = αm1m2 = (αm2)m1 =
(

βqϕ(d)−1
)aϕ(d)−1

...
(

βq
)a1

βa0 ,

❛✈❡❝ β = αm2 . ▲❡s t❡r♠❡s βqi
♣♦✉r 0 ≤ 1 ≤ ϕ(d) − 1 s❡ ❝❛❧❝✉❧❡♥t ❢❛❝✐❧❡♠❡♥t ❣râ❝❡ ❛✉

♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✳ ▲❛ ♣❛rt✐❡ ❞✐✣❝✐❧❡ s❡ ❝❛❧❝✉❧❡ ❡♥ ✉t✐❧✐s❛♥t ❧✬❡①♣♦♥❡♥t✐❛t✐♦♥ r❛♣✐❞❡
❬❆❈❉+✵✻❪✳

❊①❡♠♣❧❡ ✺✳✶✵ ❈♦♥s✐❞ér♦♥s ❧❛ ❢❛♠✐❧❧❡ ❇◆ ❞❡ ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❬❇◆✵✻❪ ♦ù d = 12 ❡t

q(x) = 36x4 + 36x3 + 24x2 + 6x+ 1

r(x) = 36x4 + 36x3 + 18x2 + 6x+ 1

❛❧♦rs q12 − 1 = Φ12(q).
(

Φ1(q)Φ2(q)Φ3(q)Φ4(q)Φ6(q)
)

. ❉♦♥❝

q12 − 1

r
=
q4 − q2 + 1

r
(q8 + q6 − q2 − 1) = (q3 + a2q

2 + a1q + a0)(q
8 + q6 − q2 − 1),

❛✈❡❝ a2(x) = 6x2 + 1, a1(x) = 36x3 − 18x2 + 12x + 1 ❡t a0 = 36x3 − 30x2 + 18x − 2 ✭❝❢
❬❙❇❈P✵✽❪✮✳

✺✳✺✳✸ ❊t✉❞❡ ❞❡ ❝❛s

❊①❡♠♣❧❡ ✺✳✶✶ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❝②❝❧♦t♦♠✐q✉❡ C : y2 = x5 + 243x ❞❡ ❑❛✇❛③♦❡ ❡t
❚❛❦❛❤❛s❤✐ ❬❑❚✵✽❪ ❞❡ t②♣❡ ■ ❞♦♥♥é❡ ♣❛r ❧❡s ♣❛r❛♠ètr❡s s✉✐✈❛♥t❡s ✿

d := 32;
r := 298271871767803247714167829477732515100314693637921; ✭✶✻✽ ❜✐ts✮
c := 89926562838765498279071228492619280488345;
d := 9110243382828221461546183306;
p := c2 + 2d2; ✭✷✼✸ ❜✐ts✮
πp(t) := t4 − 4dt3 + 8d2t2 − 4dpt+ p2; ✭❋r♦❜❡♥✐✉s✮
#JC(Fp) ≈ ✭✻✷✶ ❜✐ts✮

❊①❡♠♣❧❡ ✺✳✶✷ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❝②❝❧♦t♦♠✐q✉❡ C : y2 = x5 + 2x ❞❡ ❑❛✇❛③♦❡ ❡t
❚❛❦❛❤❛s❤✐ ❬❑❚✵✽❪ ❞❡ t②♣❡ ■■ ❞♦♥♥é❡ ♣❛r ❧❡s ♣❛r❛♠ètr❡s s✉✐✈❛♥t❡s ✿

d := 24;
t := 1049085;
c := −666552686317922837418185318429221875;
d := −317682273403495574973570019129;
r := 1467186828927128936514540199634172027208104690001; ✭✶✻✶ ❜✐ts✮
p := c2 + 2d2; (p ≡ 3 mod 8) ✭✶✻✹ ❜✐ts✮
πp(t) := t4 + (4c2 − 2p)t2 + p2; ✭❋r♦❜❡♥✐✉s✮.

❊①❡♠♣❧❡ ✺✳✶✸ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ à ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❝♦♠♣❧❡①❡ ❞❡ ❋r❡❡♠❛♥ ❬❋r❡✵✼❪ ❞❡
❧❛ ❢♦r♠❡ y2 = x5 + a3x

3 + a2x
2 + a1x+ a0 ✿

d := 2;
r := 2160 + 7;
q := 795006611640170109396940876005774396116863415419758542983/

000866861998633580771739771859880604810428624690260906439/

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✹✼✴✾✶



❈❤❛♣✐tr❡ ✺✳ ◗✉❡❧q✉❡s ❛♠é❧✐♦r❛t✐♦♥s ❛❧❣♦r✐t❤♠✐q✉❡s

696676383644643024156565079438633051152265871193607246002/
1623269435928862304096161; ✭✻✺✶ ❜✐ts✮

s1 := 241065221491947514428541310368448574139558370891656283357/
513064453386954760732984103585110310902524;

s2 := 273597961733915219746412647988034912157244791593900712761/
392170842037137177036565533968742998433491154225053663074/
754083327873496202591288999546745243329063590980374584172/
19626973988439102556464966;

π(T ) := t4 − s1t3 + s2t
2 − s1qt+ p2; ✭❋r♦❜❡♥✐✉s✮

a3 := 781556463828009280287360245134696723363334003262680019563/
373246663399403283036480523391829672473415742594400911980/
717961808460636372135666494784982892063519953638316503834/
9582750830436766970252305;

a2 := 758207154481521945617036644682392283114949510705878088132/
268608920626188933438794833818812277739911874224054136992/
078102161460661849138675576900151363570200258390032898472/
4486510381446751384612338;

a1 := 381808951735164961606343137842255716037080566877126178262/
494866125561180403110472841251648183747221664810621940475/
948395301550149077666565966281592707715653094239443567989/
0448998428239238224064322;

a0 := 451779311338035547603652098531473867669756697104795270896/
070777348303213918152601919138063756107104512082773386405/
730290910638443900900902524673801284827428113975208548420/
4533726326846152147956130;

❈♦✉♣❧❛❣❡ ❚❛t❡ ❆t❡ ■ ❆t❡ ■ ♦♣t✐♠✐sé ❆t❡ ■■
❝♦✉r❜❡ ❑❚✱ t②♣❡ ■ ✭❡①❡♠♣❧❡ ✺✳✶✶✮ ✷✽✵✵ ✹✷✹✵ ✶✻✵✵ ✹✷✽✵
❝♦✉r❜❡ ❑❚✱ t②♣❡ ■■ ✭❡①❡♠♣❧❡ ✺✳✶✷✮ ✶✹✹✵ ✷✷✽✵ ✼✻✵ ✷✸✻✵
❝♦✉r❜❡ ❞❡ ❋r❡❡♠❛♥ ✭❡①❡♠♣❧❡ ✺✳✶✸✮ ✶✵✵ ✾✵ ✾✵ ✶✵✵

❚❛❜✳ ✺✳✸ ✕ ❈♦ût ❡♥ ♠✐❧❧✐s❡❝♦♥❞❡s ❞❡s ❞✐✛ér❡♥ts ❡①❡♠♣❧❡s

❖♥ ❝♦♥st❛t❡ q✉✬❡♥ ❣❡♥r❡ 2 ❧❡s ❝♦✉♣❧❛❣❡s ❆t❡ ■ ❡t ■■ ♥❡ s♦♥t ♣❛s ♣❧✉s ❡✣❝❛❝❡s q✉❡ ❧❡
❝♦✉♣❧❛❣❡ ❞❡ ❚❛t❡ ❝♦♠♠❡ ❝✬❡st ❧❡ ❝❛s ❡♥ ❣❡♥r❡ 1✳ ❈❡♣❡♥❞❛♥t✱ ❧❛ ✈❡rs✐♦♥ ♦♣t✐♠✐sé❡ ❞✉ ❝♦✉♣❧❛❣❡
❆t❡ ♦ù ❧❡ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡ ❡st ❞❡ ❧❛ ❢♦r♠❡ qi mod r ❡st ♣❧✉s ♣❡r❢♦r♠❛♥t❡ q✉❡ ❧❡ ❝♦✉♣❧❛❣❡
❞❡ ❚❛t❡✳ ❈❡❝✐ ré✈è❧❡ ❧✬✐♠♣♦rt❛♥❝❡ ❞✉ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ▼✐❧❧❡r✱ ♠❛✐s
❛✉ss✐ ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s ❝♦r♣s k ❡t K✳ ❊♥ ❡✛❡t✱ ♣♦✉r q✉❡ ❧❡ ❝♦✉♣❧❛❣❡ ❆t❡ s♦✐t ♣❧✉s
♣❡r❢♦r♠❛♥t q✉❡ ❝❡❧✉✐ ❞❡ ❚❛t❡✱ ✐❧ ❢❛✉t ❡t ✐❧ s✉✣t q✉❡ ❧❡ ♥♦♠❜r❡ ❞❡ ❜♦✉❝❧❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡
❞❡ ▼✐❧❧❡r ✈ér✐✜❡ ❧✬✐♥é❣❛❧✐té ✭✺✳✶✮

✹✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❚r♦✐s✐è♠❡ ♣❛rt✐❡

▼♦❞è❧❡s ❡✣❝❛❝❡s à ❜❛s❡ ❞❡ ❢♦♥❝t✐♦♥s

t❤êt❛

✹✾





❈❤❛♣✐tr❡ ✻

◗✉❡❧q✉❡s r❛♣♣❡❧s

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s r❛♣♣❡❧♦♥s q✉❡❧q✉❡s rés✉❧t❛ts s✉r ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ✳ ❈❡s ❢♦♥❝✲
t✐♦♥s t❤êt❛ ❞♦♥♥❡♥t ✉♥❡ ♣❛r❛♠étr✐s❛t✐♦♥ ♣r♦❥❡❝t✐✈❡ ❞❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ❡t ❞♦♥❝ ❡♥ ♣❛r✲
t✐❝✉❧✐❡r ❞❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s✳ ❊♥ ❢❛✐t✱ ❧❛ ❥❛❝♦❜✐❡♥♥❡ ❞✬✉♥❡ ❝♦✉r❜❡
❤②♣❡r❡❧❧✐♣t✐q✉❡ C ❞❡ ❣❡♥r❡ g à ❝♦❡✣❝✐❡♥ts ❞❛♥s C ❡st ✐s♦♠♦r♣❤❡ à ✉♥ t♦r❡ Cg/Λ✱ ♦ù Λ ❡st
✉♥ rés❡❛✉ ❛②❛♥t ❝❡rt❛✐♥❡s ❜♦♥♥❡s ♣r♦♣r✐étés ✭✈♦✐r ❬●❛✉✵✵❪ ♣♦✉r ❧❛ ❝♦♥str✉❝t✐♦♥ ❞❡ Λ✮✳

❇✐❡♥ q✉❡ ❝❡tt❡ t❤é♦r✐❡✱ ❞❡ ♥❛t✉r❡ ❛♥❛❧②t✐q✉❡✱ ✉t✐❧✐s❡ ❞❡ ♠❛♥✐èr❡ ❝r✉❝✐❛❧❡ ❧❡ ❢❛✐t q✉❡
❧❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ❝♦♥s✐❞éré❡s s♦✐❡♥t à ❝♦❡✣❝✐❡♥ts ❞❛♥s C✱ ❧❡s r❡❧❛t✐♦♥s ❛❧❣é❜r✐q✉❡s
♦❜t❡♥✉❡s à ♣❛rt✐r ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❣❛r❞❡♥t ✉♥ s❡♥s ♣♦✉r t♦✉t ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡
③ér♦ q✉❡ ❧✬♦♥ ♣❡✉t ♣❧♦♥❣❡r ❞❛♥s C✳ ◆♦✉s ❡①♣❧✐q✉❡r♦♥s ❝♦♠♠❡♥t ét❡♥❞r❡ ❝❡s rés✉❧t❛ts ❛✉
❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡ ❡♥ ✉t✐❧✐s❛♥t ❧❡s ♥♦♠❜r❡s p−❛❞✐q✉❡s✳ ❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱
♥♦✉s ❝♦♠♠❡♥❝❡r♦♥s ♣❛r q✉❡❧q✉❡s r❛♣♣❡❧s s✉r ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❬❘✐t✵✸✱ ▼✉♠✽✸✱ ❘❋✼✹❪✳

✻✳✶ ❋♦♥❝t✐♦♥s t❤êt❛ ❞❡ ❘✐❡♠❛♥♥

❙♦✐t g ✉♥ ❡♥t✐❡r ♣♦s✐t✐❢ ❡t ❝♦♥s✐❞ér♦♥s Hg ❧✬❡♥s❡♠❜❧❡ ❞❡s ♠❛tr✐❝❡s ❝❛rré❡s M ∈Mg(C)
s②♠étr✐q✉❡s t❡❧❧❡s q✉❡ ❧❛ ♣❛rt✐❡ ✐♠❛❣✐♥❛✐r❡ ❞❡ M s♦✐t ❞é✜♥✐❡ ♣♦s✐t✐✈❡ ✭Hg ❡st ❛♣♣❡❧é ❞❡♠✐✲
❡s♣❛❝❡ ❞❡ ❙✐❡❣❡❧✮✳ ▲❛ ❢♦♥❝t✐♦♥ t❤êt❛ ❞❡ ❘✐❡♠❛♥♥ ❡st ❞♦♥♥é❡ ♣❛r ❧❛ sér✐❡ ❞❡ ❢♦♥❝t✐♦♥ ❞❡ ❞❡✉①
✈❛r✐❛❜❧❡s (z,Ω) ∈ Cg ×Hg ✿

θ(z,Ω) =
∑

n∈Zg

exp
(
πi(ntΩn+ 2ntz)

)
. ✭✻✳✶✮

❊♥ t❛♥t q✉❡ sér✐❡ ❞❡ ❢♦♥❝t✐♦♥s ❞❡ ❞❡✉① ✈❛r✐❛❜❧❡s✱ ❧❛ ❢♦♥❝t✐♦♥ t❤êt❛ ❡st ❛❜s♦❧✉♠❡♥t
❡t ✉♥✐❢♦r♠é♠❡♥t ❝♦♥✈❡r❣❡♥t❡ s✉r t♦✉t ❝♦♠♣❛❝t ❞❡ Cg × Hg✱ ❡t ❞♦♥❝ ❝✬❡st ✉♥❡ ❢♦♥❝t✐♦♥
❤♦❧♦♠♦r♣❤❡ s✉r Cg ×Hg ❬▼✉♠✽✸✱ ♣❛❣❡ ✶✶✽❪✳

P♦✉r Ω ∈ Hg✱ ♥♦✉s ❞és✐❣♥♦♥s ♣❛r LΩ ❧❡ rés❡❛✉ ❞❡ Cg ❞♦♥♥é ♣❛r LΩ = Zg +ZgΩ✳ ◆♦✉s
❛✈♦♥s ❧❡s ♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

Pr♦♣♦s✐t✐♦♥ ✻✳✶ P♦✉r t♦✉t m ∈ Zg

θ(z +m,Ω) = θ(z,Ω), ✭✻✳✷✮

θ(z +mΩ,Ω) = exp(−πi(mtΩm+ 2mtz)θ(z,Ω), ✭✻✳✸✮

θ(−z,Ω) = θ(z,Ω). ✭✻✳✹✮

Pr❡✉✈❡ ✿ ✈♦✐r ❬▼✉♠✽✸✱ ♣❛❣❡ ✶✷✵✲✶✷✶❪✳ 2

P♦✉r Ω ∈ LΩ ✜①é✱ ❧❡s r❡❧❛t✐♦♥s ✭✻✳✷✮ ❡t ✭✻✳✹✮ s✐❣♥✐✜❡♥t q✉❡ ❧❛ ❢♦♥❝t✐♦♥ θ(.,Ω) ❡st
LΩ−q✉❛s✐✲♣ér✐♦❞✐q✉❡✳ ❖♥ ♣❡✉t ❣é♥ér❛❧✐s❡r ❝❡tt❡ ♥♦t✐♦♥ ❛✈❡❝ ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡✳

✺✶



❈❤❛♣✐tr❡ ✻✳ ◗✉❡❧q✉❡s r❛♣♣❡❧s

❉é✜♥✐t✐♦♥ ✻✳✷ ❖♥ ❞✐t q✉✬✉♥❡ ❢♦♥❝t✐♦♥ ❝♦♠♣❧❡①❡ ❤♦❧♦♠♦r♣❤❡ f : Cg → C ❡st LΩ−q✉❛s✐✲
♣ér✐♦❞✐q✉❡ ❞❡ ♣♦✐❞s ℓ s✐ ❡❧❧❡ ✈ér✐✜❡ ❧❡s r❡❧❛t✐♦♥s s✉✐✈❛♥t❡s ✿

✭✐✮ f(z +m) = f(z) ♣♦✉r t♦✉t m ∈ Zg✱

✭✐✐✮ f(z +mΩ) = exp(−πiℓ(mtΩm+ 2mtz)f(z) ♣♦✉r t♦✉t m ∈ Zg✳

P❛r ❡①❡♠♣❧❡✱ ❧❛ ❢♦♥❝t✐♦♥ θ(.,Ω) ❡st LΩ−q✉❛s✐✲♣ér✐♦❞✐q✉❡ ❞❡ ♣♦✐❞s ✶✳ ◆♦t♦♥s ♣❛r RΩ
ℓ ❧❡

C−❡s♣❛❝❡ ✈❡❝t♦r✐❡❧ ❞❡s ❢♦♥❝t✐♦♥s LΩ−q✉❛s✐✲♣ér✐♦❞✐q✉❡s ❞❡ ♣♦✐❞s ℓ✳ ❯♥❡ ❜❛s❡ ❞❡ ❧✬❡s♣❛❝❡
✈❡❝t♦r✐❡❧ RΩ

ℓ ♣❡✉t êtr❡ ❞♦♥♥é❡ à ❧✬❛✐❞❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡✳ P♦✉r ❝❡❧❛✱
♥♦✉s ♣♦s♦♥s ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✻✳✸ ❙♦✐❡♥t a, b ∈ Rg ❡t (z,Ω) ∈ Cg ×Hg✱ ✉♥❡ ❢♦♥❝t✐♦♥ t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐s✲
t✐q✉❡ ❡st ❞♦♥♥é❡ ♣❛r ✿

θ [ab ] (z,Ω) =
∑

n∈Zg

exp

(

πi(n+
1

2
a)tΩ(n+

1

2
a) + 2πi(n+

1

2
a)t(z +

1

2
b)

)

. ✭✻✳✺✮

Pr♦♣♦s✐t✐♦♥ ✻✳✹ ▲❛ ♠❛tr✐❝❡ Ω ét❛♥t ✜①é❡✱

✭✐✮ ♣♦✉r t♦✉t a, b ∈ Rg ❡t t♦✉t z ∈ Cg✱ ♦♥ ❛ ✿

θ [ab ] (z,Ω) = exp

(
πi

4
atΩa+ πiat(z +

1

2
b)

)

θ

(

z +
1

2
aΩ +

1

2
b

)

. ✭✻✳✻✮

✭✐✐✮ ♣♦✉r t♦✉t a, b ∈ Zg ❡t t♦✉t z ∈ Cg✱ ♦♥ ❛ ✿

θ [ab ] (−z,Ω) = θ
[−a
−b

]
(z,Ω) ✭✻✳✼✮

= (−1)atbθ [ab ] (z,Ω). ✭✻✳✽✮

✭✐✐✐✮ ♣♦✉r t♦✉t a, b ∈ Rg✱ m,n ∈ Zg ❡t t♦✉t z ∈ Cg✱ ♦♥ ❛ ✿

θ
[
a+2n
b+2m

]
(z,Ω) = exp(πiatm)θ [ab ] (z,Ω). ✭✻✳✾✮

Pr❡✉✈❡ ✿ ✈♦✐r ❬▼✉♠✽✸✱ ♣✳ ✶✷✸❪✳ 2

❘❡♠❛rq✉♦♥s q✉❡✱ ♣♦✉r t♦✉t a, b ∈ Qg✱ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ Ω✱ θ [ab ] (0,Ω) ❡st ❤♦❧♦♠♦r♣❤❡✳
P♦✉r ❞❡s ❡♥t✐❡rs a ❡t b ✜①és✱ ❧❡s ❢♦♥❝t✐♦♥s θ [ab ] (0,Ω) s♦♥t ❛♣♣❡❧és t❤êt❛ ❝♦♥st❛♥t❡s✳

▲❛ ♣r✐♥❝✐♣❛❧❡ ♣r♦♣r✐été ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡ ❡st ❧❛ ♣r♦♣r✐été ❞❡ q✉❛s✐✲
♣ér✐♦❞✐❝✐té✳

Pr♦♣♦s✐t✐♦♥ ✻✳✺ P♦✉r t♦✉t a, b,m ∈ Zg ❡t t♦✉t z ∈ Cg✱ ♦♥ ❛ ✿

θ [ab ] (z +m,Ω) = exp(πiatm)θ [ab ] (z,Ω), ✭✻✳✶✵✮

θ [ab ] (z +mΩ,Ω) = exp(−πibtm) exp(−πimtΩm− 2πimtz)θ [ab ] (z,Ω). ✭✻✳✶✶✮

Pr❡✉✈❡ ✿ ✈♦✐r ❬▼✉♠✽✸✱ ♣✳ ✶✷✵✲✶✷✶❪✳ 2

▲❡ t❤é♦rè♠❡ s✉✐✈❛♥t✱ q✉✐ s❡ ❞é❞✉✐t ❛✐sé♠❡♥t ❞❡ ❧❛ ♣ré❝é❞❡♥t❡ ♣r♦♣♦s✐t✐♦♥✱ ❞♦♥♥❡ ✉♥❡
❜❛s❡ ❞❡ ❧✬❡s♣❛❝❡ ✈❡❝t♦r✐❡❧ RΩ

ℓ ❡♥ t❡r♠❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡✳

❚❤é♦rè♠❡ ✻✳✻ ❋✐①♦♥s Ω ∈ Hg✱ ❛❧♦rs ✉♥❡ ❜❛s❡ ❞❡ RΩ
ℓ ❡st ❞♦♥♥é❡ ♣❛r ❧✬❡♥s❡♠❜❧❡ ❞❡s

❢♦♥❝t✐♦♥s ❤♦❧♦♠♦r♣❤❡s s✉✐✈❛♥t❡s ✿

✶✳ fa(z) = θ
[
a/ℓ
0

]

(ℓz, ℓΩ)✱ ❛✈❡❝ a = (a1, ..., ag) ♦ù 0 ≤ ai < ℓ✱

✷✳ gb(z) = θ
[
0
b/ℓ

]

(z, ℓ−1Ω)✱ ❛✈❡❝ b = (b1, ..., bg) ♦ù 0 ≤ bi < ℓ✳

✺✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✻✳✷✳ ◗✉❡❧q✉❡s r❡❧❛t✐♦♥s ❛✈❡❝ ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛

❙✐ ❞❡ ♣❧✉s✱ ❧✬❡♥t✐❡r ℓ ❡st ✉♥ ❝❛rré✱ ❛❧♦rs ✉♥❡ tr♦✐s✐è♠❡ ❜❛s❡ ❡st ❞♦♥♥é❡ ♣❛r ✿

✸✳ ha,b(z) = θ
[
a/

√
ℓ

b/
√

ℓ

]

(
√
ℓz,Ω) ❛✈❡❝ 0 ≤ ai, bi <

√
ℓ✳

❈❡s ❞✐✛ér❡♥t❡s ❜❛s❡s s♦♥t r❡❧✐é❡s ♣❛r ❧❡s r❡❧❛t✐♦♥s s✉✐✈❛♥t❡s ✿

gb =
∑

a

exp
(
2πiℓ−1atb

)
fa,

ha,b =
∑

c≡ a mod
√

ℓ

exp
(

2πi(
√
ℓ)−1ctb

)

fc.

Pr❡✉✈❡ ✿ ✈♦✐r ❬▼✉♠✽✸✱ ♣✳ ✶✷✹❪✳ 2

✻✳✷ ◗✉❡❧q✉❡s r❡❧❛t✐♦♥s ❛✈❡❝ ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛

❉❛♥s ❝❡ ♣❛r❛❣r❛♣❤❡✱ ♥♦✉s r❛♣♣❡❧♦♥s ❧❡s ❢♦r♠✉❧❡s ❞❡ ❘✐❡♠❛♥♥ q✉✐ ♣❡r♠❡tt❡♥t ❞✬♦❜t❡♥✐r
❜❡❛✉❝♦✉♣ ❞❡ r❡❧❛t✐♦♥s ❛❧❣é❜r✐q✉❡s ❡♥tr❡ ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛✳
◆♦t❛t✐♦♥ ✿ ❉❛♥s t♦✉t❡ ❧❛ s✉✐t❡✱ s❛✉❢ ♠❡♥t✐♦♥ ❞✉ ❝♦♥tr❛✐r❡✱ ♦♥ ✜①❡r❛ ❧❛ ♠❛tr✐❝❡ Ω ❡t ♦♥
♥♦t❡r❛ r❡s♣❡❝t✐✈❡♠❡♥t ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❡t t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡ ♣❛r θ(z) ❡t θ [ab ] (z)
❛✉ ❧✐❡✉ ❞❡ θ(z,Ω) ❡t θ [ab ] (z,Ω)✳ ❖♥ ❛ ❛❧♦rs ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✻✳✼ ❙♦✐❡♥t a = (aj)1≤j≤4, b = (bj)1≤j≤4✱ ❛✈❡❝ aj , bj ❞❡s é❧é♠❡♥ts ❞❡ Rg ❡t
z = (zj)1≤j≤4 ❛✈❡❝ zj ∈ Cg. P♦s♦♥s

T =
1

2







1 1 1 1
1 1 −1 −1
1 −1 1 −1
1 −1 −1 1






,

❡t aT = a′, bT = b′, zT = z′ ❛✈❡❝ a′ = (a′j)1≤j≤4, b
′ = (b′j)1≤j≤4 ❡t z′ = (z′j)1≤j≤4✳ ❆❧♦rs

♦♥ ❛ ✿
4∏

j=1

θ
[
aj

bj

]

(zj) = 2−g
∑

α,β∈Fg
2

exp(−πia1
tβ)

4∏

j=1

θ
[
a′

j+α
b′j+β

]

(z′j). ✭✻✳✶✷✮

Pr❡✉✈❡ ✿ ✈♦✐r ❬■❣✉✼✷✱ ♣❛❣❡ ✶✸✼❪✳ 2

❘❡♠❛rq✉❡ ✻✳✽ ❉❛♥s ❧❡ t❤é♦rè♠❡ ♣ré❝é❞❡♥t✱ s✐ ❧❡s t❤êt❛ g✲❝❛r❛❝tér✐st✐q✉❡s aj ❡t bj s♦♥t
❞❡s ❡♥t✐❡rs✱ ✐✳❡✳ ❞❡s é❧é♠❡♥ts ❞❡ Zg✱ ❛❧♦rs ❧❛ ❢♦r♠✉❧❡ ✭✻✳✶✷✮ s✬é❝r✐t ❛✈❡❝ (−1)a1

tβ à ❧❛ ♣❧❛❝❡
❞❡ exp(−πia1

tβ)✳

❘❡♠❛rq✉❡ ✻✳✾ ◆♦✉s ❛✈♦♥s ❞✐✛ér❡♥ts s♦✉s✲❝❛s ❞✉ t❤é♦rè♠❡ ✻✳✼ q✉✐ ❥♦✉❡♥t s✉r ❧✬é❝r✐t✉r❡
❞❡s zi ❡t z′i✳ ◆♦t❛♠♠❡♥t✱ s♦✐❡♥t u1, u2, u3, u4 ∈ Cg t❡❧s q✉❡

z1 = u1 + u2, z2 = u1 − u2, z3 = u3 + u4 ❡t z4 = u3 − u4,

❛❧♦rs ✐❧ ✈✐❡♥t q✉❡

z′1 = u1 + u3, z
′
2 = u1 − u3, z

′
3 = u2 + u4 ❡t z′4 = u2 − u4.

❖♥ ♦❜t✐❡♥t ❧❛ ❢♦r♠✉❧❡ ✿

θ
[
a1
b1

]

(u1 + u2) θ
[
a2
b2

]

(u1 − u2) θ
[
a3
b3

]

(u3 + u4) θ
[
a4
b4

]

(u3 − u4) =

2−g
∑

α,β∈Fg
2

exp(−πia1
tβ) θ

[
a′

1+α
b′1+β

]

(u1 + u3) θ
[
a′

2+α
b′2+β

]

(u1 − u3)

×θ
[
a′

3+α
b′3+β

]

(u2 + u4) θ
[
a′

4+α
b′4+β

]

(u2 − u4). ✭✻✳✶✸✮

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✺✸✴✾✶



❈❤❛♣✐tr❡ ✻✳ ◗✉❡❧q✉❡s r❛♣♣❡❧s

P♦s♦♥s u3 = u4 = 0 ❡t r❡♠♣❧❛ç♦♥s u1 ♣❛r u ❡t u2 ♣❛r v✱ ❛❧♦rs ❧❛ ❢♦r♠✉❧❡ ✭✻✳✶✸✮ ❞❡✈✐❡♥t

θ
[
a1
b1

]

(u+ v) θ
[
a2
b2

]

(u− v) θ
[
a3
b3

]

(0) θ
[
a4
b4

]

(0) = 2−g
∑

α,β∈Fg
2

exp(−πia1
tβ)

×θ
[
a′

1+α
b′1+β

]

(u) θ
[
a′

2+α
b′2+β

]

(u) θ
[
a′

3+α
b′3+β

]

(v) θ
[
a′

4+α
b′4+β

]

(v).

✭✻✳✶✹✮

P♦✉r v = 0✱ ❧❛ ❢♦r♠✉❧❡ ✭✻✳✶✹✮ ❞❡✈✐❡♥t

θ
[
a1
b1

]

(u) θ
[
a2
b2

]

(u) θ
[
a3
b3

]

(0) θ
[
a4
b4

]

(0) = 2−g
∑

α,β∈Fg
2

exp(−πia1
tβ)

×θ
[
a′

1+α
b′1+β

]

(u) θ
[
a′

2+α
b′2+β

]

(u) θ
[
a′

3+α
b′3+β

]

(0) θ
[
a′

4+α
b′4+β

]

(0). ✭✻✳✶✺✮

❘❡♠❛rq✉❡ ✻✳✶✵

✶✳ ▲❛ ❢♦r♠✉❧❡ ✭✻✳✶✹✮ ❡st ❛♣♣❡❧é❡ ❢♦r♠✉❧❡ ❞✬❛❞❞✐t✐♦♥ ❞✬❛♣rès ❬■❣✉✼✷❪✳

✷✳ ▲❛ tr❛♥s❢♦r♠❛t✐♦♥ q✉❡ ♥♦✉s ❛✈♦♥s ❡✛❡❝t✉é❡ à ❧❛ r❡♠❛rq✉❡ ✻✳✾ ♣♦✉r ❛✈♦✐r ❧❛ ❢♦r♠✉❧❡
❞✬❛❞❞✐t✐♦♥ s✬❛♣♣❧✐q✉❡ ❛✉ss✐ ♣♦✉r ❧❡s ❝❛r❛❝tér✐st✐q✉❡s ai ❡t bi✳

P❛r ❡①❡♠♣❧❡✱ ❛✈❡❝ ❧❛ ❢♦r♠✉❧❡ ✭✻✳✶✺✮✱ s✐ ❧✬♦♥ ♣♦s❡ a1 = a2✱ a3 = a4✱ b1 = b2 ❡t b3 = b4✱ ❛❧♦rs
a′1 = a1 + a3✱ a′2 = a1 − a3✱ a′3 = 0 ❡t a′4 = 0 ❡t b′1 = b1 + b3✱ b′2 = b1 − b3✱ b′3 = 0 ❡t
b′4 = 0✳ P❛r s✉✐t❡✱ ❧❛ ❢♦r♠✉❧❡ ✭✻✳✶✺✮ s✬é❝r✐t ✿

θ2
[
a1
b1

]

(u) θ2
[
a3
b3

]

(0) = 2−g
∑

α,β∈Fg
2

exp(−πia1
tβ)

×θ
[
a1+a3+α
b1+b3+β

]

(u) θ
[
a1−a3+α
b1−b3+β

]

(u) θ2
[
α
β

]
(0). ✭✻✳✶✻✮

❈❡tt❡ ❞❡r♥✐èr❡ ❢♦r♠✉❧❡ ♣❡✉t s✬é❝r✐r❡ ❞❡ ❢❛ç♦♥ s✐♠♣❧❡✱ s♦✉s ❧❛ ❢♦r♠❡ ✿
[
2g − exp(−πi(a1 + a3)

tb3
]
θ2
[
a1
b1

]

(u) θ2
[
a3
b3

]

(0) =
∑

(α,β) 6=(a3,b3)

exp(−πia1
tβ)θ

[
a1+a3+α
b1+b3+β

]

(u) θ
[
a1−a3+α
b1−b3+β

]

(u) θ2
[
α
β

]
(0). ✭✻✳✶✼✮

❘❡♠❛rq✉❡ ✻✳✶✶ ❙✐ ❧❡s t❤êt❛ g✲❝❛r❛❝tér✐st✐q✉❡s aj s♦♥t ❞❡s é❧é♠❡♥ts ❞❡ Fg
2✱ ❛❧♦rs ❧❛ ❢♦r♠✉❧❡

✭✻✳✶✼✮ s✬é❝r✐t s✐♠♣❧❡♠❡♥t s♦✉s ❧❛ ❢♦r♠❡ ❞❡ ✿
[

2g − (−1)(a1+a3)tb3
]

θ2
[
a1
b1

]

(u)θ2
[
a3
b3

]

(0) =
∑

(α,β) 6=(a3,b3)

(−1)a1
tβθ2

[
a1+a3+α
b1+b3+β

]

(u)θ2
[
α
β

]
(0).

✭✻✳✶✽✮

❊t ❡♥✜♥ s✐ ♦♥ ♣♦s❡ a3 = b3 = 0✱ ❛❧♦rs ♦♥ ♦❜t✐❡♥t ✿

[2g − 1] θ2
[
a1
b1

]

(u) θ2
[
0
0

]
(0) =

∑

(α,β) 6=(0,0)

(−1)a1
tβθ2

[
a1+α
b1+β

]

(u) θ2
[
α
β

]
(0). ✭✻✳✶✾✮

✻✳✸ ◆♦♠❜r❡s p✲❛❞✐q✉❡s

❉❛♥s ❧❛ ❧✐ttér❛t✉r❡✱ ✐❧ ❡①✐st❡ ❞❡✉① ❛♣♣r♦❝❤❡s ♣♦✉r ❧❛ ❞é✜♥✐t✐♦♥ ❞❡s ♥♦♠❜r❡s p✲❛❞✐q✉❡s✳
▲✬✉♥❡ ❝♦♥s✐❞èr❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♥♦♠❜r❡s p−❛❞✐q✉❡s ❝♦♠♠❡ ❧❡ ❝♦♠♣❧été ❞❡ Q ♣♦✉r ✉♥❡ ❝❡r✲
t❛✐♥❡ ♥♦r♠❡ p−❛❞✐q✉❡ ✭✉❧tr❛♠étr✐q✉❡✮ ❡t ❧✬❛✉tr❡ ❞é✜♥✐t ❧❡s p−❛❞✐q✉❡s ❝♦♠♠❡ ✉♥❡ ❝❡rt❛✐♥❡
❧✐♠✐t❡ ♣r♦❥❡❝t✐✈❡✳ ◆♦✉s ♥✬❛❜♦r❞❡r♦♥s q✉❡ ❧❛ ♣r❡♠✐èr❡ ❛♣♣r♦❝❤❡✱ ❡t ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s s✉r
❧❛ s❡❝♦♥❞❡ ❛♣♣r♦❝❤❡✱ ✈♦✐r ❧✬❡①❝❡❧❧❡♥t ❧✐✈r❡ ❞❡ ❙❡rr❡ ❬❙❡r✼✾❪✳

✺✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✻✳✸✳ ◆♦♠❜r❡s p✲❛❞✐q✉❡s

✻✳✸✳✶ ❉é✜♥✐t✐♦♥s ❡t ♣r♦♣r✐étés

◆♦✉s ❛❧❧♦♥s ❞é✜♥✐r ❧❡ ❝♦r♣s ❞❡s ♥♦♠❜r❡s p✲❛❞✐q✉❡s ❡♥ s❡ ❜❛s❛♥t s✉r ❧✬❛♣♣r♦❝❤❡ ❞♦♥♥é❡
♣❛r ❬❑♦❜✽✹✱ ●♦✉✾✼❪✱ ❝♦♠♠❡ ❧❡ ❝♦♠♣❧été ❞❡ Q ♣♦✉r ✉♥❡ ❝❡rt❛✐♥❡ ♥♦r♠❡✳

❉é✜♥✐t✐♦♥ ✻✳✶✷ ❙♦✐t K ✉♥ ❝♦r♣s q✉❡❧❝♦♥q✉❡ ✭✜♥✐ ♦✉ ♥♦♥✮✱ ♦♥ ❛♣♣❡❧❧❡ ♥♦r♠❡ ♦✉ ✈❛❧❡✉r
❛❜s♦❧✉❡ s✉r K ❧❛ ❞♦♥♥é❡ ❞✬✉♥❡ ❛♣♣❧✐❝❛t✐♦♥

| · | : K → R+,

✈ér✐✜❛♥t ❧❡s ❝♦♥❞✐t✐♦♥s s✉✐✈❛♥t❡s ✿

✭✐✮ ♣♦✉r t♦✉t x ∈ K✱ |x| = 0 s✐ ❡t s❡✉❧❡♠❡♥t s✐ x = 0✱

✭✐✐✮ ♣♦✉r t♦✉t x, y ∈ K✱ |x.y| = |x|.|y|✱
✭✐✐✐✮ ♣♦✉r t♦✉t x, y ∈ K✱ |x+ y| ≤ |x|+ |y|✱

◗✉❡❧q✉❡s ❡①❡♠♣❧❡s ❞❡ ♥♦r♠❡s ✿

✶✳ ❧❛ ♥♦r♠❡ ✉s✉❡❧❧❡ s✉r Q✱ ❞♦♥♥é❡ ♣❛r ∀x ∈ Q, |x| = sup(x,−x)✱
✸✳ ❧❛ ♥♦r♠❡ tr✐✈✐❛❧❡ s✉r t♦✉t ❝♦r♣s K ❞♦♥♥é❡ ♣❛r |x| = 1, ∀x 6= 0 ❡t |0| = 0

❯♥❡ ♥♦r♠❡ s✉r ✉♥ ❝♦r♣s K ❡st ❞✐t❡ ♥♦♥✲❛r❝❤✐♠✐❞✐❡♥♥❡ ♦✉ ❜✐❡♥ ✉❧tr❛ ♠étr✐q✉❡ s✐ ❡❧❧❡
✈ér✐✜❡ ❧❛ ❝♦♥❞✐t✐♦♥ s✉✐✈❛♥t❡ ✿

✭✐✈✮ ♣♦✉r t♦✉t x, y ∈ K✱ |x+ y| ≤ max(|x|, |y|)✳
◆♦✉s ❛❧❧♦♥s ❞é✜♥✐r ✉♥❡ ❢❛♠✐❧❧❡ ❞❡ ♥♦r♠❡s ♥♦♥✲❛r❝❤✐♠✐❞✐❡♥♥❡s s✉r Q✳

❉é✜♥✐t✐♦♥ ✻✳✶✸ ❙♦✐t p ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r✳ P♦✉r t♦✉t ❡♥t✐❡r ♥♦♥ ♥✉❧ a ∈ Z, ♦♥ ❛♣♣❡❧❧❡
✈❛❧✉❛t✐♦♥ ❡♥ p ❞❡ a ❡t ♦♥ ♥♦t❡ n = vp(a)✱ ❧❛ ♣❧✉s ❣r❛♥❞❡ ♣✉✐ss❛♥❝❡ ❞❡ p ❞✐✈✐s❛♥t a✳

❙✐ a = 0✱ ♦♥ é❝r✐t vp(0) =∞✳ ◆♦t❡r q✉✬♦♥ ❛ ❛❧♦rs ✉♥❡ ❛♣♣❧✐❝❛t✐♦♥ vp : Z→ Z ✈ér✐✜❛♥t

vp(1) = 0 ❡t vp(ab) = vp(a) + vp(b).

❖♥ ♣❡✉t ét❡♥❞r❡ ❝❡tt❡ ❢♦♥❝t✐♦♥ vp s✉r Q ❡♥ ♣♦s❛♥t✱ ♣♦✉r t♦✉t ♥♦♠❜r❡ r❛t✐♦♥♥❡❧ r =
a/b ∈ Q✱ vp(r) = vp(a)− vp(b)✳ ❆❧♦rs vp(r) ♥❡ ❞é♣❡♥❞ ♣❛s ❞❡ ❧✬é❝r✐t✉r❡ ❢r❛❝t✐♦♥♥❛✐r❡ ❞❡ r✱
✐✳❡✳ s✐ r = ac/bc ❛❧♦rs vp(r) = vp(ac)− vp(bc)✳ ❖♥ ❛ ❧❡ ❧❡♠♠❡ s✉✐✈❛♥t✳

▲❡♠♠❡ ✻✳✶✹ P♦✉r t♦✉t x, y ∈ Q✱ ♦♥ ❛ ✿ vp(a+ b) ≥ min(vp(a), vp(b))✳

❖♥ ♣♦s❡ ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✻✳✶✺ ❖♥ ❛♣♣❡❧❧❡ ♥♦r♠❡ p✲❛❞✐q✉❡ ♦✉ ✈❛❧❡✉r ❛❜s♦❧✉❡ p✲❛❞✐q✉❡✱ ❧✬❛♣♣❧✐❝❛t✐♦♥ ❞♦♥✲
♥é❡ ♣❛r ✿

|x|p =







p−vp(x) s✐ x 6= 0,

0 s✐ x = 0.

✭✻✳✷✵✮

▲❛ ♥♦r♠❡ p✲❛❞✐q✉❡ ❡st ✉♥❡ ♥♦r♠❡ ♥♦♥✲❛r❝❤✐♠✐❞✐❡♥♥❡ s✉r Q✳
P♦✉r ❝♦♥str✉✐r❡ ❧❡ ❝♦r♣s ❞❡s ♥♦♠❜r❡s p✲❛❞✐q✉❡s✱ ♥♦✉s s♦♠♠❡s ❛♠❡♥és à ❞é✜♥✐r ❧❛ ♥♦t✐♦♥

❞❡ ❝♦♠♣❧ét✐♦♥✳

❉é✜♥✐t✐♦♥ ✻✳✶✻ ❙♦✐t K ✉♥ ❝♦r♣s ❡t | . | ✉♥❡ ♥♦r♠❡ s✉r K✳

✶✳ ❯♥❡ s✉✐t❡ (xn)n∈N ❞✬é❧é♠❡♥ts ❞❡ K ❡st ❞✐t❡ s✉✐t❡ ❞❡ ❈❛✉❝❤② s✐ ❡❧❧❡ ✈ér✐✜❡ ✿

∀ ǫ > 0,∃n0 ∈ N t❡❧ q✉❡ (n, n′ ≥ n0 ⇒ |xn − xn′ | < ǫ).

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✺✺✴✾✶



❈❤❛♣✐tr❡ ✻✳ ◗✉❡❧q✉❡s r❛♣♣❡❧s

✷✳ K ❡st ❞✐t ❝♦♠♣❧❡t s✐ t♦✉t❡ s✉✐t❡ ❞❡ ❈❛✉❝❤② ❞❛♥s K ❛❞♠❡t ✉♥❡ ❧✐♠✐t❡ ❞❛♥s K✳

P❛r ❡①❡♠♣❧❡✱ ♣♦✉r ❧❛ ♥♦r♠❡ ✉s✉❡❧❧❡ Q ♥✬❡st ♣❛s ❝♦♠♣❧❡t ❛❧♦rs q✉❡ R ❡t C s♦♥t ❝♦♠♣❧❡ts✳
❉❡ ♠ê♠❡ Q ♥✬❡st ♣❛s ❝♦♠♣❧❡t ♣♦✉r ❧❛ ♥♦r♠❡ p✲❛❞✐q✉❡✳ ❚♦✉t ❝♦♠♠❡ ❧❛ ❝♦♥str✉❝t✐♦♥ ❞❡
R à ♣❛rt✐r ❞❡ Q ♣❛r ❧❡ ❝♦♠♣❧été ❞❡ ❧❛ ✈❛❧❡✉r ❛❜s♦❧✉❡ ✉s✉❡❧❧❡✱ ✐❧ ❡st ♥❛t✉r❡❧ ❞❡ ❝♦♥str✉✐r❡
❧❡ ❝♦♠♣❧été ❞❡ Q ♣❛r ❧❛ ♥♦r♠❡ p✲❛❞✐q✉❡✳ ❆❧♦rs ♥♦t♦♥s ♣❛r C(Q) ❧✬❡♥s❡♠❜❧❡ ❞❡s s✉✐t❡s
❞❡ ❈❛✉❝❤② s✉r Q ❡t ♣❛r I ❧✬❡♥s❡♠❜❧❡ ❞❡s s✉✐t❡s ❞❡ ❈❛✉❝❤② t❡♥❞❛♥t ✈❡rs ③ér♦✳ ❖♥ ♣❡✉t
♠✉♥✐r ❞❡ ❢❛ç♦♥ ♥❛t✉r❡❧❧❡ ❧✬❡♥s❡♠❜❧❡ C(Q) ❞✬✉♥❡ str✉❝t✉r❡ ❞✬❛♥♥❡❛✉ ✉♥✐t❛✐r❡ ✭❛❞❞✐t✐♦♥ ❡t
♠✉❧t✐♣❧✐❝❛t✐♦♥ ❞❡ s✉✐t❡s ♣❛r ❧✬❛❞❞✐t✐♦♥ ❡t ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❞❡s t❡r♠❡s ❣é♥ér❛✉①✮ ❡t I ❡st
❛❧♦rs ✉♥ ✐❞é❛❧ ♠❛①✐♠❛❧ ❞❡ C(Q)✳ ❉♦♥❝ ❧✬❡♥s❡♠❜❧❡ q✉♦t✐❡♥t C(Q)/I ❡st ✉♥ ❝♦r♣s ♥♦r♠é q✉✬♦♥
❛♣♣❡❧❧❡ ❝♦r♣s p✲❛❞✐q✉❡ ❡t q✉❡ ❧✬♦♥ ♥♦t❡ ♣❛r Qp✳

❖♥ ❛♣♣❡❧❧❡ ❧✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs p✲❛❞✐q✉❡s✱ ❧✬❡♥s❡♠❜❧❡ ❞❡s é❧é♠❡♥ts ❞❡ Qp ❞❡ ♥♦r♠❡
p✲❛❞✐q✉❡ ✐♥❢ér✐❡✉r❡ à ✶✱ ♦♥ ❧❡ ♥♦t❡

Zp := {x ∈ Qp : |x|p ≤ 1}.
Pr♦♣♦s✐t✐♦♥ ✻✳✶✼ ❖♥ ❛ ❧❡s ♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

✶✳ ▲✬❛♥♥❡❛✉ Zp ❞❡s ❡♥t✐❡rs p✲❛❞✐q✉❡s ❡st ✉♥ ❛♥♥❡❛✉ ❧♦❝❛❧ ❞✬✐❞é❛❧ ♠❛①✐♠❛❧

pZp = {x ∈ Qp : |x|p < 1}.

✷✳ Qp = Zp [1/p]✱ ✐✳❡✳ ♣♦✉r t♦✉t x ∈ Qp✱ ✐❧ ❡①✐st❡ n t❡❧ q✉❡ pnx ∈ Zp✳

✸✳ Z  Zp✱ Q  Qp ❡t Zp/p
nZp
∼= Z/pnZ

Pr❡✉✈❡ ✿ ✈♦✐r ❬●♦✉✾✼✱ ♣r♦♣♦s✐t✐♦♥ ✸✳✸✳✹❪✳ 2

▲❡ ❝♦r♣s ♦❜t❡♥✉ ❡♥ q✉♦t✐❡♥t❛♥t ❧✬❛♥♥❡❛✉ Zp ♣❛r s♦♥ ✐❞é❛❧ ♠❛①✐♠❛❧ pZp ❡st ❛♣♣❡❧é ❝♦r♣s
rés✐❞✉❡❧ ❞❡ Qp q✉✐ ❡st ❧❡ ❝♦r♣s ✜♥✐ Fp = Zp/pZp✳

❈♦r♦❧❧❛✐r❡ ✻✳✶✽ P♦✉r t♦✉t x ∈ Qp✱ ✐❧ ❡①✐st❡ ✉♥❡ ✉♥✐q✉❡ s✉✐t❡ ❞✬❡♥t✐❡rs (an)n ❞♦♥t ❧❡ t❡r♠❡
❣é♥ér❛❧ ✈ér✐✜❡ 0 ≤ an ≤ p− 1 t❡❧❧❡ q✉❡ x =

∑

n≥n0
anp

n ❛✈❡❝ n0 = vp(x)✳

❈♦♠♠❡ ♥♦✉s ❞❡✈r♦♥s ét✉❞✐❡r ❧❡ r❡❧è✈❡♠❡♥t ❞✬é❧é♠❡♥ts ❞✬✉♥ ❝♦r♣s ✜♥✐ k ❛✈❡❝ q ✉♥❡
♣✉✐ss❛♥❝❡ ❞✬✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p✱ ♥♦✉s ❞❡✈♦♥s ❛❧♦rs ✈♦✐r ❧❡s ❡①t❡♥s✐♦♥s ✜♥✐❡s ❞❡ Qp✳

✻✳✸✳✷ ❊①t❡♥s✐♦♥s ✜♥✐❡s ❞❡ Qp

❈♦♥s✐❞ér♦♥s ❞❛♥s ❝❡tt❡ ♣❛rt✐❡ q✉❡ K ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ Qp ❞❡ ❞❡❣ré m ❞é✜♥✐❡
♣❛r ✉♥ ♣♦❧②♥ô♠❡ ✉♥✐t❛✐r❡ ✐rré❞✉❝t✐❜❧❡ P (X) ∈ Qp [X]✳ ❖♥ ♣❡✉t é❝r✐r❡ K = Qp(α), α ∈
KrQp ❡t ❧✬❡♥s❡♠❜❧❡ {1, α, ..., αm−1} ❡st ✉♥❡ ❜❛s❡ ❞✉ Qp−❡s♣❛❝❡ ✈❡❝t♦r✐❡❧ K✳ ❈♦♥s✐❞ér♦♥s
❧✬❛♣♣❧✐❝❛t✐♦♥ Qp✲❧✐♥é❛✐r❡ s✉✐✈❛♥t❡ ✿ K → K, x 7→ αx✳ ❖♥ ❞é✜♥✐t ❧❛ ♥♦r♠❡ ❞❡ α ❞❡ K ✈❡rs
Qp✱ ❡t ♦♥ ♥♦t❡ ♣❛r NK/Qp

(α)✱ ♣❛r ❧❡ ❞ét❡r♠✐♥❛♥t ❞❡ ❝❡tt❡ ❛♣♣❧✐❝❛t✐♦♥ x 7→ αx✳ ❈❡❧❛ ♣❡r♠❡t
❞✬ét❡♥❞r❡ ❧❛ ✈❛❧❡✉r ❛❜s♦❧✉❡ p✲❛❞✐q✉❡ ❞❡ Qp s✉r K ❞❡ ❧❛ ❢❛ç♦♥ s✉✐✈❛♥t❡ ✿

|.|K : K → R+, |x|K = m

√

|NL/Qp
(x)|p, ❛✈❡❝ m = [K : Qp] .

❉✬❛♣rès ❬❑♦❜✽✹✱ ■■■✳✷❪✱ ❧✬❛♣♣❧✐❝❛t✐♦♥ ♣ré❝é❞❡♥t❡ ❡st ✉♥❡ ♥♦r♠❡ q✉✐ ♣❡r♠❡t ❞✬ét❡♥❞r❡ ❞❡
❢❛ç♦♥ ✉♥✐q✉❡ ❧❛ ♥♦r♠❡ p✲❛❞✐q✉❡ s✉r ❧✬❡①t❡♥s✐♦♥ K/Qp✳

❙♦✐t t♦✉❥♦✉rs K ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ Qp✳ ❈♦♥s✐❞ér♦♥s ❧✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs ❞❡ K
❞♦♥♥é ♣❛r OK = {x ∈ K : |x|K ≤ 1}✱ ❛❧♦rs OK ❡st ✉♥ ❛♥♥❡❛✉ ❧♦❝❛❧ ❞✬✉♥✐q✉❡ ✐❞é❛❧ ♠❛①✐♠❛❧
M = {x ∈ L : |x|L < 1}✳ ▲❡ ❝♦r♣s rés✐❞✉❡❧ ❞❡ K ❡st k := OK/M✳ ❈♦♠♠❡ K ❡st ✉♥❡
❡①t❡♥s✐♦♥ ✜♥✐❡✱ ❛❧♦rs k ❡st ✉♥ ❝♦r♣s ✜♥✐ q✉✐ ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❞✉ ❝♦r♣s rés✐❞✉❡❧ ❞❡ Qp✱ ✐✳❡✳
k ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ Fp ✭✈♦✐r ❬❑♦❜✽✹✱ ♣✳ ✻✹❪ ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s✮✳ ❖♥ ❞✐t q✉✬✉♥❡
❡①t❡♥s✐♦♥ ✜♥✐❡ K ❞❡ Qp ❡st ♥♦♥✲r❛♠✐✜é❡ s✐ p ❡st ✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ ❞❡M✱ ✐✳❡✳M = pOK ✳
▲❡s ❡①t❡♥s✐♦♥s ♥♦♥✲r❛♠✐✜é❡s ❥♦✉❡♥t ✉♥ rô❧❡ ❝❛♣✐t❛❧❡ ❝♦♠♠❡ ❧❡ ♠♦♥tr❡ ❧❛ r❡♠❛rq✉❡ s✉✐✈❛♥t❡✳

✺✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✻✳✸✳ ◆♦♠❜r❡s p✲❛❞✐q✉❡s

❘❡♠❛rq✉❡ ✻✳✶✾ ❘é❝✐♣r♦q✉❡♠❡♥t✱ s♦✐t ✉♥ ❝♦r♣s ✜♥✐ k ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p✳ ❖♥ s❛✐t ❝♦♥str✉✐r❡
❞❡s ❡①t❡♥s✐♦♥s ❞❡ Qp ❛②❛♥t ♣♦✉r ❝♦r♣s rés✐❞✉❡❧ k✳ P❛r♠✐ ❧❡s ❡①t❡♥s✐♦♥s ❞❡ Qp ❛②❛♥t ♣♦✉r
❝♦r♣s rés✐❞✉❡❧ k✱ ✐❧ ❡①✐st❡ ✉♥❡ ❡t ✉♥❡ s❡✉❧❡ ♣❧✉s ♣❡t✐t❡ ❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡ ✭à ✐s♦♠♦r✲
♣❤✐s♠❡ ♣rès✮✳ ▲❛ ❝♦♥str✉❝t✐♦♥ ❞❡ ❝❡tt❡ ❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡ ❢❛✐t ❧✬♦❜❥❡t ❞❡ ❧❛ s❡❝t✐♦♥
s✉✐✈❛♥t❡✳

✻✳✸✳✸ ❘é❞✉❝t✐♦♥ ❡t r❡❧è✈❡♠❡♥t

❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡ ❞❡ Qp ❞❡ ❞❡❣ré ❛❜s♦❧✉ d ❞✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs OK ❡t
❞❡ ❝♦r♣s rés✐❞✉❡❧ k = OK/M✳ ▲❛ ♣r♦❥❡❝t✐♦♥ ♥❛t✉r❡❧❧❡ τ : OK → k, a 7→ a ❡st ❛♣♣❡❧é❡ ❧❛
ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ ❧✬✐❞é❛❧ ♠❛①✐♠❛❧M✳ ❚♦✉t ❛♥té❝é❞❡♥t a0 ❞✬✉♥ é❧é♠❡♥t a0 ∈ k ❡st ❛♣♣❡❧é
✉♥ r❡❧❡✈é ❞❡ a0✳

❙♦✐t ✉♥ ♣♦❧②♥ô♠❡ f(x1, ..., xn) ❞❡ OK [x1, ..., xn]✳ ❖♥ ❛♣♣❡❧❧❡ ❧❛ ré❞✉❝t✐♦♥ ❞❡ f ❡t ♦♥
♥♦t❡ f ✱ ❧❡ ♣♦❧②♥ô♠❡ ♦❜t❡♥✉ à ♣❛rt✐r ❞❡ f ❡♥ ❛♣♣❧✐q✉❛♥t τ à ❝❤❛❝✉♥ ❞❡ s❡s ❝♦❡✣❝✐❡♥ts✳

▼❛✐♥t❡♥❛♥t✱ ♣❛rt❛♥t ❞✬✉♥ ❝♦r♣s ✜♥✐ k ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p ❞❡ ❞❡❣ré ❛❜s♦❧✉ d✱ ♥♦✉s
♣♦✉✈♦♥s ❝♦♥str✉✐r❡ ❧✬❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡ ❞❡ Qp ❞❡ ❞❡❣ré d✳ P♦✉r ❝❡❧❛✱ s♦✐t m(x) ∈
Fp [x] ❧❡ ♣♦❧②♥ô♠❡ ♠✐♥✐♠❛❧ ❞❡ ❧✬❡①t❡♥s✐♦♥ k/Fp✳ ❈♦♥s✐❞ér♦♥s ✉♥ r❡❧❡✈é m(x) ∈ Zp [x] ❞✉
♣♦❧②♥ô♠❡ m(x)✳ ❆❧♦rs✱ m(x) ❡st ✉♥ ♣♦❧②♥ô♠❡ ✐rré❞✉❝t✐❜❧❡ ❞❡ Zp [x] ❡t ❞♦♥❝ (m(x)) ❡st
✉♥ ✐❞é❛❧ ♠❛①✐♠❛❧ ❞❡ Zp [x] ❡t ❛❧♦rs Zp [x] /(m(x)) ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ ❞❡❣ré d =
deg(m(x)) = deg(m(x)) ❞✉ ❝♦r♣s Qp ❞❡s ♥♦♠❜r❡s p−❛❞✐q✉❡s✳ ❉✬♦ù ❧❡ ❝♦r♣s Zp [x] /(m(x))
❡st ♥♦♥✲r❛♠✐✜é❡ ❡t ✿

Zp [x] /(m(x)) = Qpd ❡t OK = Qpd .

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✺✼✴✾✶



❈❤❛♣✐tr❡ ✻✳ ◗✉❡❧q✉❡s r❛♣♣❡❧s

✺✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❈❤❛♣✐tr❡ ✼

❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s

❡❧❧✐♣t✐q✉❡s

❉❛♥s ❝❡ ❝❤❛♣✐tr❡ ❡t ❞❛♥s ❧❡ ♣r♦❝❤❛✐♥✱ ♥♦✉s ❛❧❧♦♥s ✉t✐❧✐s❡r ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❢♦♥❝t✐♦♥s
t❤êt❛ ❞✉ ❝❤❛♣✐tr❡ ✻ ♣♦✉r ♦❜t❡♥✐r ❞❡s ♠♦❞è❧❡s ♣♦✉r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❞✐♠❡♥s✐♦♥ 1 ♦✉ 2✳ ❈❡❝✐
♥♦✉s ♣❡r♠❡t ❞✬❛✈♦✐r r❡s♣❡❝t✐✈❡♠❡♥t ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❡t
s✉r t♦✉t❡s ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s ❤②♣❡r❡❧❧✐♣t✐q✉❡s ❞❡ ❣❡♥r❡ 2 ❞❛♥s ❧❡ ❝❤❛♣✐tr❡ ✽✳

P♦✉r ❧❡ ❝❛s ❞❡ ❧❛ ❞✐♠❡♥s✐♦♥ 1✱ ♥♦✉s ré✐♥t❡r♣rét♦♥s ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❬❊❞✇✵✼❪ s✉r
❧❡ ❝♦r♣s ❞❡s ❝♦♠♣❧❡①❡s ❛✈❡❝ ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛✳ ❊♥s✉✐t❡✱ ♥♦✉s ❡①♣❧✐q✉♦♥s ❝♦♠♠❡♥t ❝❡tt❡
✐♥t❡r♣rét❛t✐♦♥ s❡ tr❛♥s❢èr❡ ❛✉① ❝♦r♣s ✜♥✐s ✈✐❛ ✉♥❡ t❡❝❤♥✐q✉❡ ❞❡ r❡❧è✈❡♠❡♥t✲ré❞✉❝t✐♦♥✳ ▲❡
❝❛s ❞❡s ❝♦r♣s ✜♥✐s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ 2 s❡ tr❛✐t❡ ❞✐✛ér❡♠♠❡♥t ❝❛r ✐❧ ② ❛ ❞❡s ♣r♦❜❧è♠❡s ❞❡
♠❛✉✈❛✐s❡ ré❞✉❝t✐♦♥✳ ◆♦✉s ❧❡✈♦♥s ❝❡s ♦❜st❛❝❧❡s ❡t ♦❜t❡♥♦♥s ✉♥ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡✳
◆♦t♦♥s q✉❡ ❧❡ ❧✐❡♥ ❡♥tr❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉r C ❡t ❧❡ ♠♦❞è❧❡ ❜✐♥❛✐r❡ q✉❡ ❧✬♦♥ ♦❜t✐❡♥t
❡st ♥♦✉✈❡❛✉✳

❊♥ ❣❡♥r❡ 2✱ ♥♦✉s ❛❧❧♦♥s ❞é❝r✐r❡ ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r
❛ss♦❝✐é❡s ❛✉① ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ❞❡ ❞✐♠❡♥s✐♦♥ 2✳ ◆♦✉s ✈❡rr♦♥s ❡♥ q✉♦✐ ❧❡s s✉r❢❛❝❡s ❞❡
❑✉♠♠❡r ♣❡✉✈❡♥t s❡ s✉❜st✐t✉❡r ❛✉① ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ❞❛♥s ❜❡❛✉❝♦✉♣ ❞❡ ❝❛s ❞✬❛♣♣❧✐❝❛t✐♦♥s
❡♥ ❝r②♣t♦❣r❛♣❤✐❡✳ ❉❛♥s ❧❡ ❝❤❛♣✐tr❡ ✽✱ ♥♦✉s r❛♣♣❡❧♦♥s ❞✬❛❜♦r❞ ❧❡s tr❛✈❛✉① ❞❡ ●❛✉❞r② ❬●❛✉✵✼❪
❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ♣✉✐s ❝❡✉① ❞❡ ●❛✉❞r② ❡t ▲✉❜✐❝③ ❬●▲✵✽❪ s✉r ❧❡s ❝♦✉r❜❡s ♦r❞✐♥❛✐r❡s
❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷✳ ◆♦✉s ❞♦♥♥♦♥s ❡♥✜♥ ❞❡s ❢♦r♠✉❧❡s ❡✣❝❛❝❡s ♣♦✉r ❞❡s ❝♦✉r❜❡s ♥♦♥✲
♦r❞✐♥❛✐r❡s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ 2 ❡♥ s✬❛♣♣✉②❛♥t s✉r ❧❡s tr❛✈❛✉① ❞❡ ❬▲P✵✷✱ ▲P✵✹✱ ❉✉❝✵✽✱ ❉✉q✵✼✱
❉✉q✵✽❜❪✳

✼✳✶ ▼♦❞è❧❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡

❊❞✇❛r❞s ❬❊❞✇✵✼❪ ♠♦♥tr❡ q✉✬✉♥❡ ❝♦✉r❜❡ ❞❡ ❧❛ ❢♦r♠❡ x2 + y2 = a2(1 + x2y2) ❞é✜♥✐❡
s✉r ✉♥ ❝♦r♣s K ❡st ❜✐r❛t✐♦♥♥❡❧❧❡♠❡♥t éq✉✐✈❛❧❡♥t❡ s✉r ❧❛ ❝❧ôt✉r❡ ❛❧❣é❜r✐q✉❡ K ❛✉ ♠♦❞è❧❡
❞❡ ❲❡✐❡rstr❛β ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ▲❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ♦❜t❡♥✉❡s s♦♥t très ❡✣❝❛❝❡s
❡t rés✐st❡♥t à ❝❡rt❛✐♥❡s ❛tt❛q✉❡s ♣❛r ❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s ✭❝❛r ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❡t ❧✬❛❞❞✐t✐♦♥
s✬❡✛❡❝t✉❡♥t ❛✈❡❝ ❧❡s ♠ê♠❡s ❢♦r♠✉❧❡s✮✳

❊♥ ✷✵✵✽✱ ❇❡r♥st❡✐♥ ❡t ❛❧✳ ❬❇❇❏+✵✽❪ r❡♠❛rq✉❡♥t q✉❡ ❧✬éq✉✐✈❛❧❡♥❝❡ ❜✐r❛t✐♦♥♥❡❧❧❡ ❞✬❊❞✲
✇❛r❞s ♣❡✉t êtr❡ ❣é♥ér❛❧✐sé❡ s✉r t♦✉t ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✳ ■❧s ✐♥tr♦❞✉✐s❡♥t ❧❡s
❝♦✉r❜❡s ❞✬❊❞✇❛r❞s t✇✐sté❡s q✉✐ ❣é♥ér❛❧✐s❡♥t ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s✳ ❇❡r♥st❡✐♥✱ ▲❛♥❣❡ ❡t ❋❛✲
r❛s❤❛s❤✐ ❬❇▲❋✵✽❪ ♣r♦♣♦s❡♥t ❡♥s✉✐t❡ ❞❡✉① ✈❡rs✐♦♥s ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉r ❧❡s ❝♦r♣s ❞❡
❝❛r❛❝tér✐st✐q✉❡ 2✳ ❉❛♥s ❝❡ ❞❡r♥✐❡r ❛rt✐❝❧❡✱ ❧❡s ❛✉t❡✉rs ♥❡ ♠♦♥tr❡♥t ♣❛s ❧❡ ❧✐❡♥ ❢♦r♠❡❧ q✉✐
❡①✐st❡ ❡♥tr❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❡t ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❣é♥ér❛❧ ✿ ❧❡✉r ❛♣♣r♦❝❤❡

✺✾



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

❝♦♥s✐st❡ à tr♦✉✈❡r ✉♥ ♠♦❞è❧❡ ❛②❛♥t t♦✉t❡s ❧❡s ❜♦♥♥❡s ♣r♦♣r✐étés ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s✳
❉❛♥s ♥♦tr❡ ♣rés❡♥t❛t✐♦✐♥ ♥♦✉s ❝♦♠❜❧♦♥s ❝❡tt❡ ❧❛❝✉♥❡ ❡♥ ♠♦♥tr❛♥t q✉❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✲
✇❛r❞s ❜✐♥❛✐r❡ s✬♦❜t✐❡♥t ❝♦♠♠❡ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ 2 ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❣é♥ér❛❧✳

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ❡♥ ✉t✐❧✐s❛♥t ❧❡s r❡❧❛t✐♦♥s t❤êt❛ ❞❡ ❘✐❡♠❛♥♥ ♣♦✉r g = ✶✱ ♥♦✉s r❡tr♦✉✲
✈♦♥s ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❛✐♥s✐ q✉❡ ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥s ❞❡ ❝❡ ♠♦❞è❧❡ s✉r C✳ ❊♥ ✉t✐❧✐s❛♥t
❧❡ ♣r✐♥❝✐♣❡ ❞❡ ▲❡❢s❝❤❡t③✱ ♥♦✉s ❡①♣❧✐q✉❡r♦♥s ♣♦✉rq✉♦✐ ❧❡s rés✉❧t❛ts s✉r C s♦♥t ✈❛❧❛❜❧❡s s✉r
t♦✉t ❝♦r♣s ✜♥✐ k ❞❡ ❝❛r❛❝tér✐st✐q✉❡ p ≥ 3✳

✼✳✶✳✶ ▼♦❞è❧❡ s✉r C

▲❡s ❢♦♥❝t✐♦♥s t❤êt❛ q✉❡ ♥♦✉s ❝♦♥s✐❞ér♦♥s s♦♥t à ✈❛❧❡✉rs ❞❛♥s C✳ ❊❝r✐✈♦♥s ❧❛ ❢♦r♠✉❧❡
✭✻✳✶✾✮ ✿

θ2 [ab ] (u) θ
2
[
0
0

]
(0) =

∑

(α,β) 6=(0,0)

(−1)aβθ2
[
a+α
b+β

]

(u) θ2
[
α
β

]
(0)

❛✈❡❝ a, b, α, β ∈ F2✳ P♦✉r a, b ♣❛r❝♦✉r❛♥t F2✱ ♥♦✉s ❛✈♦♥s ❧❡ s②stè♠❡ s✉✐✈❛♥t ✿

(S) :







θ2
[
0
0

]
(u) θ2

[
0
0

]
(0) = θ2

[
0
1

]
(u) θ2

[
0
1

]
(0) + θ2

[
1
0

]
(u) θ2

[
1
0

]
(0) s✐ (a, b) = (0, 0)

θ2
[
0
1

]
(u) θ2

[
0
0

]
(0) = θ2

[
0
0

]
(u) θ2

[
0
1

]
(0) + θ2

[
1
1

]
(u) θ2

[
1
0

]
(0) s✐ (a, b) = (0, 1)

θ2
[
1
0

]
(u) θ2

[
0
0

]
(0) = θ2

[
0
0

]
(u) θ2

[
1
0

]
(0) − θ2

[
1
1

]
(u) θ2

[
0
1

]
(0) s✐ (a, b) = (1, 0)

θ2
[
1
1

]
(u) θ2

[
0
0

]
(0) = θ2

[
0
1

]
(u) θ2

[
1
0

]
(0) − θ2

[
1
0

]
(u) θ2

[
0
1

]
(0) s✐ (a, b) = (1, 1)

P♦✉r s✐♠♣❧✐✜❡r ❧✬é❝r✐t✉r❡✱ ♣♦s♦♥s θn = θ
[
n1
n2

]
❛✈❡❝ n ✉♥ ❡♥t✐❡r ❞♦♥t ❧✬é❝r✐t✉r❡ ❜✐♥❛✐r❡ s✬é❝r✐t

s♦✉s ❧❛ ❢♦r♠❡ ❞❡ n = (n1n2)2✳ ❖♥ ❛ ❛❧♦rs θ0 = θ
[
0
0

]
✱ θ1 = θ

[
1
0

]
✱ θ2 = θ

[
0
1

]
❡t θ3 = θ

[
1
1

]
✳ ▲❡

s②stè♠❡ (S) s✬é❝r✐t ❛❧♦rs

(S) :







θ2
0(u) θ

2
0(0) = θ2

1(u) θ
2
1(0) + θ2

2(u) θ
2
2(0)

θ2
1(u) θ

2
0(0) = θ2

0(u) θ
2
1(0) + θ2

3(u) θ
2
2(0)

θ2
2(u) θ

2
0(0) = θ2

0(u) θ
2
2(0) − θ2

3(u) θ
2
1(0)

θ2
3(u) θ

2
0(0) = θ2

1(u) θ
2
2(0) − θ2

2(u) θ
2
1(0)

.

▲❡ s②stè♠❡ (S) ❡st ✉♥ s②stè♠❡ ❧✐♥é❛✐r❡ ❡♥ (θ2
0, θ

2
1, θ

2
2, θ

2
3) ❡t s✬♦❜t✐❡♥t ♣❛r ❧✬éq✉❛t✐♦♥ ♠❛tr✐✲

❝✐❡❧❧❡ s✉✐✈❛♥t❡ ✿

(S) :
[
θ2
0(u) θ2

1(u) θ2
2(u) θ2

3(u)
]
M =

[
0 0 0 0

]
,

❛✈❡❝ M ❧❛ ♠❛tr✐❝❡ s②♠étr✐q✉❡ s✉✐✈❛♥t❡

M =







θ2
0(0) −θ2

1(0) −θ2
2(0) 0

−θ2
1(0) θ2

0(0) 0 −θ2
2(0)

−θ2
2(0) 0 θ2

0(0) −θ2
1(0)

0 −θ2
2(0) θ2

1(0) θ2
0(0)






.

▲❡ ❞ét❡r♠✐♥❛♥t ❞❡ M ❡st é❣❛❧ à ❞❡t(M) =
(
θ4
0(0)− θ4

1(0)− θ4
2(0)

) (
θ4
0(0) + θ4

1(0)− θ4
2(0)

)
✳

❉✬❛♣rès ❧❛ r❡❧❛t✐♦♥ t❤êt❛ ❞❡ ❏❛❝♦❜✐ θ4
0(0) = θ4

1(0) + θ4
2(0)✱ ❧❡ ❞ét❡r♠✐♥❛♥t ❞❡ M ❡st ♥✉❧✱

❝❡ q✉✐ s✐❣♥✐✜❡ q✉❡ S ❡st ❧✐é✳ ■❧ ❡st ❢❛❝✐❧❡ ❞❡ ♠♦♥tr❡r q✉❡ ❧❡ r❛♥❣ ❞❡ M ❡st é❣❛❧ à ✷✳ P♦✉r
tr♦✉✈❡r ❧❛ r❡❧❛t✐♦♥ q✉✐ ❧✐❡ θ2

0(u), θ
2
1(u), θ

2
2(u) ❡t θ

2
3(u)✱ ❡✛❡❝t✉♦♥s ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s

s✉✐✈❛♥t ✿

X(u) =
θ0(u)

θ2(u)
❡t Y (u) =

θ3(u)

θ1(u)
,

✻✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✼✳✶✳ ▼♦❞è❧❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡

❛❧♦rs ❧❡s éq✉❛t✐♦♥s ✭✸✮ ❡t ✭✶✮ ❞❡ (S) ❞♦♥♥❡♥t r❡s♣❡❝t✐✈❡♠❡♥t ❧❡s ❢♦r♠✉❧❡s ✿
(
X2(u) θ2

2(0) − θ2
0(0)

)
θ2
2(u) = θ2

3(u) θ
2
1(0)

(
X2(u) θ2

0(0) − θ2
2(0)

)
θ2
2(u) = θ2

1(u) θ
2
1(0)

❊t ❧❡ r❛♣♣♦rt ❞❡ ❝❡s ❞❡✉① éq✉❛t✐♦♥s ❞♦♥♥❡

X2(u)θ2
2(0)− θ2

0(0)

X2(u)θ2
0(0)− θ2

2(0)
=
θ2
3(u)

θ2
1(u)

= Y 2(u)

♦✉ ❜✐❡♥ ❞❡ ❢❛ç♦♥ éq✉✐✈❛❧❡♥t❡ ✿

X2(u) + Y 2(u) =
θ2
0(0)

θ2
2(0)

(
1 +X2(u)Y 2(u)

)
. ✭✼✳✶✮

❈❡❝✐ ❡st ❜✐❡♥ ❧❡ ♠♦❞è❧❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ❬❊❞✇✵✼❪✱ ❛✈❡❝ ❝♦♠♠❡ ♣❛r❛♠ètr❡ θ0(0)/θ2(0)✳
▲❛ ✜❣✉r❡ ✼✳✶ ❞♦♥♥❡ ✉♥ ❛♣❡rç✉ ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❡t ❞✉ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β ❞✬✉♥❡
❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r R✳

❋✐❣✳ ✼✳✶ ✕ ▼♦❞è❧❡s ❞✬❊❞✇❛r❞s ❡t ❞❡ ❲❡✐❡rstr❛β ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r R

✼✳✶✳✷ ❋♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ s✉r C

❖♥ s❛✐t ❞és♦r♠❛✐s ❝♦♠♠❡♥t ❡①♣r✐♠❡r à ❧✬❛✐❞❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❧❡ s②stè♠❡ ❞❡ ❝♦♦r✲
❞♦♥♥é❡s ❞♦♥♥❛♥t ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉r C✳ ❊♥ ❢❛✐t✱ ♥♦✉s ❛✈♦♥s

X(u) =
θ0(u)

θ2(u)
=
θ00(u)

θ10(u)
❡t Y (u) =

θ3(u)

θ1(u)
=
θ11(u)

θ01(u)
.

❖♥ r❛♣♣❡❧❧❡ ❧❛ ❢♦r♠✉❧❡ ❞✬❛❞❞✐t✐♦♥ ✭✻✳✶✹✮ ❞❡s t❤êt❛ 1✲❝❛r❛❝tér✐st✐q✉❡s ❡♥t✐èr❡s ✿

θ
[
a1
b1

]

(u+ v) θ
[
a2
b2

]

(u− v) θ
[
a3
b3

]

(0)θ
[
a4
b4

]

(0) = 2−g
∑

α,β∈Fg
2

(−1)a1
tβ

×θ
[
a′

1+α
b′1+β

]

(u) θ
[
a′

2+α
b′2+β

]

(u)θ
[
a′

3+α
b′3+β

]

(v) θ
[
a′

4+α
b′4+β

]

(v).

❉❡ ❝❡tt❡ ❢♦r♠✉❧❡✱ ♥♦✉s ❞é❞✉✐s♦♥s ✿

θ0(u+ v) θ1(u− v) θ0(0) θ1(0) = θ0(u) θ1(u) θ0(v) θ1(v)− θ2(u) θ3(u) θ2(v) θ3(v), ✭✼✳✷✮

θ2(u+ v) θ1(u− v) θ1(0) θ2(0) = θ1(u) θ2(u) θ1(v) θ2(v)− θ0(u) θ3(u)θ0(v) θ3(v), ✭✼✳✸✮

θ3(u+ v) θ2(u− v) θ0(0) θ1(0) = θ0(u) θ1(u) θ2(v) θ3(v) + θ2(u) θ3(u) θ0(v) θ1(v), ✭✼✳✹✮

θ1(u+ v) θ2(u− v) θ1(0) θ2(0) = θ0(u) θ3(u) θ0(v) θ3(v) + θ1(u) θ2(u) θ1(v) θ2(v). ✭✼✳✺✮

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✻✶✴✾✶



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

❉✐✈✐s♦♥s ♠❛✐♥t❡♥❛♥t ❧❡s ❢♦r♠✉❧❡s ✭✼✳✷✮✱ ✭✼✳✸✮✱ ✭✼✳✹✮ ❡t ✭✼✳✺✮ ♣❛r ❧❡ ♣r♦❞✉✐t θ2(u)θ2(v)θ1(u)θ1(v)✱
♦♥ ♦❜t✐❡♥t ❛❧♦rs

θ0(u+ v) θ1(u− v) θ0(0) θ1(0)

θ2(u) θ2(v) θ1(u) θ1(v)
=

θ0(u)

θ2(u)

θ0(v)

θ2(v)
− θ3(u)

θ2(u)

θ3(v)

θ2(v)
,

θ2(u+ v) θ1(u− v) θ1(0) θ2(0)

θ2(u) θ2(v) θ1(u) θ1(v)
= 1− θ0(u)

θ2(u)

θ0(v)

θ2(v)

θ3(u)

θ1(u)

θ3(v)

θ1(v)
,

θ3(u+ v) θ2(u− v) θ0(0) θ1(0)

θ2(u) θ2(v) θ1(u) θ1(v)
=

θ0(u)

θ2(u)

θ3(v)

θ1(v)
+
θ0(v)

θ2(v)

θ3(u)

θ1(u)
,

θ1(u+ v) θ2(u− v)θ1(0) θ2(0)

θ2(u) θ2(v) θ1(u) θ1(v)
= 1 +

θ0(u)

θ2(u)

θ3(u)

θ1(u)

θ0(v)

θ2(v)

θ3(v)

θ1(v)
.

❋❛✐s♦♥s ❧❡s r❛♣♣♦rts ❞❡ ❧❛ ♣r❡♠✐èr❡ s✉r ❧❛ ❞❡✉①✐è♠❡ ♣✉✐s ❧❡ r❛♣♣♦rt ❞❡ ❧❛ tr♦✐s✐è♠❡ s✉r
❧❛ q✉❛tr✐è♠❡ ❡♥ s❡ r❛♣♣❡❧❛♥t q✉❡

X(u) =
θ0(u)

θ2(u)
=
θ00(u)

θ10(u)
❡t Y (u) =

θ3(u)

θ1(u)
=
θ11(u)

θ01(u)
.

❖♥ ♦❜t✐❡♥t

X(u+ v) =
θ2(0)

θ0(0)

X(u)X(v)− Y (u)Y (v)

1−X(u)X(v)Y (u)Y (v)
✭✼✳✻✮

Y (u+ v) =
θ2(0)

θ0(0)

X(u)Y (v) + Y (u)X(v)

1 +X(u)X(v)Y (u)Y (v)
. ✭✼✳✼✮

▲❡s ❢♦r♠✉❧❡s ✭✼✳✻✮ ❡t ✭✼✳✼✮ s♦♥t ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ✭✼✳✶✮
❬❊❞✇✵✼❪✳ ◆♦✉s ❛✈♦♥s ✉t✐❧✐sé ❧❛ t❤é♦r✐❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ s✉r C ♣♦✉r tr♦✉✈❡r ❧❡ ♠♦❞è❧❡
❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s s✉r C ❡t ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❞❡ ❝❡ ♠♦❞è❧❡✳ ❉❛♥s ❧❡ ♣r♦❝❤❛✐♥
♣❛r❛❣r❛♣❤❡✱ ♥♦✉s ❛❧❧♦♥s ✉t✐❧✐s❡r ❞❡s t❡❝❤♥✐q✉❡s ❞❡ ré❞✉❝t✐♦♥ ❡t r❡❧è✈❡♠❡♥t ♣♦✉r ♠♦♥tr❡r ❧❛
✈❛❧✐❞✐té ❞❡s rés✉❧t❛ts s✉r t♦✉t ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✳

✼✳✶✳✸ ❊♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡

❙♦✐t K ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡ ❞❡ Qp ✭❛✈❡❝ p ✉♥ ❡♥t✐❡r ♣r❡♠✐❡r ✐♠♣❛✐r✮✱ ❞✬❛♥♥❡❛✉
❞❡s ❡♥t✐❡rs OK ❡t ❞❡ ❝♦r♣s rés✐❞✉❡❧ k✳ ❙♦✐t τ : OK → k, a 7→ a ❧✬❛♣♣❧✐❝❛t✐♦♥ ❞❡ ré❞✉❝t✐♦♥
♠♦❞✉❧♦ ❧✬✐❞é❛❧ ♠❛①✐♠❛❧M ❞❡ OK ✳ ❈♦♥s✐❞ér♦♥s ψ : K → C ✉♥ ♣❧♦♥❣❡♠❡♥t ❞❡ K ❞❛♥s C
✭❝❢ ❬❘♦❜✵✵✱ ♣✳ ✶✹✹✲✶✹✺❪✮ q✉❡ ❧✬♦♥ ✜①❡ ♣♦✉r ❧❡ r❡st❡ ❞❡ ❝❡tt❡ s❡❝t✐♦♥✳

❙♦✐t E : y2 = x3 + a2x
2 + a4x+ a6 ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k✳ ❈♦♥s✐❞ér♦♥s ✉♥

r❡❧❡✈é E : y2 = x3 +a2x
2 +a4x+a6 ❞❡ E✳ ▲❛ ❝♦✉r❜❡ E ❞é✜♥✐❡ s✉r OK ♣❡✉t êtr❡ ❝♦♥s✐❞éré❡

✈✐❛ ψ ❝♦♠♠❡ ✉♥❡ ❝♦✉r❜❡ à ❝♦❡✣❝✐❡♥ts ❞❛♥s C ♦✉ ♣❧✉s ❡①❛❝t❡♠❡♥t ❞❛♥s ψ(K)✳
❉✬❛♣rès ❧❡s ❝♦♥s✐❞ér❛t✐♦♥s q✉✐ ♣ré❝é❞❡♥t✱ E ❡st ❜✐r❛t✐♦♥♥❡❧❧❡♠❡♥t éq✉✐✈❛❧❡♥t❡ à ✉♥ ♠♦✲

❞è❧❡ ❞✬❊❞✇❛r❞s ❞♦♥♥é ♣❛r ✉♥❡ éq✉❛t✐♦♥ ✿

E❊❞ : X2 + Y 2 =
θ
[
0
0

]2
(0)

θ
[
1
0

]2
(0)

(
1 +X2Y 2

)
.

❈❡ ♠♦❞è❧❡ s❡ ré❞✉✐t ♠♦❞✉❧♦ p à ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t ❧✬❛♣♣❧✐❝❛t✐♦♥ ❜✐r❛t✐♦♥♥❡❧❧❡ ❡♥tr❡ E
❡t E❊❞ ét❛♥t ❛❧❣é❜r✐q✉❡ ❛ ❛✉ss✐ ✉♥ s❡♥s ♠♦❞✉❧♦ p✳ ❖♥ ❡♥ ❞é❞✉✐t q✉❡ E❊❞ ❡st ✉♥ ♠♦❞è❧❡
❞❡ E ❞é✜♥✐❡ s✉r ✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ ❞❡❣ré ✹ ❞❡ k✳

❈❡♣❡♥❞❛♥t E❊❞ s❡ ré❞✉✐t ♠♦❞✉❧♦ ✷ ❡♥ ✉♥❡ ❝♦✉r❜❡ s✐♥❣✉❧✐èr❡ s✉r t♦✉t ❝♦r♣s ❞❡ ❝❛r❛❝té✲
r✐st✐q✉❡ ✷✳ ▲❛ rés♦❧✉t✐♦♥ ❞❡ ❝❡ ♣r♦❜❧è♠❡ ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷ ✈❛ ❝♦♥st✐t✉❡r ❧✬♦❜❥❡t ❞❡ ♥♦tr❡
♣r♦❝❤❛✐♥❡ s❡❝t✐♦♥✳

✻✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✼✳✷✳ ❈♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

✼✳✷ ❈♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

❊♥ ✷✵✵✽✱ ❇❡r♥st❡✐♥✱ ▲❛♥❣❡ ❡t ❋❛r❛s❤❛s❤✐ ❬❇▲❋✵✽❪ ❞♦♥♥❡♥t ✉♥ ♠♦❞è❧❡ ❞❡ ❧❛ ❝♦✉r❜❡
❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷ q✉✐ r❡s♣❡❝t❡ ✉♥❡ ♣r♦♣r✐été ❞❡ s②♠étr✐❡ ✿ (x, y) ❡st ✉♥ é❧é♠❡♥t
❞❡ ❧❛ ❝♦✉r❜❡ s✐ ❡t s❡✉❧❡♠❡♥t s✐ (y, x) ❡st ✉♥ é❧é♠❡♥t ❞❡ ❧❛ ❝♦✉r❜❡✳

▲✬♦❜❥❡❝t✐❢ ❞❡ ❝❡tt❡ s❡❝t✐♦♥ ❡st ❞❡ ❥✉st✐✜❡r ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❡♥ ♠♦♥tr❛♥t
q✉✬✐❧ s✬♦❜t✐❡♥t ♥❛t✉r❡❧❧❡♠❡♥t ♣❛r ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ ✷ ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❤❛❜✐t✉❡❧ ❛♣rès
❛✈♦✐r ❡✛❡❝t✉é ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ❝♦♦r❞♦♥♥é❡s ❞❡st✐♥é à é✈✐t❡r ❧❡s ♣r♦❜❧è♠❡s ❞❡ ♠❛✉✈❛✐s❡
ré❞✉❝t✐♦♥✳ ▲❡ ♠♦❞è❧❡ q✉❡ ♥♦✉s ♦❜t❡♥♦♥s ❞♦♥♥❡ ✉♥❡ s♦✉s✲❢❛♠✐❧❧❡ ❞✉ ♠♦❞è❧❡ ❞❡ ❬❇▲❋✵✽❪✳

✼✳✷✳✶ ▼♦❞è❧❡ ❞❡ ❧❛ ❝♦✉r❜❡

❙♦✐t k ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷ ❡t ❞❡ ❞❡❣ré ❞✬❡①t❡♥s✐♦♥ ❛❜s♦❧✉ d ✳ ❖♥ ♥♦t❡ ♣❛r
τ : Z2d → k ❧❛ ré❞✉❝t✐♦♥ q✉✐ à Z2d ∋ x 7→ x ∈ k. ❈♦♥s✐❞ér♦♥s ✉♥❡ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s

E❊❞ : X2(u) + Y 2(u) =
θ2
0(0)

θ2
2(0)

(
1 +X2(u)Y 2(u)

)
,

à ❝♦❡✣❝✐❡♥ts ❞❛♥s Z2d ✳ ▲❛ ❝♦✉r❜❡ E❊❞ ❡st ❞é✜♥✐❡ s✉r ❧❡ ❝♦r♣s ❞❡s ♥♦♠❜r❡s 2−❛❞✐q✉❡s
Q2d ✳ ❘❛♣♣❡❧♦♥s q✉❡ ❧❛ ré❞✉❝t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡ E❊❞ ❞♦♥♥❡ ✉♥❡ ❝♦✉r❜❡ E/k s✐♥❣✉❧✐èr❡✳ P♦✉r
rés♦✉❞r❡ ❝❡ ♣r♦❜❧è♠❡✱ ♥♦✉s ❛❧❧♦♥s ❢❛✐r❡ ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ❡♥ t❡♥♥❛♥t ❝♦♠♣t❡ ❞❡s
✈❛❧✉❛t✐♦♥s s✉r ❧❡s ❝♦❡✣❝✐❡♥ts q✉❡ ❧✬♦♥ ♦❜t✐❡♥t à ❧✬❛✐❞❡ ❞✬✉♥❡ ❝❡rt❛✐♥❡ éq✉❛t✐♦♥ ♠♦❞✉❧❛✐r❡✳
P♦✉r ❝❡❧❛✱ ♥♦✉s ❛✈♦♥s ❜❡s♦✐♥ ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✼✳✶ ❙♦✐t E/k ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r k✳ ❯♥ r❡❧❡✈é E/Z2d ❞❡ E/k ❡st
❞✐t ❝❛♥♦♥✐q✉❡ s✐ ❧❡s ❛♥♥❡❛✉① ❞❡s ❡♥❞♦♠♦r♣❤✐s♠❡s ❞❡ E/Z2d ❡t ❞❡ E/k s♦♥t ✐s♦♠♦r♣❤❡s
✭✐✳❡✳ ❊♥❞(E/Z2d) ≡ ❊♥❞(E/k)✮ ✈✐❛ ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ ré❞✉❝t✐♦♥✳

❋✐①♦♥s ✉♥ ♣❧♦♥❣❡♠❡♥t ψ : Q2d → C ❡t ❝♦♥s✐❞ér♦♥s E/Z2d ×Z
2d
Q2d ❝♦♠♠❡ ✉♥❡ ❝♦✉r❜❡

s✉r C ✈✐❛ ❧❡ ♣❧♦♥❣❡♠❡♥t ψ✳ ❉✬❛♣rès ❧❛ s❡❝t✐♦♥ ✼✳✶✳✶✱ ♥♦✉s ❝♦♥♥❛✐ss♦♥s ✉♥ ♠♦❞è❧❡ ❞❡ ❧❛
❝♦✉r❜❡ E ♣❧♦♥❣é❡ ❞❛♥s ❧❡ ♣❧❛♥ ❛✣♥❡ ✈✐❛ ❧❡s ❝♦♦r❞♦♥♥é❡s

X(u) =
θ00(u)

θ10(u)
❡t Y (u) =

θ11(u)

θ01(u)
.

❉ès ❧♦rs✱ ❡✛❡❝t✉♦♥s ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s s✉✐✈❛♥t ❬▼✉♠✻✻❪ ✿






θ00(u) = Z0(u) + Z2(u)
θ01(u) = Z1(u) + Z3(u)
θ10(u) = Z0(u)− Z2(u)
θ11(u) = Z1(u)− Z3(u)

. ✭✼✳✽✮

❆❧♦rs ❧❡s t❤êt❛ ❝♦♥st❛♥t❡s s✬♦❜t✐❡♥♥❡♥t ♣❛r ❧❡s r❡❧❛t✐♦♥s ✿






θ00(0) = Z0(0) + Z2(0)
θ01(0) = Z1(0) + Z3(0) = 2Z1(0)
θ10(0) = Z0(0)− Z2(0)
θ11(0) = Z1(0)− Z3(0) = 0

. ✭✼✳✾✮

❉✬❛♣rès ❬❈❛r✵✺❪✱ s✉r ❧❡ r❡❧❡✈é ❝❛♥♦♥✐q✉❡✱ ❧❡s Zi(0) ♣♦✉r i = 0, 1, 2, 3 ✈ér✐✜❡♥t ❧❛ r❡❧❛t✐♦♥
s✉✐✈❛♥t❡

Z2
i (0) =

∑

j∈Z/4Z

σ(Zi+j(0))σ(Zj(0)), ✭✼✳✶✵✮

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✻✸✴✾✶



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

♦ù σ ❡st ❧❡ r❡❧è✈❡♠❡♥t ❞✉ ♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s s✉r Z2d ✳ ❙♦✐t v2 ❧❛ ✈❛❧✉❛t✐♦♥ 2−❛❞✐q✉❡
s✉r ❧✬❛♥♥❡❛✉ Z2d ✳ ❆❧♦rs ❧❛ r❡❧❛t✐♦♥ ✭✼✳✶✵✮ ♣❡r♠❡t ❞❡ ♠♦♥tr❡r q✉❡ v2(Zi(0)) ≥ 1 s✐ i 6= 0 ❡t
Z0(0) mod 2 = 1 ✭♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧ ✈♦✐r ❬●▲✵✽❪✮✳ ❆❧♦rs ♣♦✉r i = 0, 1, 2, 3✱ ✐❧ ❡①✐st❡ ❞❡s
ci ∈ Z2d t❡❧s q✉❡ Z0(0) = 1 + 2c0 ❡t Zi(0) = 2ci ♣♦✉r i 6= 0✳ ❉ès ❧♦rs✱ ♦♥ ♣❡✉t ❝❛❧❝✉❧❡r ❧❡
♣❛r❛♠ètr❡ ❞❡ ❧❛ ❝♦✉r❜❡ E❊❞ ❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♥♦✉✈❡❧❧❡s ❝♦♦r❞♦♥♥é❡s (Z0, Z1, Z2, Z3)✳ ❖♥ ❛ ✿

θ00(0)

θ10(0)
=
Z0(0) + Z2(0)

Z0(0)− Z2(0)
=

1 + 2(c0 + c2)

1 + 2(c0 − c2)
.

❉✬❛✉tr❡s ♣❛rt✱ ❧❡s ❢♦r♠✉❧❡s ✭✼✳✽✮ ♣❡r♠❡tt❡♥t ❞✬é❝r✐r❡ ✿

X(u) =
θ00(u)

θ10(u)
=
Z0(u) + Z2(u)

Z0(u)− Z2(u)
❡t Y (u) =

θ11(u)

θ01(u)
=
Z1(u)− Z3(u)

Z1(u) + Z3(u)
.

P♦s♦♥s ❧❡s ❢♦♥❝t✐♦♥s xu =
Z0(u)

Z2(u)
❡t yu =

Z3(u)

Z1(u)
✱ ❛❧♦rs

X(u) =
xu + 1

xu − 1
❡t Y (u) =

1− yu

1 + yu
. ✭✼✳✶✶✮

❘❡♠♣❧❛ç♦♥s ❛❧♦rs ❧❡s ❡①♣r❡ss✐♦♥s ❞❡ X(u) ❡t Y (u) ❞❛♥s ❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s✱
♦♥ ♦❜t✐❡♥t ❛❧♦rs

(2c0c2 + c2)(x
2
uy

2
u + x2

u + y2
u)− 4(c20 + c22 + c0)xuyu − xuyu + c2 + 2c0c2 = 0.

❊♥ ré❞✉✐s❛♥t ♠♦❞✉❧♦ ✷ ❧✬éq✉❛t✐♦♥ ♣ré❝é❞❡♥t❡✱ ♦♥ ♦❜t✐❡♥t ❧❛ ❢♦r♠❡ ❞❡ ❧✬éq✉❛t✐♦♥ ❞✬❊❞✇❛r❞s
❜✐♥❛✐r❡✳ ❖♥ ♣❡✉t ❛❧♦rs ❞♦♥♥❡r ❧❛ ❞é✜♥✐t✐♦♥ s✉✐✈❛♥t❡ ✿

❉é✜♥✐t✐♦♥ ✼✳✷ ❙♦✐t k ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷✳ ❯♥ ♠♦❞è❧❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s
❜✐♥❛✐r❡ s✉r k ♣❡✉t s✬é❝r✐r❡ s♦✉s ❧❛ ❢♦r♠❡ ❞❡ ✿

Ec : x2 + y2 +
1

c
xy = 1 + x2y2, ❛✈❡❝ c = c2 ∈ k∗ := k \ {0}. ✭✼✳✶✷✮

▲❡ ❣❡♥r❡ ❞❡ ❧❛ ❝♦✉r❜❡ ✭✼✳✶✷✮ ❡st é❣❛❧ à ✶ ✭❝❡❧❛ s❡ ❞é♠♦♥tr❡ ❡♥ ✉t✐❧✐s❛♥t ❧❛ ❢♦r♠✉❧❡ ❣é♥ér❛❧❡
❞❡ ❝❛❧❝✉❧ ❞✉ ❣❡♥r❡ à ♣❛rt✐r ❞❡ ❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡✱ ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s ✈♦✐r ❋✉❧t♦♥
❬❋✉❧✻✾✱ ♣✳ ✶✾✾❪ ♦✉ ❬❍❛❝✾✻✱ ♣✳ ✸✺❪✮✳

❆✜♥ ❞✬é❝r✐r❡ ❧✬❛❞❞✐t✐♦♥ s✉r ❧❡s ♣♦✐♥ts ❞❡ 4−t♦rs✐♦♥✱ ♥♦✉s ❛✈♦♥s ❜❡s♦✐♥ ❞✬ét✉❞✐❡r ❧❡s
♣♦✐♥ts ❞❡ s✐♥❣✉❧❛r✐té ❞❡ ❧❛ ❝♦✉r❜❡ ❡t ❞❡ ❢❛✐r❡ ✉♥ é❝❧❛t❡♠❡♥t ❡♥ s❡s s✐♥❣✉❧❛r✐tés✳

❙✐♥❣✉❧❛r✐té✳ ❯♥❡ éq✉❛t✐♦♥ ♣r♦❥❡❝t✐✈❡ ❞❡ ❧❛ ❝♦✉r❜❡ Ec ❡st ❞♦♥♥é❡ ♣❛r ✿

c(X2Y 2 +X2Z2 + Y 2Z2 + Z4) +XY Z2 = 0. ✭✼✳✶✸✮

P♦s♦♥s f(X,Y, Z) = c(X2Y 2 +X2Z2 + Y 2Z2 + Z4) +XY Z2✱ ❛❧♦rs ❧❡s ❞ér✐✈é❡s ♣❛rt✐❡❧❧❡s
❞❡ f ♣❛r r❛♣♣♦rt à X,Y ❡t Z s✬é❝r✐✈❡♥t ✿

∂f

∂X
= Y Z2,

∂f

∂Y
= XZ2 ❡t

∂f

∂Z
= 0.

▲❡s s❡✉❧s ♣♦✐♥ts ❞❡ s✐♥❣✉❧❛r✐té ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s s♦♥t ❧❡s ♣♦✐♥ts à ❧✬✐♥✜♥✐ [1 : 0 : 0] ❡t
[0 : 1 : 0]✳ P♦✉r ét✉❞✐❡r ❧❛ ❝♦✉r❜❡ ❛✉ ✈♦✐s✐♥❛❣❡ ❞❡s ♣♦✐♥ts s✐♥❣✉❧✐❡rs✱ ♥♦✉s ❛❧❧♦♥s ❢❛✐r❡ ✉♥❡
rés♦❧✉t✐♦♥ ❞❡ s✐♥❣✉❧❛r✐té ❡♥ é❝❧❛t❛♥t s♦✐t ❡♥ [1 : 0 : 0]✱ s♦✐t ❡♥ [0 : 1 : 0]✳

✻✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✼✳✷✳ ❈♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

❊❝❧❛t❡♠❡♥t ❡♥ [1 : 0 : 0]✳ P♦s♦♥s X = 1✱ ❛❧♦rs ❧✬éq✉❛t✐♦♥ ✭✼✳✶✸✮ ❞❡✈✐❡♥t

c(Y 2 + Z2 + Y 2Z2 + Z4) + Y Z2 = 0

q✉✐ ❡st ❧✬éq✉❛t✐♦♥ ❞✬✉♥❡ ❝♦✉r❜❡ s✐♥❣✉❧✐èr❡ ❡♥ (0, 0)✳ P♦s♦♥s✱ ❛❧♦rs Y = ZT ✱ ❡t ❞✐✈✐s♦♥s ♣❛r
Z2✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs ❧❛ ❝♦✉r❜❡

T 2 + Z2 +
1

c
TZ = 1 + U2Z2

❡t ♣♦✉r Z = 0✱ ♦♥ ♦❜t✐❡♥t T = 1✱ ✐✳❡✳ ❧❡ ♣♦✐♥t (1, 0) q✉✐ ❡st ✉♥ ♣♦✐♥t ♥♦♥✲s✐♥❣✉❧✐❡r✳
P♦✉r ❧❡ ♣♦✐♥t [0 : 1 : 0] ❞❡ ✭✼✳✶✸✮✱ ♦♥ ❛♣♣❧✐q✉❡ ❧❡ ♠ê♠❡ ♣r♦❝é❞é ❡t ♦♥ tr♦✉✈❡ ❧❡ ♠ê♠❡
rés✉❧t❛t✳

❋♦r♠✉❧❡s ❞❡ tr❛♥s❢♦r♠❛t✐♦♥s ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❛✉ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β✳
◆♦✉s ❝♦♥t✐♥✉♦♥s ❞✬❛♣♣❡❧❡r k ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ F2 ❞❡ ❞❡❣ré ❛❜s♦❧✉ d✳ ❯♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡ ♦r❞✐♥❛✐r❡ s✉r k ❛❞♠❡t ✉♥❡ éq✉❛t✐♦♥ ❞❡ ❲❡✐❡rstr❛β s✉✐✈❛♥t❡ ✿

z2 + tz = t3 + at2 + b, ❛✈❡❝ b 6= 0. ✭✼✳✶✹✮

❘❡♠❛rq✉❡ ✼✳✸ ❙❡✉❧ ❧❡ ♣❛r❛♠ètr❡ a ❛♣♣❛r❛ît ❞❛♥s ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡
✭✼✳✶✹✮ ✭✈♦✐r ❧❛ s❡❝t✐♦♥ ✸✳✶✮✳

◆♦✉s ❛❧❧♦♥s ♠♦♥tr❡r q✉❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ✭✼✳✶✷✮ ❡st ❜✐r❛t✐♦♥♥❡❧❧❡♠❡♥t éq✉✐✈❛✲
❧❡♥t❡ à ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ♦r❞✐♥❛✐r❡ ❞♦♥♥é❡ ♣❛r ✿

z2 + tz = t3 + c4 ✭✼✳✶✺✮

❡t ❞❡ j−✐♥✈❛r✐❛♥t é❣❛❧ à 1/c4✳ P♦✉r ❝❡❧❛✱ ✐❧ ❢❛✉t ❥✉st❡ ❝♦♥s✐❞ér❡r ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ❝♦♦r❞♦♥✲
♥é❡s s✉✐✈❛♥t ✿

ϕ : (x, y) 7→ (t, z),

{
t = c/x
z = c(y + cx(y + 1))/(x(y + 1))

,

ϕ−1 : (t, z) 7→ (x, y),

{
x = c/t
y = (z + c2)/(t+ z + c2)

.

▲✬❛♣♣❧✐❝❛t✐♦♥ ϕ ♥✬❡st ♣❛s ❞é✜♥✐❡ ❛✉ ♣♦✐♥t (0, 1)✱ ❡t ♦♥ ♣♦s❡ ϕ(0, 1) = P∞ ✭♦♥ ♠♦♥tr❡r❛
q✉❡ ❧❡ ♣♦✐♥t ❞❡ ❝♦♦r❞♦♥♥é❡s (0, 1) ❡st ❧✬é❧é♠❡♥t ♥❡✉tr❡ ❞❡ ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ s✉r ❧❛ ❝♦✉r❜❡
✭✼✳✶✷✮✮✳ ❉✬❛♣rès ❬❑♦❜✾✶✱ ♣✳ ✶✻✶❪✱ ❧❡s ❝♦✉r❜❡s ❞✬❊❞✇❛r❞s q✉❡ ♥♦✉s ♦❜t❡♥♦♥s s♦♥t ❞❡s ❝♦✉r❜❡s
♦r❞✐♥❛✐r❡s ❞♦♥t ❧❛ ✹✲t♦rs✐♦♥ ❡st r❛t✐♦♥♥❡❧❧❡✳

P♦✉r r❡tr♦✉✈❡r ❧❡ ♠♦❞è❧❡ ❞❡ ❇❡r♥st❡✐♥✱ ▲❛♥❣❡ ❡t ❋❛r❛s❤❛❤✐ ❬❇▲❋✵✽❪ ❞♦♥♥é ♣❛r

d1(T + Z) + d2(T
2 + Z2) = TZ(T + 1)(Z + 1), ❛✈❡❝ d1, d2 ∈ k,

✐❧ s✉✣t ❞❡ ♣♦s❡r d2 = d2
1 ❡t d6

1 = c4✳

✼✳✷✳✷ ❋♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥

▲❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ s✉r ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡st ❝♦♥♥✉❡ ❬❊❞✇✵✼✱ ❇❇❏+✵✽❪✳ ◆♦✉s ❛❧❧♦♥s
ré❞✉✐r❡ ❝❡tt❡ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ ♠♦❞✉❧♦ ✷ ♣♦✉r ❛✈♦✐r ❧❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ ❝♦rr❡s♣♦♥❞❛♥t à ♥♦tr❡
♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✻✺✴✾✶



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

❚❤é♦rè♠❡ ✼✳✹ ❙♦✐❡♥t P1 = (x1, y1) ❡t P2 = (x2, y2) ❞❡✉① ♣♦✐♥ts ❞❡ ❧❛ ❝♦✉r❜❡ Ec/k ❡t
♣♦s♦♥s P3 = (x3, y3) = P1 +P2✳ ❆❧♦rs ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ P3 s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s ❢♦r♠✉❧❡s
s✉✐✈❛♥t❡s ✿

x3 =
(x1 + x2)(1 + y1y2)

(y1 + y2)(1 + x1x2)
❡t y3 =

(x1 + y2)(y1 + x2)

(1 + x1y2)(1 + y1x2)
. ✭✼✳✶✻✮

❊t s✐ P1 = P2✱ ❛❧♦rs ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥ s♦♥t

x3 =
x1(y1 + 1)2

y1(x1 + 1)2
❡t y3 =

(x1 + y1)
2

(x1y1 + 1)2
. ✭✼✳✶✼✮

❈❡❝✐ ♣❡r♠❡t ❞❡ ❞é✜♥✐r s✉r ❧❛ ❝♦✉r❜❡ Ec/k✱ ✉♥❡ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ ❞♦♥t ❧✬é❧é♠❡♥t ♥❡✉tr❡ ❛ ♣♦✉r
❝♦♦r❞♦♥♥é❡s (0, 1) ❡t ❧✬♦♣♣♦sé ❞❡ P = (x, y) ❡st −P = (x, 1/y)✳

Pr❡✉✈❡ ✿ ◆♦✉s ❛❧❧♦♥s s❡✉❧❡♠❡♥t ❞é♠♦♥tr❡r ❧❡s ❢♦r♠✉❧❡s ✭✼✳✶✻✮ ❡t ✭✼✳✶✼✮✳ ◆♦t♦♥s q✉❡ ❝❡s
❢♦r♠✉❧❡s s✬♦❜t✐❡♥♥❡♥t ♣❛r ❧❡ ♠ê♠❡ ♣r♦❝é❞é q✉✐ ♥♦✉s ❛ ♣❡r♠✐s ❞✬♦❜t❡♥✐r ❧❡ ♠♦❞è❧❡✳ ❙♦✐t
E/Z2d ✉♥ r❡❧❡✈é ❝❛♥♦♥✐q✉❡ ❞❡ Ec/k✱ ♦♥ s❛✐t q✉✬✉♥ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❞❡ E/Z2d s✬é❝r✐t

X2(u) + Y 2(u) =
θ2
00(0)

θ2
10(0)

(
1 +X2(u)Y 2(u)

)
,

❡t q✉❡ ❧✬❛❞❞✐t✐♦♥ (X(u + v), Y (u + v)) = (X(u), Y (u)) + (X(v), Y (v)) ❡st ❞♦♥♥é❡ ♣❛r ❧❡s
❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿

X(u+ v) =
θ10(0)

θ00(0)

X(u)X(v)− Y (u)Y (v)

1−X(u)X(v)Y (u)Y (v)

Y (u+ v) =
θ10(0)

θ00(0)

X(u)Y (v) + Y (u)X(v)

1 +X(u)X(v)Y (u)Y (v)
.

❖r ❞✬❛♣rès ❧❛ s❡❝t✐♦♥ ✼✳✷✳✶✱ ♦♥ s❛✐t q✉❡
θ2
00(0)

θ2
10(0)

=
1 + 2(c0 + c2)

1 + 2(c0 − c2)
❡t q✉❡ ♥♦✉s ❛✈♦♥s ❧❡

❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ✭✼✳✶✶✮ s✉✐✈❛♥t

X(u) =
xu + 1

xu − 1
, X(v) =

xv + 1

xv − 1
, Y (u) =

1− yu

1 + yu
❡t Y (v) =

1− yv

1 + yv
.

❆❧♦rs✱

X(u)X(v)− Y (u)Y (v) = (1 + 2(c0 − c2)) [(xv + yv)(1 + xuyu) + (xu + yu)(1 + xvyv)]

X(u)X(v)Y (u)Y (v)− 1 = (1 + 2(c0 + c2)) [(xv − yv)(1− xuyu) + (xu − yu)(1− xvyv)]

X(u)Y (v) + Y (u)X(v) = (1 + 2(c0 − c2)) [(1 + xuyu)(1 + xvyv)− (xu + yu)(xv + yv)]

1 +X(u)X(v)Y (u)Y (v) = (1 + 2(c0 + c2)) [(1− xuyu)(1− xvyv) + (xu − yu)(xv − yv)]

❉♦♥❝ ♦♥ ♦❜t✐❡♥t X(u+ v) =
xu+v + 1

xu+v − 1
=
A1

B1
❡t Y (u+ v) =

1− yu+v

1 + yu+v
=
A2

B2
✱ ❛✈❡❝

A1 = (1 + 2(c0 − c2))2 [(xv + yv)(1 + xuyu) + (xu + yu)(1 + xvyv)]

−B1 = (1 + 2(c0 + c2))
2 [(xv − yv)(1− xuyu) + (xu − yu)(1− xvyv)]

A2 = (1 + 2(c0 − c2))2 [(1 + xuyu)(1 + xvyv)− (xu + yu)(xv + yv)]

B2 = (1 + 2(c0 + c2))
2 [(1− xuyu)(1− xvyv) + (xu − yu)(xv − yv)]

✻✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✼✳✷✳ ❈♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

❆❧♦rs✱ ♦♥ ❡♥ ❞é❞✉✐t xu+v ❡t yu+v ❛✈❡❝ ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s

xu+v =
A1 −B1

A1 +B1
❡t yu+v =

B2 −A2

B2 +A2
.

▲❡s Ai ❡t ❧❡s Bi s♦♥t à ✈❛❧❡✉rs ❞❛♥s ❧❡ ❝♦r♣s ❞❡s ♥♦♠❜r❡s 2−❛❞✐q✉❡s✳ ❊♥ ré❞✉✐s❛♥t ♠♦❞✉❧♦ ✷✱
♦♥ ♦❜t✐❡♥t ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥✳ ▲❡s ❝♦♦r❞♦♥♥é❡s ❞❡ ❧✬é❧é♠❡♥t ♥❡✉tr❡ ❡t ❧❡s ❝♦♦r❞♦♥♥é❡s
❞❡ ❧✬♦♣♣♦sé ❞✬✉♥ é❧é♠❡♥t ♣❡✉✈❡♥t êtr❡ ✈ér✐✜é❡s ❢❛❝✐❧❡♠❡♥t✳ 2

❉❛♥s ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❞❡ ♥♦tr❡ ♠♦❞è❧❡✱ ♥♦✉s r❡♠❛rq✉♦♥s q✉❡ ❧❡ ♣❛r❛✲
♠ètr❡ α ♥✬❛♣♣❛r❛✐t ♣❛s✱ ❝❡ q✉✐ ♥✬❡st ♣❛s ét♦♥♥❛♥t ❞✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✼✳✸ ❡t ❧❛ ❝♦✉r❜❡
✭✼✳✶✺✮✳ ▲✬❛❞❞✐t✐♦♥ ❝♦ût❡ ✷ ✐♥✈❡rs✐♦♥s ❡t ✽ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✱ t❛♥❞✐s q✉❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❝♦ût❡ ✷
✐♥✈❡rs✐♦♥s✱ ✸ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✸ ❝❛rrés ❞✉ ❝♦r♣s ❞❡ ❞é✜♥✐t✐♦♥ ❞❡s ♣♦✐♥ts✳

❋♦r♠✉❧❡s ❡♥ ❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝t✐✈❡s✳ P♦s♦♥s x = X/Z ❡t y = Y/Z✱ ❛❧♦rs ❧❡ ♠♦❞è❧❡
♣r♦❥❡❝t✐❢ ❞❡ ❧❛ ❝♦✉r❜❡ ❡st

Ec : c(X2Y 2 +X2Z2 + Y 2Z2 + Z4) +XY Z2 = 0.

❆❞❞✐t✐♦♥✳ ❙♦✐❡♥t Pi = [Xi : Yi : Zi] ♣♦✉r i = 1, 2, 3 tr♦✐s ♣♦✐♥ts ❞❡ Ec t❡❧s q✉❡ P3 =
P1 + P2✱ ❛❧♦rs ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ P3 s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿

A = Z1Z2, B = Z1Y2, C = Y1Z2, D = Z1X2, E = X1Z2

S1 = (A+X1Y2)(A+ Y1X2), S2 = (B + C)(A+X1X2),

T1 = (A+ Y1Y2)(D + E), T2 = (B + E)(C +D),

X3 = S1T1, Y3 = T2S2, Z3 = S1S2.

❈❡s ❢♦r♠✉❧❡s ♣♦✉r ❧✬❛❞❞✐t✐♦♥ ❝♦ût❡♥t ✶✻ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✳

❉✉♣❧✐❝❛t✐♦♥ ✿ s♦✐t P1 = [X1 : Y1 : Z1] ✉♥ ♣♦✐♥t ❞❡ ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s Ec✱ ❛❧♦rs ❧❡s
❝♦♦r❞♦♥♥é❡s ❞❡ P3 = 2P1 = [X3 : Y3 : Z3] s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s ❢♦r♠✉❧❡s ✿

A = X1 + Y1, B = X1 + Z1, C = Y1 + Z1, D = X1Y1,

E = D + Z2
1 , R = CE, S = Z1AB, T = BE,

X3 = X1R
2, Y3 = Y1S

2, Z3 = Y1T
2.

❈❡s ❢♦r♠✉❧❡s ♣♦✉r ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❝♦ût❡♥t ✽ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✹ ❝❛rrés✳

P♦✐♥ts ❞❡ 4−t♦rs✐♦♥ ✿ ♦♥ ♠♦♥tr❡ ❢❛❝✐❧❡♠❡♥t q✉❡ ❧❡s ♣♦✐♥ts [1 : 0 : 0]✱ [0 : 1 : 0]✱ [0 : 1 : 1]
❡t [1 : 0 : 1] s♦♥t ❞❡s ♣♦✐♥ts ❞❡ ✹✲t♦rs✐♦♥✳

◆♦✉s ❛❧❧♦♥s ✈ér✐✜❡r ❞✐r❡❝t❡♠❡♥t q✉❡ ❧❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ s✉r ❧❛ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡
c(x2y2 + x2 + y2 + 1) + xy = 0 ❝♦rr❡s♣♦♥❞ à ❧❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ s✉r ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡
♦r❞✐♥❛✐r❡ z2 + tz = t3 + c4✳ P♦✉r ❝❡❧❛✱ ♥♦✉s ✉t✐❧✐s❡r♦♥s ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ❝♦♦r❞♦♥♥é❡s
ϕ : (x, y) 7→ (t, z)✳ ◆♦✉s ✉t✐❧✐s♦♥s ❛✉ss✐ ❧❡ ❧❡♠♠❡ s✉✐✈❛♥t ✿

▲❡♠♠❡ ✼✳✺ ❙♦✐t Ec : c(x2 + y2 + x2y2 + 1) + xy = 0 ✉♥❡ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s s✉r ✉♥ ❝♦r♣s
k ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷✳ P♦✉r t♦✉t ♣♦✐♥t P = (x, y) ∈ E✱ ♦♥ ❛ ϕ(−P ) = −ϕ(P )✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✻✼✴✾✶



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

Pr❡✉✈❡ ✿ ❙✐ P = (0, 1)✱ ♦♥ ♥✬❛ r✐❡♥ à ❞é♠♦♥tr❡r✳ ❙✉♣♣♦s♦♥s q✉❡ P 6= (0, 1)✱ ❛❧♦rs ♦♥ ❛ ✿

ϕ(−P ) = ϕ(x, 1/y) =

(
c

x
,

c

x(y + 1)
+ c

)

−ϕ(P ) = −
(
c

x
,

cy

x(y + 1)
+ c

)

=

(
c

x
,
c

x
+

cy

x(y + 1)
+ c

)

=

(
c

x
,

c

x(y + 1)
+ c

)

.

P❛r ✐❞❡♥t✐✜❝❛t✐♦♥✱ ♦♥ ✈♦✐t q✉❡ ϕ(−P ) = −ϕ(P )✳ 2

❚❤é♦rè♠❡ ✼✳✻ ❙♦✐t k ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷ ❡t s♦✐t c ✉♥ é❧é♠❡♥t ♥♦♥ ♥✉❧ ❞❡ k✳
❙♦✐❡♥t P1 = (x1, y1)✱ P2 = (x2, y2) ❡t P3 = (x3, y3) ❞❡s ♣♦✐♥ts ❞❡ ❧❛ ❝♦✉r❜❡ Ec t❡❧s q✉❡
P3 = P1 + P2✱ ❛❧♦rs

ϕ(P3) = ϕ(P1) + ϕ(P2).

Pr❡✉✈❡ ✿ ❙✐ P1 = (0, 1) ✭é❧é♠❡♥t ♥❡✉tr❡ ❞❡ Ec✮✱ ❛❧♦rs P2 = P3✳ ❉♦♥❝ ϕ(P1) = ϕ(0, 1) = P∞
❡t ϕ(P2) = ϕ(P3)✳ ❉✬♦ù ϕ(P1) + ϕ(P2) = P∞ + ϕ(P3) = ϕ(P3)✳ ❙✐ P2 = (0, 1)✱ ♦♥ ❛♣♣❧✐q✉❡
❧❛ ♠ê♠❡ ♣r♦❝é❞✉r❡✳

❙✐ P3 = (0, 1)✱ ❛❧♦rs P2 = −P1✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✼✳✺✱ ♦♥ ❛ ✿ ϕ(−P1) = −ϕ(P1)✳ ❉♦♥❝
ϕ(P2) = −ϕ(P1)✳ ❉✬♦ù ϕ(P1) + ϕ(P2) = P∞ = ϕ(P3)✳

❙✉♣♣♦s♦♥s ❞❛♥s ❧❛ s✉✐t❡ q✉❡ ❧❡s ♣♦✐♥ts Pi 6= (0, 1) ❡t ♣♦s♦♥s ϕ(Pi) = Qi = (ti, zi) ♣♦✉r
i = 1, 2, 3✳ ◆♦✉s ❞✐st✐♥❣✉♦♥s ❛❧♦rs ❞❡✉① ❝❛s ✿
❈❛s ✶ ✿ P1 6= P2 ✐✳❡✳ Q1 6= Q2✳ ❙✐ t1 = t2✱ ❛❧♦rs Q2 = −Q1✳ ❉♦♥❝ Q2 = ϕ(P2) = −Q1 =
−ϕ(P1) ♦r −ϕ(P1) = ϕ(−P1)✳ P❛r s✉✐t❡ P2 = −P1✱ ❞✬♦ù P1 + P2 = (0, 1) ❝❡ q✉✐ ❛ été ❞é❥à
tr❛✐té✳ ❙✉♣♣♦s♦♥s ❛❧♦rs q✉❡ t1 6= t2✳ ▲❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❡♥ ❝♦♦r❞♦♥♥é❡s ❞❡ ❲❡✐❡rstr❛β
❞♦♥♥❡♥t Q1 + Q2 = Q4 ❛✈❡❝ t4 = λ2 + λ + t1 + t2 ❡t z4 = λ(t1 + t4) + t4 + z1 ♦ù
λ = (z1 + z2)/(t1 + t2)✳ ❯♥ ❝❛❧❝✉❧ ❢❛st✐❞✐❡✉① ♣❡r♠❡t ❞❡ ✈♦✐r q✉❡ Q3 = Q4 ❀ ♣♦✉r ❝❡❧❛ ♥♦✉s
✉t✐❧✐s♦♥s ❧❡ ❝♦❞❡ ❙❛❣❡ ❬❙t❡✵✾❪ s✉✐✈❛♥t ✿

❘✳❁❛✱①✶✱②✶✱①✷✱②✷❃ ❂ ●❋✭✷✮❬❪

■✶ ❂ ❛✯✭①✶❫✷✯②✶❫✷ ✰ ①✶❫✷ ✰ ②✶❫✷ ✰ ✶✮ ✰ ①✶✯②✶

■✷ ❂ ❛✯✭①✷❫✷✯②✷❫✷ ✰ ①✷❫✷ ✰ ②✷❫✷ ✰ ✶✮ ✰ ①✷✯②✷

❙ ❂ ❘✳q✉♦t✐❡♥t✭❬■✶✱■✷❪✮

★ ❆❞❞✐t✐♦♥ s✉r ❊❞✇❛r❞s

①✸ ❂ ✭①✶✯②✶✯②✷ ✰ ②✶✯①✷✯②✷ ✰ ①✶ ✰ ①✷✮✴✭①✶✯②✶✯①✷ ✰ ①✶✯①✷✯②✷ ✰ ②✶ ✰ ②✷✮

②✸ ❂ ✭①✶✯②✶ ✰ ①✶✯①✷ ✰ ②✶✯②✷ ✰ ①✷✯②✷✮✴✭①✶✯②✶✯①✷✯②✷ ✰ ②✶✯①✷ ✰ ①✶✯②✷ ✰ ✶✮

t✸ ❂ ❛✴①✸

③✸ ❂ ❛✯✭②✸ ✰ ❛✯①✸✯✭②✸✰✶✮✮✴✭①✸✯✭②✸✰✶✮✮

★ ❆❞❞✐t✐♦♥ s✉r ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡

t✶ ❂ ❛✴①✶

t✷ ❂ ❛✴①✷

③✶ ❂ ❛✯✭②✶ ✰ ❛✯①✶✯✭②✶✰✶✮✮✴✭①✶✯✭②✶✰✶✮✮

③✷ ❂ ❛✯✭②✷ ✰ ❛✯①✷✯✭②✷✰✶✮✮✴✭①✷✯✭②✷✰✶✮✮

❧ ❂ ✭③✶ ✰ ③✷✮✴✭t✶ ✰ t✷✮

t✹ ❂ ❧❫✷ ✰ ❧ ✰ t✶ ✰ t✷

✻✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✼✳✷✳ ❈♦✉r❜❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

③✹ ❂ ❧✯✭t✶ ✰ t✹✮ ✰ t✹ ✰ ③✶

★ ❈♦♠♣❛r❛✐s♦♥

❙✭♥✉♠❡r❛t♦r✭✉✸ ✲ ✉✹✮✮ ❂❂ ✵ ★ ❚r✉❡

❙✭♥✉♠❡r❛t♦r✭✈✸ ✲ ✈✹✮✮ ❂❂ ✵ ★ ❚r✉❡

❉✬♦ù ϕ(P3) = ϕ(P1) + ϕ(P2).
❈❛s ✷ ✿ P1 = P2✱ ♦♥ ✉t✐❧✐s❡ ❧❡ ♠ê♠❡ r❛✐s♦♥♥❡♠❡♥t q✉❡ ❧❡ ❝❛s ✶✳ 2

❘❡♠❛rq✉❡ ✼✳✼ ◆♦✉s ♣♦✉✈♦♥s ✓ t✇✐st❡r ✔ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❡♥ ❝♦♥s✐❞ér❛♥t
❧✬❛♣♣❧✐❝❛t✐♦♥ (x, y) 7→ (x

√
a, y
√
b) ♣♦✉r t♦✉t a, b✳ ❖♥ ♦❜t✐❡♥❞r❛ ✉♥❡ ❝♦✉r❜❡ ❞✬❊❞✇❛r❞s

❞é✜♥✐❡ s✉r ✉♥❡ ❡①t❡♥s✐♦♥ q✉❛❞r❛t✐q✉❡ k(
√
a,
√
b)✳ ❖♥ ♣r❡♥❞r❛ a ❡t b ❞❡s é❧é♠❡♥ts ❞❡ k q✉✐

♥❡ s♦♥t ♣❛s ❞❡s ❝❛rrés✱ ❝❛r s✐♥♦♥ k(
√
a,
√
b) = k✳

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✻✾✴✾✶



❈❤❛♣✐tr❡ ✼✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ s✉r ❧❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s

✼✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



❈❤❛♣✐tr❡ ✽

❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ❝♦♠♠❡ ❞❛♥s ❧❡ ❝❤❛♣✐tr❡ ♣ré❝é❞❛♥t✱ ♥♦✉s ❞♦♥♥❡r♦♥s ❞❡s ❢♦r♠✉❧❡s
❡✣❝❛❝❡s ♣♦✉r r❡♣rés❡♥t❡r ❧❡s ❥❛❝♦❜✐❡♥♥❡s ❞❡ ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷✱ ❣râ❝❡ ❛✉① ❢♦♥❝t✐♦♥s t❤êt❛
❞✉ ❝❤❛♣✐tr❡ ✻✳ P♦✉r ❝❡❧❛✱ ♥♦✉s ♠❛♥✐♣✉❧❡r♦♥s ❞❡s ♦❜❥❡ts ❞✐r❡❝t❡♠❡♥t ❧✐és ❛✉① ❥❛❝♦❜✐❡♥♥❡s ❞❡s
❝♦✉r❜❡s q✉✐ s♦♥t ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡s✳ ❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ❝♦♠♠❡♥❝❡r♦♥s
♣❛r ❞♦♥♥❡r ❧❛ ❝♦♥str✉❝t✐♦♥ ❣é♥ér❛❧❡ ❞✬✉♥❡ ✈❛r✐été ❞❡ ❑✉♠♠❡r✱ ♣✉✐s ♥♦✉s ❞♦♥♥❡r♦♥s ❞❡s
❢♦r♠✉❧❡s ❞♦♥♥❛♥t ✉♥❡ ❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r✳

▲✬ét✉❞❡ ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥✬❡st ♣❛s ♥♦✉✈❡❧❧❡ ❝♦♠♠❡ ❡♥ té♠♦✐❣♥❡ ❧❡ ❧✐✈r❡ ❞❡
❍✉❞s♦♥ ❬❍✉❞✵✺❪✳ ❈❡♣❡♥❞❛♥t✱ ❧❡✉r ❛♣♣❧✐❝❛t✐♦♥ ❡♥ ❝r②♣t♦❣r❛♣❤✐❡ ❡st ré❝❡♥t❡ ❬❙❙✾✾✱ ❉✉q✵✹✱
●❛✉✵✼❪✳ ▲❡s ♣r❡♠✐èr❡s ❛♣♣❧✐❝❛t✐♦♥s ❝♦♥❝❡r♥❡♥t ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡
✐♠♣❛✐r❡✱ ❧❡ ❝❛s ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ✷ ét❛♥t ♣❧✉s ❞✐✣❝✐❧❡ à tr❛✐t❡r✳ ❊♥ ❝❛r❛❝tér✐st✐q✉❡ ✷✱
●❛✉❞r② ❡t ▲✉❜✐❝③ ❬●▲✵✽❪ tr♦✉✈❡♥t ❧❡ ♠♦❞è❧❡ ❡t ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ s✉r ❧❡s s✉r❢❛❝❡s ❞❡
❑✉♠♠❡r ♦r❞✐♥❛✐r❡s ❣râ❝❡ à ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛✳ P❛r❛❧❧è❧❡♠❡♥t✱ ❉✉q✉❡s♥❡
❬❉✉q✵✼✱ ❉✉q✵✽❜❪ ✉t✐❧✐s❡ ❧❛ ♠ét❤♦❞❡ ❞❡ ❈❛ss❡❧s ❡t ❋❧②♥♥ ❬❈❋✾✻❪ ♣♦✉r r❡tr♦✉✈❡r ❧❡ ♠♦❞è❧❡
❡t ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷✳ ❈❡♣❡♥❞❛♥t✱ ❧❡s
❢♦r♠✉❧❡s ❞❡ ❬●▲✵✽❪✱ ✈❛❧❛❜❧❡s ❞❛♥s ❧❡ ❝❛s ♦r❞✐♥❛✐r❡✱ s♦♥t ♣❧✉s ❡✣❝❛❝❡s q✉❡ ❧❡s ❢♦r♠✉❧❡s ❞❡
❬❉✉q✵✼✱ ❉✉q✵✽❜❪✳

✽✳✶ ❱❛r✐étés ❞❡ ❑✉♠♠❡r

❙♦✐t (A,+) ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡ ❞❡ ❞✐♠❡♥s✐♦♥ g ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s q✉❡❧❝♦♥q✉❡ k✳ ▲❛
✈❛r✐été ❞❡ ❑✉♠♠❡r✱ ♥♦té❡ KA ❛ss♦❝✐é❡ à A ❡st ❞é✜♥✐❡ ♣❛r ❧❡ q✉♦t✐❡♥t

KA :=
A

± := {a ∈ A | a = −a}.

▲❛ ❞✐♠❡♥s✐♦♥ ❞❡ KA ❡st é❣❛❧❡ à g ❡t s✐ g = 2✱ ♦♥ ❞✐t q✉❡ KA ❡st ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r
❛ss♦❝✐é❡ à A✳ ▲❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ ❞❡ A ♥✬✐♥❞✉✐t ♣❛s ✉♥❡ ❧♦✐ ❞❡ ❣r♦✉♣❡ s✉r ❧❛ ✈❛r✐été ❞❡
❑✉♠♠❡r KA✱ ♠❛✐s ✉♥❡ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡✳ ❊♥ ❡✛❡t ♣♦✉r a, b ∈ KA✱ ♦♥ ♥❡ ♣❡✉t ♣❛s ❞é❝✐❞❡r
❡♥tr❡ a+ b = −(a+ b) ❡t a− b = −a+ b ❝❡ q✉✐ ✈❛ r❡♣rés❡♥t❡r ❧❛ s♦♠♠❡ ❞❡ a ❡t ❞❡ b✳ ▼❛✐s
❞ès q✉✬♦♥ ❝♦♥♥❛✐t a− b ∈ KA, ✐❧ ❡st ♣♦ss✐❜❧❡ ❞❡ ❝❛❧❝✉❧❡r a+ b ∈ KA ❡t ✈✐❝❡✲✈❡rs❛✳ ▲❛ ❧♦✐ s✉r
❧❛ ✈❛r✐été ❞❡ ❑✉♠♠❡r KA ♣❡r♠❡t ❛✐♥s✐ ❞✬✉t✐❧✐s❡r ❧✬❛❧❣♦r✐t❤♠✐q✉❡ ❞✬❡①♣♦♥❡♥t✐❛t✐♦♥ ✿ ét❛♥t
❞♦♥♥é ✉♥ ❡♥t✐❡r n ❡t ✉♥ é❧é♠❡♥t a ∈ KA✱ ✐❧ ❡st ❢❛❝✐❧❡ ❞❡ ❝❛❧❝✉❧❡r ❞❡ ♣r♦❝❤❡ ❡♥ ♣r♦❝❤❡ na✳
❆✐♥s✐✱ ❧❡ ♣r♦❜❧è♠❡ ❞✉ ❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t ❞❛♥s A ❛ ✉♥ éq✉✐✈❛❧❡♥t ❛❧❣♦r✐t❤♠✐q✉❡ ❞❛♥s KA✳
❆✉tr❡♠❡♥t ❞✐t✱ ♥♦✉s ♣♦✉✈♦♥s ✐♠♣❧é♠❡♥t❡r ❞❡s ♣r♦t♦❝♦❧❡s ❝r②♣t♦❣r❛♣❤✐q✉❡s ❡♥ ✉t✐❧✐s❛♥t ❧❡s
✈❛r✐étés ❞❡ ❑✉♠♠❡r KA✳

✼✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

✽✳✷ ❙✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡

❙♦✐t C ✉♥❡ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ ❣❡♥r❡ g ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k ❞❡ ❝❛r❛❝tér✐st✐q✉❡
✐♠♣❛✐r❡✱ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡ à ❧❛ ❝♦✉r❜❡ C ❡st ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡
à s❛ ❥❛❝♦❜✐❡♥♥❡ JC ✳ ❉❛♥s ❬●❛✉✵✼❪✱ ●❛✉❞r② ✉t✐❧✐s❡ ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ♣♦✉r ❝♦♥str✉✐r❡ ❧❡
♠♦❞è❧❡ ❡t ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡ à C✳

❈♦♥s✐❞ér♦♥s ❧❡s ❝♦♦r❞♦♥♥é❡s [x : y : z : t] ❞❡ ❧✬❡s♣❛❝❡ ♣r♦❥❡❝t✐❢ P3✱ ❛❧♦rs ✉♥ ♠♦❞è❧❡ ♣r♦✲
❥❡❝t✐❢ ❞✬✉♥❡ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r s✉r k ❡st ❞♦♥♥é ♣❛r ✿

(x4 + y4 + z4 + t4) + 2δxyzt+ α(x2t2 + y2z2) + β(x2z2 + y2t2) + γ(x2y2 + z2t2) = 0.

✭✽✳✶✮

❛✈❡❝ ❧❡s ❝♦❡✣❝✐❡♥ts α, β, γ ❡t δ ❞❛♥s k ✭✈♦✐r ❬●❛✉✵✼❪ ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s✮✳ ●❛✉❞r② ❞♦♥♥❡
❛✉ss✐ ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❞❡ ✭✽✳✶✮ ❣râ❝❡ ❛✉① ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❡t ❞❡
❞✉♣❧✐❝❛t✐♦♥ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛✳

❛❧❣♦r✐t❤♠❡ ✿ ❉✉♣❧✐❝❛t✐♦♥ s✉r ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ✭✽✳✶✮

❊♥tré❡ ❯♥ ♣♦✐♥t P = [x : y : z : t] ❞❡ ✭✽✳✶✮

❙♦rt✐❡ ✿ ▲❡ ♣♦✐♥t 2P = [X : Y : Z : T ] ❞❡ ✭✽✳✶✮

✶✳ x′ = (x2 + y2 + z2 + t2)2/A2 ❀ y′ = (x2 + y2 − z2 − t2)2/B2 ❀

✷✳ z′ = (x2 − y2 + z2 − t2)2/C2 ❀ t′ = (x2 − y2 − z2 + t2)2/D2 ❀

✸✳ X = (x′ + y′ + z′ + t′)/a ❀ Y = (x′ + y′ − z′ − t′)/b ❀
✹✳ Z = (x′ − y′ + z′ − t′)/c ❀ T = (x′ − y′ − z′ + t′)/d ❀

✺✳ ❘❡t♦✉r♥❡r 2P = [X : Y : Z : T ]✳

❛❧❣♦r✐t❤♠❡ ✿ ❆❞❞✐t✐♦♥ s✉r ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ✭✽✳✶✮

❊♥tré❡ P1 = [x1 : y1 : z1 : t1] , P2 = [x2 : y2 : z2 : t2] ❡t P −Q = [x3 : y3 : z3 : t3] ❞❡ ✭✽✳✶✮

❙♦rt✐❡ ▲❡ ♣♦✐♥t P3 = P1 + P2 = [X : Y : Z : T ]

✶✳ x′ = (x2
1 + y2

1 + z2
1 + t21)(x

2
2 + y2

2 + z2
2 + t22)/A

2 ❀

✷✳ y′ = (x2
1 + y2

1 − z2
1 − t21)(x2

2 + y2
2 − z2

2 − t22)/B2 ❀

✸✳ z′ = (x2
1 − y2

1 + z2
1 − t21)(x2

2 − y2
2 + z2

2 − t22)/C2 ❀

✹✳ t′ = (x2
1 − y2

1 − z2
1 + t21)(x

2
2 − y2

2 − z2
2 + t22)/D

2 ❀

✺✳ X = (x′ + y′ + z′ + t′)/x3 ❀ Y = (x′ + y′ − z′ − t′)/y3 ❀

✻✳ Z = (x′ − y′ + z′ − t′)/z3 ❀ T = (x′ − y′ − z′ + t′)/t3 ❀

✼✳ ❘❡t♦✉r♥❡r P3 = [X : Y : Z : T ]✳

▲❡s ❝♦❡✣❝✐❡♥ts a, b, c, d, A,B,C ❡t D ♥❡ ❞é♣❡♥❞❡♥t q✉❡ ❞❡s ❝♦❡✣❝✐❡♥ts α, β, γ ❡t δ ❞❡ ❧❛
s✉r❢❛❝❡ ✭✽✳✶✮✳ ◆♦✉s r❡♥✈♦②♦♥s ❧❡ ❧❡❝t❡✉r à ❬●❛✉✵✼❪ ♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s✳

✽✳✸ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

▲❡ ❝❛s ❞❡ ❧❛ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉① ❡st très ❞✐✣❝✐❧❡ à tr❛✐t❡r ❝❛r ❧❛ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ 2
❞✉ s❝❤é♠❛ ✭✽✳✶✮ s✉r ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡ ❞❡ Z2 ❞♦♥♥❡ ✉♥❡ ✈❛r✐été s✐♥❣✉❧✐èr❡ ❡♥ t♦✉t
♣♦✐♥t✳ P♦✉r tr❛✐t❡r ❝❡ ♣r♦❜❧è♠❡ ❞❡ ♠❛✉✈❛✐s❡ ré❞✉❝t✐♦♥✱ ●❛✉❞r② ❡t ▲✉❜✐❝③ ❬●▲✵✽❪ ✉t✐❧✐s❡♥t

✼✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✽✳✸✳ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

❞❡s t❡❝❤♥✐q✉❡s ❞❡ rés♦❧✉t✐♦♥ ❞❡s s✐♥❣✉❧❛r✐tés ❛r✐t❤♠ét✐q✉❡s✳ ■❧s ♦❜t✐❡♥♥❡♥t ❛✐♥s✐ ❧❡ ♠♦❞è❧❡
❡t ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ♣♦✉r ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡s✳ ▲❡ ❝❛s ❞❡s s✉r❢❛❝❡s ❞❡
❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡s ét❛♥t ♣❧✉s ❞✐✣❝✐❧❡✳ P♦✉r rés♦✉❞r❡ ❝❡ ♣r♦❜❧è♠❡✱ ♥♦✉s ❛❧❧♦♥s ♣❧♦♥❣❡r
❧❡s ❝♦✉r❜❡s ♥♦♥✲♦r❞✐♥❛✐r❡s ❞❛♥s ✉♥❡ ❢❛♠✐❧❧❡ ❞❡ ❝♦✉r❜❡s ♦r❞✐♥❛✐r❡s ❝♦♠♠❡ ❞❛♥s ❬▲P✵✷✱ ▲P✵✹❪✱
❝✬❡st ❧❡ ♣r♦❜❧è♠❡ ❞❡ ❧❛ t❤é♦r✐❡ ❞❡s ❝♦✉r❜❡s ♠♦❞✉❧❛✐r❡s✳ ■❧ s✬❛❣✐t ❞❡ ❝♦♥s✐❞ér❡r ❧❛ s✉r❢❛❝❡ ❞❡
❑✉♠♠❡r s✉r ✉♥ ❛♥♥❡❛✉ ❞❡ sér✐❡s ❢♦r♠❡❧❧❡s ❞é✜♥✐ s✉r ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ 2
❞♦♥t ❧❛ ✜❜r❡ ❣é♥ér✐q✉❡ ❡st ♦r❞✐♥❛✐r❡ ♠❛✐s ❧❛ ✜❜r❡ s♣é❝✐❛❧❡ ❡st ♥♦♥✲♦r❞✐♥❛✐r❡✳ ❖♥ ♣❡✉t ❛❧♦rs
❝♦♥str✉✐r❡ ✉♥ s②stè♠❡ ❞❡ ❝♦♦r❞♦♥♥é❡s q✉✐ ♣❛r ré❞✉❝t✐♦♥ s✉r ❧❡ ✜❜r❡ s♣é❝✐❛❧❡ ❞♦♥♥❡ ✉♥
♠♦❞è❧❡ ♣♦✉r ✉♥❡ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡✳ ▲❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ s✬♦❜t✐❡♥t ❞❡ ❧❛
♠ê♠❡ ♠❛♥✐èr❡ ♣❛r ré❞✉❝t✐♦♥ s✉r ❧❛ ✜❜r❡ s♣é❝✐❛❧❡✳

◆♦t♦♥s q✉❡ ❉✉❝r♦❤❡t ❬❉✉❝✵✽❪ ❡①❤✐❜❡ ❡♥ ♣❧✉s ❧❡ ♠♦❞è❧❡ ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r s✉✲
♣❡rs✐♥❣✉❧✐èr❡ ✭q✉✐ ❡st ❧❡ ♠ê♠❡ q✉❡ ❝❡❧✉✐ ❞❡ ❉✉q✉❡s♥❡ ❬❉✉q✵✼✱ ❉✉q✵✽❜❪✮ ♠ê♠❡ s✐ ❉✉q✉❡s♥❡
❬❉✉q✵✼✱ ❉✉q✵✽❜❪ r❡tr♦✉✈❡ ❧❡ ♠♦❞è❧❡ ❡t ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❡♥ ✉t✐❧✐s❛♥t ❧❛
t❡❝❤♥✐q✉❡ ❞❡ ❈❛ss❡❧s ❡t ❋❧②♥♥ ❬❈❋✾✻✱ ❝❤❛♣✐tr❡ ✸❪✳ ▲❡s ❢♦r♠✉❧❡s ❞❡ ❉✉q✉❡s♥❡ ♦♥t été ❣é♥ér❛✲
❧✐sé❡s ♣❛r ▼ü❧❧❡r ❬▼✉❧✶✵❪✳ ◆♦✉s ♥✬❛❧❧♦♥s ♣❛s ✉t✐❧✐s❡r ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❞❡
❉✉q✉❡s♥❡✱ ♠❛✐s ❥✉st❡ s❡s ♠♦❞è❧❡s ❞❡ s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡s ❡♥ ❝❛r❛❝tér✐st✐q✉❡
2✳

✽✳✸✳✶ ❈❛s ❞❡s s✉r❢❛❝❡s ♦r❞✐♥❛✐r❡s

●❛✉❞r② ❡t ▲✉❜✐❝③ ❬●▲✵✽❪ ❞♦♥♥❡♥t ✉♥ ♠♦❞è❧❡ ❡t ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ♣♦✉r ❧❡s s✉r❢❛❝❡s
❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡s ❞é✜♥✐❡s s✉r ✉♥ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①✳

❙♦✐t J ✉♥❡ s✉r❢❛❝❡ ❛❜é❧✐❡♥♥❡ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ✜♥✐ k ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷ ❡t ❞❡ ❞❡❣ré
❞✬❡①t❡♥s✐♦♥ ❛❜s♦❧✉❡ d✳ ❈♦♥s✐❞ér♦♥s ❧❡ r❡❧❡✈é ❝❛♥♦♥✐q✉❡ J ❞❡ J s✉r ❧❡ ❝♦r♣s ❞❡ ❝❛r❛❝tér✐st✐q✉❡
③ér♦ Q2d q✉❡ ❧✬♦♥ ♣❡✉t ♣❧♦♥❣❡r ❞❛♥s C ✭✈♦✐r ❬❘♦❜✵✵✱ ♣✳ ✶✹✹✲✶✹✺❪✮✳ ❖♥ ♣❡✉t ❛❧♦rs ❝♦♥str✉✐r❡
❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r KJ ❞❡ J /C✳ ▲❛ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ 2 ❞❡ KJ ❞♦♥♥❡ ✉♥❡ s✉r❢❛❝❡ ♥♦♥
ré❞✉✐t❡✳ P♦✉r rés♦✉❞r❡ ❧❡s ♣r♦❜❧è♠❡s ❞❡ ♠❛✉✈❛✐s❡ ré❞✉❝t✐♦♥ ❞❡ ❧❛ ✜❜r❡ s♣é❝✐❛❧❡ ❞❡ KJ ✱ ♦♥
✉t✐❧✐s❡ ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ❛❞éq✉❛t ❞❛♥s ❧✬éq✉❛t✐♦♥ ✭✽✳✶✮✱ ❝♦♠♠❡ ❞❛♥s ❧❛ s❡❝t✐♦♥
✼✳✷ ✭♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s✱ ✈♦✐r ❬●▲✵✽❪✮✳

▼♦❞è❧❡✳ ▲❡ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β ❞✬✉♥❡ ❝♦✉r❜❡ ♦r❞✐♥❛✐r❡ C ❞é✜♥✐❡ s✉r ❧❛ ❝❧ôt✉r❡ ❛❧❣é✲
❜r✐q✉❡ k ♣❡✉t s✬é❝r✐r❡ s♦✉s ❧❛ ❢♦r♠❡ ❞❡

C : y2 + x(x+ 1)y = x(x+ 1)
[
ax3 + (a+ b)x2 + cx+ c

]
❛✈❡❝ abc ∈ kr {0}.

❙♦✐t [x : y : z : t] ❧❡ ✈❡❝t❡✉r ❞❡s ❝♦♦r❞♦♥♥é❡s ❞❡ ❧✬❡s♣❛❝❡ ♣r♦❥❡❝t✐❢ P3✱ ❧❡ ♠♦❞è❧❡ ♣r♦❥❡❝t✐❢ ❞❡
❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡ à ❧❛ ❝♦✉r❜❡ C ❡st ❛❧♦rs

KC : c(x2z2 + y2t2) + b(x2y2 + z2t2) + a(x2t2 + y2z2) + xyzt = 0.

❆r✐t❤♠ét✐q✉❡✳ ❙♦✐❡♥t P = [x1 : y1 : z1 : t1] ❡t Q = [x2 : y2 : z2 : t2] ❞❡✉① ♣♦✐♥ts ♣r♦❥❡❝✲
t✐❢s ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡ KC ✳ P♦s♦♥s P − Q = [x3 : y3 : z3 : t3]✳ ❆❧♦rs ❧❡s
❝♦♦r❞♦♥♥é❡s ❞❡ 2P = [X3 : Y3 : Z3 : T3] ❡t ❞❡ P +Q = [X ′

3 : Y ′
3 : Z ′

3 : T ′
3] s♦♥t ❞♦♥♥é❡s

♣❛r ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✭❝❢ ❬●▲✵✽❪✮ ✿

X3 = α0(x
2
1 + y2

1 + z2
1 + t21)

2

Y3 = α1(x1y1 + z1t1)
2

Z3 = α2(x1z1 + y1t1)
2

T3 = α3(x1t1 + y1z1)
2

❉✉♣❧✐❝❛t✐♦♥

X ′
3 = (x1x2 + y1y2 + z1z2 + t1t2)

2/x3

Y ′
3 = (x1y2 + y1x2 + z1t2 + t1z2)

2/y3

Z ′
3 = (x1z2 + y1t2 + z1x2 + t1y2)

2/z3
T ′

3 = (x1t2 + y1z2 + z1y2 + t1x2)
2/t3

❆❞❞✐t✐♦♥

. ✭✽✳✷✮

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✼✸✴✾✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

❛✈❡❝ α0 =
√
abc, α1 =

√
b, α2 =

√
c ❡t α3 =

√
a ❞❡s ❝♦♥st❛♥t❡s ♥❡ ❞é♣❡♥❞❛♥t q✉❡ ❞❡

❧✬éq✉❛t✐♦♥ ❞❡ ❧❛ s✉r❢❛❝❡ KC ✳ ▲❛ ❞✉♣❧✐❝❛t✐♦♥ ❡t ❧✬❛❞❞✐t✐♦♥ ♣❡✉✈❡♥t êtr❡ r❡♣rés❡♥té❡s ♣❛r ❧❛
✜❣✉r❡ ✽✳✶✳

❋✐❣✳ ✽✳✶ ✕ ❉✉♣❧✐❝❛t✐♦♥ ❡t ❛❞❞✐t✐♦♥ ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡

✽✳✸✳✷ ❈❛s ❞❡s s✉r❢❛❝❡s ♥♦♥✲♦r❞✐♥❛✐r❡s

❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ❢❛✐s♦♥s ❞❡s ❝❛❧❝✉❧s s✉r ✉♥❡ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡ ❡♥
❝❛r❛❝tér✐st✐q✉❡ ✷✳ ❙♦✐❡♥t k ✉♥ ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷ ❡t C ✉♥❡ ❝♦✉r❜❡ ♥♦♥✲♦r❞✐♥❛✐r❡
❞❡ ❣❡♥r❡ ✷ ❞é✜♥✐❡ s✉r k✱ ♠❛✐s q✉❡ ♥♦✉s ❝♦♥s✐❞ér♦♥s s✉r ❧❛ ❝❧ôt✉r❡ ❛❧❣é❜r✐q✉❡ k✳ ❈♦♠♠❡
♥♦✉s ❛✉r♦♥s à tr❛✐t❡r ❧❡ ❝❛s ❞❡ ❝♦✉r❜❡s ❞❡ p✲r❛♥❣ 0 ♦✉ 1✱ ♥♦✉s ❛✉r♦♥s à ❝♦♥s✐❞ér❡r ❞❡✉①
éq✉❛t✐♦♥s ❞❡ ❧❛ ❝♦✉r❜❡ C ❞♦♥t ❧❡s ♠♦❞è❧❡s ❞❡ ❲❡✐❡rstr❛β s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s éq✉❛t✐♦♥s
✭✈♦✐r ❧❛ s❡❝t✐♦♥ ✶✳✷✮ ✿

y2 + y = x5 + µ2x3 ❛✈❡❝ µ ∈ k− {0}; ✭✽✳✸✮

y2 + xy = λx5 + µx3 + x, ❛✈❡❝ λ, µ ∈ k ❡t λ 6= 0. ✭✽✳✹✮

▲❛ ❝♦✉r❜❡ ✭✽✳✸✮ ❡st s✉♣❡rs✐♥❣✉❧✐èr❡✱ ✐✳❡✳ ❞❡ p−r❛♥❣ ✵✱ t❛♥❞✐s q✉❡ ❧❛ ❝♦✉r❜❡ ✭✽✳✹✮ ❡st ❞❡
p−r❛♥❣ ✶✳ ❈♦♠♠❡ ❧❛ ❝❧ôt✉r❡ ❛❧❣é❜r✐q✉❡ ❡st ❞❡ ❞❡❣ré ✐♥✜♥✐✱ ♥♦✉s ❛❧❧♦♥s ❥✉st❡ ♥♦✉s ♣❧❛❝❡r
❞❛♥s ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ k ❝♦♥t❡♥❛♥t t♦✉s ❧❡s ❝♦❡✣❝✐❡♥ts✳ ▲❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❞❡s
❝♦✉r❜❡s ✭✽✳✸✮ ❡t ✭✽✳✹✮ ♦♥t été ét✉❞✐é❡s r❡s♣❡❝t✐✈❡♠❡♥t ♣❛r ❉✉❝r♦❤❡t ❬❉✉❝✵✽❪ ❡t ▲❛s③❧♦ ❡t
P❛✉❧② ❬▲P✵✹❪✳

❊♥ ❢❛✐t✱ ♣♦✉r ❝❤❛❝✉♥❡ ❞❡s ❝♦✉r❜❡s ✭✽✳✸✮ ❡t ✭✽✳✹✮✱ ♦♥ ♣❡✉t ❝♦♥str✉✐r❡ s✉r ✉♥❡ ❡①t❡♥s✐♦♥
✜♥✐❡ ❞❡ ❧✬❛♥♥❡❛✉ ❞❡s sér✐❡s ❢♦r♠❡❧❧❡s k[[s]] ✭q✉❡ ❧✬♦♥ ♠✉♥✐t ❞❡ s❛ ✈❛❧✉❛t✐♦♥ s−❛❞✐q✉❡ ♥❛✲
t✉r❡❧❧❡✮✱ ✉♥❡ ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ 2 t❡❧❧❡ q✉❡ ✿ ❧❛ ✜❜r❡ ❣é♥ér✐q✉❡ s♦✐t ♦r❞✐♥❛✐r❡ ❡t q✉❡ ❧❛ ✜❜r❡
s♣é❝✐❛❧❡ s♦✐t ✐s♦♠♦r♣❤❡ r❡s♣❡❝t✐✈❡♠❡♥t à ❧❛ ❝♦✉r❜❡ ✭✽✳✸✮ ❬❉✉❝✵✽❪ ♦✉ ✭✽✳✹✮ ❬▲P✵✹❪✳ P♦✉r ❧❛
t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s s❝❤é♠❛s ❡t ❞❡s ✜❜r❡s ✈♦✐r ❧❡ ❧✐✈r❡ ❞❡ ❍❛rts❤♦r♥❡ ❬❍❛r✼✼❪✳

❉✉❝r♦❤❡t ❬❉✉❝✵✽❪ ✉t✐❧✐s❡ ❡♥ ♣❧✉s ✉♥❡ ✈❛r✐❛❜❧❡ ε ∈ k [[s]] ❞✐✛ér❡♥t❡ ❞❡ 0 ❡t 1✱ ❞❡ ✈❛❧✉❛t✐♦♥
♥✉❧❧❡✳ ▲❡s ❞❡✉① ❝♦✉r❜❡s s✉r k[[s]] q✉✬✐❧s ❝♦♥str✉✐s❡♥t s♦♥t ❞♦♥♥é❡s ♣❛r ✿

✭✶✮ P♦✉r ❧❛ ❝♦✉r❜❡ ✭✽✳✸✮ ❞❡ p−r❛♥❣ ③ér♦✱ ♦♥ ♣♦s❡

Cs : y2 + (s2x+ 1)(s2ε2x+ 1)y = x5 + µ2x3.

✭✷✮ P♦✉r ❧❛ ❝♦✉r❜❡ ✭✽✳✹✮ ❞❡ p−r❛♥❣ é❣❛❧ à 1✱ s✉✐✈❛♥t ❬▲P✵✹❪✱ ♦♥ ♣♦s❡

C′s : y2 + (sx2 + x)y = λx5 + µx3 + x.

P♦✉r s = 0✱ ❧❡s ✜❜r❡s s♣é❝✐❛❧❡s C0/k ❡t C′0/k s♦♥t é❣❛❧❡s r❡s♣❡❝t✐✈❡♠❡♥t ❛✉① ❝♦✉r❜❡s
✭✽✳✸✮ ❡t ✭✽✳✹✮✱ ❡t ❧❡s ✜❜r❡s ❣é♥ér✐q✉❡s Cs ❡t C′s s♦♥t ✐s♦♠♦r♣❤❡s à ❞❡s ❝♦✉r❜❡s ♦r❞✐♥❛✐r❡s

✼✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✽✳✸✳ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

s✉r ✉♥❡ ❡①t❡♥s✐♦♥ q✉❛❞r❛t✐q✉❡ ❞❡ k((s)) ✭❡♥ ❢❛✐t✱ Cs ❡t C′s s♦♥t ❞❡s t✇✐st❡s ❞✬✉♥❡ ❝♦✉r❜❡
♦r❞✐♥❛✐r❡ ❞é✜♥✐❡ s✉r k✮✳

◆♦✉s ❛❧❧♦♥s ❞é❝r✐r❡ ❞❡s ♠♦❞è❧❡s ❛✐♥s✐ q✉❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❛ss♦✲
❝✐é❡s à ❝❤❛❝✉♥❡ ❞❡s ❝♦✉r❜❡s ✭✽✳✸✮ ❡t ✭✽✳✹✮✳

✽✳✸✳✸ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r s✉♣❡rs✐♥❣✉❧✐èr❡

▼♦❞è❧❡✳ ◆♦✉s ❝♦♥s✐❞ér♦♥s ❧❛ ❝♦✉r❜❡ s✉♣❡rs✐♥❣✉❧✐èr❡ C : y2 +y = x5 +µ2x3 ❞é✜♥✐❡ s✉r k
❝♦♠♠❡ ❧❛ ✜❜r❡ s♣é❝✐❛❧❡ ❞❡ ❧❛ ❝♦✉r❜❡ ♦r❞✐♥❛✐r❡ Cs : y2 +(s2x+1)(s2ε2x+1)y = x5 +µ2x3

❞é✜♥✐❡ s✉r ❧✬❛♥♥❡❛✉ k[[s]]✳

▲❛ ✜❜r❡ ❣é♥ér✐q✉❡ ❞❡ Cs ❡st ✐s♦♠♦r♣❤❡ à ✉♥ t✇✐st ❞❡ ❝♦✉r❜❡ ♦r❞✐♥❛✐r❡ s✉r k((s)) ❞♦♥♥é❡
♣❛r ❧✬éq✉❛t✐♦♥ C : w2 + z(z + 1)y = z(z + 1)

[
asz

3 + (as + bs)z
2 + csz + cs

]
✱ ❛✈❡❝







as =
1 + ε2

s10ε6
,

bs =
1 + ν6

1

s10ε6(1 + ε)6
, ❛✈❡❝ ν1 = µ2s4ε4 + s5ε3(1 + ε2)(1 + µs2ε2)

cs =
ε2(1 + ν6

0)

s10(1 + ε)6
, ❛✈❡❝ ν0 = µ2s4 + s5(1 + ε2)(1 + µs2).

✭✽✳✺✮

P♦s♦♥s τ0 =
1√

1 + ν0
❡t τ1 =

1√
1 + ν1

✳ ❉és♦r♠❛✐s✱ ♥♦✉s ❝♦♥❢♦♥❞♦♥s ❧❡s ♣♦✐♥ts ❞❡ ❧❛ ❝♦✉r❜❡

C ❡t ❧❡s ♣♦✐♥ts ❞❡ ❧❛ ✜❜r❡ ❣é♥ér✐q✉❡ Cs✱ ❝❡ q✉❡ ❧✬♦♥ r❡♣rés❡♥t❡ ❡♥ ♠❡tt❛♥t ❧✬✐♥❞✐❝❡ s s✉r
❧❡s ♣♦✐♥ts ❞❡ C✳ ❈♦♠♠❡ ❧❡s ♣♦✐♥ts ❞❡ ❲❡✐❡rstr❛β s♦♥t ❧❡s ♣♦✐♥ts ✐♥✈❛r✐❛♥ts ♣❛r ❧✬✐♥✈♦❧✉t✐♦♥
❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ❛❧♦rs ❧❛ ♣r♦❥❡❝t✐♦♥ ❝❛♥♦♥✐q✉❡ ϕ : C → P1(k), ϕ(xs, ys) = xs ❛❞♠❡t tr♦✐s
♣♦✐♥ts ❞❡ ❲❡✐❡rstr❛β q✉❡ ❧✬♦♥ ♣❡✉t ♥♦t❡r ♣❛r 0s, 1s ❡t ∞s✳

◆♦t♦♥s ♣❛r ❙②♠(C)✱ ❧✬❡♥s❡♠❜❧❡ ❞❡s ❢♦♥❝t✐♦♥s ❞❡ C×C ✐♥✈❛r✐❛♥t❡s ♣❛r ♣❡r♠✉t❛t✐♦♥ ❞❡s
❝♦♣✐❡s ❞❡ C ❞❛♥s C × C ❡t ❝♦♥s✐❞ér♦♥s ❧✬❛♣♣❧✐❝❛t✐♦♥ ❜✐r❛t✐♦♥♥❡❧❧❡ ❞✬❆❜❡❧✲❏❛❝♦❜✐ ✿

AJ : ❙②♠(C) → JC

P +Q 7→ (P ) + (Q)− (ω),

♦ù ω ❡st ❧❡ ❞✐✈✐s❡✉r ❝❛♥♦♥✐q✉❡ ❞❡ ❞❡❣ré ✷ ✭❞✬❛♣rès ❧❡ t❤é♦rè♠❡ ❞❡ ❘✐❡♠❛♥♥✲❘♦❝❤✮✳ ▲❡s
♣♦✐♥ts ♥♦♥✲♥✉❧s ❞❡ 2−t♦rs✐♦♥ ❞❡ JC [2] s♦♥t ✐♠❛❣❡s ♣❛r ❧✬❛♣♣❧✐❝❛t✐♦♥ ❞✬❆❜❡❧✲❏❛❝♦❜✐ ❞❡s
❞✐✈✐s❡✉rs

(0s) := AJ(1s +∞s), (1s) := AJ(0s +∞s) ❡t (∞s) := AJ(0s + 1s).

❖♥ ♣❡✉t ❛ss♦❝✐❡r à ❝❡tt❡ ♣❛r❛♠étr✐s❛t✐♦♥ ❞❡ ❧❛ 2−t♦rs✐♦♥ ❞❡ JC ✱ ✉♥❡ ❜❛s❡ ❝❛♥♦♥✐q✉❡ ❞❡s
❢♦♥❝t✐♦♥s t❤êt❛ q✉❡ ❧✬♦♥ ♥♦t❡ XB, X0, X1, X∞✳ ❖♥ ♣❡✉t ❝❛❧❝✉❧❡r ❧❡s ♣✉❧❧❜❛❝❦s ❞❡s ❢♦♥❝t✐♦♥s

r❛t✐♦♥♥❡❧❧❡s
XB

X∞
,
X0

X∞
, ❡t

X1

X∞
♣❛r ❧✬❛♣♣❧✐❝❛t✐♦♥ ❞✬❆❜❡❧✲❏❛❝♦❜✐ AJ ❝❡ q✉✐ ❞♦♥♥❡ ✿

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✼✺✴✾✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

FB := AJ∗
(
XB

X∞

)

= τ0τ1
1

q(x1,s)q(x2,s)

[

s6ε2(1 + ε2)

(
q(x1,s)y2,s + q(x2,s)x1,s

x1,s + x2,s

)2

+s8
(

1 + ε10

1 + ε2
+ µ2s4ε4

1 + ε6

1 + ε2

)

(x1,sx2,s)
2

+ s4
(

1 + ε6

1 + ε2
+ µ2s4ε4

)

(x1,s + x2,s)
2 + (1 + µ2s4ε2)

]

,

F0 := AJ∗
(
X0

X∞

)

= τ0
[
1 + s2(x1,s + x2,s) + s4x1,sx2,s

]
,

F1 := AJ∗
(
X1

X∞

)

= τ1
[
1 + s2ε2(x1,s + x2,s) + s4ε4x1,sx2,s

]
.

■❧ ❡st ❢❛❝✐❧❡ ❞❡ ✈♦✐r q✉❡ ❧❡s tr♦✐s ♣ré❝é❞❡♥t❡s ❢♦♥❝t✐♦♥s s❡ ré❞✉✐s❡♥t à ❧✬✉♥✐té 1 s✉r ❧❛ ✜❜r❡
s♣é❝✐❛❧❡ ❡t ❞♦♥❝ ♥❡ ❢♦r♠❡♥t ♣❛s ✉♥❡ k[[s]]✲❜❛s❡ ❞✬✉♥ s②stè♠❡ ❞❡ ❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝t✐✈❡s ❞❡
JC ✳

P❛r ❛✐❧❧❡✉rs✱ ♦♥ ♣❡✉t ❝♦♥str✉✐r❡ ❧❡s ♣✉❧❧❜❛❝❦ ♣❛r AJ ❞✬✉♥❡ k[[s]]✲❜❛s❡ ❞❡s s❡❝t✐♦♥ ❣❧♦❜❛❧❡s
❞❡ JCs ❡♥ ❝♦♥s✐❞ér❛♥t ❞❡s ❢♦♥❝t✐♦♥s s②♠étr✐q✉❡s✳ ❊♥ ❡✛❡t✱ ❧❡s tr♦✐s ❢♦♥❝t✐♦♥s s②♠étr✐q✉❡s
1, x1,s + x2,s ❡t x1,sx2,s s♦♥t ❧✐♥é❛✐r❡♠❡♥t ✐♥❞é♣❡♥❞❛♥t❡s✳ ❖♥ ♣❡✉t ❛❧♦rs ❝♦♠♣❧ét❡r ❝❡s tr♦✐s
❢♦♥❝t✐♦♥s ♣❛r ✉♥❡ ❢♦♥❝t✐♦♥ s②♠étr✐q✉❡ f ♣♦✉r ❛✈♦✐r ✉♥❡ ❜❛s❡ {1, x1,s + x2,s, x1,sx2,s, f} ❞❡
❝♦♦r❞♦♥♥é❡s ❤♦♠♦❣è♥❡s ❞❡ ❧✬❡s♣❛❝❡ ♣r♦❥❡❝t✐❢ P3(k[[s]])✳ ◆♦t♦♥s u1,s, u2,s, u3,s ❡t u4,s ❧❛ ❜❛s❡
❝❛♥♦♥✐q✉❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛s✳ ❈❡tt❡ ❜❛s❡ ❡st ❧✐é❡ à ❧❛ ❜❛s❡ ❞❡s ❝♦♦r❞♦♥♥é❡s ❤♦♠♦❣è♥❡s
❣râ❝❡ ❛✉ ❧❡♠♠❡ s✉✐✈❛♥t ✿

▲❡♠♠❡ ✽✳✶ ❬❉✉❝✵✽✱ ♣r♦♣✳ ✸✳✼❪ ❈♦♥s✐❞ér♦♥s ❧❡s ❝♦♦r❞♦♥♥é❡s ❤♦♠♦❣è♥❡s {x, y, z, t} ❞❡ ❧✬❡s✲
♣❛❝❡ ♣r♦❥❡❝t✐❢ P3(k[[s]])✱ ❡t ❧❛ ❜❛s❡ t❤êt❛ ❝❛♥♦♥✐q✉❡ {u1,s, u2,s, u3,s, u4,s}✳ ▲❛ tr❛♥s❢♦r♠❛t✐♦♥
s✉✐✈❛♥t❡ ❞♦♥♥❡ ✉♥ ❝❤❛♥❣❡♠❡♥t ❞❡ ❜❛s❡ ❡♥tr❡ ❧❡s ❝♦♦r❞♦♥♥é❡s t❤êt❛ ❡t ❧❡s ❝♦♦r❞♦♥♥é❡s ❤♦✲
♠♦❣è♥❡s ✿







u1,s = x
u2,s = τ2

1 (x+ s4ε4y + s8ε8z)
u3,s = τ2

0 (x+ s4y + s8z)
u4,s = (τ0τ1)

2
[
(1 + µ2s4ε2)2x+ s4(1 + ε2)2y + s8(1 + ε4)2z + s12ε12(1 + ε2)2t

]

✭✽✳✻✮

❡t ❧✬✐♥✈❡rs❡ ❡st ❞♦♥♥é ♣❛r ✿






x = u1,s

y =
1

(s2ε2τ0τ1(1 + ε2))2
[
(1 + ε4)2τ2

0 τ
2
1u1,s + τ2

0u2,s + ε8τ2
1u3,s

]

z =
1

(s4ε2τ0τ1(1 + ε2))2
[
(1 + ε2)2τ2

0 τ
2
1u1,s + τ2

0u2,s + ε4τ2
1u3,s

]

t =
1

(s6ε2τ0τ1(1 + ε2))2
[
(1 + µ2s4ε2)2τ2

0 τ
2
1u1,s + τ2

0u2,s + τ2
1u3,s + u4,s

]

. ✭✽✳✼✮

▲❡ ❧❡♠♠❡ ♣ré❝é❞❡♥t ♣❡r♠❡t ❞✬♦❜t❡♥✐r ✉♥ ♠♦❞è❧❡ ♣♦✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r s✉♣❡rs✐♥✲
❣✉❧✐èr❡s ❡♥ ré❞✉✐s❛♥t ♠♦❞✉❧♦ s ❧✬éq✉❛t✐♦♥ ♦❜t❡♥✉❡ s✉r ❧❛ k[[s]]✲❜❛s❡ {x, y, z, t}✳ ❖♥ ♦❜t✐❡♥t
q✉✬✉♥ ♠♦❞è❧❡ ♣r♦❥❡❝t✐❢ ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡ à ❧❛ ❝♦✉r❜❡ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡st ✿

KC : µ2x3y + x3t+ x2yz + µ4x2z2 + xy3 + y2t2 + z4 = 0.

✼✻✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✽✳✸✳ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

❆r✐t❤♠ét✐q✉❡✳ ◆♦✉s ❛❧❧♦♥s ♠♦♥tr❡r q✉❡ KC ❡st ✉♥ s❡♠✐❣r♦✉♣❡✳ P♦✉r ❝❡❧❛✱ s♦✐❡♥t P =
[x1 : y1 : z1 : t1] ❡t Q = [x2 : y2 : z2 : t2] ❞❡✉① ♣♦✐♥ts ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r s✉♣❡rs✐♥✲
❣✉❧✐èr❡ KC ✳ P♦s♦♥s P − Q = [x3 : y3 : z3 : t3] ∈ KC ✳ ❆❧♦rs ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ 2P =
[X3 : Y3 : Z3 : T3] ❡t ❞❡ P + Q = [X ′

3 : Y ′
3 : Z ′

3 : T ′
3] s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s ❢♦r♠✉❧❡s s✉✐✲

✈❛♥t❡s ✿

❉✉♣❧✐❝❛t✐♦♥







X3 = (µx1 + y1)
4

Y3 = x4
1

Z3 = (x1z1 + y1t1)
2

T3 = (µ2z2
1 + µx2

1 + x1y1 + t21)
2

❛❞❞✐t✐♦♥







A = (x1t2 + y1z2 + z1y2 + t1x2)
2

B = (x1y2 + y1x2)
2

C = µ4(t1x2 + x1z2)
2 + (t1y2 + y1t2)

2

D = (µx2 + y2)(µx1 + y1)
E1 = y2

3 + x3z3
E2 = y3

3 + x2
3t3

X ′
3 = A/x3

Y ′
3 = (y3A+ x3B)/x2

3

Z ′
3 = (E1A+ x3y3B + x2

3C)/x3
3

T ′
3 = (AE2 + x3E1B + x2

3y3C + x3
3D

2)/x4
3

.

▲✬é❧é♠❡♥t ♥❡✉tr❡ ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❡st [1 : 0 : 0 : 0]✳

❈♦♠♣❧❡①✐té✳ ▲❛ ❞✉♣❧✐❝❛t✐♦♥ ❝♦ût❡ ✺ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✼ ❝❛rrés✳ P♦✉r ❧✬❛❞❞✐t✐♦♥✱ ♦♥ ♣❡✉t
✉t✐❧✐s❡r ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿
L1 = x1x2, L2 = y1y2, L3 = z1z2, L4 = t1t2,
T1 = (x1 + y1)(x2 + y2), T2 = (x1 + z1)(x2 + z2)
M1 = (y1 + z1 + t1)(y2 + z2 + t2), M2 = (x1 + y1 + t1)(x3 + y3 + t2),
M3 = (x1 + z1 + t1)(x1 + z1 + t1), N = (x1 + y1 + z1 + t1)(x2 + y2 + z2 + t2),
A = (L1 + L4 +M2 +M3 +N)2, B = (L1 + L2 + T1)

2,
C = (L2 + L4 +M1 +M2 +N + (µ2 + 1)(T3 + L1 + L3))

2,
D = ((µ+ 1)(µL1 + L2) + µT1)

2,
❡t ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ ❧❛ s♦♠♠❡ s♦♥t ❞♦♥♥é❡s ♣❛r ✿






X ′
3 = A/x3

Y ′
3 = (y3X

′
3 +B)/x3

Z ′
3 = (z3X

′
3 + y3Y

′
3 + C)/x3

T ′
3 = (t3X

′
3 + z3Y

′
3 + y3Z

′
3 +D)/x3

.

❆❧♦rs ❧✬❛❞❞✐t✐♦♥ ❝♦ût❡ ✷✵ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✹ ❝❛rrés ✭❝♦♠♠❡ ♦♥ ❡st ❡♥ ❝♦♦r❞♦♥♥é❡s ♣r♦❥❡❝✲
t✐✈❡s✮✳ ❙✐ µ = 1✱ ❝❡tt❡ ❝♦♠♣❧❡①✐té ❞❡s❝❡♥❞ ❥✉sq✉✬à ✶✻ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✹ ❝❛rrés✳

❱ér✐✜❝❛t✐♦♥ ❞❡ ❧✬❛❞❞✐t✐♦♥✳ ▲❡ ❝♦❞❡ s❛❣❡♠❛t❤ ❬❙t❡✵✾❪ s✉✐✈❛♥t ♣❡r♠❡t ❞❡ ✈ér✐✜❡r q✉❡
❧✬❛❞❞✐t✐♦♥ ❡st ✉♥❡ ❧♦✐ ✐♥t❡r♥❡✳

❘✳❁♠✉✱①✶✱②✶✱③✶✱t✶✱①✷✱②✷✱③✷✱t✷✱①✸✱②✸✱③✸✱t✸❃ ❂ ●❋✭✷✮❬❪

❊qP ❂ ♠✉❫✹✯①✶❫✷✯③✶❫✷ ✰ ♠✉❫✷✯①✶❫✸✯②✶ ✰ ①✶✯②✶❫✸ ✰ ①✶❫✷✯②✶✯③✶❭

✰ ③✶❫✹ ✰ ①✶❫✸✯t✶ ✰ ②✶❫✷✯t✶❫✷

❊q◗ ❂ ♠✉❫✹✯①✷❫✷✯③✷❫✷ ✰ ♠✉❫✷✯①✷❫✸✯②✷ ✰ ①✷✯②✷❫✸ ✰ ①✷❫✷✯②✷✯③✷❭

✰ ③✷❫✹ ✰ ①✷❫✸✯t✷ ✰ ②✷❫✷✯t✷❫✷

❊q❘ ❂ ♠✉❫✹✯①✸❫✷✯③✸❫✷ ✰ ♠✉❫✷✯①✸❫✸✯②✸ ✰ ①✸✯②✸❫✸ ✰ ①✸❫✷✯②✸✯③✸❭

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✼✼✴✾✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

✰ ③✸❫✹ ✰ ①✸❫✸✯t✸ ✰ ②✸❫✷✯t✸❫✷

❆ ❂ ✭①✶✯t✷ ✰ ②✶✯③✷ ✰ ③✶✯②✷ ✰ t✶✯①✷✮❫✷

❇ ❂ ✭①✶✯②✷ ✰ ②✶✯①✷✮❫✷

❈ ❂ ♠✉❫✹✯✭t✶✯①✷ ✰ ①✶✯③✷✮❫✷ ✰ ✭t✶✯②✷ ✰ ②✶✯t✷✮❫✷

❉ ❂ ✭♠✉✯①✷ ✰ ②✷✮✯✭♠✉✯①✶ ✰ ②✶✮

❊ ❂ ✭②✸❫✷ ✰ ①✸✯③✸✮

❳✸ ❂ ❆✴①✸

❨✸ ❂ ✭③✷✯❆ ✰ ①✸✯❇✮✴①✸❫✷

❩✸ ❂ ✭❊✯❆ ✰ ①✸✯②✸✯❇ ✰ ①✸❫✷✯❈✮✴①✸❫✸

❚✸ ❂ ✭❆✯✭②✸❫✸ ✰ ①✸❫✷✯t✸✮ ✰ ①✸✯❊✯❇ ✰ ①✸❫✷✯②✸✯❈ ✰ ①✸❫✸✯❉❫✷✮✴①✸❫✹

❊q❙ ❂ ♠✉❫✹✯❳✸❫✷✯❩✸❫✷ ✰ ♠✉❫✷✯❳✸❫✸✯❨✸ ✰ ❳✸✯❨✸❫✸ ✰ ❳✸❫✷✯❨✸✯❩✸❭

✰ ❩✸❫✹ ✰ ❳✸❫✸✯❚✸ ✰ ❨✸❫✷✯❚✸❫✷

❊q❙✪✭❊qP✯❊q◗✯❊q❘✮ ❂❂ ✵

Pr❡✉✈❡ ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡✳ ▲❛ ♣r❡✉✈❡ ❞❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✽✳✸✳✸
❡st ❢❛✐t❡ ♣❛r ❉✉❝r♦❤❡t ❬❉✉❝✵✽❪✱ ♥♦✉s ♥✬❛❧❧♦♥s ♣r♦✉✈❡r q✉❡ ❧❛ ❧♦✐ ❞✬❛❞❞✐t✐♦♥ ❞✉ s❡♠✐❣r♦✉♣❡✳

❈♦♥s✐❞ér♦♥s ❧❡s ♣♦✐♥ts U = [u1,s : u2,s : u3,s : u4,s] , V = [v1,s : v2,s : v3,s : v4,s] ❡t W =
[w1,s : w2,s : w3,s : w4,s] ❞❡ ❧❛ s✉r❢❛❝❡ ♦r❞✐♥❛✐r❡ KCs ❧❡s ❛♥té❝é❞❡♥ts ❞❡s ♣♦✐♥ts P,Q ❡t R
❞♦♥♥és ♣❛r ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ✭✽✳✻✮✳ ❙✉r ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡ KCs ✱ ♥♦✉s
❛✈♦♥s ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ✭✽✳✷✮ s✉✐✈❛♥t❡s ✭❛tt❡♥t✐♦♥ ❛✉① ❝❤❛♥❣❡♠❡♥t ❞❡ ♥♦t❛t✐♦♥✮ ✿







u′3,s = (u1,sv1,s + u2,sv2,s + u3,sv3,s + u4,sv4,s)
2/w1,s

u′3,s = (u1,sv2,s + u2,sv1,s + u3,sv4,s + u4,sv3,s)
2/w2,s

u′3,s = (u1,sv3,s + u2,sv4,s + u3,sv1,s + u4,sv2,s)
2/w3,s

u′3,s = (u1,sv4,s + u2,sv3,s + u3,sv2,s + u4,sv1,s)
2/w4,s

.

❆❧♦rs✱ ✐❧ s✉✣t ❞❡ ❝❛❧❝✉❧❡r ❧❡s u′i,s ♣♦✉r i = 1, 2, 3, 4✳ ❙♦✐❡♥t Si,s✱ ♣♦✉r i = 1, 2, 3, 4✱ ❧❡s
✐♠❛❣❡s ❞❡s u′i,s ♣❛r ❧✬❛♣♣❧✐❝❛t✐♦♥ ✭✽✳✼✮✱ ❛❧♦rs







S1,s = u′1,s

S2,s =
1

(s2ε2τ0τ1(1 + ε2))2
[
(1 + ε4)2τ2

0 τ
2
1u

′
1,s + τ2

0u
′
2,s + ε8τ2

1u
′
3,s

]

S3,s =
1

(s4ε2τ0τ1(1 + ε2))2
[
(1 + ε2)2τ2

0 τ
2
1u

′
1,s + τ2

0u
′
2,s + ε4τ2

1u
′
3,s

]

S4,s =
1

(s6ε2τ0τ1(1 + ε2))2
[
(1 + µ2s4ε2)2τ2

0 τ
2
1u

′
1,s + τ2

0u
′
2,s + τ2

1u
′
3,s + u′s4,s

]

.

❆♣rès ❝❛❧❝✉❧ ❡t ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ ❝❤❛q✉❡ Si,s✱ ♦♥ tr♦✉✈❡ ❧❡s ❢♦r♠✉❧❡s ❞✬❛❞❞✐t✐♦♥ ❡♥ s♣é✲
❝✐❛❧✐s❛♥t s = 0✱ ✐✳❡✳ ❡♥ ❝❛❧❝✉❧❛♥t Si,0 ♣♦✉r i = 1, 2, 3, 4✳ ▲❡s ❝❛❧❝✉❧s ♣❡✉✈❡♥t s❡ ❢❛✐r❡ ❣râ❝❡
❛✉ s❝r✐♣t s❛❣❡♠❛t❤ ❬❙t❡✵✾❪ s✉✐✈❛♥t ✿

❘✳❁s✱♠✉✱❡✱①✶✱②✶✱③✶✱t✶✱①✷✱②✷✱③✷✱t✷✱①✸✱②✸✱③✸✱t✸❃ ❂ ●❋✭✷✮❬❪

✈✵ ❂ ♠✉❫✷✯s❫✹✰s❫✺✯✭✶✰❡❫✷✮✯✭✶✰♠✉✯s❫✷✮

✈✶ ❂ ♠✉❫✷✯s❫✹✯❡❫✹ ✰ s❫✺✯❡❫✸✯✭✶✰❡❫✷✮✯✭✶✰♠✉✯s❫✷✯❡❫✷✮

❚❛✉✵ ❂ ✶✴✭✶✰✈✵✮

❚❛✉✶ ❂ ✶✴✭✶✰✈✶✮

✉✶ ❂ ①✶

✉✷ ❂ ❚❛✉✶✯✭①✶ ✰ ✭s❫✷✯❡❫✷✮❫✷✯②✶ ✰ ✭s❫✹✯❡❫✹✮❫✷✯③✶✮

✉✸ ❂ ❚❛✉✵✯✭①✶ ✰ ✭s❫✷✮❫✷✯②✶ ✰ ✭s❫✹✮❫✷✯③✶✮

✼✽✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✽✳✸✳ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

✉✹ ❂ ✭❚❛✉✵✯❚❛✉✶✮✯✭✭✶✰♠✉❫✷✯s❫✹✯❡❫✷✮❫✷✯①✶ ✰ ✭s❫✷✯✭✶✰❡❫✷✮✮❫✷✯②✶❭

✰ ✭s❫✹✯✭✶✰❡❫✹✮✮❫✷✯③✶ ✰ ✭s❫✻✯❡❫✷✯✭✶✰❡❫✷✮✮❫✷✯t✶✮

✈✶ ❂ ①✷

✈✷ ❂ ❚❛✉✶✯✭①✷ ✰ ✭s❫✷✯❡❫✷✮❫✷✯②✷ ✰ ✭s❫✹✯❡❫✹✮❫✷✯③✷✮

✈✸ ❂ ❚❛✉✵✯✭①✷ ✰ ✭s❫✷✮❫✷✯②✷ ✰ ✭s❫✹✮❫✷✯③✷✮

✈✹ ❂ ✭❚❛✉✵✯❚❛✉✶✮✯✭✭✶✰♠✉❫✷✯s❫✹✯❡❫✷✮❫✷✯①✷ ✰ ✭s❫✷✯✭✶✰❡❫✷✮✮❫✷✯②✷❭

✰ ✭s❫✹✯✭✶✰❡❫✹✮✮❫✷✯③✷ ✰ ✭s❫✻✯❡❫✷✯✭✶✰❡❫✷✮✮❫✷✯t✷✮

✇✶ ❂ ①✸

✇✷ ❂ ❚❛✉✶✯✭①✸ ✰ ✭s❫✷✯❡❫✷✮❫✷✯②✸ ✰ ✭s❫✹✯❡❫✹✮❫✷✯③✸✮

✇✸ ❂ ❚❛✉✵✯✭①✶ ✰ ✭s❫✷✮❫✷✯②✸ ✰ ✭s❫✹✮❫✷✯③✸✮

✇✹ ❂ ✭❚❛✉✵✯❚❛✉✶✮✯✭✭✶✰♠✉❫✷✯s❫✹✯❡❫✷✮❫✷✯①✸ ✰ ✭s❫✷✯✭✶✰❡❫✷✮✮❫✷✯②✸ ❭

✰ ✭s❫✹✯✭✶✰❡❫✹✮✮❫✷✯③✸ ✰ ✭s❫✻✯❡❫✷✯✭✶✰❡❫✷✮✮❫✷✯t✸✮

✉❴✶❂✭✉✶✯✈✶ ✰ ✉✷✯✈✷ ✰ ✉✸✯✈✸ ✰ ✉✹✯✈✹✮❫✷✴✇✶

✉❴✷❂✭✉✶✯✈✷ ✰ ✉✷✯✈✶ ✰ ✉✸✯✈✹ ✰ ✉✹✯✈✸✮❫✷✴✇✷

✉❴✸❂✭✉✶✯✈✸ ✰ ✉✷✯✈✹ ✰ ✉✸✯✈✶ ✰ ✉✹✯✈✷✮❫✷✴✇✸

✉❴✹❂✭✉✶✯✈✹ ✰ ✉✷✯✈✸ ✰ ✉✸✯✈✷ ✰ ✉✹✯✈✶✮❫✷✴✇✹

★ ❯t✐❧✐s❛t✐♦♥ ❞❡ ❧✬✐♥✈❡rs❡

❙✶ ❂ ✉❴✶

❙✷ ❂ ✭✉❴✶✯✭✭❡❫✹ ✰ ✶✮❫✷✯❚❛✉✵✯❚❛✉✶✮ ✰ ✉❴✷✯❚❛✉✵❭

✰ ✭❡❫✹✮❫✷✯✉❴✸✯❚❛✉✶✮✴✭✭s❫✷✯❡❫✷✯✭❡❫✷ ✰ ✶✮✮❫✷✯❚❛✉✵✯❚❛✉✶✮

❙✸ ❂ ✭✉❴✶✯✭✭❡❫✷ ✰ ✶✮❫✷✯❚❛✉✵✯❚❛✉✶✮ ✰ ✉❴✷✯❚❛✉✵❭

✰ ✭❡❫✷✮❫✷✯✉❴✸✯❚❛✉✶✮✴✭✭s❫✹✯❡❫✷✯✭❡❫✷ ✰ ✶✮✮❫✷✯❚❛✉✵✯❚❛✉✶✮

❙✹ ❂ ✭✉❴✶✯✭✭♠✉❫✷✯s❫✹✯❡❫✷ ✰ ✶✮❫✷✯❚❛✉✵✯❚❛✉✶✮ ✰ ✉❴✷✯❚❛✉✵❭

✰ ✉❴✸✯❚❛✉✶ ✰ ✉❴✹✮✴✭✭s❫✻✯❡❫✷✯✭❡❫✷ ✰ ✶✮✮❫✷✯❚❛✉✵✯❚❛✉✶✮

❈❡ q✉✐ ♣❡r♠❡t ❞❡ ❞é❞✉✐r❡ ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡✳ 2

✽✳✸✳✹ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❞❡ p−r❛♥❣ ✶

▼♦❞è❧❡✳ ▲❡ ♠♦❞è❧❡ ❞❡ ❲❡✐❡rstr❛β ❞❡ ❧❛ ❝♦✉r❜❡ ❤②♣❡r❡❧❧✐♣t✐q✉❡ ❞❡ p−r❛♥❣ ✶ ❡st ❞♦♥♥é
♣❛r ❧✬éq✉❛t✐♦♥ C′ : y2 + xy = λx5 + µx3 + x, ❛✈❡❝ λ, µ ∈ k ❡t λ 6= 0. ❖♥ ♣❡✉t ❝♦♥s✐❞ér❡r
❧❛ ❝♦✉r❜❡ C′ ❝♦♠♠❡ ❧❛ ✜❜r❡ s♣é❝✐❛❧❡ ❞❡ ❧❛ ❝♦✉r❜❡ C′s s✉r ❧✬❛♥♥❡❛✉ ❞❡ sér✐❡s ❢♦r♠❡❧❧❡s k[[s]]✱
❞♦♥♥é❡ ♣❛r ❧✬éq✉❛t✐♦♥ C′s : y2 + (sx2 + x)y = λx5 + µx3 + x✳ ❈♦♠♠❡ ♣♦✉r ❧❡ ♠♦❞è❧❡
s✉♣❡rs✐♥❣✉❧✐❡r✱ ❧❛ ❝♦✉r❜❡ C′s ❡st ✉♥ t✇✐st ❞✬✉♥❡ ❝♦✉r❜❡ ♦r❞✐♥❛✐r❡ ✭✽✳✷✮ ❛✈❡❝

as = λ/s3, bs = α2 + α, cs = s ❡t α2 = as + cs + µ/s. ✭✽✳✽✮

❈♦♥s✐❞ér♦♥s ❧❛ ❜❛s❡ ❝❛♥♦♥✐q✉❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ [u1,s, u2,s, u3,s, u4,s] ❞❡ ❧❛ ❝♦✉r❜❡
C′s ❡t ❧❛ ❜❛s❡ ❞❡s ❝♦♦r❞♦♥♥é❡s ❤♦♠♦❣è♥❡s [x, y, z, t] s✉r P3(k[[s]])✳ ▲❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s
❞♦♥♥❡♥t ❧✬❛♣♣❧✐❝❛t✐♦♥ ❞❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ❜❛s❡s ✭❬▲P✵✹✱ s❡❝t✐♦♥ ✹✳✹❪✮







u1,s = (1 + s′3 + s′4 + s′5)2x
u2,s = (1 + s′3 + s′4 + s′5)2y
u3,s = x+ s′8z
u4,s = y + s′8t

, ✭✽✳✾✮

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✼✾✴✾✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

❛✈❡❝ s = s′4✳ ◆♦✉s ♣♦✉✈♦♥s ❛❧♦rs ✉t✐❧✐s❡r ❧❛ ♠ê♠❡ t❡❝❤♥✐q✉❡ q✉❡ ❝❡❧❧❡ ❞❡ ❧❛ s♦✉s✲s❡❝t✐♦♥
✽✳✸✳✸ ❛✈❡❝ ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ✭✽✳✾✮ ❡t ❞❡s r❡❧❛t✐♦♥s ✭✽✳✽✮✳ ❈❡❝✐ ♥♦✉s ♣❡r♠❡t ❞❡
❞♦♥♥❡r ✉♥ ♠♦❞è❧❡ ♣r♦❥❡❝t✐❢ ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❛ss♦❝✐é❡ à ❧❛ ❝♦✉r❜❡ ❞❡ p−r❛♥❣ ✶ ✿

KC′ : x4 + x2yt+ µ2x2y2 + λxy2z + λ2y4 + z2t2 = 0.

❆r✐t❤♠ét✐q✉❡✳ ❈♦♠♠❡ ❞❛♥s ❧❛ s❡❝t✐♦♥ ♣ré❝é❞❡♥t❡✱ ♥♦✉s ❛❧❧♦♥s ♠♦♥tr❡r q✉❡ ❧❛ s✉r✲
❢❛❝❡ ❞❡ ❑✉♠♠❡r KC′ ❡st ✉♥ s❡♠✐❣r♦✉♣❡✳ P♦✉r ❝❡❧❛✱ s♦✐❡♥t P = [x1 : y1 : z1 : t1] ❡t Q =
[x2 : y2 : z2 : t2] ❞❡✉① ♣♦✐♥ts ❞❡ ❧❛ s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r s✉♣❡rs✐♥❣✉❧✐èr❡ KC′ ✳ P♦s♦♥s P −Q =
[x3 : y3 : z3 : t3] ✉♥ ♣♦✐♥t ❞❡ KC′ ✳ ❆❧♦rs ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ 2P = [X3 : Y3 : Z3 : T3] ❡t ❞❡
P +Q = [X ′

3 : Y ′
3 : Z ′

3 : T ′
3] s♦♥t ❞♦♥♥é❡s ♣❛r ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿

❉✉♣❧✐❝❛t✐♦♥







X3 = λ1(x1 + y1)
4

Y3 = λ2(x1 + y1 + z1 + t1)
4

Z3 = λ3(x1t1 + y1z1)
2

T3 = λ4(x1y1)
2

❆❞❞✐t✐♦♥







A = (x1z2 + y1t2 + z1x2 + t1y2)
2

B = (x1t2 + y1z2 + z1y2 + t1x2)
2

C = (x1y2 + y1x2)
2

D = (x1x2 + y1y2)
2

X ′
3 = A/x3

Y ′
3 = B/y3

Z ′
3 = (D + z3X

′
3)/x3

T ′
3 = (C + t3Y

′
3)/y3

.

▲✬é❧é♠❡♥t ♥❡✉tr❡ ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❡st [0 : 0 : 1 : 0]✳

❈♦♠♣❧❡①✐té✳ ▲❛ ❞✉♣❧✐❝❛t✐♦♥ ❝♦ût❡ ✻ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ❡t ✻ ❝❛rrés ❝♦♠♠❡ ♦♥ ♣❡✉t ♣r❡♥❞r❡
λ0 = 1✳ P♦✉r ❧✬❛❞❞✐t✐♦♥✱ ♦♥ ♣❡✉t ✉t✐❧✐s❡r ❧❡s ❢♦r♠✉❧❡s s✉✐✈❛♥t❡s ✿






L0 = x1x2, L1 = y1y2, L2 = z1z2, L3 = t1t2,
T = (x1 + y1)(x2 + y2), M1 = (y1 + z1 + t1)(y2 + z2 + t2),
M2 = (x1 + y1 + t1)(x3 + y3 + t2), M3 = (x1 + z1 + t1)(x1 + z1 + t1),
N = (x1 + y1 + z1 + t1)(x2 + y2 + z2 + t2), A = (L1 + L3 +M1 +M2 +N)2,
B = (L0 + L3 +M2 +M3 +N)2, C = (L0 + L1 + T )2, D = (L0 + L1)

2,
❞♦♥❝ ❧✬❛❞❞✐t✐♦♥ ❝♦ût❡ ✶✶ ♠✉❧t✐♣❧✐❝❛t✐♦♥s✱ ✹ ❝❛rrés ❡t ✷ ✐♥✈❡rs✐♦♥s✳

❱ér✐✜❝❛t✐♦♥ ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡✳ ▲❡ ❝♦❞❡ s❛❣❡♠❛t❤ ❬❙t❡✵✾❪ s✉✐✈❛♥t ♣❡r♠❡t ❞❡
✈ér✐✜❡r ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ✿

❘✳❁❧❛♠❜✱♠✉✱①✶✱②✶✱③✶✱t✶✱①✷✱②✷✱③✷✱t✷✱①✸✱②✸✱③✸✱t✸❃ ❂ ●❋✭✷✮❬❪

❊qP ❂ ①✶❫✹ ✰ ①✶❫✷✯②✶✯t✶ ✰ ♠✉❫✷✯①✶❫✷✯②✶❫✷ ✰ ❧❛♠❜✯①✶✯②✶❫✷✯③✶❭

✰ ❧❛♠❜❫✷✯②✶❫✹ ✰ ③✶❫✷✯t✶❫✷

❊q◗ ❂ ①✷❫✹ ✰ ①✷❫✷✯②✷✯t✷ ✰ ♠✉❫✷✯①✷❫✷✯②✷❫✷ ✰ ❧❛♠❜✯①✷✯②✷❫✷✯③✷❭

✰ ❧❛♠❜❫✷✯②✷❫✹ ✰ ③✷❫✷✯t✷❫✷

❊q❘ ❂ ①✸❫✹ ✰ ①✸❫✷✯②✸✯t✸ ✰ ♠✉❫✷✯①✸❫✷✯②✸❫✷ ✰ ❧❛♠❜✯①✸✯②✸❫✷✯③✸❭

✰ ❧❛♠❜❫✷✯②✸❫✹ ✰ ③✸❫✷✯t✸❫✷

▲✵ ❂ ①✶✯①✷❀▲✶ ❂ ②✶✯②✷❀▲✷ ❂ ③✶✯③✷❀▲✸ ❂ t✶✯t✷

▼✵ ❂ ✭①✶ ✰ ②✶✮✯✭①✷ ✰ ②✷✮❀▼✶ ❂ ✭②✶ ✰ ③✶ ✰ t✶✮✯✭②✷ ✰ ③✷ ✰ t✷✮

✽✵✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷



✽✳✸✳ ❙✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①

▼✷ ❂ ✭①✶ ✰ ②✶ ✰ t✶✮✯✭①✸ ✰ ②✸ ✰ t✷✮❀▼✸ ❂ ✭①✶ ✰ ③✶ ✰ t✶✮✯✭①✶ ✰ ③✶ ✰ t✶✮

◆ ❂ ✭①✶ ✰ ②✶ ✰ ③✶ ✰ t✶✮✯✭①✷ ✰ ②✷ ✰ ③✷ ✰ t✷✮

❆ ❂ ✭▲✶ ✰ ▲✸ ✰ ▼✶ ✰ ▼✷ ✰ ◆✮❫✷❀❉ ❂ ✭▲✵ ✰ ▲✶✮❫✷

❇ ❂ ✭▲✵ ✰ ▲✸ ✰ ▼✷ ✰ ▼✸ ✰ ◆✮❫✷❀❈ ❂ ✭▲✵ ✰ ▲✶ ✰ ▼✵✮❫✷

❳✸ ❂ ❆✴①✸❀ ❨✸ ❂ ❇✴②✸

❩✸ ❂ ✭❉ ✰ ③✸✯❳✸✮✴①✸❀

❚✸ ❂ ✭❈ ✰ t✸✯❨✸✮✴②✸

❊q❙ ❂ ❳✸❫✹ ✰ ❳✸❫✷✯❨✸✯❚✸ ✰ ♠✉❫✷✯❳✸❫✷✯❨✸❫✷ ✰ ❧❛♠❜✯❳✸✯❨✸❫✷✯❩✸❭

✰ ❧❛♠❜❫✷✯❨✸❫✹ ✰ ❩✸❫✷✯❚✸❫✷

❊q❙ ✪ ✭❊qP✯❊q◗✯❊q❘✮ ❂❂ ✵

Pr❡✉✈❡ ❞❡ ❧❛ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡✳ ▲❛ ♣r❡✉✈❡ ❞❡ ❝❡tt❡ ❧♦✐ ❞❡ s❡♠✐❣r♦✉♣❡ ❡st s❡♠❜❧❛❜❧❡
à ❧❛ ♣r❡✉✈❡ ✽✳✸✳✸ ❞❛♥s ❧❡ ❝❛s ❞❡ ❧❛ s✉r❢❛❝❡ s✉♣❡rs✐♥❣✉❧✐èr❡✳

❈♦♥s✐❞ér♦♥s ❧❡s ♣♦✐♥ts U = [u1,s : u2,s : u3,s : u4,s] , V = [v1,s : v2,s : v3,s : v4,s] ❡t W =
[w1,s : w2,s : w3,s : w4,s] ❞❡ ❧❛ s✉r❢❛❝❡ ♦r❞✐♥❛✐r❡ KCs ❝♦♠♠❡ ❧❡s ❛♥té❝é❞❡♥ts ❞❡s ♣♦✐♥ts P,Q
❡t R ❞♦♥♥és ♣❛r ❧❡ ❝❤❛♥❣❡♠❡♥t ❞❡ ✈❛r✐❛❜❧❡s ✭✽✳✾✮✳ ■❧ s✉✣t ❛❧♦rs ❞✬✉t✐❧✐s❡r ❧❡s ❢♦r♠✉❧❡s
❞✬❛❞❞✐t✐♦♥ s✉r ❧❛ s✉r❢❛❝❡ ♦r❞✐♥❛✐r❡✱ ❞✬✉t✐❧✐s❡r ❧✬✐♥✈❡rs❡ ❡t ❞❡ s♣é❝✐❛❧✐s❡r s = 0✳

✽✳✸✳✺ ❈♦♠♣❛r❛✐s♦♥ ❛✈❡❝ ❞❡s ét✉❞❡s ♣ré❝é❞❡♥t❡s

◆♦✉s ❛❧❧♦♥s ❝♦♠♣❛r❡r ♥♦tr❡ ét✉❞❡ à ❝❡❧❧❡ ❞❡ ❉✉q✉❡s♥❡ ❬❉✉q✵✼✱ ❉✉q✵✽❜❪ ❀ ♣r✐♥❝✐♣❛❧❡✲
♠❡♥t✱ ♥♦✉s ✉t✐❧✐s♦♥s ❧❡s ❢♦r♠✉❧❡s q✉✬✐❧ ❞♦♥♥❡ s✉r ❧❡ ✇❡❜ ❤tt♣✿✴✴✇✇✇✳♠❛t❤✳✉♥✐✈✲♠♦♥t♣✷✳❢r✴
⑦❞✉q✉❡s♥❡✴❛rt✐❝❧❡s✴❦✉♠♠❡r✷ ❬❉✉q✵✽❛❪✳ ❘❛♣♣❡❧♦♥s ❧❡s ♥♦t❛t✐♦♥s s✉✐✈❛♥t❡s ✿

C : y2 + x(x+ 1)y = x(x+ 1)
[
ax3 + (a+ b)x2 + cx+ c

]
❛✈❡❝ abc ∈ k− {0}

C : y2 + y = x5 + µ2x3 ❛✈❡❝ µ ∈ k− {0}
C′ : y2 + xy = λx5 + µx3 + x, ❛✈❡❝ λ, µ ∈ k ❡t λ 6= 0.

▲❡ t❛❜❧❡❛✉ ✽✳✶ ❞♦♥♥❡ ❧❡s ❞✐✛ér❡♥ts ❝♦ûts ❞❡ ❝❛❧❝✉❧✱ ❡♥ ♥♦♠❜r❡ ❞❡ ♠✉❧t✐♣❧✐❝❛t✐♦♥s ✭M✮ ❡t ❞❡
❝❛rrés ✭S✮✱ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r KC ,KC ❡t KC′ ❝♦rr❡s♣♦♥❞❛♥t❡s✳ ▲❡ s②♠❜♦❧❡ ≫ 1
s✐❣♥✐✜❡ q✉❡ ❧❛ ❝♦♥st❛♥t❡ ❡st ❣r❛♥❞❡ ❡t ♦♥ ♣❡✉t ❝♦♠♣t❡r ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ♣❛r ❧❛ ❝♦♥st❛♥t❡
❡t ❧❡ s②♠❜♦❧❡ ≈ 1 s✐❣♥✐✜❡ q✉❡ ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ♣❛r ❧❛ ❝♦♥st❛♥t❡ ❡st ♥é❣❧✐❣❡❛❜❧❡✳ ❈♦♠♠❡
❧❡ ❝❛rré ❡st ✉♥❡ ♦♣ér❛t✐♦♥ ❧✐♥é❛✐r❡ s✉r ❧❡s ❝♦r♣s ✜♥✐ ❞❡ ❝❛r❛❝tér✐st✐q✉❡ ✷✱ ❛❧♦rs ♥♦✉s ❛❧❧♦♥s
♣r❡♥❞r❡ ❛✉ ♠❛①✐♠✉♠ S = 0, 3M ❝♦♠♠❡ ✐♥❞✐q✉é ❞❛♥s ❧❡ t❛❜❧❡❛✉ ✽✳✶✳

❖♥ r❡♠❛rq✉❡ q✉❡ ❧❡ ❝♦ût ❞❡ ❧❛ ❞✉♣❧✐❝❛t✐♦♥ ❡st ❧❡ ♠ê♠❡ s❛✉❢ ♣♦✉r ❧❡s s✉r❢❛❝❡s ♦r❞✐♥❛✐r❡s ❀
❞✬❛✐❧❧❡✉rs✱ ♦♥ tr♦✉✈❡ ❧❡s ♠ê♠❡s ❢♦r♠✉❧❡s ❞❡ ❞✉♣❧✐❝❛t✐♦♥ ♣♦✉r ❧❛ s✉r❢❛❝❡ s✉♣❡rs✐♥❣✉❧✐èr❡✳
P♦✉r ❧✬❛❞❞✐t✐♦♥✱ ♦♥ ♦❜t✐❡♥t ❣❧♦❜❛❧❡♠❡♥t ❞❡s ❣❛✐♥s ❞❡ ❝❛❧❝✉❧s ♣❛r r❛♣♣♦rt ❛✉① ❢♦r♠✉❧❡s
❞❡ ❉✉q✉❡s♥❡ ❡t ❧❡ ❣❛✐♥ ♠❛①✐♠✉♠ ❡st ❞❡ 16% ✭❧❡ ❝❛s ❞❡ ❧❛ s✉r❢❛❝❡ s✉♣❡rs✐♥❣✉❧✐èr❡ ♦ù
µ ≈ 1 ❡t S = 0.3M✮✳

❈♦♥❝❧✉s✐♦♥

❉❛♥s ❝❡tt❡ ♣❛rt✐❡✱ ♥♦✉s ❛✈♦♥s ❞✬❛❜♦r❞ r❛♣♣❡❧é ❧❛ t❤é♦r✐❡ ❣é♥ér❛❧❡ ❞❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❛✉
❝❤❛♣✐tr❡ ✻✱ ♣✉✐s ❛✉① ❝❤❛♣✐tr❡s ✼ ❡t ✽ ♥♦✉s ❛✈♦♥s ❞♦♥♥❡r ❞❡✉① ❛♣♣❧✐❝❛t✐♦♥s ❞❡ ❝❡tt❡ t❤é♦r✐❡
à ❧✬❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ❡t ❞❡s ❝♦✉r❜❡s ❡♥ ❣❡♥r❡ ✷ r❡s♣❡❝t✐✈❡♠❡♥t✳

❊♥ ❣❡♥r❡ ✶✱ ♥♦✉s ré✐♥t❡r♣rét♦♥s ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡ ❣râ❝❡
❛✉① ❢♦♥❝t✐♦♥s t❤êt❛✳ ❈❡ q✉✐ ♥♦✉s ♣❡r♠❡t ❞✬❡♥ ❞é❞✉✐r❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❜✐♥❛✐r❡ ❣râ❝❡ à

❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷ ✽✶✴✾✶



❈❤❛♣✐tr❡ ✽✳ ❈❛❧❝✉❧ ❡✣❝❛❝❡ ❡♥ ❣❡♥r❡ ✷

❚②♣❡ ❉✉♣❧✐❝❛t✐♦♥ ❆❞❞✐t✐♦♥

❋♦r♠✉❧❡s ❞❡ ❋♦r♠✉❧❡s ❋♦r♠✉❧❡s ❞❡ ❋♦r♠✉❧❡s
❉✉q✉❡s♥❡ ❞❡ t❤êt❛ ❉✉q✉❡s♥❡ ❞❡ t❤êt❛

KC ✭♦r❞✐♥❛✐r❡✮ 10M + 6S 7M + 4S 14M + S 11M + 4S
S = 0, 3M 11, 8M 8, 2M 14, 3M 12, 2M

KC ✭s✉♣❡rs✐♥❣✉❧✐èr❡✮ 5M + 7S 5M + 7S 20M + 5S 20M + 4S
µ≫ 1 ❡t S = 0, 3M 7, 1M 7, 1M 21, 5M 21, 2M

µ ≈ 1 5M + 7S 5M + 7S 19M + 5S 16M + 4S
µ ≈ 1 ❡t S = 0.3M 7, 1M 7, 1M 20, 5M 17, 2M

KC′ ✭p−r❛♥❣ ✶✮ 6M + 6S 6M + 6S 13M + 2S 11M + 4S
λ≫ 1 ❡t S = 0, 3M 7, 8M 7, 8M 13, 6M 12, 2M

λ ≈ 1 6M + 6S 6M + 6S 12M + 2S 11M + 4S
λ ≈ 1 ❡t S = 0, 3M 7, 8M 7, 8M 12, 6M 12, 2M

❚❛❜✳ ✽✳✶ ✕ ❈♦ût ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✷

✉♥❡ rés♦❧✉t✐♦♥ ❞❡ ♠❛✉✈❛✐s❡ ré❞✉❝t✐♦♥✳ ❊♥ ❣❡♥r❡ ✷✱ ♥♦✉s ♦❜t❡♥♦♥s ❞❡s ♠♦❞è❧❡s ❡t ❢♦r♠✉❧❡s
s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡s✱ ✐✳❡✳ ❞❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ❞❡ p−r❛♥❣ 0 ♦✉
❞❡ p−r❛♥❣ 1✳ ❈♦♠♣❛r❛t✐✈❡♠❡♥t ❛✉① ❢♦r♠✉❧❡s ❝♦♥♥✉❡s✱ ♥♦✉s ♦❜t❡♥♦♥s ❛✐♥s✐ ❞❡s ❣❛✐♥s ❞❡
t❡♠♣s ❞❡ ❝❛❧❝✉❧ ❛❧❧❛♥t ❥✉sq✉✬à 16% ♣♦✉r ❧❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ 2 ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ❞❡✉①✳

❈♦♥❝❧✉s✐♦♥ ❣é♥ér❛❧❡

❉❛♥s ❝❡ ♠é♠♦✐r❡✱ ♥♦✉s ❛✈♦♥s t♦✉t ❞✬❛❜♦r❞ ✐♠♣❧é♠❡♥té ❧❡s ❞✐✛ér❡♥ts ❝♦✉♣❧❛❣❡s ❡♥ ❣❡♥r❡
❞❡✉①✳ ◆♦✉s ❛✈♦♥s ❛✉ss✐ ✉t✐❧✐sé ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ♣♦✉r ❢❛✐r❡ ❧❡ ❧✐❡♥ ❡♥tr❡ ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s
❜✐♥❛✐r❡ ❡t ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❣é♥ér❛❧✳ ◆♦✉s ❛✈♦♥s ❡♥✜♥ ✉t✐❧✐sé ❞❡s t❡❝❤♥✐q✉❡s ❞❡ ❞é❢♦r✲
♠❛t✐♦♥ ♣♦✉r ❛✈♦✐r ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❡✣❝❛❝❡ s✉r ❧❡s s✉r❢❛❝❡s ❞❡ ❑✉♠♠❡r ♥♦♥✲♦r❞✐♥❛✐r❡s✳
❆✐♥s✐✱ ♥♦✉s ❞é❣❛❣❡♦♥s ✐❝✐ q✉❡❧q✉❡s ♣❡rs♣❡❝t✐✈❡s ✿

✕ ❧✬✉t✐❧✐s❛t✐♦♥ ❞❡s ♠ê♠❡s t❡❝❤♥✐q✉❡s ❞❡ ❞é❢♦r♠❛t✐♦♥ ♣♦✉r ❛✈♦✐r ❧❡ ♠♦❞è❧❡ ❡t ❧✬❛r✐t❤♠é✲
t✐q✉❡ s✉r ❧❡ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s s✉♣❡rs✐♥❣✉❧✐❡r✳

✕ ▲✬ét✉❞❡ ❞✉ ♠♦❞è❧❡ ❡t ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ s✉r ❧❡s ❧✐❣♥❡s ❞❡ ❑✉♠♠❡r s✉♣❡rs✐♥❣✉❧✐èr❡s ❡♥
✉t✐❧✐s❛♥t ❧❡s ❢♦r♠✉❧❡s ❞❡ ❬●▲✵✽❪ s✉r ❧❡s ❧✐❣♥❡s ❞❡ ❑✉♠♠❡r ♦r❞✐♥❛✐r❡s✳

✕ ❘é❝❡♠♠❡♥t ❧❡s ❢♦♥❝t✐♦♥s t❤êt❛ ❬▲❘✶✵❪ s♦♥t ✉t✐❧✐séés ♣♦✉r ❛♠é❧✐♦r❡r ❧✬✐♠♣❧é♠❡♥t❛t✐♦♥
❞❡s ❝♦✉♣❧❛❣❡s ❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ❝❡tt❡ ét✉❞❡ ❞❡✈r❛✐t êtr❡ ❢❛✐t❡ ❡♥ ❝❛r❛❝tér✐s✲
t✐q✉❡ ❞❡✉①✳

✕ ❯♥ ♣r♦❜❧è♠❡ ♣❧✉s ❞✐✣❝✐❧❡ ❡st ❧✬ét✉❞❡ ❞✉ ♠♦❞è❧❡ ❞✬❊❞✇❛r❞s ❡♥ ❣❡♥r❡ ❞❡✉①✳

✽✷✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷
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❛❧❣♦r✐t❤♠❡
❞❡ ❈❛♥t♦r✱ ✷✷✕✷✹✱ ✷✻
❞❡ ▼✐❧❧❡r✱ ✸✷✱ ✸✻✱ ✸✼✱ ✸✾✱ ✹✻

❛♥♥❡❛✉
❞❡ ✈❛❧✉❛t✐♦♥ ❞✐s❝rèt❡✱ ✶✶
❞❡s ❝♦♦r❞♦♥♥é❡s ❛✣♥❡s✱ ✶✶
❞❡s ❡♥t✐❡rs p✲❛❞✐q✉❡s✱ ✺✻

❛r✐t❤♠ét✐q✉❡
❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✱ ✷✶
❡✣❝❛❝❡
❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✱ ✺✾
❣❡♥r❡ 2✱ ✺✾✱ ✼✶✕✼✸✱ ✼✻✱ ✽✵

❥❛❝♦❜✐❡♥♥❡✱ ✷✻✱ ✷✼✱ ✸✾
❛tt❛q✉❡s

à ❝❛♥❛✉① ❛✉①✐❧✐❛✐r❡s✱ ✸✱ ✷✷✱ ✷✹✱ ✷✻
▼❖❱ ❡t ❋❘✱ ✷✱ ✶✾

❈❛♥t♦r
❛❞❞✐t✐♦♥✱ ✷✸
❛❧❣♦r✐t❤♠❡✱ ✷✸✱ ✷✹
❢♦r♠✉❧❡s ❡①♣❧✐❝✐t❡s✱ ✷✹✱ ✷✻
ré❞✉❝t✐♦♥✱ ✷✹

❝♦♠♣❧❡①✐té✱ ✷✷✱ ✷✸✱ ✹✵✱ ✹✺✱ ✼✼✱ ✽✵✱ ✽✶
❝♦♦r❞♦♥♥é❡

❛✣♥❡✱ ✶✻
❥❛❝♦❜✐❡♥♥❡✱ ✷✼
♣r♦❥❡❝t✐✈❡✱ ✷✼

❝♦r♣s
❛❧❣é❜r✐q✉❡♠❡♥t ❝❧♦s✱ ✶✶
❞❡ ❢♦♥❝t✐♦♥s✱ ✶✶
❡①t❡♥s✐♦♥ ♥♦♥✲r❛♠✐✜é❡✱ ✺✻
✜♥✐✱ ✶✵✱ ✺✻
♥♦♠❜r❡s p✲❛❞✐q✉❡s✱ ✺✺
rés✐❞✉❡❧✱ ✺✻

❝♦✉♣❧❛❣❡✱ ✸✶
❆t❡ ■✱ ✹✶
❆t❡ ■■✱ ✹✷
❊t❛✱ ✹✵
❚❛t❡✱ ✸✶
❲❡✐❧✱ ✸✶

❝♦✉r❜❡
p−r❛♥❣✱ ✶✵✱ ✶✼

✓ ❢r✐❡♥❞❧②✲♣❛✐r✐♥❣ ✔✱ ✶✾
❡❧❧✐♣t✐q✉❡✱ ✾
❣❡♥r❡ ❞❡ ❧❛ ❝♦✉r❜❡✱ ✾
❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ✾✱ ✶✵
♠♦❞è❧❡
❞❡ ❍❡ss✐❛♥✱ ✷✼
❊❞✇❛r❞s✱ ✷✼✱ ✺✾✱ ✻✶
❊❞✇❛r❞s ❜✐♥❛✐r❡✱ ✻✸
❏❛❝♦❜✐✱ ✷✼
❲❡✐❡rstr❛β✱ ✾
❲❡✐❡rstr❛β✱ ✷✶✱ ✷✼✱ ✺✾

♦r❞✐♥❛✐r❡✱ ✶✵✱ ✶✼
s✉♣❡rs✐♥❣✉❧✐èr❡✱ ✶✵✱ ✶✼
t✇✐st✱ ✻✾✱ ✼✺✱ ✼✾

❞❡❣ré
❞✬✉♥ ❞✐✈✐s❡✉r✱ ✶✷
❞✬✉♥❡ ❡①t❡♥s✐♦♥✱ ✺✼
❞❡ ♣❧♦♥❣❡♠❡♥t✱ ✶✾

❞✐✈✐s❡✉r✱ ✶✷
❝❛♥♦♥✐q✉❡✱ ✼✺
❞❡ ❢♦♥❝t✐♦♥✱ ✶✸
❞❡❣ré ✲✱ ✶✷
❡✛❡❝t✐❢✱ ✶✷
♣♦✐❞s ✲✱ ✶✸✱ ✶✻
♣r✐♥❝✐♣❛❧✱ ✶✸

❊❝❧❛t❡♠❡♥t✱ ✻✺
❊❞✇❛r❞s ✭♠♦❞è❧❡ ✲✮✱ ✷✼✱ ✺✾✱ ✻✶

❢♦♥❝t✐♦♥
▼✐❧❧❡r ✲ ❲❡✐❧✱ ✸✷✱ ✸✻
q✉❛s✐✲♣ér✐♦❞✐q✉❡✱ ✺✷
t❤êt❛✱ ✺✶✱ ✻✵✱ ✼✷✱ ✼✾
❢♦r♠✉❧❡ ❞✬❛❞❞✐t✐♦♥✱ ✺✹✱ ✻✶

t❤êt❛ ❛✈❡❝ ❝❛r❛❝tér✐st✐q✉❡✱ ✺✷
t❤êt❛ ❝♦♥st❛♥t❡s✱ ✺✷✱ ✻✸
③ér♦s ❡t ♣ô❧❡s✱ ✶✶

❣r♦✉♣❡
❞❡ P✐❝❛r❞ ✭PicC✮✱ ✾✱ ✶✺
❞❡s ❞✐✈✐s❡✉rs✱ ✶✷

✽✸



■♥❞❡①

❍❛ss❡✲❲❡✐❧ ✭t❤é♦rè♠❡ ❞❡✮✱ ✶✽
❍❡ss✐❛♥ ✭♠♦❞è❧❡✮✱ ✷✼

✐♥✈♦❧✉t✐♦♥ ❤②♣❡r❡❧❧✐♣t✐q✉❡✱ ✾

❏❛❝♦❜✐ ✭♠♦❞è❧❡ ✲✮✱ ✷✼
❥❛❝♦❜✐❡♥♥❡✱ ✶✺✕✶✽✱ ✷✷

❧♦❣❛r✐t❤♠❡ ❞✐s❝r❡t✱ ✶✱ ✷✱ ✶✽

▼✐❧❧❡r ✭❛❧❣♦r✐t❤♠❡✮✱ ✸✷✱ ✸✻
♠♦r♣❤✐s♠❡ ❞❡ ❋r♦❜❡♥✐✉s✱ ✶✵✱ ✶✼✱ ✹✶✱ ✻✹
▼✉♠❢♦r❞ ✭r❡♣rés❡♥t❛t✐♦♥ ❞❡✮✱ ✶✻

♥♦r♠❡✱ ✺✺
p✲❛❞✐q✉❡✱ ✺✺✱ ✺✻
♥♦♥✲❛r❝❤✐♠✐❞✐❡♥♥❡✱ ✺✺

♣♦✐♥t
à ❧✬✐♥✜♥✐✱ ✾✱ ✻✹
❞❡ t♦rs✐♦♥✱ ✶✻✱ ✻✼
r❛t✐♦♥♥❡❧✱ ✶✵
s✐♥❣✉❧✐❡r✱ ✻✹

♣♦❧②♥ô♠❡ ❝❛r❛❝tér✐st✐q✉❡✱ ✶✼✱ ✹✻

ré❞✉❝t✐♦♥ ❡t r❡❧è✈❡♠❡♥t✱ ✺✼✱ ✻✷

s✉r❢❛❝❡ ❞❡ ❑✉♠♠❡r✱ ✼✶
❞❡ p−r❛♥❣ ✶✱ ✼✾
❡♥ ❝❛r❛❝tér✐st✐q✉❡ ✐♠♣❛✐r❡✱ ✼✷
❡♥ ❝❛r❛❝tér✐st✐q✉❡ ♣❛✐r❡✱ ✼✷
♦r❞✐♥❛✐r❡✱ ✼✸
s✉♣❡rs✐♥❣✉❧✐èr❡✱ ✼✺

✉♥✐❢♦r♠✐s❛♥t❡✱ ✶✶✱ ✺✻

✈❛❧✉❛t✐♦♥✱ ✶✶✱ ✺✺✱ ✻✹
✈❛r✐été ❞❡ ❑✉♠♠❡r✱ ✼✶

❲❡✐❡rstr❛β
♠♦❞è❧❡ ✲✱ ✷✷✱ ✷✼✱ ✺✾
♣♦✐♥t ❞❡ ✲✱ ✾

✽✹✴✾✶ ❉■❆❖ ❖✳ ✕ ◗✉❡❧q✉❡s ❛s♣❡❝ts ❞❡ ❧✬❛r✐t❤♠ét✐q✉❡ ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ ✷
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❯s❡r ▲❛♥❣✉❛❣❡✳ ❏✳ ❙②♠❜♦❧✐❝ ❈♦♠♣✳ ❤tt♣✿✴✴♠❛❣♠❛✳♠❛t❤s✳✉s②❞✳❡❞✉✳❛✉✴♠❛❣♠❛✴ ✱
✶✾✾✼✳

❬❇❉✵✹❪ ❇✳ ❇②r❛♠❥❡❡ ❛♥❞ ❙✳ ❉✉q✉❡s♥❡✳ ❈❧❛ss✐✜❝❛t✐♦♥ ♦❢ ❣❡♥✉s ✷ ❝✉r✈❡s ♦✈❡r F2n ❛♥❞
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❬❇❡r✵✻❪ ❉✳ ❇❡r♥st❡✐♥✳ ❈✉r✈❡✷✺✺✶✾ ✿ ♥❡✇ ❉✐✣❡✲❍❡❧❧♠❛♥ s♣❡❡❞ r❡❝♦r❞s✳ ✐♥ ■♥t✳ ❈♦♥❢✳
♦♥ t❤❡♦r② ❛♥❞ ♣r❛❝t✐❝❡ ✐♥ P❑❈ ✲ ◆❡✇ ❨♦r❦✳ ▲❡❝t✉r❡ ◆♦t❡s ✐♥ ❈♦♠♣✳ ❙❝✐❡♥❝❡✱
✷✵✵✻✳

❬❇❋✵✸❪ ❉✳ ❇♦♥❡❤ ❛♥❞ ▼✳ ❋r❛♥❦❧✐♥✳ ■❞❡♥t✐t②✲❜❛s❡❞ ❡♥❝r②♣t✐♦♥ ❢r♦♠❲❡✐❧ ♣❛✐r✐♥❣✳ ❙■❆▼
❏♦✉r♥❛❧ ♦❢ ❈♦♠♣✉t✐♥❣✱ ✷✵✵✸✳

❬❇●❤❙✵✼❪ P✳❙✳▲✳▼✳ ❇❛rr❡t♦✱ ❙✳❉✳ ●❛❧❜r❛✐t❤✱ ❈✳❖ ❤❊✐❣❡❛rt❛✐❣❤✱ ❛♥❞ ▼✳ ❙❝♦tt✳ ❊✣❝✐❡♥t
♣❛✐r✐♥❣ ❝♦♠♣✉t❛t✐♦♥ ♦♥ s✉♣❡rs✐♥❣✉❧❛r ❛❜❡❧✐❛♥ ✈❛r✐❡t✐❡s✳ ■♥ ❉❡s✐❣♥s✱ ❈♦❞❡s ❛♥❞
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